Donartment No	Description	Otre	Unit Cost	Total Cost
Department No 560	Description ABDOMINAL EXERCISER	Qty. 1	Unit Cost \$200.00	Total Cost \$200.00
509	AC, PORTABLE, UNIT	1	\$1,120.00	\$1,120.00
560	AC, PORTABLE, UNIT	1	\$1,120.00	\$1,120.00
3103	AC, PORTABLE, UNIT	1	\$1,120.00	\$1,120.00
882	AC, RECOVERY/RECYCLE/RECHARGE CENTER	1	\$7,420.00	\$7,420.00
882	AC, REFRIGERANT SERVICE CENTER	1	\$1,495.00	\$1,495.00
882	AC, REFRIGERANT, RECOVERY SYSTEM	1	\$5,574.43	\$5,574.43
503	AC, W/ HEAT PUMP, WINDOW UNIT	1	\$965.00	\$965.00
503	AC, W/ HEAT PUMP, WINDOW UNIT	1	\$965.00	\$965.00
503	AC, W/ HEAT PUMP, WINDOW UNIT	1	\$965.00	\$965.00
503	AC, WALL MOUNTED	1	\$670.00	\$670.00
503	AC, WALL MOUNTED	1	\$670.00	\$670.00
503	AC, WALL MOUNTED	1	\$670.00	\$670.00
3106	AC, WALL MOUNTED	1	\$670.00	\$670.00
560	AC, WINDOW UNIT	1	\$98.00	\$98.00
560	AC, WINDOW UNIT	1 2	\$98.00	\$98.00
581	AC, WINDOW UNIT	1	\$98.00	\$196.00 \$98.00
3101 503	AC, WINDOW UNIT ACTIVE COMBINER	1	\$98.00 \$500.00	\$500.00
503	ACTIVE COMBINER	1	\$500.00	\$500.00
503	ACTIVE COMBINER	1	\$500.00	\$500.00
503	ACTIVE COMBINER	1	\$500.00	\$500.00
503	ACTIVE COMBINER	1	\$500.00	\$500.00
3103	AERATOR, TOWED	1	\$5,550.50	\$5,550.50
509	AERIAL WORK PLATFORM	1	\$10,800.00	\$10,800.00
576	AERIAL WORK PLATFORM	1	\$5,295.00	\$5,295.00
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$2,047.96	\$2,047.96
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$2,047.96	\$2,047.96
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$2,700.00	\$2,700.00
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$650.00	\$650.00
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$650.00	\$650.00
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$2,700.00	\$2,700.00
210	AIR COMPRESSOR, 2-STAGE, 14 HP	1	\$2,700.00	\$2,700.00
882	AIR COMPRESSOR, 2-STAGE, DUPLEX	1	\$2,490.00	\$2,490.00
882	AIR COMPRESSOR, 2-STAGE, DUPLEX	1	\$2,460.00	\$2,460.00
210	AIR COMPRESSOR, MOBILE, 5 HP	1	\$650.00	\$650.00
560	AIR COMPRESSOR, MOBILE, 5 HP	1	\$650.00	\$650.00
509	AIR COMPRESSOR, PORTABLE, HIGH-END	1	\$1,040.00	\$1,040.00
560 3107	AIR COMPRESSOR, PORTABLE, HIGH-END AIR COMPRESSOR, PORTABLE, HIGH-END	1 1	\$648.00 \$1,237.95	\$648.00 \$1,237.95
509	AIR COMPRESSOR, PORTABLE, HIGHEND	4	\$260.00	\$1,040.00
509	AIR COMPRESSOR, PORTABLE, LOW-END	1	\$260.00	\$260.00
540	AIR COMPRESSOR, PORTABLE, LOW-END	1	\$260.00	\$260.00
560	AIR COMPRESSOR, PORTABLE, LOW-END	1	\$260.00	\$260.00
560	AIR COMPRESSOR, PORTABLE, LOW-END	1	\$260.00	\$260.00
581	AIR COMPRESSOR, PORTABLE, LOW-END	3	\$260.00	\$780.00
3101	AIR COMPRESSOR, PORTABLE, LOW-END	2	\$260.00	\$520.00
3107	AIR COMPRESSOR, PORTABLE, LOW-END	1	\$260.00	\$260.00
570	AIR COMPRESSOR, STATIONARY, 10 HP	1	\$2,460.00	\$2,460.00
3107	AIR COMPRESSOR, STATIONARY, 10 HP	1	\$2,490.00	\$2,490.00
210	AIR COMPRESSOR, STATIONARY, 12.5 HP	1	\$1,695.00	\$1,695.00
210	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$599.99	\$599.99
210	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$1,200.00	\$1,200.00
509	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$1,655.00	\$1,655.00
560	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$1,200.00	\$1,200.00
570	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$1,200.00	\$1,200.00
3103	AIR COMPRESSOR, STATIONARY, 5 HP	1	\$1,200.00	\$1,200.00
210	AIR MACHINE	1	\$2,410.00	\$2,410.00
882 495	AIR MACHINE	1 1	\$1,410.00	\$1,410.00
495	AMBULANCE AMBULANCE	1	\$228,168.00 \$228,168.00	\$228,168.00 \$228,168.00
495	AMBULANCE	1	\$247,587.43	\$247,587.43
495	AMBULANCE	1	\$228,168.00	\$228,168.00
495	AMBULANCE	1	\$243,174.00	\$243,174.00
495	AMBULANCE	1	\$243,174.00	\$243,174.00
495	AMBULANCE	1	\$243,174.00	\$243,174.00
495	AMBULANCE	1	\$243,174.00	\$243,174.00
495	AMBULANCE	1	\$245,822.57	\$245,822.57
495	AMBULANCE	1	\$245,822.57	\$245,822.57
495	AMBULANCE	1	\$245,822.57	\$245,822.57
495	AMBULANCE	1	\$245,822.57	\$245,822.57
495	AMBULANCE	1	\$245,822.57	\$245,822.57
503	AMPLIFER, W/ ANTENNA, TOWER TOP	1	\$5,500.00	\$5,500.00

503	AMPLIFIER	1	\$500.00	\$500.00
503	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
503	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
503	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
570	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
570	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
570	AMPLIFIER, HIGH END	1	\$1,815.00	\$1,815.00
210	AMPLIFIER, LOW END	1	\$345.00	\$345.00
499	AMPLIFIER, LOW END	1	\$345.00	\$345.00
551	AMPLIFIER, LOW END	1	\$345.00	\$345.00
503	AMPLIFIER, MODULE SIGNAL BOOSTER	1	\$131,971.00	\$131,971.00
503	AMPLIFIER, MODULE SIGNAL BOOSTER	1	\$131,971.00	\$131,971.00
503	AMPLIFIER, MODULE SIGNAL BOOSTER	1	\$5,500.00	\$5,500.00
503	AMPLIFIER, MODULE SIGNAL BOOSTER	1	\$5,500.00	\$5,500.00
581	AMPLIFIER, MODULE SIGNAL BOOSTER	1	\$84,180.00	\$84,180.00
499	AMPLIFIER, P.A. SYSTEM	1	\$800.00	\$800.00
541	AMPLIFIER, P.A. SYSTEM	1	\$800.00	\$800.00
452	AMPLIFIER/MIXER	1	\$475.00	\$475.00
452	AMPLIFIER/MIXER	1	\$475.00	\$475.00
545	ANALYZER, BLOOD CHEMISTRY, VETERINARY	1	\$19,500.00	\$19,500.00
509		1		\$400.00
	ANALYZER, CO2		\$400.00	
542	ANALYZER, QUICKTRACE MERCURY	1	\$26,986.00	\$26,986.00
509	ANALYZER, TRACER, HANDHELD	1	\$2,000.00	\$2,000.00
509	ANALYZER, TRACER, HANDHELD	1	\$2,000.00	\$2,000.00
545	ANESTHESIA SYSTEM, VETERINARIAN	1	\$5,135.74	\$5,135.74
503	ANTENNA SPLITTER	1	\$580.00	\$580.00
503	ANTENNA SPLITTER	1	\$580.00	\$580.00
503	ANTENNA SPLITTER	1	\$580.00	\$580.00
503	ANTENNA SPLITTER	1	\$580.00	\$580.00
540	APPLE TV, STREAMING PLAYER	1	\$99.00	\$99.00
3106	ARENA GROOMER, TOWED	1		\$6,281.00
	,		\$6,281.00	
450	ARMOIRE	1	\$465.00	\$465.00
3103	ATTACHMENT, AUGER, SKID-STEER/ TRACTOR, LOW-END	1	\$2,950.00	\$2,950.00
3106	ATTACHMENT, BROOM SWEEPER, SKID-STEER/ TRACTOR	1	\$7,034.00	\$7,034.00
3107	ATTACHMENT, BROOM SWEEPER, SKID-STEER/ TRACTOR	1	\$8,742.88	\$8,742.88
3107	ATTACHMENT, GRAPPLE, SKID-STEER/ TRACTOR	1	\$5,100.00	\$5,100.00
210	ATTACHMENT, PALLET FORKS, SKID-STEER/ TRACTOR	1	\$1,750.00	\$1,750.00
441	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
			·	•
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
503	AUDIO PROCESSOR, DIGITAL	1	\$710.00	\$710.00
541	AUDIO SWITCHER, LOW END	3	\$25.00	\$75.00
210	AUDIO/VIDEO RECEIVER	1	\$299.00	\$299.00
				\$598.00
499	AUDIO/VIDEO RECEIVER	2	\$299.00	
427	AUDIO/VIDEO SYSTEM, COURTROOM	1	\$20,000.00	\$20,000.00
437	AUDIO/VIDEO SYSTEM, COURTROOM	1	\$20,000.00	\$20,000.00
210	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
426	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
427	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
438	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
440	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
454	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
454	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
475	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
492	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
492	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
499	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
499	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
503	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
509	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
540	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
541	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
545	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
560	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
560	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
560	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
560	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
560	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
•	· · · · · · · · · · · · · · · · · · ·	_	,	,

572	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
	, , , , , , , , , , , , , , , , , , , ,		·	
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
576	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
581	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
591	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
630	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
630	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
630	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
3106	AUDIO/VISUAL EQUIPMENT CART, STANDARD	2	\$135.00	\$270.00
3106	AUDIO/VISUAL EQUIPMENT CART, STANDARD	1	\$135.00	\$135.00
210	AUGER, POSTHOLE, 5"	1	\$340.00	\$340.00
210	AUGER, POSTHOLE, 9"	1	\$5,590.00	\$5,590.00
	,			. ,
210	AUGER, POSTHOLE, 9"	1	\$679.98	\$679.98
3107	AUGER, POSTHOLE, 9"	1	\$5,035.00	\$5,035.00
545	AUTOCLAVE/ STERILIZER, MEDICAL	1	\$3,800.00	\$3,800.00
545	AUTOCLAVE/ STERILIZER, MEDICAL	1	\$3,999.00	\$3,999.00
570	AUTOCLAVE/ STERILIZER, MEDICAL	1	\$3,800.00	\$3,800.00
495	AUTOMOBILE	1	\$29,130.00	\$29,130.00
495	AUTOMOBILE	1	\$29,459.00	\$29,459.00
495	AUTOMOBILE	1	\$20,228.00	\$20,228.00
495	AUTOMOBILE	1	\$19,828.00	\$19,828.00
495	AUTOMOBILE	1	\$19,828.00	\$19,828.00
495	AUTOMOBILE	1	\$24,927.00	\$24,927.00
495	AUTOMOBILE	1	\$31,703.77	\$31,703.77
495	AUTOMOBILE	1	\$31,703.77	\$31,703.77
495	AUTOMOBILE	1	\$18,856.00	\$18,856.00
495	AUTOMOBILE	1	\$19,103.33	\$19,103.33
495	AUTOMOBILE	1	\$19,103.33	\$19,103.33
495	AUTOMOBILE	1	\$19,103.34	\$19,103.34
495	AUTOMOBILE	1	\$23,449.83	\$23,449.83
495	AUTOMOBILE	1	\$25,549.84	\$25,549.84
495	AUTOMOBILE	1	\$18,406.00	\$18,406.00
495	AUTOMOBILE	1	\$23,199.83	\$23,199.83
495	AUTOMOBILE	1	\$23,732.42	\$23,732.42
495	AUTOMOBILE	1	\$22,856.70	\$22,856.70
495	AUTOMOBILE	1	\$19,850.56	\$19,850.56
495	AUTOMOBILE	1	\$19,990.47	\$19,990.47
495	AUTOMOBILE	1	\$19,511.67	\$19,511.67
495	AUTOMOBILE	1	\$19,511.67	\$19,511.67
495	AUTOMOBILE	1	\$20,000.52	\$20,000.52
495	AUTOMOBILE	1	\$19,710.66	\$19,710.66
495	AUTOMOBILE	1	\$12,300.00	\$12,300.00
495	AUTOMOBILE	1	\$19,819.00	\$19,819.00
495	AUTOMOBILE	1	\$19,967.22	\$19,967.22
495	AUTOMOBILE	1	\$16,719.00	\$16,719.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1		\$24,182.00
			\$24,182.00	
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$15,056.00	\$15,056.00
495	AUTOMOBILE	1	\$15,000.00	\$15,000.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$24,182.00	\$24,182.00
495	AUTOMOBILE	1	\$20,431.00	\$20,431.00
495	AUTOMOBILE	1	\$16,719.00	\$16,719.00

495	AUTOMOBILE	1	\$18,730.09	\$18,730.09
495	AUTOMOBILE	1	\$36,293.75	\$36,293.75
495	AUTOMOBILE	1	\$24,568.62	\$24,568.62
495	AUTOMOBILE	1	\$24,328.50	\$24,328.50
495	AUTOMOBILE	1	\$23,944.48	\$23,944.48
495	AUTOMOBILE	1	\$23,937.06	\$23,937.06
495	AUTOMOBILE	1	\$23,915.23	\$23,915.23
495	AUTOMOBILE	1	\$24,132.53	\$24,132.53
495	AUTOMOBILE	1	\$17,361.00	\$17,361.00
495	AUTOMOBILE	1	\$24,214.75	\$24,214.75
495	AUTOMOBILE	1	\$14,000.00	\$14,000.00
495	AUTOMOBILE	1	\$18,475.00	\$18,475.00
495	AUTOMOBILE	1	\$18,475.00	\$18,475.00
495	AUTOMOBILE	1	\$18,875.00	\$18,875.00
495	AUTOMOBILE	1	\$18,475.00	\$18,475.00
495	AUTOMOBILE	1	\$31,628.00	\$31,628.00
495	AUTOMOBILE	1	\$36,220.26	\$36,220.26
495	AUTOMOBILE	1	\$36,220.26	\$36,220.26
495	AUTOMOBILE	1	\$36,155.90	\$36,155.90
495	AUTOMOBILE	1	\$38,743.98	\$38,743.98
495	AUTOMOBILE	1	\$36,220.26	\$36,220.26
				\$36,220.26
495	AUTOMOBILE	1	\$36,220.26	
495	AUTOMOBILE	1	\$36,220.26	\$36,220.26
495	AUTOMOBILE	1	\$38,806.52	\$38,806.52
495	AUTOMOBILE	1	\$36,220.26	\$36,220.26
495	AUTOMOBILE	1	\$20,685.00	\$20,685.00
495	AUTOMOBILE	1	\$9,416.00	\$9,416.00
495	AUTOMOBILE	1	\$34,675.00	\$34,675.00
495	AUTOMOBILE	1	\$34,675.00	\$34,675.00
495	AUTOMOBILE	1	\$34,675.00	\$34,675.00
495	AUTOMOBILE	1	\$34,675.00	\$34,675.00
495	AUTOMOBILE	1	\$28,555.68	\$28,555.68
495	AUTOMOBILE	1	\$28,555.68	\$28,555.68
495	AUTOMOBILE	1	\$18,773.66	\$18,773.66
495	AUTOMOBILE	1	\$15,812.15	\$15,812.15
507	BACK-UP RADIO TOWER & EQUIP	1	\$900,000.00	\$900,000.00
540	BACKBOARD	12	\$210.00	\$2,520.00
560	BACKBOARD	1	\$210.00	\$210.00
570	BACKBOARD	1	\$210.00	\$210.00
570	BACKBOARD	1	\$110.00	\$110.00
581	BACKBOARD	6	\$210.00	\$1,260.00
560	BAGPIPES	1	\$1,676.95	\$1,676.95
540	BAR STOOL	1	\$125.00	\$125.00
541	BAR STOOL	8	\$125.00	\$1,000.00
560	BAR STOOL	2	\$125.00	\$250.00
560	BAR STOOL	6	\$125.00	\$750.00
630	BAR STOOL	1	\$125.00	\$125.00
560	BARS, WEIGHT	1	\$180.00	\$180.00
560	BARS, WEIGHT	3	\$180.00	\$540.00
882	BATTERY ANALYZER	1	\$1,185.00	\$1,185.00
882	BATTERY ANALYZER	1	\$1,185.00	\$1,185.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
540	BATTERY ANALYZER, DEFIBRILLATOR, 2 BAY	1	\$1,385.00	\$1,385.00
503	BATTERY BACKUP	1	\$4,053.05	\$4,053.05
503	BATTERY BACKUP	1	\$4,053.05	\$4,053.05
503	BATTERY BACKUP	1	\$614.56	\$614.56
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP	1	\$612.60	\$612.60
503	BATTERY BACKUP	1	\$979.98	\$979.98
503	BATTERY BACKUP	1	\$1,205.00	\$1,205.00
503	BATTERY BACKUP, UPS	1	\$2,125.00	\$2,125.00
503	BATTERY BACKUP, UPS	1	\$2,125.00	\$2,125.00
503	BATTERY BACKUP, UPS	1	\$2,125.00	\$2,125.00

500	DATTERY DAGGUE LIPS		42 700 62	42 700 62
503	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
503	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
503	BATTERY BACKUP, UPS	1	\$2,857.17	\$2,857.17
503	BATTERY BACKUP, UPS	1	\$2,857.17	\$2,857.17
503	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
503	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
542	BATTERY BACKUP, UPS	1	\$1,205.00	\$1,205.00
572	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
572	BATTERY BACKUP, UPS	1	\$2,708.63	\$2,708.63
581	BATTERY BACKUP, UPS	1	\$1,205.00	\$1,205.00
581	BATTERY CHARGER, 40 AMP	5	\$250.00	\$1,250.00
882	BATTERY CHARGER, 40 AMP	1	\$250.00	\$250.00
882	BATTERY CHARGER, 40 AMP	1	\$250.00	\$250.00
3103	BATTERY CHARGER, 40 AMP	1	\$250.00	\$250.00
540	BATTERY CHARGER, 50-70 AMP	1	\$870.00	\$870.00
503	BATTERY CHARGER, 6-12 VOLT	1	\$380.00	\$380.00
560	BATTERY CHARGER, 6-12 VOLT	1	\$380.00	\$380.00
560	BATTERY CHARGER, 6-12 VOLT	3	\$380.00	\$1,140.00
542	BATTERY CHARGER, GAS MONITOR	1	\$744.00	\$744.00
542	BATTERY CHARGER, GAS MONITOR	1	\$744.00	\$744.00
542	BATTERY CHARGER, GAS MONITOR	1	\$1,400.00	\$1,400.00
210	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
210	BATTERY CHARGER, PORTABLE RADIO	3	\$170.00	\$510.00
	, , , , , , , , , , , , , , , , , , ,			
210	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
341	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
341	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
509	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
	,			
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
540	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
542	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
542	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
542	BATTERY CHARGER, PORTABLE RADIO	3	\$170.00	\$510.00
553	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
553	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
553	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
553	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
		1		\$170.00
560	BATTERY CHARGER, PORTABLE RADIO		\$170.00	
560	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
570	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	5	\$170.00	\$850.00
570	BATTERY CHARGER, PORTABLE RADIO	4	\$170.00	\$680.00
570	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
570	BATTERY CHARGER, PORTABLE RADIO	3	\$170.00	\$510.00
		2		
570	BATTERY CHARGER, PORTABLE RADIO		\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
570	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
570	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
570	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	2	\$170.00	\$340.00
570	BATTERY CHARGER, PORTABLE RADIO	3	\$170.00	\$510.00
570	BATTERY CHARGER, PORTABLE RADIO	4	\$170.00	\$680.00
576	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
576	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
576	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
581	BATTERY CHARGER, PORTABLE RADIO	1	\$170.00	\$170.00
560	BATTERY CHARGER, PORTABLE RADIO, 3 PORTS	3	\$450.00	\$1,350.00
210	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
210	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
210	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00

210	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
210	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
503	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
503	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
	,			
503	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
541	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
541	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
541	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
541	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
542	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
542	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
542	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
551	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
552	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
554	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
560	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
570	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1		\$750.00
	,		\$750.00	
570	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
570	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
570	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
	•			
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
		1		
576	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS		\$750.00	\$750.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	4	\$750.00	\$3,000.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$1,188.00	\$1,188.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
581	BATTERY CHARGER, PORTABLE RADIO, 6 PORTS	1	\$750.00	\$750.00
542	BATTERY CHARGER, PUMPED GAS MONITOR	1	\$1,800.00	\$1,800.00
			. ,	
542	BATTERY CHARGER, PUMPED GAS MONITOR	1	\$1,800.00	\$1,800.00
882	BATTERY CHARGER, VEHICLE	2	\$180.00	\$360.00
587	BATTERY CHARGER/STARTER, 40 AMP	1	\$200.00	\$200.00
540	BED, BUNK, SET	1	\$350.00	\$350.00
540		1		\$190.00
	BED, SINGLE		\$190.00	
540	BED, SINGLE	2	\$190.00	\$380.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	3	\$190.00	\$570.00
540	BED, SINGLE	2	\$190.00	\$380.00
540	BED, SINGLE	2	\$190.00	\$380.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	2	\$190.00	\$380.00
			•	
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	1	\$190.00	\$190.00
540	BED, SINGLE	2	\$190.00	\$380.00
400	BENCH, 8'	3	\$300.00	\$900.00
570	BENCH, 8'	2	\$300.00	\$600.00
560	BENCH, CURL, ADJUSTABLE, PREACHER CURL	1	\$245.00	\$245.00
210	BENCH, METAL	1	\$125.00	\$125.00
454	BENCH, METAL	1	\$125.00	\$125.00
545	BENCH, METAL	1	\$125.00	\$125.00
3101	BENCH, METAL	1	\$125.00	\$125.00
451	BENCH, PEW TYPE	12	\$250.00	\$3,000.00
436	BENCH, PEW TYPE, LARGE	9	\$300.00	\$2,700.00
437	BENCH, PEW TYPE, LARGE	26	\$300.00	\$7,800.00
441	BENCH, PEW TYPE, LARGE	6	\$300.00	\$1,800.00
771	DEIVOH, I EVV I II E, EMNUE	Ü	J300.00	00.000 بد

576	BENCH, PEW TYPE, LARGE	1	\$300.00	\$300.00
576	BENCH, PEW TYPE, LARGE	4	\$300.00	\$1,200.00
436	BENCH, PEW TYPE, SMALL	2	\$250.00	\$500.00
441	BENCH, PEW TYPE, SMALL	6	\$250.00	\$1,500.00
576	BENCH, PIANO	1	\$360.00	\$360.00
212	BENCH, WOODEN	1	\$50.00	\$50.00
451	BENCH, WOODEN	1	\$50.00	\$50.00
475	BENCH, WOODEN	1	\$50.00	\$50.00
509	BENCH, WOODEN	1	\$50.00	\$50.00
510	BENCH, WOODEN	1	\$50.00	\$50.00
540	BENCH, WOODEN	1	\$50.00	\$50.00
551	BENCH, WOODEN	2	\$50.00	\$100.00
570	BENCH, WOODEN	1	\$50.00	\$50.00
3101	BENCH, WOODEN	1	\$50.00	\$50.00
400	BENCH, WOODEN CHURCH PEW	4	\$200.00	\$800.00
503	BENCH, WORK, SHOP TABLE	7	\$450.00	\$3,150.00
553	BENCH, WORK, SHOP TABLE	1	\$450.00	\$450.00
541	BICYCLE, EXERCISE	1	\$645.00	\$645.00
541	BICYCLE, EXERCISE	1	\$645.00	\$645.00
541	BICYCLE, EXERCISE	1	\$645.00	\$645.00
560	BICYCLE, EXERCISE	1	\$645.00	\$645.00
576	BIN, BULK FOOD, COVERED, PLASTIC	4	\$55.00	\$220.00
215	BINDING MACHINE, MANUAL	1	\$480.00	\$480.00
440	BINDING MACHINE, MANUAL	2	\$480.00	\$960.00
495	BINDING MACHINE, MANUAL	1	\$480.00	\$480.00
509	BINDING MACHINE, MANUAL	1	\$480.00	\$480.00
560	BINDING MACHINE, MANUAL	1	\$480.00	\$480.00
576	BINDING MACHINE, MANUAL	1	\$480.00	\$480.00
492	BINOCULARS	3	\$250.00	\$750.00
570	BLOOD PRESSURE CUFF	2	\$45.00	\$90.00
576	BLOOD PRESSURE CUFF	1	\$45.00	\$45.00
3101	BLOWER, GAS, BACK PACK	1	\$440.00	\$440.00
3106	BLOWER, GAS, BACK PACK	1	\$440.00	\$440.00
3107	BLOWER, GAS, BACK PACK	2	\$440.00	\$880.00
540	BOARDS, CORK, ERASEABLE	5	\$85.00	\$425.00
560	BOARDS, CORK, ERASEABLE	2	\$85.00	\$170.00
495	BOAT	1	\$21,275.00	\$21,275.00
495	BOAT, INFLATABLE	1	\$7,953.00	\$7,953.00
495	BOAT, INFLATABLE	1	\$21,823.93	\$21,823.93
440	BODY ARMOR	1	\$959.28	\$959.28
440	BODY ARMOR	1	\$959.28	\$959.28
440	BODY ARMOR	1	\$959.28	\$959.28
440	BODY ARMOR	1	\$959.28	\$959.28
440	BODY ARMOR	1	\$959.28	\$959.28
475	BODY ARMOR	1	\$982.75	\$982.75
475	BODY ARMOR	1	\$959.28	\$959.28
475	BODY ARMOR	1	\$959.28	\$959.28
475	BODY ARMOR	1	\$959.28	\$959.28
475	BODY ARMOR	1	\$959.28	\$959.28
475	BODY ARMOR	1	\$959.28	\$959.28
551	BODY ARMOR	1	\$760.00	\$760.00
551	BODY ARMOR	1	\$750.82	\$750.82
552	BODY ARMOR	1	\$777.50	\$777.50
552	BODY ARMOR	1	\$750.00	\$750.00
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$813.73	\$813.73
553	BODY ARMOR	1	\$764.00	\$764.00
554	BODY ARMOR	1	\$865.00	\$865.00
554	BODY ARMOR	1	\$865.00	\$865.00
554 560	BODY ARMOR BODY ARMOR	1 1	\$754.19 \$2.967.18	\$754.19 \$2,967.18
560		1	\$2,967.18 \$2,967.18	\$2,967.18 \$2,967.18
	BODY ARMOR		\$2,967.18	
560 560	BODY ARMOR	1	\$2,967.18 \$2,967.18	\$2,967.18 \$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18

560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$2,967.18	\$2,967.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1 1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560 560	BODY ARMOR	1	\$950.18 \$950.18	\$950.18 \$950.18
560	BODY ARMOR BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560	BODY ARMOR	1	\$950.18	\$950.18
560 560	BODY ARMOR BODY ARMOR	1 1	\$950.18	\$950.18 \$950.18
560	BODY ARMOR BODY ARMOR	1	\$950.18 \$876.60	\$876.60
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560 560	BODY ARMOR	1	\$930.35	\$930.35
560 560	BODY ARMOR BODY ARMOR	1 1	\$930.35 \$930.35	\$930.35 \$930.35
560	BODY ARMOR BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560 560	BODY ARMOR	1	\$930.35	\$930.35
560 560	BODY ARMOR BODY ARMOR	1 1	\$930.35 \$930.35	\$930.35 \$930.35
300	DOD! AMMON	1	رد.0درب	رد.ںدور

560	BODY ARMOR	1	\$959.28	\$959.28
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$930.35	\$930.35
				•
560	BODY ARMOR	1	\$837.58	\$837.58
560	BODY ARMOR	1	\$930.35	\$930.35
560	BODY ARMOR	1	\$837.58	\$837.58
560	BODY ARMOR	1	\$837.58	\$837.58
				\$887.00
560	BODY ARMOR	1	\$887.00	
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$806.00	\$806.00
560	BODY ARMOR	1	\$806.00	\$806.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
				•
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
				\$887.00
560	BODY ARMOR	1	\$887.00	
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
560	BODY ARMOR	1	\$887.00	\$887.00
570	BODY ARMOR	1	\$907.33	\$907.33
570	BODY ARMOR	1	\$907.33	\$907.33
570	BODY ARMOR	1	\$907.33	\$907.33
570	BODY ARMOR	1	\$907.33	\$907.33
570	BODY ARMOR	1	\$907.33	\$907.33
570	BODY ARMOR	1	\$887.35	\$887.35
570	BODY ARMOR	1	\$907.33	\$907.33
	BODT ARMOR			
570	BODY ARMOR	1	\$907.33	\$907.33
570	DODY ADMOD	1	¢007.25	¢007.25
	BODY ARMOR	1	\$887.35	\$887.35
570	BODY ARMOR	1	\$887.35	\$887.35
570	BODY ARMOR	1	\$887.35	\$887.35
				•
570	BODY ARMOR	1	\$887.35	\$887.35
570	BODY ARMOR	1	\$887.35	\$887.35
570	BODY ARMOR	1	\$821.25	\$821.25
570	BODY ARMOR	1	\$821.25	\$821.25
				\$821.25
570	BODY ARMOR	1	\$821.25	•
570	BODY ARMOR	1	\$821.25	\$821.25
570	BODY ARMOR	1	\$821.25	\$821.25
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
560	BODY ARMOR, POLICE DOG, K-9	1	\$975.00	\$975.00
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503		1		\$1,740.54
	BODY CAMERA, POLICE		\$1,740.54	
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54

503 503 503 503	BODY CAMERA, POLICE BODY CAMERA, POLICE	1	\$1,740.54 \$1,740.54	\$1,740.54 \$1,740.54
503 503				. ,
503	BODT CAIVIERA, POLICE			
		1		
502	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1		
	•		\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503		1		
	BODY CAMERA, POLICE		\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,740.54	\$1,740.54
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
	•			
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503				\$1,549.03
	BODY CAMERA, POLICE	1	\$1,549.03	
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1		
			\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
503	BODY CAMERA, POLICE	1	\$1,549.03	\$1,549.03
553	BODY CAMERA, POLICE	1	\$948.60	\$948.60
553	BODY CAMERA, POLICE	1	\$948.59	\$948.59
499	BOOK CASE, DISPLAY	1	\$450.00	\$450.00
	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
210		1	7103.00	
210	DOOKCACE 2.2 CHELLES	-	440- 65	
210 210	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00

210			
210	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
210	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
210	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
210	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
211	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
211	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
211	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
213	BOOKCASE, 2-3 SHELVES	3 \$105.00	\$315.00
215	BOOKCASE, 2-3 SHELVES	3 \$105.00	\$315.00
341	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
341	BOOKCASE, 2-3 SHELVES		
	BOOKCASE, 2-3 SHELVES		\$105.00
341	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
400	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
402	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
402	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
403	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
404	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
404	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
405	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
405	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
405	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
426	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
428	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
429	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
435	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
436	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
437	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
438	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
440	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
440	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
440	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
440	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
440	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
441	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
450	BOOKCASE, 2-3 SHELVES	2 \$105.00	\$210.00
450	BOOKCASE, 2-3 SHELVES		\$2,730.00
450	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
450	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
451	BOOKCASE, 2-3 SHELVES	2 \$105.00	\$210.00
451	BOOKCASE, 2-3 SHELVES	2 \$105.00	\$210.00
451	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
475	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
475			\$105.00
	BOOKCASE, 2-3 SHELVES		\$105.00
475	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
475	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
475	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00
475	BOOKCASE, 2-3 SHELVES		φ105.00
		1 \$105.00	
495		1 \$105.00	\$105.00
	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	
495	BOOKCASE, 2-3 SHELVES	1 \$105.00	\$105.00 \$105.00
495	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00
495 495	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00
	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00
495 495	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503	BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 3 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$15.00 \$315.00
495 495 497 497 503	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$315.00 \$315.00
495 495 497 497 503 503 503 503	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$315.00 \$315.00 \$105.00 \$105.00
495 495 497 497 503 503	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$315.00 \$315.00
495 495 497 497 503 503 503 503 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$315.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$15.00 \$15.00 \$15.00 \$15.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$315.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509 509 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 503 509 509 509 509 509	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510 510 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 509 510 510 510 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 540 540 540 540 540 540 540 540 540 54	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00
495 495 497 497 503 503 503 509 509 509 509 509 510 510 510 540 540 540 540 540 540 540	BOOKCASE, 2-3 SHELVES	1 \$105.00 1 \$105.00	\$105.00 \$105.00

545	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
545	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
545	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
551	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
	,			
551	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
551	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
551	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
552	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
554	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
554	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
554	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
554	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
554		1		\$105.00
	BOOKCASE, 2-3 SHELVES		\$105.00	
554	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
		1		\$105.00
560	BOOKCASE, 2-3 SHELVES		\$105.00	
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
		1		\$105.00
560	BOOKCASE, 2-3 SHELVES		\$105.00	
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560		1		\$105.00
	BOOKCASE, 2-3 SHELVES		\$105.00	
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
	BOOKCASE, 2-3 SHELVES			
560	BOUNCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
560	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
560	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
560	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
570	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
570	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
572	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
576	BOOKCASE, 2-3 SHELVES	4	\$105.00	\$420.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	5	\$105.00	\$525.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
		1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$103.00	ου.συτ¢

576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	2	\$105.00	\$210.00
576	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$315.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576 576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
576	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
581	BOOKCASE, 2-3 SHELVES	1 1	\$105.00	\$105.00
581 583	BOOKCASE, 2-3 SHELVES	3	\$105.00	\$105.00
630	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$315.00
630	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00
630	BOOKCASE, 2-3 SHELVES	1	\$105.00	\$105.00 \$105.00
630	BOOKCASE, 2-3 SHELVES	1	\$105.00 \$105.00	\$105.00
	BOOKCASE, 2-3 SHELVES	2	\$105.00	
3101	BOOKCASE, 2-3 SHELVES	10	\$105.00	\$210.00
3101	BOOKCASE, 2-3 SHELVES	6	\$105.00	\$1,050.00
3101	BOOKCASE, 2-3 SHELVES		\$105.00	\$630.00
210 210	BOOKCASE, 4-5 SHELVES	1 2	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$350.00
210	BOOKCASE, 4-5 SHELVES BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00 \$175.00	\$175.00 \$175.00
210	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
213	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
213	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
214	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
214	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
214	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
215	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
215	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
341	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
341	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
341	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
400	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
400	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
400	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
400	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
400	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
402	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
402	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
402	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
403	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
405	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
405	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
425	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
427	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
428	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
429	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
429	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
437	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
437	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
438	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00

440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
440	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
		3		
441	BOOKCASE, 4-5 SHELVES		\$175.00	\$525.00
450	BOOKCASE, 4-5 SHELVES	10	\$175.00	\$1,750.00
451	BOOKEVE VECHELVEC	7		\$1,225.00
	BOOKCASE, 4-5 SHELVES		\$175.00	
454	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
454	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
454	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
454	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
454	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
454	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475		1		
	BOOKCASE, 4-5 SHELVES		\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	1		
	BOUNCASE, 4-3 SHELVES		\$175.00	\$175.00
475	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
475	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
475	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
492	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
				·
492	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
492	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
492	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
494	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
494	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
494	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
494		2		\$350.00
	BOOKCASE, 4-5 SHELVES		\$175.00	
494	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
	BOOKCASE, 4-3 SHEEVES			
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
495	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
497	BOOKCASE, 4-5 SHELVES	4	\$175.00	\$700.00
497	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
499	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503		1		
	BOOKCASE, 4-5 SHELVES		\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
503	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	7	\$175.00	\$1,225.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
555	DOGNO DE, TO STILL VED	±	Ç173.00	71/J.00

509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
509	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
				\$175.00
510	BOOKCASE, 4-5 SHELVES	1	\$175.00	
510	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
510	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
510	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
510	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
510	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
510	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
540	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
540	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
540	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
540	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
541	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
541	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
541	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
542	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
542	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
542	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
542	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
545	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
545	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
545	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
552	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
552	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
552	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
552	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
553	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
553	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
553	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
553	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
553	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
554	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560		1	\$175.00	\$175.00
	BOOKCASE, 4-5 SHELVES			
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560		1		
	BOOKCASE, 4-5 SHELVES		\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
560	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
-	,	-		, =

560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
560	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
560	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
		1		
570	BOOKCASE, 4-5 SHELVES		\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570		3		
	BOOKCASE, 4-5 SHELVES		\$175.00	\$525.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
570	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
572	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
572	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
572	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
572	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
572		1		\$175.00
	BOOKCASE, 4-5 SHELVES		\$175.00	
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	13	\$175.00	\$2,275.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	9	\$175.00	\$1,575.00
576	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576				\$175.00
	BOOKCASE, 4-5 SHELVES	1	\$175.00	
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576		1	\$175.00	\$175.00
	BOOKCASE, 4-5 SHELVES			
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576		1		\$175.00
3/0	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$1/5.00

576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576		1	\$175.00	\$175.00
	BOOKCASE, 4-5 SHELVES			
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
576	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
576	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
576	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
581	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
581	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
581	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
581	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
583	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
583	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
583	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
587	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
587	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
587	BOOKCASE, 4-5 SHELVES	3	\$175.00	\$525.00
591	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
591	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
591	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
630	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
630	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
630	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
630	BOOKCASE, 4-5 SHELVES	5	\$175.00	\$875.00
630	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
630	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
661	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
882	BOOKCASE, 4-5 SHELVES	2	\$175.00	\$350.00
882	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
		2		
3101	BOOKCASE, 4-5 SHELVES		\$175.00	\$350.00
3106	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
3106	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
3106	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
3107	BOOKCASE, 4-5 SHELVES	1	\$175.00	\$175.00
210	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
210	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
210	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
210		1		\$265.00
	BOOKCASE, 6 OR MORE SHELVES		\$265.00	
210	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
210	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
212	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
214	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
215	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
215	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
215	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
400	BOOKCASE, 6 OR MORE SHELVES	3	\$265.00	\$795.00
400	BOOKCASE, 6 OR MORE SHELVES	3	\$265.00	\$795.00
403	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
404	BOOKCASE, 6 OR MORE SHELVES	16	\$265.00	\$4,240.00
428	BOOKCASE, 6 OR MORE SHELVES	3	\$265.00	\$795.00
436	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
437	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
438	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
440	BOOKCASE, 6 OR MORE SHELVES	6	\$265.00	\$1,590.00
450	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
450	BOOKCASE, 6 OR MORE SHELVES	6	\$265.00	\$1,590.00
450	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
451	BOOKCASE, 6 OR MORE SHELVES	6	\$265.00	\$1,590.00
452	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
454	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
475	BOOKCASE, 6 OR MORE SHELVES	6	\$265.00	\$1,590.00
475	BOOKCASE, 6 OR MORE SHELVES	4	\$265.00	\$1,060.00
-		•	,-15.00	, _, _ oo. oo

475	BOOKCASE, 6 OR MORE SHELVES	4	\$265.00	\$1,060.00
475	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
475	BOOKCASE, 6 OR MORE SHELVES	6	\$265.00	\$1,590.00
503	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
503	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
540	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
540	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
540	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
551	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
552	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
560	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
570	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
570	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
570	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
572		2		\$530.00
	BOOKCASE, 6 OR MORE SHELVES		\$265.00	
572	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
572	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
576	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
576	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
576	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
576	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
576	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
		2		
576	BOOKCASE, 6 OR MORE SHELVES		\$265.00	\$530.00
576	BOOKCASE, 6 OR MORE SHELVES	2	\$265.00	\$530.00
576	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
581	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
661	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
3103	BOOKCASE, 6 OR MORE SHELVES	1	\$265.00	\$265.00
211	BOOKCASE, BARRISTER	2	\$350.00	\$700.00
211	BOOKCASE, BARRISTER	1	\$350.00	\$350.00
560	BOOKCASE, BARRISTER	1	\$350.00	\$350.00
591	BOOKCASE, BARRISTER	1	\$350.00	\$350.00
403	BOOKCASE, DOUBLE SIDED, 5 SHELVES	6	\$320.00	\$1,920.00
552	BOOKCASE, DOUBLE SIDED, 5 SHELVES	1	\$320.00	\$320.00
210	BOOKCASE, EXECUTIVE, 2 DRAWER, 4 SHELVES, WOOD	1	\$349.00	\$349.00
440	BOOKCASE, EXECUTIVE, 2 DRAWER, 4 SHELVES, WOOD	1	\$349.00	\$349.00
427	BOOKCASE, W/ DOORS	1	\$100.00	\$100.00
450	BOOKCASE, W/ DOORS	1		\$100.00
			\$100.00	
450	BOOKCASE, W/ DOORS	10	\$100.00	\$1,000.00
541	BOOKCASE, W/ DOORS	1	\$100.00	\$100.00
545	BOOKCASE, W/ DOORS	1	\$100.00	\$100.00
560	BOOKCASE, W/ DOORS	1	\$100.00	\$100.00
882	BOOTH, PAINT	1	\$87,550.00	\$87,550.00
495	BOX, AMBULANCE	1	\$101,618.00	\$101,618.00
495	BOX, AMBULANCE	1	\$101,618.00	\$101,618.00
495	BOX, AMBULANCE	1	\$117,424.56	\$117,424.56
495	BOX, AMBULANCE	1	\$74,715.00	\$74,715.00
495	BOX, AMBULANCE	1	\$74,715.00	\$74,715.00
495	BOX, AMBULANCE	1	\$76,715.00	\$76,715.00
495	BOX, AMBULANCE	1	\$58,735.00	\$58,735.00
495	BOX, AMBULANCE	1	\$44,180.68	\$44,180.68
495	BOX, AMBULANCE	1	\$44,180.68	\$44,180.68
495	BOX, AMBULANCE	1	\$42,695.48	\$42,695.48
495	BOX, AMBULANCE	1	\$42,695.48	\$42,695.48
495	BOX, AMBULANCE	1	\$53,683.67	\$53,683.67
495	BOX, AMBULANCE	1	\$53,683.67	\$53,683.67
495	BOX, AMBULANCE	1	\$64,082.67	\$64,082.67
495	BOX, AMBULANCE	1	\$43,481.82	\$43,481.82
495	BOX, AMBULANCE	1	\$68,000.00	\$68,000.00
495	BOX, AMBULANCE	1	\$74,985.00	\$74,985.00
570	BRAISING PAN, TILTING, GAS	1	\$24,575.00	\$24,575.00
570	BRAISING PAN, TILTING, GAS	1	\$7,575.00	\$7,575.00
570	BRAISING PAN, TILTING, GAS	1	\$7,575.00	\$7,575.00
576	BRAISING PAN, TILTING, GAS	1	\$7,575.00	\$7,575.00
3101	BRUSHCUTTER CLEARING SAW	1	\$1,050.00	\$1,050.00
210	BUCKET SCOOP	1	\$1,300.00	\$1,300.00
630	BUFFET	1	\$400.00	\$400.00
560	BUILDING, PORTABLE	1	\$38,000.00	\$38,000.00
560	BUILDING, PORTABLE	1	\$38,000.00	\$38,000.00
560	BUILDING, PORTABLE	1	\$38,000.00	\$38,000.00
210		1		
	BULLDOZER, MID-SIZE		\$181,896.00	\$181,896.00
495	BULLDOZER, MID-SIZE	1	\$318,926.00	\$318,926.00
576	BUN PAN RACK	3	\$350.00	\$1,050.00
576	BUN PAN RACK	1	\$350.00	\$350.00
576	BUN RACK, W/ SHELVES, HALF HEIGHT	1	\$300.00	\$300.00
210	BUNKER RAKE, RIDING	1	\$12,665.00	\$12,665.00

3101	BUNKER RAKE, RIDING	1	\$12,274.15	\$12,274.15
570	BURNISHER, FLOOR, ELECTRIC	1	\$1,588.88	\$1,588.88
570	BURNISHER, FLOOR, ELECTRIC	1	\$1,580.56	\$1,580.56
495	BUS, PASSENGER	1	\$8,075.00	\$8,075.00
495	BUS, PASSENGER	1	\$8,075.00	\$8,075.00
210	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
439	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
454	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
475	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
492	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
494	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
495	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
495	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
499	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
552	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
630	CABINET W/ BOOKSHELF	1	\$150.00	\$150.00
450	CABINET, 27 DRAWER	1	\$428.00	\$428.00
402	CABINET, ART PAPER/SUPPLIES	1	\$215.00	\$215.00
402	CABINET, ART PAPER/SUPPLIES	1	\$215.00	\$215.00
403	CABINET, BIG BOOK/STORAGE	25	\$215.00	\$5,375.00
400	CABINET, CHINA	2	\$700.00	\$1,400.00
882	CABINET, COMPUTER	1	\$239.00	\$239.00
215	CABINET, CURIO	1	\$450.00	\$450.00
405	CABINET, DISPLAY	1	\$615.00	\$615.00
215	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
404	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
439	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
450	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
452	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
497	CABINET, FILE, 2 DRAWER, WOODEN	2	\$300.00	\$600.00
499	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
499	CABINET, FILE, 2 DRAWER, WOODEN	1	\$300.00	\$300.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
210	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
215	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
215	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
215	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
341	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
341	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
341	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
400	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
400	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
400	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
402	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
403	CABINET, FILE, 2-3 DRAWERS	21	\$150.00 \$150.00	\$3,150.00 \$150.00
403	CABINET, FILE, 2-3 DRAWERS	1	\$150.00 \$150.00	•
403	CABINET, FILE, 2-3 DRAWERS	1	\$150.00 \$150.00	\$150.00
403 403	CABINET, FILE, 2-3 DRAWERS CABINET, FILE, 2-3 DRAWERS	2 1	\$150.00 \$150.00	\$300.00 \$150.00
403	CABINET, FILE, 2-3 DRAWERS CABINET, FILE, 2-3 DRAWERS	3	\$150.00 \$150.00	\$150.00
403				\$150.00
404	CABINET, FILE, 2-3 DRAWERS CABINET, FILE, 2-3 DRAWERS	1 1	\$150.00 \$150.00	\$150.00
404	CABINET, FILE, 2-3 DRAWERS	3	\$150.00	\$450.00
404	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
404	CABINET, FILE, 2-3 DRAWERS CABINET, FILE, 2-3 DRAWERS	10	\$150.00	\$1,500.00
405	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
405	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
428	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
435	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
437	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
440	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
440	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
440	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
440	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
440	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
441	CABINET, FILE, 2-3 DRAWERS	3	\$150.00	\$450.00
			•	•

			4	4
450	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
450	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
450	CABINET, FILE, 2-3 DRAWERS	27	\$150.00	\$4,050.00
451	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
451	CABINET, FILE, 2-3 DRAWERS	4	\$150.00	\$600.00
451	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
451		1	\$150.00	\$150.00
	CABINET, FILE, 2-3 DRAWERS			
452	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
452	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
452	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
452	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
453	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
453		1	\$150.00	\$150.00
	CABINET, FILE, 2-3 DRAWERS			
453	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
453	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
453	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
475	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475		4	\$150.00	\$600.00
	CABINET, FILE, 2-3 DRAWERS			
475	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
475	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
475	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
475	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
492	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
492	CABINET, FILE, 2-3 DRAWERS	7	\$150.00	\$1,050.00
494	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
494	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
495	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
495	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
495		1	\$150.00	\$150.00
	CABINET, FILE, 2-3 DRAWERS			
495	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
499	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
499	CABINET, FILE, 2-3 DRAWERS	17	\$150.00	\$2,550.00
499	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
499	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
499	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
499		2	\$150.00	\$300.00
	CABINET, FILE, 2-3 DRAWERS			
499	CABINET, FILE, 2-3 DRAWERS	8	\$150.00	\$1,200.00
503	CABINET, FILE, 2-3 DRAWERS	5	\$150.00	\$750.00
503	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
503	CABINET, FILE, 2-3 DRAWERS	5	\$150.00	\$750.00
503	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
503	CABINET, FILE, 2-3 DRAWERS	3	\$150.00	\$450.00
		1		
503	CABINET, FILE, 2-3 DRAWERS		\$150.00	\$150.00
503	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
509	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
509	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
509	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
509	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
509	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
510		1		\$150.00
	CABINET, FILE, 2-3 DRAWERS		\$150.00	
510	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
510	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
		2		\$300.00
540	CABINET, FILE, 2-3 DRAWERS		\$150.00	
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
541	CABINET, FILE, 2-3 DRAWERS	11	\$150.00	\$1,650.00
541	CABINET, FILE, 2-3 DRAWERS	5	\$150.00	\$750.00
541	CABINET, FILE, 2-3 DRAWERS	6	\$150.00	\$900.00
541	CABINET, FILE, 2-3 DRAWERS	4	\$150.00	\$600.00
541	CABINET, FILE, 2-3 DRAWERS	7	\$150.00	\$1,050.00

Section Sect	Section Sect					
Section Comment First 2 31,000 330,000 31,0	545 CAMPIET, FILE, 20 DOWNERS 2 \$150.00 \$200.00	542	CARINET FILE 2-3 DRAWERS	1	\$150.00	\$150.00
Section Sect	55					
555 CABRET, FILE, 2-D DIAWYERS 2 3150.00 5150.	Section Sect					
STATE CARRET, FILE, 20 DRAWERS 2 \$15,000 \$20,000	Description Commerce Commer		CABINET, FILE, 2-3 DRAWERS		\$150.00	
551 CABRET, FILE, 25 DRAWERS 1 \$150.00 \$13.0	551 CORNET, PILE, 29 DIAWWES 1 \$150.00 \$151.00 \$	545	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
551 CABRET, FILE, 25 DRAWERS 1 \$150.00 \$13.0	551 CORNET, PILE, 29 DIAWWES 1 \$150.00 \$151.00 \$	551	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
Section Sect	551 CORNET, PILE, 26 DRAWTES 1 13,500 15,000	551		1		
551 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	551 CARRET, FILE, 23 DANAVERS 1 \$150.00 \$150.0					
STATE CARNET, FILE, 29 DRAWERS 1 \$150.00	551 CARNET, FILE, 2-10 MAYERS 1 \$130.00 \$10.00					
STATE CARNET, FILE, 2-3 DRAWIPS 1 \$150.00 \$150	STATE	551	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
SEC CARRET, FIEL 2-3 DRAWERS 1 5150.00 51.059.00 51.05	STATE	551	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
SEC CARRET, FIEL 2-3 DRAWERS 1 5150.00 51.059.00 51.05	STATE	551	CABINET FILE 2-3 DRAWERS	1	\$150.00	\$150.00
SS CARRET, FILE, 2 BORNERS 1 S150.00 S15	SECONDERFY FILE, 2-1 DRAWNERS					
SS2 CARRET, FIE, 23 DRAWINS 1 S15000 S	SECOND S					
533 CARNET, PILE, 23 DRAWERS 1 \$150.00	533 CANNET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0	552	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
SSS	SAME	552	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
SSS	SAME	553	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
553	SSS CARNET, FILE, 2 DE MAYINES 2 SISSO, 24,500.00					
SASS CARRET, FILE, 23 DRAWERS 1 315000 51500	553 CARNET, FIRE, 2 3 DRAWTES					
554 CABINET, FILE, 23 DIAWVERS 1 \$150.00	SSA CANNET, FILE, 2 3 DRAWERS					
554 CABINET, FILE, 23 DIAWVERS 1 \$150.00	594 CARRET, HILL, 23 DRAWERS 1 \$150.00 \$150.00	553	CABINET, FILE, 2-3 DRAWERS	30	\$150.00	\$4,500.00
S54 CABINET, FILE, 23 DIAWERS 1 \$150.00 \$150.0	554 CAINIET, FILE, 23 DRAWTES 1 5150.00 5150.00 550	554	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
S54 CABINET, FILE, 23 DIAWERS 1 \$150.00 \$150.0	554 CAINIET, FILE, 23 DRAWTES 1 5150.00 5150.00 550	554	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
554 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, FIELZ, 23 DRAWERS 2 \$150.00 \$300.05 \$60.05	554 CABMET, FILE, 23 DRAWTES 1 \$150.00 \$150.00					
560 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60.05 CARMET, FILE, 23 DRAWERS 2 \$150.00 \$300.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.05 CARMET, FILE, 23 DRAWERS 1 \$150.00 \$150.05 \$500.05 \$60.0	500 CABMET, FILE, 23 DRAWTES 1 \$150.00 \$150.00					
560 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$300.00 \$500.00 \$600 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.00 \$500.00 \$600 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.00 \$500.00 \$600 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.00 \$500.00 \$600.00	560 CABINET, FILE, 22 DRAWFERS 1 \$150.00 \$150.00 \$50		CABINET, FILE, 2-3 DRAWERS			
560 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60.0	560 CABINET, FILE, 2.2 DRAWFERS 1 3150.00 3150.00 550	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$50.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60 CABINET, PILE, 23 DRAWERS 1 \$150.00 \$150.05 \$60.0	560 CABINET, FILE, 2.2 DRAWFERS 1 3150.00 3150.00 550	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
Series	560 CABINET, FILE, 22 DRAWFERS 1 \$150.00 \$150.				\$150.00	
560 CABINET, FILE, 23 DEAWERS 1 \$150.00 \$150.00 \$50.00	560 CABINET, FILE, 2-2 DRAWFERS 1 \$150.00 \$150.00 \$560 CABINET, FILE, 2-2 DRAWFERS 1 \$150.00 \$15					
560 CABINET, FILE, 2 a DRAWERS 1 SI50.00	560 CABINET, FILE, 23 DRAWERS 3 \$150.00 \$150.00 \$50.00 \$60.00 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 \$50.00 \$60.00 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 \$					
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$300,00 560 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$300,00 560 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$300,00 560 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$150,00 570 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$150,00 570 CABINET, FILE, 23 DRAWERS<		CABINET, FILE, 2-3 DRAWERS		\$150.00	\$150.00
560 CABINET, FILE, 23 DRAWERS 2 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1	560	560	CABINET, FILE, 2-3 DRAWERS	3	\$150.00	\$450.00
560 CABINET, FILE, 23 DRAWERS 2 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$300. 560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150. 570 CABINET, FILE, 23 DRAWERS 1	560	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,00 560 CABINET, FILE, 2-3 DRAWERS 2 \$150,00 \$300,0 560 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,0 570 CABINET, FILE, 2-3 DRAWER	Series Camert Filler, 2-3 Denawers 1 \$150.00 \$150.00 \$560 Camert Filler, 2-3 Denawers 2 \$150.00 \$150.00 \$560 Camert Filler, 2-3 Denawers 1 \$150.00 \$150.00 \$570 Camert Filler, 2-3 Den					
560 CABINET, FILE, 2-3 DRAWERS 1 5150.00 5350.00 550	Section Sect					
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	SEGO CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150		CABINET, FILE, 2-3 DRAWERS			
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 \$150.	560 CABINET, FILE, 23 DRAWERS 1 \$150,00 \$150,00 570 CABINET, FILE, 23 DRAWERS<	560	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560 CABINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 23 DRAWERS<	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 560 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 550.00 560 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 550.00 550.00 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 550.00 550.00 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 550.00 550.00 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 550.00 550.00 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 570 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 572 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 572 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 572 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 573 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$150.00 576 CAINET, FILE, 23 DRAWERS 1 \$150.00 \$1					
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01	560 CAINTE, FILE, 23 DRAWERS 1 \$150.00 \$150.00 570 CAINTE, FILE, 23 DRAWERS <					
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00	560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 550.00 560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAW					
560 CABINET, FILE, 2-3 DRAWERS 1	560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, FILE, 2-3 DRAWERS 1	560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 550.00 560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2.3 DRAW	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, FILE, 2-3 DRAWERS 1	560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 550.00 560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 560 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2.3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2.3 DRAW	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.					
550 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.	560 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.					
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.					
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$70 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$72 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$75 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$76 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 \$76 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 \$76 CABINET, FILE, 2-3 DRAWERS 1	560	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 575 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	570	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 575 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	570	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE	570 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150,00 \$150,00 576					
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 575 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 573 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 574 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 575 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE					
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE		CABINET, FILE, 2-3 DRAWERS			
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 576	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.00 576	570	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.01 576	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.00 576	570	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576					
570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	570 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE					
572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET	572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576					
572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576		CABINET, FILE, 2-3 DRAWERS	1		
572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 577 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	572	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 577 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	572	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET	572 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$3150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABI	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINE	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576		CABINET, FILE, 2-3 DRAWERS			
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.00 576					
576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576		• •			
576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET,	576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576	576	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$150.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$100.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$100.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$150.00 576					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$750.00	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$750.00	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00		CABINET, FILE, 2-3 DRAWERS			
576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.0 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 1 \$150.00 \$150.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00	576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.0	576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00	576	CABINET, FILE, 2-3 DRAWERS	1		
	576 CABINET, FILE, 2-3 DRAWERS 2 \$150.00 \$300.00 576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
7 S150 00 S300 (576 CABINET, FILE, 2-3 DRAWERS 5 \$150.00 \$750.00 576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
	576 CABINET, FILE, 2-3 DRAWERS 7 \$150.00 \$1,050.00					
		576	CABINET, FILE, 2-3 DRAWERS		\$150.00	\$750.00
576 CARINET FILE 2.2 DRAWERS 7 \$150.00 \$1.050.0		576	CABINET, FILE, 2-3 DRAWERS	7	\$150.00	\$1,050.00
370 CADINET, FIEL, 2.3 DIAWERS 7 \$150.00 \$1,050.00		576				
			- , ,	-		T :==:==
570 CADINET, FIEL, 2.5 DIAWERS 7 \$1,050.00	-: -					

576	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
581	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
583	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
630	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
630		1		\$150.00
	CABINET, FILE, 2-3 DRAWERS		\$150.00	
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
630	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
630	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
882	CABINET, FILE, 2-3 DRAWERS	2	\$150.00	\$300.00
3101	CABINET, FILE, 2-3 DRAWERS	1	\$150.00	\$150.00
540	CABINET, FILE, 3 DRAWER, W/ STORAGE	1	\$150.00	\$150.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210		2		\$440.00
	CABINET, FILE, 4-5 DRAWERS		\$220.00	
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	12	\$220.00	\$2,640.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
210	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
212	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
213	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
215	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
215	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
215	CABINET, FILE, 4-5 DRAWERS	10	\$220.00	\$2,200.00
400	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
400		1	\$220.00	\$220.00
	CABINET, FILE, 4-5 DRAWERS			
400	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
403	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
403	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
403	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
404	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
404	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
404	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
404	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
405	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
405	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
436	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
437	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
438	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
438	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
450	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
451	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
451	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
452	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
454	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
454	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
454	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
475	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
492	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
492	CABINET, FILE, 4-5 DRAWERS	7	\$220.00	\$1,540.00
494	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
494	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
495	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
495	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
495	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
495	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
495	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
499	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
	, , , ,	-	+==0.00	, _ 0.00

499	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
499	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
503	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
503	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
503	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
503 503	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 4	\$220.00 \$220.00	\$220.00 \$880.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	9	\$220.00	\$1,980.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509 509	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	2 1	\$220.00 \$220.00	\$440.00 \$220.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	9	\$220.00	\$1,980.00
509	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
509	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
509	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
510	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
510	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
510	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
510 540	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	3 1	\$220.00 \$220.00	\$660.00 \$220.00
540	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
540	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
540	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
541	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
545	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
551	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
551	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
551	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
551 552	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 2	\$220.00 \$220.00	\$220.00 \$440.00
552	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
554 554	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 1	\$220.00 \$220.00	\$220.00 \$220.00
554	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560 560	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 1	\$220.00 \$220.00	\$220.00 \$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560 560	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 1	\$220.00 \$220.00	\$220.00 \$220.00
560	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560 560	CABINET, FILE, 4-5 DRAWERS CABINET, FILE, 4-5 DRAWERS	1 1	\$220.00 \$220.00	\$220.00 \$220.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00

560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
	, ,			
560	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	15	\$220.00	\$3,300.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	10	\$220.00	\$2,200.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
		2		
570	CABINET, FILE, 4-5 DRAWERS		\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
570	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
570	CABINET, FILE, 4-5 DRAWERS	6	\$220.00	\$1,320.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570		2	\$220.00	\$440.00
	CABINET, FILE, 4-5 DRAWERS			
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	20	\$220.00	\$4,400.00
570	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
570	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
570	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
572	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
572	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1		\$220.00
			\$220.00	
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	18	\$220.00	\$3,960.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576		2	\$220.00	\$440.00
	CABINET, FILE, 4-5 DRAWERS			
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
		-	7223.00	7220.00

576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576		1	\$220.00	\$220.00
	CABINET, FILE, 4-5 DRAWERS			
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576		1	\$220.00	\$220.00
	CABINET, FILE, 4-5 DRAWERS			
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576		1		
	CABINET, FILE, 4-5 DRAWERS		\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
576	CABINET, FILE, 4-5 DRAWERS	2		\$440.00
			\$220.00	
576	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
576	CABINET, FILE, 4-5 DRAWERS	4	\$220.00	\$880.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
	• •			
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
576	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
591	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
591	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
630	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
630	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
630	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
630	CABINET, FILE, 4-5 DRAWERS	6	\$220.00	\$1,320.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
630	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
661	CABINET, FILE, 4-5 DRAWERS	12	\$220.00	\$2,640.00
882	CABINET, FILE, 4-5 DRAWERS	3	\$220.00	\$660.00
882	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
3101	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00
3101	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
3103	CABINET, FILE, 4-5 DRAWERS	1	\$220.00	\$220.00

3103	CABINET, FILE, 4-5 DRAWERS	5	\$220.00	\$1,100.00
3107	CABINET, FILE, 4-5 DRAWERS	2	\$220.00	\$440.00
215	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
497	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
509	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
510	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
510	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
554	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
560	CABINET, FILE, FIRE PROOF	4	\$1,325.00	\$5,300.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	7	\$1,325.00	\$9,275.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	3	\$1,325.00	\$3,975.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
560	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	4	\$1,325.00	\$5,300.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	7	\$1,325.00	\$9,275.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
570	CABINET, FILE, FIRE PROOF	2	\$1,325.00	\$2,650.00
581	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
581	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
591	CABINET, FILE, FIRE PROOF	1	\$1,325.00	\$1,325.00
210	CABINET, FILE, FIRE PROOF, 2 DRAWER	1	\$650.00	\$650.00
495	CABINET, FILE, FIRE PROOF, 2 DRAWER	1	\$650.00	\$650.00
499	CABINET, FILE, FIRE PROOF, 2 DRAWER	1	\$650.00	\$650.00
400	CABINET, FILE, INDEX CARD, 30 DRAWER	1	\$400.00	\$400.00
403	CABINET, FILE, INDEX CARD, 30 DRAWER	1	\$400.00	\$400.00
403	CABINET, FILE, INDEX CARD, 30 DRAWER	18	\$400.00	\$7,200.00
450	CABINET, FILE, INDEX CARD, 30 DRAWER	1	\$400.00	\$400.00
215	CABINET, FILE, INDEX CARDS, 2-3 DRAWERS	7	\$75.00	\$525.00
450	CABINET, FILE, INDEX CARDS, 2-3 DRAWERS	4	\$75.00	\$300.00
403	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	3	\$250.00	\$750.00
509	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	4	\$250.00	\$1,000.00
509	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	1	\$250.00	\$250.00
576	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	2	\$250.00	\$500.00
882	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	2	\$250.00	\$500.00
3103	CABINET, FILE, INDEX CARDS, 8-20 DRAWERS	5	\$250.00	\$1,250.00
405	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
451	CABINET, FILE, LATERAL	3	\$355.00	\$1,065.00
451	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
451	CABINET, FILE, LATERAL	5	\$355.00	\$1,775.00
475	CABINET, FILE, LATERAL	3	\$355.00	\$1,065.00
475	CABINET, FILE, LATERAL	3	\$355.00	\$1,065.00
503	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
503	CABINET, FILE, LATERAL	6	\$355.00	\$2,130.00
503	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
510	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
510	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
541	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
560	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
560	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
560	CABINET, FILE, LATERAL	1	\$355.00	\$355.00

		_		4
570	CABINET, FILE, LATERAL	2	\$355.00	\$710.00
576	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
581	CABINET, FILE, LATERAL	4	\$355.00	\$1,420.00
583	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
583	CABINET, FILE, LATERAL	1	\$355.00	\$355.00
210	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
210	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
212	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
213	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
400	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
		2		\$960.00
402	CABINET, FILE, LATERAL, 2 DRAWER		\$480.00	
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
402	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
403	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
404	CABINET, FILE, LATERAL, 2 DRAWER	8	\$480.00	\$3,840.00
404	CABINET, FILE, LATERAL, 2 DRAWER	11	\$480.00	\$5,280.00
425	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
425		1	\$480.00	\$480.00
	CABINET, FILE, LATERAL, 2 DRAWER			
437	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
439	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	4	\$480.00	\$1,920.00
440		1		
	CABINET, FILE, LATERAL, 2 DRAWER		\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
440		1	\$480.00	\$480.00
	CABINET, FILE, LATERAL, 2 DRAWER			
441	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
450	CABINET, FILE, LATERAL, 2 DRAWER	23	\$480.00	\$11,040.00
451	CABINET, FILE, LATERAL, 2 DRAWER	8	\$480.00	\$3,840.00
451	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
452	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
452	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
452	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
453	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
454	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	7	\$480.00	\$3,360.00
475 475				
	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
475	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
494	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
494	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00

495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
495		1	\$480.00	\$480.00
	CABINET, FILE, LATERAL, 2 DRAWER			
495	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
497	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
497	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
497	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
497	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
499	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
499	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
499	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
499	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
499	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
499	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
503	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
503	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
509	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
		1		
540	CABINET, FILE, LATERAL, 2 DRAWER		\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
540	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
541	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
541	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
541	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
541		2	\$480.00	\$960.00
	CABINET, FILE, LATERAL, 2 DRAWER			
542	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
542	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
542	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
542	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
542	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
545	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
553		1	\$480.00	\$480.00
	CABINET, FILE, LATERAL, 2 DRAWER			
553	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
554	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	3	\$480.00	\$1,440.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
560	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
560	CABINET, FILE, LATERAL, 2 DRAWER	16	\$480.00	\$7,680.00
560	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
570	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
570	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
570	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
570	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
570	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
572	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
576	CABINET, FILE, LATERAL, 2 DRAWER	4	\$480.00	\$1,920.00
576	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
576	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
576	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
576	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
576	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
576	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
576	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
581	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00

581	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
581	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
581	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
581	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
583	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
583	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
591	CABINET, FILE, LATERAL, 2 DRAWER	2	\$480.00	\$960.00
630	CABINET, FILE, LATERAL, 2 DRAWER	1	\$480.00	\$480.00
403	CABINET, FILE, LATERAL, 3 DRAWER	6	\$600.00	\$3,600.00
404	CABINET, FILE, LATERAL, 3 DRAWER	1	\$600.00	\$600.00
454	CABINET, FILE, LATERAL, 3 DRAWER	2	\$600.00	\$1,200.00
560	CABINET, FILE, LATERAL, 3 DRAWER	1	\$600.00	\$600.00
560	CABINET, FILE, LATERAL, 3 DRAWER	1	\$600.00	\$600.00
581	CABINET, FILE, LATERAL, 3 DRAWER	6	\$600.00	\$3,600.00
210	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
210	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
210	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
210	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
213	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
215	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
215	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
215	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
400	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
400	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
400	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
402	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
402	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
404	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
404	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
404		3		
	CABINET, FILE, LATERAL, 4 DRAWER		\$725.00	\$2,175.00
405	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
425	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
437	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
438	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
439	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
440	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
450	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
450	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
450	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
451		1	\$725.00	\$725.00
	CABINET, FILE, LATERAL, 4 DRAWER			
451	CABINET, FILE, LATERAL, 4 DRAWER	14	\$725.00	\$10,150.00
452	CABINET, FILE, LATERAL, 4 DRAWER	4	\$725.00	\$2,900.00
452	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
452	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
452		1		\$725.00
	CABINET, FILE, LATERAL, 4 DRAWER		\$725.00	
452	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
453	CABINET, FILE, LATERAL, 4 DRAWER	7	\$725.00	\$5,075.00
454	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
454	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
495	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
495	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
495	CABINET, FILE, LATERAL, 4 DRAWER	3	\$725.00	\$2,175.00
495	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
497	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
497	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
497	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
497	CABINET, FILE, LATERAL, 4 DRAWER	3	\$725.00	\$2,175.00
499	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
499	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
499	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
499	CABINET, FILE, LATERAL, 4 DRAWER	1		\$725.00
			\$725.00	
499	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
499	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
499	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
503	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
503		3	\$725.00	\$2,175.00
	CABINET, FILE, LATERAL, 4 DRAWER			
509	CABINET, FILE, LATERAL, 4 DRAWER	3	\$725.00	\$2,175.00
510	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
510	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
510	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
540	CABINET, FILE, LATERAL, 4 DRAWER	4	\$725.00	\$2,900.00
541	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
542	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
552	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
552	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
553	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
555	CHOINET, THE, EXTERNE, T DRAWER	1	7,23.00	\$723.00

553	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
	·			
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
560	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
560	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
570	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
570	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
570	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
570	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
576	CABINET, FILE, LATERAL, 4 DRAWER	2	\$725.00	\$1,450.00
576	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
576	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
581	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
581	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
		1		
581	CABINET, FILE, LATERAL, 4 DRAWER		\$725.00	\$725.00
630	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
882	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
3106	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
3106	CABINET, FILE, LATERAL, 4 DRAWER	1	\$725.00	\$725.00
215	CABINET, FILE, LATERAL, 5 DRAWER	4	\$970.00	\$3,880.00
403	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
403	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
426	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
426	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
427	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
428	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
429	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
440		9	\$970.00	\$8,730.00
	CABINET, FILE, LATERAL, 5 DRAWER			
440	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
450	CABINET, FILE, LATERAL, 5 DRAWER	7	\$970.00	\$6,790.00
450	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
451	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
475	CABINET, FILE, LATERAL, 5 DRAWER	5	\$970.00	\$4,850.00
475	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
475	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
495	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
499	CABINET, FILE, LATERAL, 5 DRAWER	4	\$970.00	\$3,880.00
499	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
499	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
509	CABINET, FILE, LATERAL, 5 DRAWER	8	\$970.00	\$7,760.00
545	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
545	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
545	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
545	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
545	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
551	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
554	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
560	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
560	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
560	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
560	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
570	CABINET, FILE, LATERAL, 5 DRAWER	5	\$970.00	\$4,850.00
572	CABINET, FILE, LATERAL, 5 DRAWER	2	\$970.00	\$1,940.00
576	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
576	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
630	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
630	CABINET, FILE, LATERAL, 5 DRAWER	1	\$970.00	\$970.00
630	·	1	\$970.00	\$970.00
	CABINET, FILE, LATERAL, 5 DRAWER			
404	CABINET, FILE, LATERAL, 6 DRAWER	24	\$980.00	\$23,520.00
450	CABINET, FILE, LATERAL, 6 DRAWER	2	\$980.00	\$1,960.00
551	CABINET, FILE, LATERAL, 6 DRAWER	2	\$980.00	\$1,960.00
581	CABINET, FILE, LATERAL, 6 DRAWER	1	\$980.00	\$980.00
450	CABINET, FILE, ROLLING TUB	3	\$100.00	\$300.00
494	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00
551	CABINET, FILE, ROLLING TOB	1	\$100.00	\$100.00
576	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00
576	CABINET, FILE, ROLLING TUB	2	\$100.00	\$200.00
576	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00
576	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00

576	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00
576	CABINET, FILE, ROLLING TUB	1	\$100.00	\$100.00
576	CABINET, FILE, ROLLING TUB	2	\$100.00	\$200.00
576	CABINET, FILE, ROLLING TUB	3	\$100.00	\$300.00
576	CABINET, FLAMMABLE/ ACID STORAGE	1	\$800.00	\$800.00
403	CABINET, FLAT FILE, 10 DRAWER	6	\$1,570.00	\$9,420.00
450	CABINET, FLAT FILE, 10 DRAWER	2	\$1,570.00	\$3,140.00
509	CABINET, FLAT FILE, 10 DRAWER	10	\$1,570.00	\$15,700.00
509	CABINET, FLAT FILE, 10 DRAWER	2	\$1,570.00	\$3,140.00
587	CABINET, FLAT FILE, 10 DRAWER	1	\$1,570.00	\$1,570.00
210	CABINET, FLAT FILE, 5 DRAWER	9	\$670.00	\$6,030.00
509	CABINET, FLAT FILE, 5 DRAWER	7	\$670.00	\$4,690.00
509	CABINET, FLAT FILE, 5 DRAWER	1	\$670.00	\$670.00
541	CABINET, FLAT FILE, 5 DRAWER	2	\$670.00	\$1,340.00
560	CABINET, FLAT FILE, 5 DRAWER	3	\$670.00	\$2,010.00
560	CABINET, FLAT FILE, 5 DRAWER	1	\$670.00	\$670.00
587	CABINET, FLAT FILE, 5 DRAWER	1	\$670.00	\$670.00
510	CABINET, FLAT FILE, CHECK STORAGE	1	\$200.00	\$200.00
341	CABINET, GLASS DISPLAY	1	\$250.00	\$250.00
494	CABINET, GLASS DISPLAY	2	\$250.00	\$500.00
495	CABINET, GLASS DISPLAY	2	\$250.00	\$500.00
540	CABINET, GLASS DISPLAY	2	\$250.00	\$500.00
405	CABINET, HALF SIZE	1	\$130.00	\$130.00
440	CABINET, HALF SIZE	1	\$130.00	\$130.00
492	CABINET, HALF SIZE	1	\$130.00	\$130.00
497	CABINET, HALF SIZE	1	\$130.00	\$130.00
509	CABINET, HALF SIZE	1	\$130.00	\$130.00
540	CABINET, HALF SIZE	1	\$130.00	\$130.00
552	CABINET, HALF SIZE	1	\$130.00	\$130.00
560	CABINET, HALF SIZE	1	\$130.00	\$130.00
560	CABINET, HALF SIZE	1	\$130.00	\$130.00
560	CABINET, HALF SIZE	1	\$130.00	\$130.00
560	CABINET, HALF SIZE	1	\$130.00	\$130.00
570	CABINET, HALF SIZE	1	\$130.00	\$130.00
576	CABINET, HALF SIZE	1	\$130.00	\$130.00
591	CABINET, HALF SIZE	1	\$130.00	\$130.00
630	CABINET, HALF SIZE	1	\$130.00	\$130.00
630	CABINET, HALF SIZE	1	\$130.00	\$130.00
630	CABINET, HALF SIZE	1	\$130.00	\$130.00
509	CABINET, OFFICE, WOOD, SMALL	1	\$475.00	\$475.00
540	CABINET, OFFICE, WOOD, SMALL	1	\$475.00	\$475.00
540	CABINET, OFFICE, WOOD, SMALL	1	\$475.00	\$475.00
576	CABINET, OFFICE, WOOD, SMALL	1	\$475.00	\$475.00
576	CABINET, OFFICE, WOOD, SMALL	2	\$475.00	\$950.00
576	CABINET, OFFICE, WOOD, SMALL	2	\$475.00	\$950.00
560	CABINET, POISON	1	\$315.00	\$315.00
3103	CABINET, POISON	1	\$315.00	\$315.00
509	CABINET, SANITIZING, UVC, LAPTOP/ TABLET	1	\$1,990.00	\$1,990.00
540	CABINET, STAND, BEDSIDE	1	\$175.00	\$175.00
210	CABINET, STORAGE, 1/2 SIZE	1	\$100.00	\$100.00
213	CABINET, STORAGE, 1/2 SIZE	1	\$100.00	\$100.00
215	CABINET, STORAGE, 1/2 SIZE	1	\$100.00	\$100.00
429	CABINET, STORAGE, 1/2 SIZE	1	\$100.00	\$100.00
545	CABINET, STORAGE, 1/2 SIZE	1	\$100.00	\$100.00
553	CABINET, STORAGE, 1/2 SIZE	4	\$100.00	\$400.00
3101	CABINET, STORAGE, FLAMMABLE, 12-25 GAL.	1	\$620.00	\$620.00
3106	CABINET, STORAGE, FLAMMABLE, 12-25 GAL.	1	\$618.00	\$618.00
3106	CABINET, STORAGE, FLAMMABLE, 12-25 GAL.	1	\$920.00	\$920.00
3107	CABINET, STORAGE, FLAMMABLE, 12-25 GAL.	1	\$618.00	\$618.00
509	CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$1,080.00	\$1,080.00
509	CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$1,080.00	\$1,080.00
576	CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$680.00	\$680.00
3101	CABINET, STORAGE, FLAMMABLE, 30 GAL. CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$680.00	\$680.00
3107	CABINET, STORAGE, FLAMMABLE, 30 GAL. CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$618.00	\$618.00
3107	·	1		
	CABINET, STORAGE, FLAMMABLE, 30 GAL.	1	\$680.00	\$680.00
210	CABINET, STORAGE, FLAMMABLE, 45 GAL.		\$830.00	\$830.00
509 3103	CABINET, STORAGE, FLAMMABLE, 45 GAL. CARINET STORAGE FLAMMABLE 45 GAL	1	\$830.00	\$830.00
3103	CABINET, STORAGE, FLAMMABLE, 45 GAL.	1	\$830.00	\$830.00
3106	CABINET, STORAGE, FLAMMABLE, 45 GAL.	1	\$830.00	\$830.00
3107	CABINET, STORAGE, FLAMMABLE, 45 GAL.	1	\$830.00	\$830.00
210	CABINET, STORAGE, FLAMMABLE, 60 GAL.	1	\$715.00	\$715.00
576	CABINET, STORAGE, FLAMMABLE, 60 GAL.	1	\$715.00	\$715.00
3103	CABINET, STORAGE, FLAMMABLE, 60 GAL.	1	\$1,490.00	\$1,490.00
3103	CABINET, STORAGE, FLAMMABLE, 60 GAL.	1	\$1,490.00	\$1,490.00
3103	CABINET, STORAGE, FLAMMABLE, 90-120 GAL.	1	\$1,930.00	\$1,930.00
3107	CABINET, STORAGE, FLAMMABLE, 90-120 GAL.	1	\$1,930.00	\$1,930.00

210	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
210	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
210	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
210	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
210	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
341	CABINET, STORAGE, FULL HEIGHT	4	\$255.00	\$1,020.00
400	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
403	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
437	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
441	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
451	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
452	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
454	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
494	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
495	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
497	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
497	CABINET, STORAGE, FULL HEIGHT	1		\$255.00
			\$255.00	
497	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
499	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
499	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
499	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
499	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
509	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
509	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
509	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
510	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
	·	1		
540	CABINET, STORAGE, FULL HEIGHT		\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
540	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
540	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
540		2		\$510.00
	CABINET, STORAGE, FULL HEIGHT		\$255.00	
540	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
541	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
541	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
541	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
541	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
542	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
545	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
545	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
545	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
545	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
552	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
552				
	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
554	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
	CABINET, STORAGE, FULL HEIGHT			\$255.00
560	·	1	\$255.00	
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
560	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	4	\$255.00	\$1,020.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	4	\$255.00	\$1,020.00
560	CABINET, STORAGE, FULL HEIGHT	5	\$255.00	\$1,275.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
560	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
	• • •			

570	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
570	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	3	\$255.00	\$765.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	4	\$255.00	\$1,020.00
576	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
576	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
581	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
581	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
587	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
882	CABINET, STORAGE, FULL HEIGHT	2	\$255.00	\$510.00
3103	CABINET, STORAGE, FULL HEIGHT	1	\$255.00	\$255.00
450	CABINET, STORAGE, HALF HEIGHT	2	\$100.00	\$200.00
503	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
509	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
509	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
509	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
540	CABINET, STORAGE, HALF HEIGHT	2	\$100.00	\$200.00
545	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
554	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
554	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560		1	\$100.00	\$100.00
	CABINET, STORAGE, HALF HEIGHT			
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
560	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
570	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
570	CABINET, STORAGE, HALF HEIGHT	2	\$100.00	\$200.00
576	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
576		2	\$100.00	\$200.00
	CABINET, STORAGE, HALF HEIGHT			
576	CABINET, STORAGE, HALF HEIGHT	3	\$100.00	\$300.00
576	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
576	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
581	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
587	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
630	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
630	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
882	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
882	CABINET, STORAGE, HALF HEIGHT	1	\$100.00	\$100.00
3103	CABINET, STORAGE, ROLLING, FULL HEIGHT	1	\$1,000.00	\$1,000.00
3103	CABINET, STORAGE, ROLLING, FULL HEIGHT	1	\$1,000.00	\$1,000.00
210	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
497	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
499	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
545	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
554	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
570	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
576	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
576	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
630	CABINET, STORAGE, ROLLING, HALF HEIGHT	1	\$475.00	\$475.00
403	CABINET, STORAGE, W/ BLUEPRINT RACK	33	\$435.00	\$14,355.00
570	CABINET, WARMING, 2 DOOR, PASS THROUGH	1	\$5,700.00	\$5,700.00
570	CABINET, WARMING, 2 DOOR, PASS THROUGH	1	\$5,700.00	\$5,700.00

3106	CABINET, WARMING, 2 DOOR, REACH-IN	1	\$1,816.45	\$1,816.45
576	CABINET, WARMING, EDGGH, NEIGHT NO	1	\$2,200.00	\$2,200.00
576	CABINET, WARMING, TRANSPORT	1	\$2,025.00	\$2,025.00
503	CABLE BOX	6	\$50.00	\$300.00
215	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
215	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
215	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
451	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
451	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
494	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
553 570	CALCULATOR, DESK TOP, LOW END CALCULATOR, DESK TOP, LOW END	1 1	\$65.00 \$65.00	\$65.00 \$65.00
570	CALCULATOR, DESK TOP, LOW END	1	\$65.00 \$65.00	\$65.00
3106	CALCULATOR, DESK TOP, LOW END	1	\$65.00	\$65.00
214	CALCULATOR, DESK TOP, HIGH END	2	\$100.00	\$200.00
400	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
400	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
404	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
450	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
450	CALCULATOR, DESK TOP, HIGH END	5	\$100.00	\$500.00
450	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
451	CALCULATOR, DESK TOP, HIGH END	7	\$100.00	\$700.00
451	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
451	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
452	CALCULATOR, DESK TOP, HIGH END	1 1	\$100.00 \$100.00	\$100.00 \$100.00
452 452	CALCULATOR, DESK TOP, HIGH END CALCULATOR, DESK TOP, HIGH END	1	\$100.00 \$100.00	\$100.00
452	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
452	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
452	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
452	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
453	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
453	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
453	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
454	CALCULATOR, DESK TOP, HIGH END	2	\$100.00	\$200.00
492	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
494	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495 495	CALCULATOR, DESK TOP, HIGH END CALCULATOR, DESK TOP, HIGH END	1 1	\$100.00 \$100.00	\$100.00 \$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
495	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
497	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
497	CALCULATOR, DESK TOP, HIGH END	5	\$100.00	\$500.00
497	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
497	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	2	\$100.00	\$200.00
499 499	CALCULATOR, DESK TOP, HIGH END CALCULATOR, DESK TOP, HIGH END	20 1	\$100.00 \$100.00	\$2,000.00 \$100.00
499	CALCULATOR, DESK TOP, HIGH END	3	\$100.00	\$300.00
499	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	3	\$100.00	\$300.00
499	CALCULATOR, DESK TOP, HIGH END	5	\$100.00	\$500.00
499	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	6	\$100.00	\$600.00
499	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	7	\$100.00	\$700.00
499	CALCULATOR, DESK TOP, HIGH END	4	\$100.00	\$400.00
499	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
499	CALCULATOR, DESK TOP, HIGH END	8	\$100.00	\$800.00
509	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
509 540	CALCULATOR, DESK TOP, HIGH END CALCULATOR, DESK TOP, HIGH END	1 1	\$100.00 \$100.00	\$100.00 \$100.00
551	CALCULATOR, DESK TOP, HIGH END CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
560	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
570	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
576	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
576	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
576	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
576	CALCULATOR, DESK TOP, HIGH END	1	\$100.00	\$100.00
570	CALCULATOR, GRAPHIC SCIENTIFIC	7	\$150.00	\$1,050.00

560	CAMCORDER	1	\$240.00	\$240.00
560	CAMCORDER	1	\$240.00	\$240.00
570	CAMCORDER	1	\$240.00	\$240.00
570	CAMCORDER	1	\$240.00	\$240.00
541	CAMCORDER, DIGITAL	1	\$945.00	\$945.00
541	CAMCORDER, DIGITAL	1	\$945.00	\$945.00
540	CAMCORDER, HD, PROFESSIONAL, COMPACT	1	\$2,500.00	\$2,500.00
540	CAMCORDER, HD, PROFESSIONAL, COMPACT	1	\$2,500.00	\$2,500.00
		1		
540	CAMCORDER, HD, PROFESSIONAL, COMPACT		\$2,500.00	\$2,500.00
560	CAMERA SYSTEM, COVERT	1	\$8,500.00	\$8,500.00
560	CAMERA SYSTEM, COVERT	1	\$6,500.00	\$6,500.00
560		1		\$6,500.00
	CAMERA SYSTEM, COVERT		\$6,500.00	
560	CAMERA UPGRADE KIT, FORENSIC, 3D	1	\$6,116.50	\$6,116.50
560	CAMERA UPGRADE KIT, FORENSIC, 3D	1	\$6,116.50	\$6,116.50
402	CAMERA, 35MM, LOW END	1	\$180.00	\$180.00
560	CAMERA, CRIMESCENE	1	\$2,966.75	\$2,966.75
492	CAMERA, DIGITAL	3	\$130.00	\$390.00
560	CAMERA, DIGITAL	1	\$330.00	\$330.00
560	CAMERA, DIGITAL	1	\$330.00	\$330.00
560	CAMERA, DIGITAL	1	\$1,989.43	\$1,989.43
560	CAMERA, DIGITAL	1	\$330.00	\$330.00
570		1	\$130.00	\$130.00
	CAMERA, DIGITAL			
570	CAMERA, DIGITAL	1	\$130.00	\$130.00
581	CAMERA, DIGITAL	2	\$330.00	\$660.00
440	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
540	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
541	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
553	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
553	CAMERA, DIGITAL, SLR	1	\$709.41	\$709.41
560	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
560	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
560	CAMERA, DIGITAL, SLR	1	\$925.00	\$925.00
425	CAMERA, DOCUMENT	1	\$785.00	\$785.00
426	CAMERA, DOCUMENT	1	\$785.00	\$785.00
		1	\$785.00	\$785.00
428	CAMERA, DOCUMENT			
429	CAMERA, DOCUMENT	1	\$785.00	\$785.00
438	CAMERA, DOCUMENT	1	\$785.00	\$785.00
439	CAMERA, DOCUMENT	1	\$785.00	\$785.00
441	CAMERA, DOCUMENT	1	\$785.00	\$785.00
453	CAMERA, DOCUMENT	1	\$785.00	\$785.00
402	CAMERA, DOCUMENT, LOW-END	1	\$275.00	\$275.00
576	CAMERA, DOCUMENT, LOW-END	1	\$275.00	\$275.00
576	CAMERA, DOCUMENT, LOW-END	1	\$275.00	\$275.00
560	CAMERA, EYE	1	\$200.00	\$200.00
			•	
560	CAMERA, FULL-SPECTRUM, FORENSIC	1	\$31,900.00	\$31,900.00
560	CAMERA, LICENSE RECOGNITION SYSTEM	1	\$20,140.00	\$20,140.00
560	CAMERA, LIVE LINK	1	\$10,342.62	\$10,342.62
440	CAMERA, POLAROID	1	\$60.00	\$60.00
509	CAMERA, SEWER	1	\$6,485.00	\$6,485.00
560	CAMERA, STREET LIGHT SURVEILLANCE SYSTEM	1	\$6,573.00	\$6,573.00
560	CAMERA, STREET LIGHT SURVEILLANCE SYSTEM	1	\$6,573.00	\$6,573.00
509	CAMERA, THERMAL IMAGER	1	\$10,130.00	\$10,130.00
509	CAMERA, THERMAL IMAGER	1	\$13,450.00	\$13,450.00
542	CAMERA, THERMAL IMAGER	1	\$9,850.00	\$9,850.00
	,			
542	CAMERA, THERMAL IMAGER	1	\$9,850.00	\$9,850.00
542	CAMERA, THERMAL IMAGER	1	\$9,850.00	\$9,850.00
560	CAMERA, UNDERWATER	1	\$799.00	\$799.00
214	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
400	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
400	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
402	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
	· · · · · · · · · · · · · · · · · · ·			
435	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
452	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
494	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
	,			
503	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
503	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
509	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
		1		
510	CAMERA, VIDEO CONFERENCE, HD		\$3,250.00	\$3,250.00
540	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
554	CAMERA, VIDEO CONFERENCE, HD	1	\$3,250.00	\$3,250.00
213	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
213	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
213	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
541	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
553	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
3106	CAMERA, VIDEO TELECONFERENCING SYSTEM	1	\$1,100.00	\$1,100.00
				•

581	CARABINER, RESCUE	25	\$40.00	\$1,000.00
402	CARABINER, RESCUE CART, ALL-PURPOSE	1	\$170.00	\$1,000.00
403	CART, ALL-PURPOSE	1	\$170.00	\$170.00
437	CART, ALL-PURPOSE	1	\$170.00	\$170.00
450	CART, ALL-PURPOSE	8	\$170.00	\$1,360.00
450	CART, ALL-PURPOSE	3	\$170.00	\$510.00
454	CART, ALL-PURPOSE	1	\$170.00	\$170.00
492	CART, ALL-PURPOSE	2	\$170.00	\$340.00
494	CART, ALL-PURPOSE	1	\$170.00	\$170.00
497	CART, ALL-PURPOSE	1	\$170.00	\$170.00
499	CART, ALL-PURPOSE	1	\$170.00	\$170.00
503	CART, ALL-PURPOSE	1	\$170.00	\$170.00
503	CART, ALL-PURPOSE	2	\$170.00	\$340.00
509	CART, ALL-PURPOSE	1	\$170.00	\$170.00
509	CART, ALL-PURPOSE	1	\$170.00	\$170.00
541	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL-PURPOSE	1	\$170.00	\$170.00
560	CART, ALL PURPOSE	1	\$170.00	\$170.00
560	CART, ALL PURPOSE	1	\$170.00	\$170.00 \$2,210.00
570	CART, ALL PURPOSE	13	\$170.00	. ,
570 570	CART, ALL PURPOSE	1 1	\$170.00 \$170.00	\$170.00 \$170.00
570	CART, ALL-PURPOSE CART, ALL-PURPOSE	2	\$170.00	\$340.00
570	CART, ALL-PURPOSE CART, ALL-PURPOSE	5	\$170.00	\$850.00
570	CART, ALL-PURPOSE CART, ALL-PURPOSE	1	\$170.00	\$170.00
570	CART, ALL-PURPOSE	3	\$170.00	\$510.00
576	CART, ALL-PURPOSE	3	\$170.00	\$510.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	2	\$170.00	\$340.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	2	\$170.00	\$340.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	3	\$170.00	\$510.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
576	CART, ALL-PURPOSE	2	\$170.00	\$340.00
576	CART, ALL-PURPOSE	1	\$170.00	\$170.00
581	CART, ALL-PURPOSE	3	\$170.00	\$510.00
581	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
630	CART, ALL-PURPOSE	1	\$170.00	\$170.00
882	CART, ALL-PURPOSE	3	\$170.00	\$510.00
882	CART, ALL-PURPOSE	6	\$170.00	\$1,020.00
570	CART, BALL, UNIVERSAL	11	\$75.00	\$825.00
576	CART, BALL, UNIVERSAL	2	\$75.00	\$150.00
576	CART, BALL, UNIVERSAL	1	\$75.00	\$75.00
403	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
425	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
436	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
437	CART, BOOKS, MOBILE	2	\$181.00	\$362.00
438	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
454 454	CART, BOOKS, MOBILE	5 1	\$181.00 \$181.00	\$905.00 \$181.00
454 454	CART, BOOKS, MOBILE	1	\$181.00 \$181.00	\$181.00 \$181.00
454 495	CART, BOOKS, MOBILE CART, BOOKS, MOBILE	1 2	\$181.00 \$181.00	\$181.00 \$362.00
495 495	CART, BOOKS, MOBILE	1	\$181.00 \$181.00	\$181.00
545	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
543 572	CART, BOOKS, MOBILE	2	\$181.00	\$362.00
576	CART, BOOKS, MOBILE CART, BOOKS, MOBILE	1	\$181.00	\$181.00
576	CART, BOOKS, MOBILE	1	\$181.00	\$181.00
509	CART, CUSTODIAL	1	\$155.00	\$155.00
	-····,·-	-	+5.00	7255.00

541	CART, CUSTODIAL	1	\$155.00	\$155.00
560	CART, CUSTODIAL	1	\$155.00	\$155.00
570	CART, CUSTODIAL	8	\$155.00	\$1,240.00
570	CART, CUSTODIAL	1	\$155.00	\$155.00
570	CART, CUSTODIAL	1	\$155.00	\$155.00
570	CART, CUSTODIAL	1	\$155.00	\$155.00
570	CART, CUSTODIAL	2	\$155.00	\$310.00
	•			
570	CART, CUSTODIAL	2	\$155.00	\$310.00
570	CART, CUSTODIAL	1	\$155.00	\$155.00
570	CART, CUSTODIAL	1	\$155.00	\$155.00
576	CART, CUSTODIAL	5	\$155.00	\$775.00
3106	CART, CUSTODIAL	1	\$155.00	\$155.00
3106	CART, CUSTODIAL	1	\$155.00	\$155.00
545	CART, FOOD TRANSPORT	1	\$150.00	\$150.00
			·	
570	CART, FOOD TRANSPORT	1	\$150.00	\$150.00
452	CART, HANGING FILE	2	\$36.00	\$72.00
497	CART, HANGING FILE	1	\$36.00	\$36.00
570	CART, HANGING FILE	1	\$36.00	\$36.00
591	CART, HANGING FILE	1	\$36.00	\$36.00
630	CART, HANGING FILE	1	\$36.00	\$36.00
545	CART, MEDICAL EMERGENCY (CRASH)	1	\$1,423.00	\$1,423.00
		1		
570	CART, MEDICAL EMERGENCY (CRASH)		\$1,450.00	\$1,450.00
570	CART, MEDICAL EMERGENCY (CRASH)	1	\$1,450.00	\$1,450.00
570	CART, MEDICAL EMERGENCY (CRASH)	1	\$1,450.00	\$1,450.00
570	CART, MEDICATION	1	\$3,850.00	\$3,850.00
509	CART, MICRO COMPUTER	1	\$375.00	\$375.00
560	CART, STAINLESS STEEL W/ 3 SHELF (4' H X 2' W X 4' L)	1	\$500.00	\$500.00
454	CART, STAINLESS STEEL, W/3 SHELF (3/4 X 21" X 37")	1	\$100.00	\$100.00
545	CART, STAINLESS STEEL, W/3 SHELF (3/4 X 21" X 37")	1	\$100.00	\$100.00
581	CART, STAINLESS STEEL, W/3 SHELF (3/4 X 21" X 37")	6	\$100.00	\$600.00
3101	CASH REGISTER, POINT OF SALE	1	\$1,990.00	\$1,990.00
3106	CASH REGISTER, VOCATIONAL	1	\$280.00	\$280.00
440	CASSETTE PLAYER W/ AM/FM RADIO, PORTABLE	2	\$150.00	\$300.00
440	CASSETTE TAPE RECORDER/PLAYER	1	\$59.00	\$59.00
3101	CEMENT MIXER	1	\$600.00	\$600.00
570	CENTRIFUGE, BENCHTOP, SCIENCE	1	\$375.00	\$375.00
570	CENTRIFUGE, BENCHTOP, SCIENCE	1	\$2,200.00	\$2,200.00
576	CENTRIFUGE, BENCHTOP, SCIENCE	1	\$375.00	\$375.00
475	CHAIR, RECLINER (SM)	2	\$250.00	\$500.00
540	CHAIR, RECLINER (SM)	2	\$250.00	\$500.00
540	CHAIR, RECLINER (SM)	6	\$250.00	\$1,500.00
540	CHAIR, RECLINER (SM)	1	\$250.00	\$250.00
540	CHAIR, RECLINER (SM)	1	\$250.00	\$250.00
540	CHAIR, RECLINER (SM)	2	\$250.00	\$500.00
540	CHAIR, RECLINER (SM)	2	\$250.00	\$500.00
438	CHAIR, BOARD/ CONFERENCE/ COUNCIL ROOM	19	\$350.00	\$6,650.00
450	CHAIR, BOARD/ CONFERENCE/ COUNCIL ROOM	1	\$350.00	\$350.00
509	CHAIR, BOARD/ CONFERENCE/ COUNCIL ROOM	12	\$350.00	\$4,200.00
510	CHAIR, BOARD/ CONFERENCE/ COUNCIL ROOM	8	\$350.00	\$2,800.00
570	CHAIR, DENTAL	1	\$12,700.00	\$12,700.00
214	CHAIR, DINING	3	\$150.00	\$450.00
540	CHAIR, DINING	3	\$150.00	\$450.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	7	\$300.00	\$2,100.00
210	CHAIR, EXECUTIVE	2	\$300.00	\$600.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
210	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
215	CHAIR, EXECUTIVE	5	\$300.00	\$1,500.00
215	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
215	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
400	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
400	CHAIR, EXECUTIVE	7	\$300.00	\$2,100.00
400	CHAIR, EXECUTIVE	10	\$300.00	\$3,000.00
400	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
403	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
405	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
405	CHAIR, EXECUTIVE	2	\$300.00	\$600.00
426	CHAIR, EXECUTIVE	15	\$300.00	\$4,500.00
427	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
428	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
428	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
				•

428	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
429	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
429	CHAIR, EXECUTIVE	18	\$300.00	\$5,400.00
429	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
435	CHAIR, EXECUTIVE	4	\$300.00	\$1,200.00
437	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
439	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
439	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
441	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
451		2		\$600.00
	CHAIR, EXECUTIVE		\$300.00	
452	CHAIR, EXECUTIVE	8	\$300.00	\$2,400.00
453	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
453	CHAIR, EXECUTIVE	6	\$300.00	\$1,800.00
453	CHAIR, EXECUTIVE	5	\$300.00	\$1,500.00
453	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
453	CHAIR, EXECUTIVE	12	\$300.00	\$3,600.00
475	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
475	CHAIR, EXECUTIVE	7	\$300.00	\$2,100.00
475	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
475	CHAIR, EXECUTIVE	8	\$300.00	\$2,400.00
475	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
494	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
494	CHAIR, EXECUTIVE	2	\$300.00	\$600.00
497	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
540	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
540	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
552	CHAIR, EXECUTIVE	2	\$300.00	\$600.00
552	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
552	CHAIR, EXECUTIVE	2	\$300.00	\$600.00
560	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
570	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
572	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
591	CHAIR, EXECUTIVE	1	\$300.00	\$300.00
661	CHAIR, EXECUTIVE	8	\$300.00	\$2,400.00
400	CHAIR, EXECUTIVE, WOOD	1	\$450.00	\$450.00
400	CHAIR, EXECUTIVE, WOOD	2	\$450.00	\$900.00
452	CHAIR, EXECUTIVE, WOOD	1	\$450.00	\$450.00
452	CHAIR, EXECUTIVE, WOOD	3	\$450.00	\$1,350.00
499	CHAIR, EXECUTIVE, WOOD	2	\$450.00	\$900.00
554	CHAIR, EXECUTIVE, WOOD	1	\$450.00	\$450.00
				\$775.00
453	CHAIR, EXECUTIVE/ JUDGE, HIGH END	1	\$775.00	
400	CHAIR, FOLDING	8	\$15.00	\$120.00
403	CHAIR, FOLDING	1	\$15.00	\$15.00
403	CHAIR, FOLDING	5	\$15.00	\$75.00
454	CHAIR, FOLDING	1	\$15.00	\$15.00
497	CHAIR, FOLDING	1	\$15.00	\$15.00
503	CHAIR, FOLDING	1	\$15.00	\$15.00
503	CHAIR, FOLDING	1	\$15.00	\$15.00
509	CHAIR, FOLDING	1	\$15.00	\$15.00
552	CHAIR, FOLDING	5	\$15.00	\$75.00
554	CHAIR, FOLDING	23	\$15.00	\$345.00
554	CHAIR, FOLDING	8	\$15.00	\$120.00
554	CHAIR, FOLDING	1	\$15.00	\$15.00
560	CHAIR, FOLDING	1	\$15.00	\$15.00
560	CHAIR, FOLDING	2	\$15.00	\$30.00
560	CHAIR, FOLDING	1	\$15.00	\$15.00
570	CHAIR, FOLDING	30	\$15.00	\$450.00
570	CHAIR, FOLDING	8	\$15.00	\$120.00
570	CHAIR, FOLDING	1	\$15.00	\$15.00
570	CHAIR, FOLDING	1	\$15.00	\$15.00
570	CHAIR, FOLDING	1	\$15.00	\$15.00
572	CHAIR, FOLDING	2	\$15.00	\$30.00
576	CHAIR, FOLDING	21	\$15.00	\$315.00
576	CHAIR, FOLDING	2	\$15.00	\$30.00
576	CHAIR, FOLDING	1	\$15.00	\$15.00
576	CHAIR, FOLDING	4	\$15.00	\$60.00
576	CHAIR, FOLDING	1	\$15.00	\$15.00
576	CHAIR, FOLDING	475	\$15.00	\$7,125.00
581	CHAIR, FOLDING	2	\$15.00	\$30.00
581	CHAIR, FOLDING	3	\$15.00	\$45.00
583	CHAIR, FOLDING	1	\$15.00	\$15.00
591	CHAIR, FOLDING	1	\$15.00	\$15.00
3106	CHAIR, FOLDING	1	\$15.00	\$15.00
3106	CHAIR, FOLDING	4	\$15.00	\$60.00
3107	CHAIR, FOLDING	3	\$15.00	\$45.00
3107	CHAIR, FOLDING	8	\$15.00	\$120.00

			4	
499	CHAIR, FOLDING, PADDED	1	\$35.00	\$35.00
503	CHAIR, FOLDING, PADDED	1	\$35.00	\$35.00
540	CHAIR, FOLDING, PADDED	1	\$35.00	\$35.00
540	CHAIR, FOLDING, PADDED	1	\$35.00	\$35.00
560	CHAIR, FOLDING, PADDED	2	\$35.00	\$70.00
572	CHAIR, FOLDING, PADDED	16	\$35.00	\$560.00
576	CHAIR, FOLDING, PADDED	5	\$35.00	\$175.00
576	CHAIR, FOLDING, PADDED	1	\$35.00	\$35.00
3106	CHAIR, FOLDING, PADDED	4	\$35.00	\$140.00
665	CHAIR, LIBRARY, W/ & W/O ARMS	47	\$200.00	\$9,400.00
341	CHAIR, LOUNGE	2	\$95.00	\$190.00
402	CHAIR, LOUNGE	2	\$95.00	\$190.00
405	CHAIR, LOUNGE	2	\$95.00	\$190.00
405	CHAIR, LOUNGE	2	\$95.00	\$190.00
405	CHAIR, LOUNGE	2	\$95.00	\$190.00
405	CHAIR, LOUNGE	2	\$95.00	\$190.00
	•			
453	CHAIR, LOUNGE	2	\$95.00	\$190.00
560	CHAIR, LOUNGE	2	\$95.00	\$190.00
402	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	2	\$60.00	\$120.00
451	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	1	\$60.00	\$60.00
451	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	1	\$60.00	\$60.00
452	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	7	\$60.00	\$420.00
540	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	4	\$60.00	\$240.00
576	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	2	\$60.00	\$120.00
576	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	2	\$60.00	\$120.00
576	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	2	\$60.00	\$120.00
576	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	1	\$60.00	\$60.00
576	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	1	\$60.00	\$60.00
581	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	1	\$60.00	\$60.00
581	CHAIR, METAL FRAME, PADDED SEAT & BACK W/WO ARMS	2	\$60.00	\$120.00
402	CHAIR, NESTING	12	\$185.00	\$2,220.00
402	CHAIR, NESTING	48	\$185.00	\$8,880.00
402	CHAIR, NESTING	5	\$185.00	\$925.00
494	CHAIR, NESTING	42	\$185.00	\$7,770.00
540	CHAIR, NESTING	4	\$185.00	\$740.00
560	CHAIR, NESTING	72	\$185.00	\$13,320.00
441	CHAIR, OCCASIONAL	2	\$300.00	\$600.00
450	CHAIR, OCCASIONAL	2	\$300.00	\$600.00
450	CHAIR, OCCASIONAL	2	\$300.00	\$600.00
453	CHAIR, OCCASIONAL	4	\$300.00	\$1,200.00
475	CHAIR, OCCASIONAL	5	\$300.00	\$1,500.00
475	CHAIR, OCCASIONAL	4	\$300.00	\$1,200.00
499	CHAIR, OCCASIONAL	3	\$300.00	\$900.00
499	CHAIR, OCCASIONAL	3	\$300.00	\$900.00
		2		
540	CHAIR, OCCASIONAL		\$300.00	\$600.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
210		1		\$115.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
210	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
211	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
211	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
211	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

211	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
212	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
212	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
212	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
213	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
213	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
214	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
214	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3 7	\$115.00	\$345.00
214 214	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	9	\$115.00 \$115.00	\$805.00 \$1,035.00
215	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
215	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
215	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
215	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
215	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
341	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
341	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
341	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
341 341	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
341	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
341	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
400 400	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 1	\$115.00 \$115.00	\$230.00 \$115.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
400	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402 402	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 1	\$115.00 \$115.00	\$230.00 \$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
402	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	6 6	\$115.00	\$690.00
402 403	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00 \$115.00	\$690.00 \$230.00
403	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
403	CHAIR, OFFICE TASK, W/ OR W/O ARMS	11	\$115.00	\$1,265.00
403	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
403	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
403	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
404	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
404	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
404 404	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	6 1	\$115.00 \$115.00	\$690.00 \$115.00
404	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
404	CHAIR, OFFICE TASK, W/ OR W/O ARMS	17	\$115.00	\$1,955.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
405	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00 \$115.00	\$690.00 \$115.00
405 425	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 11	\$115.00 \$115.00	\$115.00 \$1,265.00
425	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$1,263.00
425	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
425	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
426	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
426	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
426	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
427	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00

427	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
427	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
427	CHAIR, OFFICE TASK, W/ OR W/O ARMS	19	\$115.00	\$2,185.00
428	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
428	CHAIR, OFFICE TASK, W/ OR W/O ARMS	19	\$115.00	\$2,185.00
428 428	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 5	\$115.00 \$115.00	\$115.00 \$575.00
429	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
429	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
429	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
435	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
435	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
435 436	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 16	\$115.00	\$115.00
436	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$1,840.00 \$115.00
436	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
436	CHAIR, OFFICE TASK, W/ OR W/O ARMS	13	\$115.00	\$1,495.00
437	CHAIR, OFFICE TASK, W/ OR W/O ARMS	16	\$115.00	\$1,840.00
437	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
437	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
438 438	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
439	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
439	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
439	CHAIR, OFFICE TASK, W/ OR W/O ARMS	18	\$115.00	\$2,070.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440 440	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440 440	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440 440	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440 440	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
440	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
441 441	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	16 1	\$115.00 \$115.00	\$1,840.00 \$115.00
450	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
450	CHAIR, OFFICE TASK, W/ OR W/O ARMS	40	\$115.00	\$4,600.00
450	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
451	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
451	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
451 451	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	10 3	\$115.00 \$115.00	\$1,150.00 \$345.00
451 451	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	3 17	\$115.00 \$115.00	\$345.00 \$1,955.00
451	CHAIR, OFFICE TASK, W/ OR W/O ARMS	18	\$115.00	\$2,070.00
451	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
451	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
452	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
452 452	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
452 452	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 2	\$115.00 \$115.00	\$115.00 \$230.00
452	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
452	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00

453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
453	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	11	\$115.00	\$1,265.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454		1		
	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
454	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
				·
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
475		2	\$115.00	\$230.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475		1		\$115.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
475	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
492				\$575.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	
492	CHAIR, OFFICE TASK, W/ OR W/O ARMS	16	\$115.00	\$1,840.00
492	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
492	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
492	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
492	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
494	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495 495	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	4 1	\$115.00 \$115.00	\$460.00 \$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495 495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7 5	\$115.00	\$805.00 \$575.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
495	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
497 497	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 6	\$115.00 \$115.00	\$115.00 \$690.00
497	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
497	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
497	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
497	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
497	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499 499	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 22	\$115.00 \$115.00	\$115.00 \$2,530.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499 499	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 12	\$115.00 \$115.00	\$115.00 \$1,380.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$1,380.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499 499	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 1	\$115.00 \$115.00	\$230.00 \$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
499 499	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
499	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503 503	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5 1	\$115.00 \$115.00	\$575.00 \$115.00
503 503	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503 503	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 3	\$115.00 \$115.00	\$230.00 \$345.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$345.00 \$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00

503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
503		1	\$115.00	\$115.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
503	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
		1		\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
				·
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	26	\$115.00	\$2,990.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
509	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
		3		\$345.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
510	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
				·
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
E40	CHAIR OFFICE TASK MI OR MIO ARMS	2		\$34E 00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	20	\$115.00	\$2,300.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	27	\$115.00	\$3,105.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	24	\$115.00	\$2,760.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	17	\$115.00	\$1,955.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
340				
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
				·
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
		2		\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3		\$345.00
540			\$115.00	
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
540	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	17	\$115.00	\$1,955.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	17	\$115.00	\$1,955.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	33	\$115.00	\$3,795.00
541	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
542	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
542	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
542	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
542	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
EAE		7		\$805.00
545	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	
545	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
		1		
545	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	\$115.00
545	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
EAE	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2		\$220.00
545	CHAIR, OFFICE TASK, W/ OR W/O ARIVIS		\$115.00	\$230.00
545	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	13	\$115.00	\$1,495.00
	CHAIR, OFFICE TASK, W/ OR W/O ARIVIS			
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	15	\$115.00	\$1,725.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	11	\$115.00	\$1,265.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
551	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
552	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
552	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
552	CHAIR, OFFICE TASK, W/ OR W/O ARMS	9	\$115.00	\$1,035.00
552	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
553				
	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
553	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
				•
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
554	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 11	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00 \$115.00	\$1,265.00 \$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	13	\$115.00	\$1,495.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 1	\$115.00 \$115.00	\$230.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 11	\$115.00 \$115.00	\$115.00 \$1,265.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$1,265.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	50	\$115.00	\$5,750.00

560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 8	\$115.00 \$115.00	\$115.00 \$920.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	15	\$115.00	\$1,725.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6 1	\$115.00	\$690.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00 \$115.00	\$115.00 \$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
560 560	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	3 2	\$115.00 \$115.00	\$345.00 \$230.00
560	CHAIR, OFFICE TASK, W/ OR W/O ARMS	9	\$115.00	\$1,035.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 2	\$115.00 \$115.00	\$230.00 \$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	21	\$115.00	\$2,415.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	4 2	\$115.00 \$115.00	\$460.00 \$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	4 2	\$115.00 \$115.00	\$460.00 \$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	5 4	\$115.00 \$115.00	\$575.00 \$460.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	5 4	\$115.00 \$115.00	\$575.00 \$460.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5 4	\$115.00 \$115.00	\$575.00 \$460.00
570 570	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00 \$115.00	\$460.00 \$230.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

570	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
572	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
572	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
572	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
572	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
572 572	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
572	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	18	\$115.00	\$2,070.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	15 1	\$115.00 \$115.00	\$1,725.00 \$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 15	\$115.00 \$115.00	\$115.00 \$1,725.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 4	\$115.00 \$115.00	\$115.00 \$460.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2 1	\$115.00 \$115.00	\$230.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	14	\$115.00	\$1,610.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	10 1	\$115.00 \$115.00	\$1,150.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5 1	\$115.00	\$575.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00 \$115.00	\$115.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576 576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1 1	\$115.00 \$115.00	\$115.00 \$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00

576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	55	\$115.00	\$6,325.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	13	\$115.00	\$1,495.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
		1		
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
				•
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
				·
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	16	\$115.00	\$1,840.00
576	CHAIR OFFICE TASK W/ OR W/O ARMS	6	\$115.00	\$690.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
				·
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
				•
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
576		2	\$115.00	\$230.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	16	\$115.00	\$1,840.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	9	\$115.00	\$1,035.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
576	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
	, , , , , , , , , , , , , , , , , , , ,			,

581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	10	\$115.00	\$1,150.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	8	\$115.00	\$920.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	49	\$115.00	\$5,635.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	9	\$115.00	\$1,035.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
581	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	15	\$115.00	\$1,725.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
583	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
		22	\$115.00	
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	\$2,530.00
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
587	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	12	\$115.00	\$1,380.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
591	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
		1		
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS		\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	7	\$115.00	\$805.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630		2	\$115.00	\$230.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	4	\$115.00	\$460.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
630	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
661	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
882	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2		\$230.00
			\$115.00	
882	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
882	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
	CHAIR, OFFICE TASK, W/ OR W/O ARMS			
882		3	\$115.00	\$345.00
882	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
882	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
3101	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
3101	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
3103	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
3103	CHAIR, OFFICE TASK, W/ OR W/O ARMS	5	\$115.00	\$575.00
3103	CHAIR, OFFICE TASK, W/ OR W/O ARMS	3	\$115.00	\$345.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	6	\$115.00	\$690.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1		\$115.00
			\$115.00	
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	1	\$115.00	\$115.00
3106	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
3107	CHAIR, OFFICE TASK, W/ OR W/O ARMS	2	\$115.00	\$230.00
400	CHAIR, OVERSTUFFED	1	\$400.00	\$400.00
435	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
441	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
450	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
-	,	-		,

452	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
540	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
540	CHAIR, OVERSTUFFED	1	\$400.00	\$400.00
560	CHAIR, OVERSTUFFED	1	\$400.00	\$400.00
560	CHAIR, OVERSTUFFED	2	\$400.00	\$800.00
630	CHAIR, PHLEBOTOMY	1	\$380.00	\$380.00
210	CHAIR, RECEPTION	1	\$180.00	\$180.00
210	CHAIR, RECEPTION	1	\$180.00	\$180.00
210	CHAIR, RECEPTION	3	\$180.00	\$540.00
210	CHAIR, RECEPTION	1	\$180.00	\$180.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	5	\$180.00	\$900.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	1	\$180.00	\$180.00
210	CHAIR, RECEPTION	1	\$180.00	\$180.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	3	\$180.00	\$540.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
210	CHAIR, RECEPTION	2	\$180.00	\$360.00
211	CHAIR, RECEPTION	5	\$180.00	\$900.00
211	CHAIR, RECEPTION	1	\$180.00	\$180.00
211	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
213	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
213	CHAIR, RECEPTION	3	\$180.00	\$540.00
213	CHAIR, RECEPTION	1	\$180.00	\$180.00
213	CHAIR, RECEPTION	1	\$180.00	\$180.00
213	CHAIR, RECEPTION	24	\$180.00	\$4,320.00
215	CHAIR, RECEPTION	1	\$180.00	\$180.00
215	CHAIR, RECEPTION	1	\$180.00	\$180.00
341	CHAIR, RECEPTION	2	\$180.00	\$360.00
400	CHAIR, RECEPTION	1	\$180.00	\$180.00
400	CHAIR, RECEPTION	4	\$180.00	\$720.00
400	CHAIR, RECEPTION	1	\$180.00	\$180.00
400	CHAIR, RECEPTION	5	\$180.00	\$900.00
400	CHAIR, RECEPTION	1	\$180.00	\$180.00
400	CHAIR, RECEPTION	2	\$180.00	\$360.00
400	CHAIR, RECEPTION	2	\$180.00	\$360.00
402	CHAIR, RECEPTION	10	\$180.00	\$1,800.00
402	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
402	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
402	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
403	CHAIR, RECEPTION	1	\$180.00	\$180.00
403	CHAIR, RECEPTION	5	\$180.00	\$900.00
403	CHAIR, RECEPTION	5	\$180.00	\$900.00
403	CHAIR, RECEPTION	3	\$180.00	\$540.00
403	CHAIR, RECEPTION	1	\$180.00	\$180.00
403	CHAIR, RECEPTION	1	\$180.00	\$180.00
403	CHAIR, RECEPTION	5	\$180.00	\$900.00
404	CHAIR, RECEPTION	2	\$180.00	\$360.00
404	CHAIR, RECEPTION CHAIR, RECEPTION	2	\$180.00	\$360.00
404		7	\$180.00 \$180.00	\$1,260.00
404	CHAIR, RECEPTION CHAIR, RECEPTION	5	\$180.00 \$180.00	\$1,260.00
404		5		\$900.00
	CHAIR, RECEPTION	5	\$180.00 \$180.00	
404 404	CHAIR, RECEPTION	1	\$180.00 \$180.00	\$180.00 \$180.00
404	CHAIR, RECEPTION		\$180.00	\$180.00
404	CHAIR, RECEPTION	1	\$180.00	\$180.00
405	CHAIR, RECEPTION	2	\$180.00	\$360.00
405	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
405	CHAIR, RECEPTION	2	\$180.00	\$360.00
425	CHAIR, RECEPTION	1	\$180.00	\$180.00
425	CHAIR, RECEPTION	4	\$115.00	\$460.00
425	CHAIR, RECEPTION	2	\$180.00	\$360.00
425	CHAIR, RECEPTION	18	\$180.00	\$3,240.00

425	CHAIR, RECEPTION	1 \$180.0	
426	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
427	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
428	CHAIR, RECEPTION	3 \$180.0	0 \$540.00
428	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
429	CHAIR, RECEPTION	3 \$180.0	
429	CHAIR, RECEPTION		
	· · · · · · · · · · · · · · · · · · ·		
429	CHAIR, RECEPTION	11 \$180.0	
429	CHAIR, RECEPTION	3 \$180.0	0 \$540.00
435	CHAIR, RECEPTION	3 \$180.0	0 \$540.00
435	CHAIR, RECEPTION	6 \$180.0	0 \$1,080.00
435	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
436	CHAIR, RECEPTION	3 \$180.0	
436	CHAIR, RECEPTION	1 \$180.0	
437	CHAIR, RECEPTION	13 \$180.0	
437	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
438	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
438	CHAIR, RECEPTION	13 \$180.0	0 \$2,340.00
438	CHAIR, RECEPTION	1 \$180.0	
439	CHAIR, RECEPTION	4 \$180.0	
439	CHAIR, RECEPTION	1 \$180.0	
439	CHAIR, RECEPTION	3 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	4 \$180.0	0 \$720.00
440	CHAIR, RECEPTION	6 \$180.0	0 \$1,080.00
440	CHAIR, RECEPTION	1 \$180.0	
440		1 \$180.0	
	CHAIR, RECEPTION		·
440	CHAIR, RECEPTION	1 \$180.0	
440	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
440	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
440	CHAIR, RECEPTION	7 \$180.0	0 \$1,260.00
440	CHAIR, RECEPTION	3 \$180.0	
440	CHAIR, RECEPTION	10 \$180.0	·
440	CHAIR, RECEPTION	1 \$180.0	
440	CHAIR, RECEPTION	1 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	1 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
440	CHAIR, RECEPTION	2 \$180.0	
441	CHAIR, RECEPTION	4 \$180.0	
441		4 \$180.0	
	CHAIR, RECEPTION		
441	CHAIR, RECEPTION	12 \$180.0	
441	CHAIR, RECEPTION	4 \$180.0	
441	CHAIR, RECEPTION	3 \$180.0	0 \$540.00
450	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
450	CHAIR, RECEPTION	2 \$180.0	0 \$360.00
452	CHAIR, RECEPTION	5 \$180.0	
452	CHAIR, RECEPTION	4 \$180.0	
452	CHAIR, RECEPTION	2 \$180.0	
452	CHAIR, RECEPTION	2 \$180.0	
452	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
453	CHAIR, RECEPTION	6 \$180.0	0 \$1,080.00
453	CHAIR, RECEPTION	1 \$180.0	
454	CHAIR, RECEPTION	6 \$180.0	
454	CHAIR, RECEPTION	25 \$180.0	
454	CHAIR, RECEPTION	4 \$180.0	
454	CHAIR, RECEPTION	71 \$180.0	
454	CHAIR, RECEPTION	3 \$180.0	0 \$540.00
454	CHAIR, RECEPTION	1 \$180.0	0 \$180.00
454	CHAIR, RECEPTION	4 \$180.0	0 \$720.00
454	CHAIR, RECEPTION	1 \$180.0	
475	CHAIR, RECEPTION	5 \$180.0	
	5, <u>.</u>	5 7100.0	2 2300.00

475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
		2		
475	CHAIR, RECEPTION		\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475		3		\$540.00
	CHAIR, RECEPTION		\$180.00	
475	CHAIR, RECEPTION	4	\$180.00	\$720.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	3	\$180.00	\$540.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	9	\$180.00	\$1,620.00
475	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	55	\$180.00	\$9,900.00
475		1	\$180.00	\$180.00
	CHAIR, RECEPTION			·
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
	CHAIR, RECEPTION	2		
475	,		\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	3	\$180.00	\$540.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
475	CHAIR, RECEPTION	2	\$180.00	\$360.00
475	CHAIR, RECEPTION	1	\$180.00	\$180.00
492	CHAIR, RECEPTION	3	\$180.00	\$540.00
492	CHAIR, RECEPTION	2	\$180.00	\$360.00
492	CHAIR, RECEPTION	1	\$180.00	\$180.00
492	CHAIR, RECEPTION	2	\$180.00	\$360.00
494	CHAIR, RECEPTION	20	\$180.00	\$3,600.00
494	CHAIR, RECEPTION	1	\$180.00	\$180.00
494	CHAIR, RECEPTION	3	\$180.00	\$540.00
494	CHAIR, RECEPTION	2	\$180.00	\$360.00
494	CHAIR, RECEPTION	2	\$180.00	\$360.00
494	CHAIR, RECEPTION	1	\$180.00	\$180.00
494	CHAIR, RECEPTION	1	\$180.00	\$180.00
495	CHAIR, RECEPTION	3	\$180.00	\$540.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	1	\$180.00	\$180.00
495	CHAIR, RECEPTION	5	\$180.00	\$900.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495		2	\$180.00	\$360.00
	CHAIR, RECEPTION			
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	1	\$180.00	\$180.00
495	CHAIR, RECEPTION	1	\$180.00	\$180.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
495	CHAIR, RECEPTION	1	\$180.00	\$180.00
495	CHAIR, RECEPTION	2	\$180.00	\$360.00
497	CHAIR, RECEPTION	2	\$180.00	\$360.00
497	CHAIR, RECEPTION	4	\$180.00	\$720.00
499	CHAIR, RECEPTION	3	\$180.00	\$540.00
499	CHAIR, RECEPTION	70	\$180.00	\$12,600.00
499	CHAIR, RECEPTION	2	\$180.00	\$360.00
499	CHAIR, RECEPTION	9	\$180.00	\$1,620.00
499	CHAIR, RECEPTION	74	\$180.00	\$13,320.00
499	CHAIR, RECEPTION	2	\$180.00	\$360.00
499	CHAIR, RECEPTION	5	\$180.00	\$900.00
499	CHAIR, RECEPTION	1	\$180.00	\$180.00

499	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
499	CHAIR, RECEPTION	4	\$180.00	\$720.00
499	CHAIR, RECEPTION	2	\$180.00	\$360.00
499	CHAIR, RECEPTION	94	\$180.00	\$16,920.00
499 503	CHAIR, RECEPTION CHAIR, RECEPTION	1 1	\$180.00 \$180.00	\$180.00 \$180.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503	CHAIR, RECEPTION	29	\$180.00	\$5,220.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503	CHAIR, RECEPTION	3 1	\$180.00 \$180.00	\$540.00
503 503	CHAIR, RECEPTION CHAIR, RECEPTION	6	\$180.00	\$180.00 \$1,080.00
503	CHAIR, RECEPTION	2	\$180.00	\$360.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503	CHAIR, RECEPTION	40	\$180.00	\$7,200.00
503	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
503	CHAIR, RECEPTION	1	\$180.00	\$180.00
503 503	CHAIR, RECEPTION	2 1	\$180.00	\$360.00 \$180.00
503	CHAIR, RECEPTION CHAIR, RECEPTION	2	\$180.00 \$180.00	\$360.00
503	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
503	CHAIR, RECEPTION	2	\$180.00	\$360.00
503	CHAIR, RECEPTION	2	\$180.00	\$360.00
509	CHAIR, RECEPTION	9	\$180.00	\$1,620.00
509	CHAIR, RECEPTION	5	\$180.00	\$900.00
509 509	CHAIR, RECEPTION CHAIR, RECEPTION	1 1	\$180.00 \$180.00	\$180.00 \$180.00
509	CHAIR, RECEPTION CHAIR, RECEPTION	1	\$180.00	\$180.00
509	CHAIR, RECEPTION	1	\$180.00	\$180.00
509	CHAIR, RECEPTION	1	\$180.00	\$180.00
510	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
510	CHAIR, RECEPTION	2	\$180.00	\$360.00
510	CHAIR, RECEPTION	2 2	\$180.00	\$360.00
540 540	CHAIR, RECEPTION CHAIR, RECEPTION	1	\$180.00 \$180.00	\$360.00 \$180.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	1	\$180.00	\$180.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	3	\$180.00	\$540.00
540 540	CHAIR, RECEPTION CHAIR, RECEPTION	1 5	\$180.00	\$180.00
540 540	CHAIR, RECEPTION CHAIR, RECEPTION	2	\$180.00 \$180.00	\$900.00 \$360.00
540	CHAIR, RECEPTION	4	\$180.00	\$720.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	5	\$180.00	\$900.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540 540	CHAIR, RECEPTION CHAIR, RECEPTION	6 2	\$180.00 \$180.00	\$1,080.00 \$360.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	2	\$180.00	\$360.00
540	CHAIR, RECEPTION	1	\$180.00	\$180.00
540	CHAIR, RECEPTION	1	\$180.00	\$180.00
540	CHAIR, RECEPTION	1	\$180.00	\$180.00
540	CHAIR, RECEPTION	4 1	\$180.00	\$720.00
540 540	CHAIR, RECEPTION CHAIR, RECEPTION	6	\$180.00 \$180.00	\$180.00 \$1,080.00
541	CHAIR, RECEPTION	21	\$180.00	\$3,780.00
541	CHAIR, RECEPTION	4	\$180.00	\$720.00
541	CHAIR, RECEPTION	3	\$180.00	\$540.00
541	CHAIR, RECEPTION	4	\$180.00	\$720.00
541	CHAIR, RECEPTION	3	\$180.00	\$540.00
542 542	CHAIR, RECEPTION	2 2	\$180.00 \$180.00	\$360.00 \$360.00
542 542	CHAIR, RECEPTION CHAIR, RECEPTION	4	\$180.00 \$180.00	\$360.00 \$720.00
542	CHAIR, RECEPTION	2	\$180.00	\$360.00
545	CHAIR, RECEPTION	2	\$180.00	\$360.00
551	CHAIR, RECEPTION	1	\$180.00	\$180.00
551	CHAIR, RECEPTION	2	\$180.00	\$360.00
551	CHAIR, RECEPTION	2	\$180.00	\$360.00
551 551	CHAIR, RECEPTION CHAIR, RECEPTION	2 2	\$180.00 \$180.00	\$360.00 \$360.00
552	CHAIR, RECEPTION CHAIR, RECEPTION	4	\$180.00	\$720.00
	. ,	•	,	7.20.00

552	CHAIR, RECEPTION	2	\$180.00	\$360.00
553	CHAIR, RECEPTION	3	\$180.00	\$540.00
553	CHAIR, RECEPTION	2	\$180.00	\$360.00
			\$180.00	
553	CHAIR, RECEPTION	3	•	\$540.00
554	CHAIR, RECEPTION	3	\$180.00	\$540.00
554	CHAIR, RECEPTION	2	\$180.00	\$360.00
554	CHAIR, RECEPTION	5	\$180.00	\$900.00
554	CHAIR, RECEPTION	1	\$180.00	\$180.00
554	CHAIR, RECEPTION	4	\$180.00	\$720.00
554	CHAIR, RECEPTION	2	\$180.00	\$360.00
554	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	52	\$180.00	\$9,360.00
560	CHAIR, RECEPTION	35	\$180.00	\$6,300.00
560	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
				•
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
	•			
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
		2		•
560	CHAIR, RECEPTION		\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
		1		
560	CHAIR, RECEPTION		\$180.00	\$180.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
				\$360.00
560	CHAIR, RECEPTION	2	\$180.00	
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
		2		
560	CHAIR, RECEPTION		\$180.00	\$360.00
560	CHAIR, RECEPTION	69	\$180.00	\$12,420.00
560	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
560	CHAIR, RECEPTION	1	\$180.00	\$180.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00

F.CO	CHAIR RECEDTION		Ć100.00	ć720.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	15	\$180.00	\$2,700.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	24	\$180.00	\$4,320.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	2	\$180.00	\$360.00
560	CHAIR, RECEPTION	40	\$180.00	\$7,200.00
560	CHAIR, RECEPTION	4	\$180.00	\$720.00
		2		
560	CHAIR, RECEPTION		\$180.00	\$360.00
560	CHAIR, RECEPTION	3	\$180.00	\$540.00
560	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
560	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
570	CHAIR, RECEPTION	2	\$180.00	\$360.00
570	CHAIR, RECEPTION	4	\$180.00	\$720.00
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
570	CHAIR, RECEPTION	2	\$180.00	\$360.00
570	CHAIR, RECEPTION	3	\$180.00	\$540.00
570	CHAIR, RECEPTION	3	\$180.00	\$540.00
570	CHAIR, RECEPTION	3	\$180.00	\$540.00
570		5		\$900.00
	CHAIR, RECEPTION		\$180.00	
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
570	CHAIR, RECEPTION	2	\$180.00	\$360.00
570	CHAIR, RECEPTION	2	\$180.00	\$360.00
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
570	CHAIR, RECEPTION	2	\$180.00	\$360.00
570	CHAIR, RECEPTION	4	\$180.00	\$720.00
570	CHAIR, RECEPTION	1	\$180.00	\$180.00
572	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
572	CHAIR, RECEPTION	1	\$180.00	\$180.00
572		1		
	CHAIR, RECEPTION		\$180.00	\$180.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	17	\$180.00	\$3,060.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	11	\$180.00	\$1,980.00
576	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
576	CHAIR, RECEPTION	9	\$180.00	\$1,620.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
	CHAIR, RECEPTION	1		\$180.00
576			\$180.00	
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	17	\$180.00	\$3,060.00
576	CHAIR, RECEPTION	13	\$180.00	\$2,340.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576 576	•	2 1		\$180.00
	CHAIR, RECEPTION		\$180.00	
576	CHAIR, RECEPTION	12	\$180.00	\$2,160.00
576	CHAIR, RECEPTION	12	\$180.00	\$2,160.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	5	\$180.00	\$900.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	16	\$180.00	\$2,880.00
576	CHAIR, RECEPTION CHAIR, RECEPTION			\$720.00
		4	\$180.00	
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00

576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	2 2	\$180.00 \$180.00	\$360.00 \$360.00
576	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	11	\$180.00	\$1,980.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	3 2	\$180.00 \$180.00	\$540.00 \$360.00
576	CHAIR, RECEPTION	2 2	\$180.00	\$360.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	2 4	\$180.00 \$180.00	\$360.00 \$720.00
576	CHAIR, RECEPTION	2	\$180.00	\$720.00
576	CHAIR, RECEPTION	5	\$180.00	\$900.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	4 4	\$180.00 \$180.00	\$720.00 \$720.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	3 4	\$180.00 \$180.00	\$540.00 \$720.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	3	\$180.00	\$540.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	3 4	\$180.00 \$180.00	\$540.00 \$720.00
576	CHAIR, RECEPTION	8	\$180.00	\$1,440.00
576	CHAIR, RECEPTION	16	\$180.00	\$2,880.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	9	\$180.00	\$1,620.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	11	\$180.00	\$1,980.00
576	CHAIR, RECEPTION	7	\$180.00	\$1,260.00
576 576	CHAIR, RECEPTION CHAIR, RECEPTION	10 12	\$180.00 \$180.00	\$1,800.00 \$2,160.00
576	CHAIR, RECEPTION	4	\$180.00	\$2,160.00
576	CHAIR, RECEPTION	1	\$180.00	\$180.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
576	CHAIR, RECEPTION	4	\$180.00	\$720.00
576	CHAIR, RECEPTION	2	\$180.00	\$360.00
581 591	CHAIR, RECEPTION	5	\$180.00	\$900.00
581 581	CHAIR, RECEPTION CHAIR, RECEPTION	2 2	\$180.00 \$180.00	\$360.00 \$360.00
581	CHAIR, RECEPTION	2	\$180.00	\$360.00
581	CHAIR, RECEPTION	3	\$180.00	\$540.00
583	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
587	CHAIR, RECEPTION	1	\$180.00	\$180.00

Section					
191	591	CHAIR, RECEPTION	1	\$180.00	\$180.00
921 CHAMP, RECEPTION 1 1 5180.00 \$2,240.00 1 1 5180.00 5180.00 640 CHAMP, RECEPTION 1 1 5180.00 5180.00 640 CHAMP, RECEPTION 4 1 5180.00 550.00 550.00 650.00 CHAMP, RECEPTION 5 5 5180.00 550.00 550.00 640 CHAMP, RECEPTION 1 1 5180.00 550.00 550.00 640 CHAMP, RECEPTION 1 1 5180.00 550.00 550.00 640 CHAMP, RECEPTION 1 1 5180.00 550.00 650.00 640 CHAMP, RECEPTION 1 1 5180.00 550.00 650.00 640 CHAMP, RECEPTION 1 1 5180.00 550.00 650.					
GAMBRICEPTION					
500 CHAMP, RECEPTION					
500 CHAMP, RECEPTION					
CHAIR RECEPTION					
SAME RECEPTION					
630 GAMR, RECEPTION					•
650 CHAR, RECEPTION					
500 CHAM, RECEPTION					
CAMPA RECEPTION					•
600 CHAR, RECEPTION					
630 CHAR, RECEPTION 1 138000 538000 661 CHAR, RECEPTION 1 138000 538000 661 CHAR, RECEPTION 2 318000 5380000 5380000 5380000 538000 5380000 5380000 5380000 5380000 5380000 5380000					
661					
661 CHAM, RECEPTION 6 \$180.00 \$3,00.00 882 CHAM, RECEPTION 2 \$180.00 \$3,00.00 882 CHAM, RECEPTION 2 \$180.00 \$3,00.00 882 CHAM, RECEPTION 1 \$180.00 \$3,00.00 883 CHAM, RECEPTION 1 \$180.00 \$3,00.00 883 CHAM, RECEPTION 1 \$180.00 \$3,00.00 883 CHAM, RECEPTION 1 \$180.00 \$3,00.00 884 CHAM, RECEPTION 2 \$180.00 \$3,00.00 885 CHAM, RECEPTION 2 \$180.00 \$3,00.00 885 CHAM, RECEPTION 2 \$180.00 \$3,00.00 886 CHAM, RECEPTION 2 \$180.00 \$3,00.00 887 CHAM, RECEPTION 2 \$180.00 \$3,00.00 888 CHAM, RECEPTION 2 \$180.00 \$3,00.00 889 CHAM, RECEPTION 2 \$180.00 \$3,00.00 880 CHAM, RECEPTION 2 \$180.00 \$3,00.00 880 CHAM, RECEPTION 3 \$180.00 \$1,00.00 880 CHAM, RECEPTION 1 \$180.00 \$1,00.00 890 CHAM, RECEPTION 1 \$1,00.00 890 CHAM, RECEPTION	630				
1882		•			
1822 CHAIR, RECEPTION 2					
SEZ		CHAIR, RECEPTION			
152		CHAIR, RECEPTION			
1011	882	CHAIR, RECEPTION	2	\$180.00	\$360.00
1013	882	CHAIR, RECEPTION		\$180.00	\$180.00
1913	3101	CHAIR, RECEPTION	5	\$180.00	\$900.00
1016	3103	CHAIR, RECEPTION		\$180.00	\$180.00
1006 CHAR. RECEPTON 26 2 5180.00 5130.000 31006 CHAR. RECEPTON 28 5180.00 5120.800.00 31006 CHAR. RECEPTON 28 5180.00 522.800.00 31006 CHAR. RECEPTON 5 5180.00 530.000 31006 CHAR. RECEPTON 5 5180.00 530.000.00 31006 CHAR. RECEPTON 5 5180.00 5180.00 31006 CHAR. RECEPTON 6 5180.00 5180.00 31006 CHAR. RECEPTON 6 5180.00 5180.00 31006 CHAR. RECEPTON 7 1 5405.00 5180.00 322.000.00 31006 CHAR. RECEPTON 2 UNITS 1 5405.00 5405.00 452.00	3103	CHAIR, RECEPTION	2	\$180.00	\$360.00
1016	3106	CHAIR, RECEPTION	2	\$180.00	\$360.00
3106	3106	CHAIR, RECEPTION	2	\$180.00	\$360.00
1916	3106	CHAIR, RECEPTION	612	\$180.00	\$110,160.00
3106	3106	CHAIR, RECEPTION	238	\$180.00	\$42,840.00
106	3106	CHAIR, RECEPTION	2	\$180.00	\$360.00
106	3106	CHAIR, RECEPTION	5	\$180.00	\$900.00
CHAIR, RECEPTION, 2 UNITS	3106	CHAIR, RECEPTION	1	\$180.00	\$180.00
ASS	3106	CHAIR, RECEPTION	6	\$180.00	\$1,080.00
CHAIR, RECEPTION, CONNECTED, 2 UNITS 12	405	CHAIR, RECEPTION, 2 UNITS	8	\$405.00	\$3,240.00
CHAIR, RECEPTION, CONNECTED, 2 UNIT 3 \$150,00 \$4	452	CHAIR, RECEPTION, 2 UNITS	1	\$405.00	\$405.00
CHAIR, RECEPTION, CONNECTED, Z UNIT 3 \$150.00 \$4	475	CHAIR, RECEPTION, 2 UNITS	12	\$405.00	\$4,860.00
A04	213	CHAIR, RECEPTION, CONNECTED, 2 UNIT	3	\$150.00	\$450.00
CHAIR, RECEPTION, CONNECTED, Z UNIT	403	CHAIR, RECEPTION, CONNECTED, 2 UNIT	3	\$150.00	\$450.00
ADS	404		3		\$450.00
A36	405		1		\$150.00
A36	405		1		
GAIR ROCKING	436	CHAIR, ROCKING	1	\$127.00	\$127.00
212	630		1		\$127.00
402 CHAIR, SECRETARIAL W/ ARMS, WOOD 2 \$225.00 \$450.00 402 CHAIR, SECRETARIAL W/ ARMS 4 \$100.00 \$400.00 494 CHAIR, SECRETARIAL W/ OARMS 4 \$100.00 \$400.00 494 CHAIR, SECRETARIAL W/ OARMS 4 \$100.00 \$400.00 210 CHAIR, STACKING 42 \$35.00 \$2,790.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 211 CHAIR, STACKING 1 \$35.00 \$50.00 213 CHAIR, STACKING 196 \$35.00 \$50.00 215 CHAIR, STACKING 196 \$35.00 \$51.00 215 CHAIR, STACKING 13 \$35.00 \$51.00 402 CHAIR, STACKING 13 \$35.00 \$70.00					
402 CHAIR, SECRETARIAL W/O ARMS 2 \$225.00 \$450.00 494 CHAIR, SECRETARIAL W/O ARMS 4 \$100.00 \$400.00 210 CHAIR, SECRETARIAL W/O ARMS 42 \$35.00 \$2,000.00 210 CHAIR, STACKING 74 \$35.00 \$2,590.00 210 CHAIR, STACKING 1 \$35.00 \$25,590.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 211 CHAIR, STACKING 196 \$35.00 \$57.000.00 215 CHAIR, STACKING 196 \$35.00 \$58.600.00 215 CHAIR, STACKING 13 \$35.00 \$58.600.00 402 CHAIR, STACKING 13 \$35.00 \$51.200.00 403 CHAIR, STACKING 2 \$35.00 \$57.000					
494 CHAIR, SECRETARIAL W/O ARMS 4 \$100.00 \$400.00 494 CHAIR, SECRETARIAL W/O ARMS 42 \$35.00 \$1,470.00 210 CHAIR, STACKING 74 \$35.00 \$2,590.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 200 \$35.00 \$55.00 213 CHAIR, STACKING 196 \$35.00 \$57.00 213 CHAIR, STACKING 196 \$35.00 \$50.00 215 CHAIR, STACKING 36 \$35.00 \$51.00 402 CHAIR, STACKING 36 \$35.00 \$210.00 403 CHAIR, STACKING 13 \$35.00 \$210.00 426 CHAIR, STACKING 2 \$35.00 \$210.00 451 CHAIR, STACKING 8 \$35.00 \$20.00 452					
494 CHAIR, SECRETARIAL W/O ARMS 4 \$100.00 \$400.00 210 CHAIR, STACKING 74 \$35.00 \$2,790.00 210 CHAIR, STACKING 1 \$35.00 \$25,900.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 213 CHAIR, STACKING 200 \$35.00 \$5,000.00 215 CHAIR, STACKING 196 \$35.00 \$5,000.00 215 CHAIR, STACKING 36 \$35.00 \$5,000.00 402 CHAIR, STACKING 36 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$50.00 426 CHAIR, STACKING 6 \$35.00 \$50.00 451 CHAIR, STACKING 8 \$35.00 \$50.00 452 CHAIR, STACKING 2 \$35.00 \$50.00 453 C		· · · · · · · · · · · · · · · · · · ·			
210 CHAIR, STACKING 42 \$35.00 \$1,470.00 210 CHAIR, STACKING 74 \$35.00 \$2,590.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 213 CHAIR, STACKING 1 \$35.00 \$55.00 215 CHAIR, STACKING 6 \$35.00 \$50.00 215 CHAIR, STACKING 6 \$35.00 \$210.00 402 CHAIR, STACKING 6 \$35.00 \$210.00 403 CHAIR, STACKING 13 \$35.00 \$35.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 8 \$35.00 \$3185.00 453 CHAIR, STACKING 91 \$35.00 \$31.00 453 CHAIR, STACKING					
210 CHAIR, STACKING 74 \$35.00 \$2,590.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 213 CHAIR, STACKING 200 \$35.00 \$5,00 215 CHAIR, STACKING 196 \$35.00 \$5,00 215 CHAIR, STACKING 6 \$35.00 \$210.00 402 CHAIR, STACKING 36 \$35.00 \$210.00 403 CHAIR, STACKING 36 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$20.00 453 CHAIR, STACKING 91 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2					
210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 1 \$35.00 \$35.00 213 CHAIR, STACKING 200 \$35.00 \$7,000.00 215 CHAIR, STACKING 196 \$35.00 \$6,860.00 402 CHAIR, STACKING 36 \$35.00 \$210.00 403 CHAIR, STACKING 36 \$35.00 \$455.00 426 CHAIR, STACKING 13 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$70.00 452 CHAIR, STACKING 8 \$35.00 \$210.00 452 CHAIR, STACKING 91 \$35.00 \$210.00 453 CHAIR, STACKING 91 \$35.00 \$210.00 453 CHAIR, STACKING 91 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING					
210 CHAIR, STACKING 1 \$35.00 \$35.00 210 CHAIR, STACKING 20 \$35.00 \$35.00 213 CHAIR, STACKING 200 \$35.00 \$7,000.00 215 CHAIR, STACKING 196 \$35.00 \$6,860.00 215 CHAIR, STACKING 6 \$35.00 \$210.00 402 CHAIR, STACKING 36 \$35.00 \$210.00 403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 3 \$35.00 \$70.00 453 CHAIR, STACKING				•	
210 CHAIR, STACKING 1 \$35.00 \$35.00 213 CHAIR, STACKING 200 \$35.00 \$7,000.00 215 CHAIR, STACKING 196 \$35.00 \$6,860.00 215 CHAIR, STACKING 36 \$35.00 \$210.00 402 CHAIR, STACKING 36 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 453 CHAIR, STACKING 91 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 3 \$35.00 \$70.00 453 CHAIR, STACKING					
213 CHAIR, STACKING 200 \$35.00 \$7,000.00 215 CHAIR, STACKING 196 \$35.00 \$6,800.00 402 CHAIR, STACKING 6 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$1,260.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 3 \$35.00 \$70.00 454 CHAIR, STACKING <td></td> <td></td> <td></td> <td></td> <td></td>					
215 CHAIR, STACKING 196 \$35.00 \$6,860.00 215 CHAIR, STACKING 6 \$35.00 \$210.00 402 CHAIR, STACKING 36 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$228.00 453 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 3 \$35.00 \$70.00 454 CHAIR, STACKING 3 \$35.00 \$140.00 455 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING					
215 CHAIR, STACKING 6 \$35.00 \$210.00 402 CHAIR, STACKING 36 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING <t< td=""><td></td><td></td><td></td><td></td><td></td></t<>					
402 CHAIR, STACKING 36 \$35.00 \$1,260.00 403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$31.85.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 3 \$35.00 \$105.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING					
403 CHAIR, STACKING 13 \$35.00 \$455.00 426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 453 CHAIR, STACKING 91 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 3 \$35.00 \$105.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 1					
426 CHAIR, STACKING 2 \$35.00 \$70.00 451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$105.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4					
451 CHAIR, STACKING 6 \$35.00 \$210.00 452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$105.00 475 CHAIR, STACKING 3 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$70.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 <td></td> <td></td> <td></td> <td></td> <td></td>					
452 CHAIR, STACKING 8 \$35.00 \$280.00 452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 6 \$35.00 \$210.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$70.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 <td></td> <td></td> <td></td> <td></td> <td></td>					
452 CHAIR, STACKING 91 \$35.00 \$3,185.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 6 \$35.00 \$210.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 <td></td> <td></td> <td></td> <td></td> <td></td>					
453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 6 \$35.00 \$210.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$420.00 495 CHAIR, STACKING 12 \$35.00 \$35.00 497 CHAIR, STACKING 1 <td></td> <td></td> <td></td> <td></td> <td></td>					
453 CHAIR, STACKING 6 \$35.00 \$210.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 4 \$35.00 \$420.00 495 CHAIR, STACKING 12 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 497 CHAIR, STACKING 1 </td <td></td> <td></td> <td></td> <td></td> <td></td>					
453 CHAIR, STACKING 2 \$35.00 \$70.00 453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
453 CHAIR, STACKING 2 \$35.00 \$70.00 454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 4 \$35.00 \$420.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
454 CHAIR, STACKING 4 \$35.00 \$140.00 475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 1 \$35.00 \$70.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
475 CHAIR, STACKING 3 \$35.00 \$105.00 492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
492 CHAIR, STACKING 31 \$35.00 \$1,085.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 3 \$35.00 \$105.00 495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 1 \$35.00 \$35.00 495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 2 \$35.00 \$70.00 495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 4 \$35.00 \$140.00 495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
495 CHAIR, STACKING 12 \$35.00 \$420.00 497 CHAIR, STACKING 1 \$35.00 \$35.00					
497 CHAIR, STACKING 1 \$35.00 \$35.00					
499 CHAIR, STACKING 3 \$35.00 \$105.00					
	499	CHAIR, STACKING	3	\$35.00	\$105.00

499	CHAIR, STACKING	6	\$35.00	\$210.00
499	CHAIR, STACKING	1	\$35.00	\$35.00
499	CHAIR, STACKING	12	\$35.00	\$420.00
499	CHAIR, STACKING	33	\$35.00	\$1,155.00
499	CHAIR, STACKING	8	\$35.00	\$280.00
503	CHAIR, STACKING	1	\$35.00	\$35.00
503	CHAIR, STACKING	5	\$35.00	\$175.00
503	CHAIR, STACKING	7	\$35.00	\$245.00
503	CHAIR, STACKING	1	\$35.00	\$35.00
503	CHAIR, STACKING	4	\$35.00	\$140.00
509	CHAIR, STACKING	10	\$35.00	\$350.00
509	CHAIR, STACKING	8	\$35.00	\$280.00
540	CHAIR, STACKING	2	\$35.00	\$70.00
540	CHAIR, STACKING	3	\$35.00	\$105.00
540	CHAIR, STACKING	16	\$35.00	\$560.00
540	CHAIR, STACKING	72	\$35.00	\$2,520.00
540	CHAIR, STACKING	4	\$35.00	\$140.00
540	CHAIR, STACKING	20	\$35.00	\$700.00
540	CHAIR, STACKING	18	\$35.00	\$630.00
540	CHAIR, STACKING	72	\$35.00	\$2,520.00
541	CHAIR, STACKING	16	\$35.00	\$560.00
545	CHAIR, STACKING	22	\$35.00	\$770.00
545	CHAIR, STACKING	5	\$35.00	\$175.00
545	CHAIR, STACKING	6	\$35.00	\$210.00
545	CHAIR, STACKING	1	\$35.00	\$35.00
545	CHAIR, STACKING	1	\$35.00	\$35.00
545	CHAIR, STACKING	2	\$35.00	\$70.00
553	CHAIR, STACKING	4	\$35.00	\$140.00
553	CHAIR, STACKING	8	\$35.00	\$280.00
553	CHAIR, STACKING	2	\$35.00	\$70.00
554	CHAIR, STACKING	1	\$35.00	\$35.00
554	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	17	\$35.00	\$595.00
560	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	10	\$35.00	\$350.00
560	CHAIR, STACKING	2	\$35.00	\$70.00
560	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	2	\$35.00	\$70.00
560	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	2	\$35.00	\$70.00
560	CHAIR, STACKING	20	\$35.00	\$700.00
560	CHAIR, STACKING	3	\$35.00	\$105.00
560	CHAIR, STACKING	2	\$35.00	\$70.00
560	CHAIR, STACKING	10	\$35.00	\$350.00
560	CHAIR, STACKING	1	\$35.00	\$35.00
560	CHAIR, STACKING	2	\$35.00	\$70.00
570	CHAIR, STACKING	10	\$35.00	\$350.00
570	CHAIR, STACKING	1	\$35.00	\$35.00
572	CHAIR, STACKING	1	\$35.00	\$35.00
572	CHAIR, STACKING	1	\$35.00	\$35.00
572	CHAIR, STACKING	1	\$35.00	\$35.00
572	CHAIR, STACKING	1	\$35.00	\$35.00
572	CHAIR, STACKING	1	\$35.00	\$35.00
576	CHAIR, STACKING	2	\$35.00	\$70.00
576	CHAIR, STACKING	3	\$35.00	\$105.00
576	CHAIR, STACKING	2	\$35.00	\$70.00
576	CHAIR, STACKING	4	\$35.00	\$140.00
576	CHAIR, STACKING	1	\$35.00	\$35.00
576	CHAIR, STACKING	1	\$35.00	\$35.00
576	CHAIR, STACKING	1	\$35.00	\$35.00
576	CHAIR, STACKING	3	\$35.00	\$105.00
		33	\$35.00	\$1,155.00
576 576	CHAIR, STACKING CHAIR, STACKING	2	\$35.00	\$1,155.00 \$70.00
576		3	\$35.00	\$70.00 \$105.00
576	CHAIR, STACKING	3	\$35.00	\$105.00 \$105.00
	CHAIR, STACKING			
576 576	CHAIR, STACKING	24 7	\$35.00 \$35.00	\$840.00 \$245.00
576 576	CHAIR, STACKING		\$35.00	\$245.00
576 576	CHAIR, STACKING	17	\$35.00	\$595.00
576	CHAIR, STACKING	2	\$35.00	\$70.00
576	CHAIR, STACKING	20	\$35.00	\$700.00
576	CHAIR, STACKING	22	\$35.00	\$770.00
576	CHAIR, STACKING	20	\$35.00	\$700.00
576	CHAIR, STACKING	2	\$35.00	\$70.00
576	CHAIR, STACKING	10	\$35.00	\$350.00
576	CHAIR, STACKING	13	\$35.00	\$455.00

576	CHAIR, STACKING	11	\$35.00	\$385.00
576	CHAIR, STACKING	11	\$35.00	\$385.00
583	CHAIR, STACKING	2	\$35.00	\$70.00
587	CHAIR, STACKING	2	\$35.00	\$70.00
587	CHAIR, STACKING	16	\$35.00	\$560.00
591	CHAIR, STACKING	1	\$35.00	\$35.00
591	CHAIR, STACKING	1	\$35.00	\$35.00
630	CHAIR, STACKING	7		\$245.00
			\$35.00	
630	CHAIR, STACKING	23	\$35.00	\$805.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	7	\$35.00	\$245.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	1	\$35.00	\$35.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	3	\$35.00	\$105.00
630	CHAIR, STACKING	15	\$35.00	\$525.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	3	\$35.00	\$105.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	1	\$35.00	\$35.00
630	CHAIR, STACKING	3	\$35.00	\$105.00
630	CHAIR, STACKING	28	\$35.00	\$980.00
630	CHAIR, STACKING	12	\$35.00	\$420.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	1	\$35.00	\$35.00
630	CHAIR, STACKING	2	\$35.00	\$70.00
630	CHAIR, STACKING	14	\$35.00	\$490.00
882	CHAIR, STACKING	2	\$35.00	\$70.00
450	CHAIR, SWIVEL, WITHOUT ARMS, WOOD	1	\$195.00	\$195.00
499	CHAIR, SWIVEL, WITHOUT ARMS, WOOD	3	\$195.00	\$585.00
400	CHAIR, TEACHER, WOOD W/ ARMS	3	\$44.00	\$132.00
400	CHAIR, TEACHER, WOOD W/ ARMS	1	\$44.00	\$44.00
400	CHAIR, TEACHER, WOOD W/ ARMS	2	\$44.00	\$88.00
400	CHAIR, TEACHER, WOOD W/ ARMS	2	\$44.00	\$88.00
509	CHAIR, TEACHER, WOOD W/ ARMS	1	\$44.00	\$44.00
435	CHAIR, TEACHER/STUDENT/STACKING	180	\$35.00	\$6,300.00
441	CHAIR, TEACHER/STUDENT/STACKING	8	\$35.00	\$280.00
450	CHAIR, TEACHER/STUDENT/STACKING	27	\$35.00	\$945.00
450	CHAIR, TEACHER/STUDENT/STACKING	8	\$35.00	\$280.00
475	CHAIR, TEACHER/STUDENT/STACKING	7	\$35.00	\$245.00
475	CHAIR, TEACHER/STUDENT/STACKING	7	\$35.00	\$245.00
475	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
503	CHAIR, TEACHER/STUDENT/STACKING	3	\$35.00	\$105.00
503	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
503		1	\$35.00	\$35.00
	CHAIR, TEACHER/STUDENT/STACKING			
503	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
509	CHAIR, TEACHER/STUDENT/STACKING	34	\$35.00	\$1,190.00
509	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
509	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
509	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
509	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
509	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
	CHAIR, TEACHER/STUDENT/STACKING			
509		5	\$35.00	\$175.00
510	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
510	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
	CHAIR, TEACHER/STUDENT/STACKING	2	¢25.00	670.00
510				
510	CHAIR TEACHER/CTURENT/CTACVING		\$35.00	\$70.00
510	CHAIR, TEACHER/STUDENT/STACKING	3	\$35.00	\$105.00
	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING			\$105.00 \$70.00
510		3	\$35.00	\$105.00
510 540 545	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING	3 2 118	\$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00
510 540 545 551	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137	\$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00
510 540 545 551 560	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00
510 540 545 551	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137	\$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00
510 540 545 551 560	CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00
510 540 545 551 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00
510 540 545 551 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00
510 540 545 551 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$875.00
510 540 545 551 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00
510 540 545 551 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$875.00
510 540 545 551 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$875.00 \$1,085.00 \$980.00
510 540 545 551 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31 28	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$875.00 \$1,085.00 \$980.00 \$70.00
510 540 545 551 560 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31 28 2	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$875.00 \$1,085.00 \$980.00 \$70.00
510 540 545 551 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31 28	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$875.00 \$1,085.00 \$980.00 \$70.00
510 540 545 551 560 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31 28 2 2	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$1,085.00 \$980.00 \$70.00 \$70.00 \$805.00
510 540 545 551 560 560 560 560 560 560 560 560 560 560	CHAIR, TEACHER/STUDENT/STACKING	3 2 118 137 1 17 3 17 25 31 28 2	\$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	\$105.00 \$70.00 \$4,130.00 \$4,795.00 \$35.00 \$595.00 \$105.00 \$595.00 \$875.00 \$1,085.00 \$980.00 \$70.00

570	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
570	CHAIR, TEACHER/STUDENT/STACKING	3	\$35.00	\$105.00
570	CHAIR, TEACHER/STUDENT/STACKING	8	\$35.00	\$280.00
576	CHAIR, TEACHER/STUDENT/STACKING	11	\$35.00	\$385.00
576	CHAIR, TEACHER/STUDENT/STACKING	15	\$35.00	\$525.00
587	CHAIR, TEACHER/STUDENT/STACKING	3	\$35.00	\$105.00
587	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
630	CHAIR, TEACHER/STUDENT/STACKING	6	\$35.00	\$210.00
630	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
882	CHAIR, TEACHER/STUDENT/STACKING	8	\$35.00	\$280.00
3103	CHAIR, TEACHER/STUDENT/STACKING	2	\$35.00	\$70.00
3106	CHAIR, TEACHER/STUDENT/STACKING	1	\$35.00	\$35.00
212	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
212	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
215	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
400	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
437	CHAIR, WOOD, W/O ARMS	4	\$75.00	\$300.00
441	CHAIR, WOOD, W/O ARMS	7	\$75.00	\$525.00
441	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
454	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
497	CHAIR, WOOD, W/O ARMS	6	\$75.00	\$450.00
499	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
503	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
503	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
503	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
509	CHAIR, WOOD, W/O ARMS	7	\$75.00	\$525.00
509	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
509				
	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
509	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
509	CHAIR, WOOD, W/O ARMS	4	\$75.00	\$300.00
510	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
540	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
560	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
560	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
591	CHAIR, WOOD, W/O ARMS	10	\$75.00	\$750.00
630	CHAIR, WOOD, W/O ARMS	1	\$75.00	\$75.00
630	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
630	CHAIR, WOOD, W/O ARMS	2	\$75.00	\$150.00
214	CHAIR/COUCH SET	1	\$250.00	\$250.00
492	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
492	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
492	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
492	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
540	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
540	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
587	CHARGING CART, LAPTOP	1	\$1,600.00	\$1,600.00
495	CHASSIS, AMBULANCE	1	\$78,740.00	\$78,740.00
			. ,	
495	CHASSIS, AMBULANCE	1	\$78,740.00	\$78,740.00
495	CHASSIS, AMBULANCE	1	\$96,345.00	\$96,345.00
495	CHASSIS, AMBULANCE	1	\$96,345.00	\$96,345.00
495	CHASSIS, AMBULANCE	1	\$96,345.00	\$96,345.00
495	CHASSIS, AMBULANCE	1	\$99,829.61	\$99,829.61
495	CHASSIS, AMBULANCE	1	\$90,098.00	\$90,098.00
495	CHASSIS, AMBULANCE	1	\$90,000.00	\$90,000.00
495	CHASSIS, AMBULANCE	1	\$246,310.00	\$246,310.00
495	CHASSIS, AMBULANCE	1	\$246,310.00	\$246,310.00
495	CHASSIS, AMBULANCE	1	\$246,310.00	\$246,310.00
495	CHASSIS, AMBULANCE	1	\$246,310.00	\$246,310.00
495	CHASSIS, AMBULANCE	1	\$246,310.00	\$246,310.00
495	CHASSIS, AMBULANCE	1	\$239,527.18	\$239,527.18
495	CHASSIS, AMBULANCE	1	\$239,527.18	\$239,527.18
495	CHASSIS, AMBULANCE	1	\$239,527.16	\$239,527.16
495	CHASSIS, AMBULANCE	1	\$239,527.18	\$239,527.18
540	CHEST COMPRESSION SYSTEM	1	\$15,322.56	\$15,322.56
540	CHEST COMPRESSION SYSTEM	1	\$14,498.20	\$14,498.20
540	CHEST COMPRESSION SYSTEM	1	\$14,877.95	\$14,877.95
1000	CHEST COMPRESSION SYSTEM	1	\$14,877.95	\$14,877.95
1000	CHEST COMPRESSION SYSTEM	1	\$14,877.95	\$14,877.95
402	CHEST OF DRAWERS	1	\$250.00	\$250.00
540	CHEST OF DRAWERS CHEST OF DRAWERS, 4 DRAWER	1	\$175.00	\$175.00
405	CHEST OF DRAWERS, 8 DRAWER	1	\$450.00	\$450.00
540	CHEST OF DRAWERS, 8 DRAWER	1	\$450.00	\$450.00
3103	CHIPPER, BRUSH, TOWED	1	\$14,133.00	\$14,133.00
210	CHIPPER, BRUSH, TRAILER MOUNTED	1	\$26,664.00	\$26,664.00
210	CHIPPER, BRUSH, TRAILER MOUNTED	1	\$38,483.54	\$38,483.54
210	CHIPSPREADER, ASPHALT	1	\$124,807.50	\$124,807.50
				* * * * * * * * * * * * * * * * * * * *

210	CHIPSPREADER, ASPHALT	1	\$246,196.00	\$246,196.00
210	CHIPSPREADER, ASPHALT	1	\$172,735.00	\$172,735.00
210	CHIPSPREADER, ASPHALT	1	\$342,023.00	\$342,023.00
581	CHLORINE, EMERGENCY KIT "B"	1	\$1,546.00	\$1,546.00
3106 3106	CHUTE, CATTLE, 3 SECTION CHUTE, CATTLE, 3 SECTION	1 1	\$5,000.00 \$5,000.00	\$5,000.00 \$5,000.00
3106	CHUTE, SQUEEZE, CATTLE	1	\$6,600.00	\$6,600.00
581	CLAMP, DOME	6	\$270.00	\$1,620.00
509	CLEANING MACHINE, ULTRASONIC	1	\$2,550.00	\$2,550.00
560	CLEANING MACHINE, ULTRASONIC, BENCH-TOP, W/ GENERATOR	1	\$8,215.73	\$8,215.73
210	COAT RACK, MOBILE	1	\$77.00	\$77.00
440	COAT RACK, MOBILE	1	\$77.00	\$77.00
450 570	COAT RACK, MOBILE COAT RACK, MOBILE	1 1	\$77.00 \$77.00	\$77.00 \$77.00
581	COAT RACK, MOBILE	1	\$77.00	\$77.00
210	COAT RACK, TREE	1	\$40.00	\$40.00
210	COAT RACK, TREE	1	\$40.00	\$40.00
210	COAT RACK, TREE	1	\$40.00	\$40.00
215	COAT RACK, TREE	1	\$40.00	\$40.00
215	COAT RACK, TREE	1 1	\$40.00	\$40.00
215 400	COAT RACK, TREE COAT RACK, TREE	1	\$40.00 \$40.00	\$40.00 \$40.00
403	COAT RACK, TREE	2	\$40.00	\$80.00
405	COAT RACK, TREE	1	\$40.00	\$40.00
440	COAT RACK, TREE	1	\$40.00	\$40.00
440	COAT RACK, TREE	1	\$40.00	\$40.00
450	COAT RACK, TREE	1	\$40.00	\$40.00
450	COAT RACK, TREE	3	\$40.00	\$120.00
452	COAT RACK, TREE	1	\$40.00	\$40.00
495	COAT RACK, TREE	1	\$40.00	\$40.00
497 499	COAT RACK, TREE COAT RACK, TREE	1 1	\$40.00 \$40.00	\$40.00 \$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
499	COAT RACK, TREE	1	\$40.00	\$40.00
542	COAT RACK, TREE	1	\$40.00	\$40.00
554	COAT RACK, TREE	1	\$40.00	\$40.00
560	COAT RACK, TREE	1 1	\$40.00 \$40.00	\$40.00 \$40.00
570 570	COAT RACK, TREE COAT RACK, TREE	1	\$40.00	\$40.00 \$40.00
572	COAT RACK, TREE	1	\$40.00	\$40.00
572	COAT RACK, TREE	1	\$40.00	\$40.00
576	COAT RACK, TREE	1	\$40.00	\$40.00
581	COAT RACK, TREE	1	\$40.00	\$40.00
400	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
440	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
540	COFFEE MAKER, HIGH END	2	\$150.00	\$300.00
541	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
541 554	COFFEE MAKER, HIGH END COFFEE MAKER, HIGH END	1 1	\$150.00 \$150.00	\$150.00 \$150.00
560	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
560	COFFEE MAKER, HIGH END	2	\$150.00	\$300.00
560	COFFEE MAKER, HIGH END	2	\$150.00	\$300.00
560	COFFEE MAKER, HIGH END	2	\$150.00	\$300.00
591	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
665	COFFEE MAKER, HIGH END	1	\$150.00	\$150.00
210	COFFEE MAKER, LOW END	2	\$65.00	\$130.00
211 215	COFFEE MAKER, LOW END	1 1	\$65.00	\$65.00 \$65.00
495	COFFEE MAKER, LOW END COFFEE MAKER, LOW END	1	\$65.00 \$65.00	\$65.00
540	COFFEE MAKER, LOW END	4	\$65.00	\$260.00
540	COFFEE MAKER, LOW END	1	\$65.00	\$65.00
551	COFFEE MAKER, LOW END	2	\$65.00	\$130.00
551	COFFEE MAKER, LOW END	1	\$65.00	\$65.00
560	COFFEE MAKER, LOW END	1	\$65.00	\$65.00
576	COFFEE MAKER, LOW END	1	\$65.00	\$65.00
581	COFFEE MAKER, LOW END	1	\$65.00	\$65.00
497	COIN COUNTER, ELECTRIC, HIGH SPEED	1	\$510.00	\$510.00
510 570	COIN SORTER, ELECTRIC COIN SORTER, ELECTRIC	1 1	\$75.00 \$75.00	\$75.00 \$75.00
560	COLLECTION TOOL, DNA, WET-VACUUM	1	\$75.00 \$25,000.00	\$75.00 \$25,000.00
210	COMPACTOR	1	\$6,250.00	\$6,250.00
210	COMPACTOR, RAMMER, PAVEMENT	1	\$3,902.00	\$3,902.00
				•

210	COMPACTOR RAMANER RAVIEMENT	1	¢000.00	¢000.00
210 210	COMPACTOR, RAMMER, PAVEMENT COMPACTOR, RAMMER, PAVEMENT	1 1	\$900.00 \$1,064.31	\$900.00 \$1,064.31
882		1	\$3,298.00	\$3,298.00
210	COMPACTOR, RAMMER, PAVEMENT COMPACTOR, SOIL, VIBRATORY, PAD-FOOT	1	\$163,920.00	\$163,920.00
210	COMPACTOR, SOIL, VIBRATORY, PAD-FOOT	1	\$128,700.00	\$103,920.00
210	COMPACTOR, SOIL, VIBRATORY, PAD-FOOT	1	\$107,450.00	\$107,450.00
		1	\$99,000.00	
210 210	COMPACTOR, SOIL, VIBRATORY, SMOOTH DRUM	1		\$99,000.00
	COMPACTOR, SOIL, VIBRATORY, SMOOTH DRUM		\$80,091.87	\$80,091.87
210	COMPACTOR, SOIL, VIBRATORY, SMOOTH DRUM	1	\$99,346.00	\$99,346.00
495	COMPACTOR, SOIL, VIBRATORY, SMOOTH DRUM	1	\$169,777.00	\$169,777.00
882	COMPACTOR, SOIL, VIBRATORY, SMOOTH DRUM	1	\$92,200.00	\$92,200.00
882	COMPRESSOR, SPRING STRUT	1	\$950.00	\$950.00
210	COMPUTER	1	\$934.15	\$934.15
210	COMPUTER	1	\$1,077.85	\$1,077.85
215	COMPUTER	1	\$672.87	\$672.87
404	COMPUTER	1	\$881.21	\$881.21
404	COMPUTER	1	\$800.00	\$800.00
404	COMPUTER	1	\$800.00	\$800.00
404	COMPUTER	1	\$800.00	\$800.00
404	COMPUTER	1	\$800.00	\$800.00
438	COMPUTER	1	\$800.00	\$800.00
450	COMPUTER	1	\$1,179.00	\$1,179.00
453	COMPUTER	1	\$956.49	\$956.49
453	COMPUTER	1	\$1,076.79	\$1,076.79
475	COMPUTER	1	\$800.00	\$800.00
475	COMPUTER	1	\$800.00	\$800.00
475	COMPUTER	1	\$800.00	\$800.00
492	COMPUTER	1	\$1,698.00	\$1,698.00
492	COMPUTER	1	\$640.03	\$640.03
492	COMPUTER	1	\$640.03	\$640.03
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$437.00	\$437.00
503	COMPUTER	1	\$437.00	\$437.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$956.49	\$956.49
503	COMPUTER	1	\$750.06	\$750.06
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$750.06	\$750.06
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$800.00	\$800.00
503	COMPUTER	1	\$748.57	\$748.57
503	COMPUTER	1	\$748.57	\$748.57
503	COMPUTER	1	\$847.59	\$847.59
503	COMPUTER	1	\$800.00	\$800.00
541	COMPUTER	1	\$1,704.37	\$1,704.37
541	COMPUTER	1	\$750.06	\$750.06
542	COMPUTER	1	\$994.53	\$994.53
545	COMPUTER	1	\$805.53	\$805.53
560	COMPUTER	1	\$800.00	\$800.00
560	COMPUTER	1	\$800.00	\$800.00
560	COMPUTER	1	\$1,310.32	\$1,310.32
560	COMPUTER	1	\$1,503.26	\$1,503.26
560	COMPUTER	1	\$1,229.05	\$1,229.05
570	COMPUTER	1	\$800.00	\$800.00
882	COMPUTER	1	\$1,647.19	\$1,647.19
540		1	\$340.00	\$340.00
541	COMPUTER MOUNT, LATPTOP, VEHICLE COMPUTER, COMMUNICATIONS MANAGER SERVER	1		
	COMPUTER, COMMUNICATIONS MANAGER SERVER	1	\$12,592.00	\$12,592.00
541			\$5,823.00	\$5,823.00
541	COMPUTER, COMMUNICATIONS MANAGER SERVER	1	\$12,000.00	\$12,000.00
440	COMPUTER, EXTERNAL HARD DRIVE	2	\$300.00	\$600.00
404	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
492	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$7,298.91	\$7,298.91
503	COMPUTER, FILE SERVER	1	\$7,298.91	\$7,298.91
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$5,210.93	\$5,210.93
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$9,664.10	\$9,664.10
503	COMPUTER, FILE SERVER	1	\$4,629.22	\$4,629.22
503	COMPUTER, FILE SERVER	1	\$4,629.22	\$4,629.22
503	COMPUTER, FILE SERVER	1	\$4,629.23	\$4,629.23
503	COMPUTER, FILE SERVER	1	\$4,629.23	\$4,629.23

503	COMPUTER, FILE SERVER	1	\$4,629.22	\$4,629.22
503	COMPUTER, FILE SERVER	1	\$8,726.24	\$8,726.24
503	COMPUTER, FILE SERVER	1	\$7,317.78	\$7,317.78
503	COMPUTER, FILE SERVER	1	\$4,629.22	\$4,629.22
503	COMPUTER, FILE SERVER	1	\$4,629.22	\$4,629.22
503	COMPUTER, FILE SERVER	1	\$5,333.86	\$5,333.86
503	COMPUTER, FILE SERVER	1	\$3,438.05	\$3,438.05
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$4,491.21	\$4,491.21
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$25,155.10	\$25,155.10
503	COMPUTER, FILE SERVER	1	\$11,060.30	\$11,060.30
503	COMPUTER, FILE SERVER	1	\$8,171.70	\$8,171.70
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$13,757.76	\$13,757.76
503	COMPUTER, FILE SERVER	1	\$9,948.57	\$9,948.57
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
560	COMPUTER, FILE SERVER	1	\$10,845.75	\$10,845.75
560	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
560	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
560	,	1		
	COMPUTER, FILE SERVER		\$2,500.00	\$2,500.00
560	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
581	COMPUTER, FILE SERVER	1	\$49,765.00	\$49,765.00
581	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
581	COMPUTER, FILE SERVER	1	\$2,500.00	\$2,500.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$47,830.00	\$47,830.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$47,830.00	\$47,830.00
503		1		
	COMPUTER, FILE SERVER, HIGH-END		\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$7,294.46	\$7,294.46
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$9,576.22	\$9,576.22
503	COMPUTER, FILE SERVER, HIGH-END	1	\$28,406.00	\$28,406.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$32,261.14	\$32,261.14
503	COMPUTER, FILE SERVER, HIGH-END	1	\$32,261.14	\$32,261.14
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
	, ,			
503	COMPUTER, FILE SERVER, HIGH-END	1	\$17,369.00	\$17,369.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$20,036.85	\$20,036.85
503	COMPUTER, FILE SERVER, HIGH-END	1	\$28,406.00	\$28,406.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$28,406.00	\$28,406.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$7,944.83	\$7,944.83
503	COMPUTER, FILE SERVER, HIGH-END	1	\$15,495.00	\$15,495.00
503	COMPUTER, FILE SERVER, HIGH-END	1	\$15,495.00	\$15,495.00
581	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
581	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
581	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
581	COMPUTER, FILE SERVER, HIGH-END	1	\$8,000.00	\$8,000.00
210	COMPUTER, LAPTOP	1	\$1,258.80	\$1,258.80
210	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
210	COMPUTER, LAPTOP			
		1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46

210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,563.85	\$1,563.85
210	COMPUTER, LAPTOP	1	\$1,563.85	\$1,563.85
210	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,290.54	\$1,290.54
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
210	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,282.09	\$1,282.09
210	COMPUTER, LAPTOP	1	\$1,258.80	\$1,258.80
210	COMPUTER, LAPTOP	1	\$1,204.77	\$1,204.77
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,176.91	\$1,176.91
210	COMPUTER, LAPTOP	1	\$1,176.91	\$1,176.91
210	COMPUTER, LAPTOP	1	\$1,139.45	\$1,139.45
210	COMPUTER, LAPTOP	1	\$1,246.98	\$1,246.98
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
210	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
210	COMPUTER, LAPTOP	1	\$1,830.35	\$1,830.35
210	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
210	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
210	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
210	COMPUTER, LAPTOP	1	\$652.69	\$652.69
210	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
211	COMPUTER, LAPTOP	1	\$1,475.14	\$1,475.14
211	COMPUTER, LAPTOP	1	\$1,932.37	\$1,932.37
211	COMPUTER, LAPTOP	1	\$750.00	\$750.00
211	COMPUTER, LAPTOP	1	\$1,237.09	\$1,237.09
211	COMPUTER, LAPTOP	1	\$1,475.14	\$1,475.14
213	COMPUTER, LAPTOP	1	\$1,390.94	\$1,390.94
214	COMPUTER, LAPTOP	1	\$652.69	\$652.69
214	COMPUTER, LAPTOP	1	\$1,334.60	\$1,334.60
214	COMPUTER, LAPTOP	1	\$750.00	\$750.00
214	COMPUTER, LAPTOP	1	\$1,201.00	\$1,201.00
214	COMPUTER, LAPTOP	1	\$750.00	\$750.00
215	COMPUTER, LAPTOP	1	\$750.00	\$750.00
215	COMPUTER, LAPTOP	1	\$1,531.21	\$1,531.21
215	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
215	COMPUTER, LAPTOP	1	\$750.00	\$750.00
215	COMPUTER, LAPTOP	1	\$1,531.21	\$1,531.21
215	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
341	COMPUTER, LAPTOP	1	\$750.00	\$750.00
400	COMPUTER, LAPTOP	1	\$652.69	\$652.69
400	COMPUTER, LAPTOP	1	\$750.00	\$750.00
400	COMPUTER, LAPTOP	1	\$1,430.85	\$1,430.85
400	COMPUTER, LAPTOP	1	\$1,406.09	\$1,406.09
400	COMPUTER, LAPTOP	1	\$1,523.05	\$1,523.05
400	COMPUTER, LAPTOP	1	\$750.00	\$750.00
400	COMPUTER, LAPTOP	1	\$750.00	\$750.00
400	COMPUTER, LAPTOP	1	\$1,399.16	\$1,399.16
400	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
400	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
400	COMPUTER, LAPTOP	1	\$903.04	\$903.04
400	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
400	COMPUTER, LAPTOP	1	\$877.88	\$877.88
400	COMPUTER, LAPTOP	1	\$1,406.09	\$1,406.09
400	COMPUTER, LAPTOP	1	\$652.69	\$652.69
400	COMPUTER, LAPTOP	1	\$750.00	\$750.00

402	COMPUTER, LAPTOP	1	\$1,271.73	\$1,271.73
402	COMPUTER, LAPTOP	1	\$1,077.67	\$1,077.67
402	COMPUTER, LAPTOP	1	\$1,271.73	\$1,271.73
402	COMPUTER, LAPTOP	1	\$1,406.09	\$1,406.09
402	COMPUTER, LAPTOP	1	\$1,231.64	\$1,231.64
402 402	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,668.00 \$1,188.92	\$1,668.00 \$1,188.92
402	COMPUTER, LAPTOP	1	\$1,668.00	\$1,668.00
402	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
402	COMPUTER, LAPTOP	1	\$1,590.00	\$1,590.00
402	COMPUTER, LAPTOP	1	\$1,449.00	\$1,449.00
402	COMPUTER, LAPTOP	1	\$1,417.10	\$1,417.10
402 402	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,531.39 \$1,231.64	\$1,531.39 \$1,231.64
402	COMPUTER, LAPTOP	1	\$1,668.00	\$1,668.00
402	COMPUTER, LAPTOP	1	\$1,449.00	\$1,449.00
402	COMPUTER, LAPTOP	1	\$750.00	\$750.00
402	COMPUTER, LAPTOP	1	\$1,246.61	\$1,246.61
402	COMPUTER, LAPTOP	1	\$1,784.04	\$1,784.04
402	COMPUTER, LAPTOP	1	\$1,668.00	\$1,668.00
403 404	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,368.60 \$1,893.59	\$1,368.60 \$1,893.59
404	COMPUTER, LAPTOP	1	\$1,447.17	\$1,447.17
404	COMPUTER, LAPTOP	1	\$1,447.17	\$1,447.17
404	COMPUTER, LAPTOP	1	\$1,625.29	\$1,625.29
404	COMPUTER, LAPTOP	1	\$1,625.29	\$1,625.29
404	COMPUTER, LAPTOP	1	\$1,506.80	\$1,506.80
404	COMPUTER, LAPTOP	1	\$1,447.17	\$1,447.17
404 404	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,625.29 \$1,404.18	\$1,625.29 \$1,404.18
405	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
405	COMPUTER, LAPTOP	1	\$1,534.95	\$1,534.95
405	COMPUTER, LAPTOP	1	\$1,430.85	\$1,430.85
405	COMPUTER, LAPTOP	1	\$1,504.48	\$1,504.48
405	COMPUTER, LAPTOP	1	\$1,534.95	\$1,534.95
405 405	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,430.85 \$1,128.82	\$1,430.85 \$1,128.82
405	COMPUTER, LAPTOP	1	\$1,430.85	\$1,430.85
405	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
426	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
426	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
426	COMPUTER, LAPTOP	1	\$750.00	\$750.00
427	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
427 427	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,220.43 \$1,244.06	\$1,220.43 \$1,244.06
427	COMPUTER, LAPTOP	1	\$1,221.00	\$1,221.00
428	COMPUTER, LAPTOP	1	\$750.00	\$750.00
428	COMPUTER, LAPTOP	1	\$750.00	\$750.00
428	COMPUTER, LAPTOP	1	\$750.00	\$750.00
428	COMPUTER, LAPTOP	1	\$694.39	\$694.39
428	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
429 429	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$652.69 \$1,021.75	\$652.69 \$1,021.75
429	COMPUTER, LAPTOP	1	\$652.69	\$652.69
429	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
435	COMPUTER, LAPTOP	1	\$1,249.36	\$1,249.36
435	COMPUTER, LAPTOP	1	\$1,870.17	\$1,870.17
435	COMPUTER, LAPTOP	1	\$2,020.04	\$2,020.04
435	COMPUTER, LAPTOP	1	\$652.69	\$652.69
436 436	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,135.41 \$1,129.62	\$1,135.41 \$1,129.62
436	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
436	COMPUTER, LAPTOP	1	\$1,770.49	\$1,770.49
436	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
437	COMPUTER, LAPTOP	1	\$652.69	\$652.69
437	COMPUTER, LAPTOP	1	\$750.00	\$750.00
437 437	COMPUTER, LAPTOP	1 1	\$1,128.82 \$652.69	\$1,128.82 \$652.69
437 437	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$652.69 \$1,377.08	\$652.69 \$1,377.08
438	COMPUTER, LAPTOP	1	\$1,241.67	\$1,241.67
438	COMPUTER, LAPTOP	1	\$1,241.67	\$1,241.67
438	COMPUTER, LAPTOP	1	\$1,563.85	\$1,563.85
438	COMPUTER, LAPTOP	1	\$652.69	\$652.69
438	COMPUTER, LAPTOP	1	\$1,500.96	\$1,500.96
438	COMPUTER, LAPTOP	1	\$1,255.00	\$1,255.00
439	COMPUTER, LAPTOP	1	\$1,135.41	\$1,135.41

439	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
439	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
440	COMPUTER, LAPTOP	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP	1	\$1,609.79	\$1,609.79
440	COMPUTER, LAPTOP	1	\$1,936.68	\$1,936.68
440	COMPUTER, LAPTOP	1	\$750.00	\$750.00
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,609.79	\$1,609.79
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440		1	\$1,927.30	
	COMPUTER, LAPTOP			\$1,927.30
440	COMPUTER, LARTOR	1	\$1,108.25	\$1,108.25
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,541.09	\$1,541.09
440	COMPUTER, LAPTOP	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP	1	\$1,541.09	\$1,541.09
440	COMPUTER, LAPTOP	1	\$1,541.09	\$1,541.09
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,541.09	\$1,541.09
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,609.79	\$1,609.79
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,368.98	\$1,368.98
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,541.09	\$1,541.09
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$1,108.25	\$1,108.25
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$2,012.29	\$2,012.29
440	COMPUTER, LAPTOP	1	\$750.00	\$750.00
440	COMPUTER, LAPTOP	1	\$1,734.84	\$1,734.84
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,927.30	\$1,927.30
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,062.50	\$1,062.50
440	COMPUTER, LAPTOP	1	\$1,734.84	\$1,734.84
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$1,287.64	\$1,287.64
440	COMPUTER, LAPTOP	1	\$3,061.20	\$3,061.20
441	COMPUTER, LAPTOP	1	\$652.69	\$652.69
441	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08

450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
450	COMPUTER, LAPTOP	1	\$806.58	\$806.58
450	COMPUTER, LAPTOP	1	\$1,669.36	\$1,669.36
450	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
452	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
452	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
452	COMPUTER, LAPTOP	1	\$750.00	\$750.00
452	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
452	COMPUTER, LAPTOP	1	\$750.00	\$750.00
452	COMPUTER, LAPTOP	1	\$1,108.42	\$1,108.42
452	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
452	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
452	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,430.82	\$1,430.82
453	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
453	COMPUTER, LAPTOP	1	\$1,232.18	\$1,232.18
453	COMPUTER, LAPTOP	1	\$1,430.85	\$1,430.85
453	COMPUTER, LAPTOP	1	\$652.69	\$652.69
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$652.69	\$652.69
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$652.69	\$652.69
453	COMPUTER, LAPTOP	1	\$652.69	\$652.69
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$652.69	\$652.69
		1		
453	COMPUTER, LAPTOP		\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
453	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
453	COMPUTER, LAPTOP	1	\$750.00	\$750.00
453	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
453	COMPUTER, LAPTOP	1	\$1,807.42	\$1,807.42
453	COMPUTER, LAPTOP	1	\$1,886.06	\$1,886.06
454	COMPUTER, LAPTOP	1	\$750.00	\$750.00
454	COMPUTER, LAPTOP	1	\$750.00	\$750.00
454	COMPUTER, LAPTOP	1	\$1,333.21	\$1,333.21
454	COMPUTER, LAPTOP	1	\$1,645.00	\$1,645.00
454	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
454	COMPUTER, LAPTOP	1	\$1,333.21	\$1,333.21
454	COMPUTER, LAPTOP	1	\$750.00	\$750.00
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
454	COMPUTER, LAPTOP	1	\$1,333.21	\$1,333.21
454	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
454	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
454	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
	•			
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
454	COMPUTER, LAPTOP	1	\$1,139.14	\$1,139.14
				\$1,333.22
454	COMPUTER, LAPTOP	1	\$1,333.22	
454	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
475	COMPUTER, LAPTOP	1	\$1,324.75	\$1,324.75
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$1,822.91	\$1,822.91
475	COMPUTER, LAPTOP	1	\$1,822.91	\$1,822.91
475				
	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
7/3	COIVII OTEN, LAFTOF	1	ş/3U.UU	\$/3U.UU

475	COMPUTER, LAPTOP	1	\$1,822.91	\$1,822.91
475	COMPUTER, LAPTOP	1	\$1,690.13	\$1,690.13
475	COMPUTER, LAPTOP	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475 475	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$750.00	\$750.00 \$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
475	COMPUTER, LAPTOR	1	\$750.00	\$750.00
475 475	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$750.00	\$750.00 \$750.00
475	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$1,726.21	\$1,726.21
492	COMPUTER, LAPTOP	1	\$1,482.30	\$1,482.30
492	COMPUTER, LAPTOP	1	\$1,124.78	\$1,124.78
492 492	COMPUTER, LAPTOR	1 1	\$750.00	\$750.00 \$750.00
492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$750.00 \$1,482.31	\$1,482.31
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOR	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOR	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
492	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOR	1	\$438.00	\$438.00
492 492	COMPUTER, LAPTOP	1 1	\$438.00 \$438.00	\$438.00 \$438.00
432	COMPUTER, LAPTOP	1	\$438.00	3438.UU

492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
				·
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$750.00	\$750.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1		
	•		\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492		1	\$438.00	\$438.00
	COMPUTER, LAPTOR			
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1	\$438.00	\$438.00
492	COMPUTER, LAPTOP	1		
432	CONTOTER, LAFTOR	1	\$438.00	\$438.00

492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
	•	•	·
492	COMPUTER, LAPTOP		\$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$7	750.00 \$750.00
	•		
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		\$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		377.21 \$1,877.21
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$7	750.00 \$750.00
492	COMPUTER, LAPTOP		750.00 \$750.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492			
	COMPUTER, LAPTOP		
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		750.00 \$750.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
	•		
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
		•	
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
			138.00 \$438.00
492	COMPUTER, LAPTOP	·	
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$4	138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP		138.00 \$438.00
492	COMPUTER, LAPTOP	1 \$9	985.50 \$985.50
492	COMPUTER, LAPTOP		182.30 \$1,482.30
492	COMPUTER, LAPTOP		068.34 \$2,068.34
492	COMPUTER, LAPTOP	1 \$1,1	172.99 \$1,172.99
494	COMPUTER, LAPTOP		017.82 \$1,017.82
494	COMPUTER, LAPTOP		221.00 \$1,221.00
494	COMPUTER, LAPTOP	1 \$1,0)17.82 \$1,017.82
494	COMPUTER, LAPTOP		386.06 \$1,886.06
494	COMPUTER, LAPTOP		221.00 \$1,221.00
494	COMPUTER, LAPTOP	1 \$1,0)17.82 \$1,017.82
494	COMPUTER, LAPTOP		306.52 \$1,306.52
494	COMPUTER, LAPTOP	1 \$1,2	284.21 \$1,284.21
494	COMPUTER, LAPTOP	1 \$1,0)17.82 \$1,017.82
494	COMPUTER, LAPTOP		017.82 \$1,017.82
495	COMPUTER, LAPTOP	1 \$1,4	197.38 \$1,497.38

			4	4
495	COMPUTER, LAPTOP	1	\$1,886.41	\$1,886.41
495	COMPUTER, LAPTOP	1	\$652.69	\$652.69
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$1,345.15	\$1,345.15
495	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$1,415.50	\$1,415.50
495	COMPUTER, LAPTOP	1	\$2,033.91	\$2,033.91
495	COMPUTER, LAPTOP	1	\$1,349.76	\$1,349.76
495	COMPUTER, LAPTOP	1	\$2,033.91	\$2,033.91
495	COMPUTER, LAPTOP	1		\$1,375.20
			\$1,375.20	
495	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
495	COMPUTER, LAPTOP	1	\$1,927.99	\$1,927.99
495	COMPUTER, LAPTOP	1	\$1,345.15	\$1,345.15
495	COMPUTER, LAPTOP	1	\$2,291.90	\$2,291.90
495	COMPUTER, LAPTOP	1	\$2,033.91	\$2,033.91
495	COMPUTER, LAPTOP	1	\$1,345.15	\$1,345.15
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$750.00	\$750.00
495	COMPUTER, LAPTOP	1	\$1,021.75	\$1,021.75
495	COMPUTER, LAPTOP	1	\$1,558.24	\$1,558.24
495	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
495	COMPUTER, LAPTOP	1	\$652.69	\$652.69
495	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
495	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
495	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
495	COMPUTER, LAPTOP	1	\$1,296.56	\$1,296.56
495	COMPUTER, LAPTOP	1	\$2,291.90	\$2,291.90
495	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
497	COMPUTER, LAPTOP	1	\$1,605.15	\$1,605.15
497	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
497	COMPUTER, LAPTOP	1	\$1,115.00	\$1,115.00
497	COMPUTER, LAPTOP	1	\$1,700.84	\$1,700.84
497	COMPUTER, LAPTOP	1	\$1,590.00	\$1,590.00
499	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
499	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
499	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
499	COMPUTER, LAPTOP	1	\$1,305.02	\$1,305.02
499	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
499	COMPUTER, LAPTOP	1	\$1,046.77	\$1,046.77
503	COMPUTER, LAPTOP	1	\$1,884.90	\$1,884.90
503	COMPUTER, LAPTOP	1	\$1,688.74	\$1,688.74
503	COMPUTER, LAPTOP	1	\$1,688.74	\$1,688.74
503	COMPUTER, LAPTOP	1	\$1,650.90	\$1,650.90
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$1,832.36	\$1,832.36
503	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
	•			
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$1,462.15	\$1,462.15
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$2,324.70	\$2,324.70
503	COMPUTER, LAPTOP	1	\$755.05	\$755.05
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$1,704.30	\$1,704.30
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,208.07	\$1,208.07
503	COMPUTER, LAPTOP	1	\$1,246.61	\$1,246.61
503	COMPUTER, LAPTOP	1	\$1,136.92	\$1,136.92
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,246.61	\$1,246.61
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$2,067.10	\$2,067.10
503	COMPUTER, LAPTOP	1	\$1,210.58	\$1,210.58
503	COMPUTER, LAPTOP	1	\$1,773.55	\$1,773.55
503	COMPUTER, LAPTOP	1	\$2,353.50	\$2,353.50
503	COMPUTER, LAPTOP	1	\$2,344.87	\$2,344.87
503	COMPUTER, LAPTOP	1	\$1,700.00	\$1,700.00
503	COMPUTER, LARTOR	1	\$1,838.91	\$1,838.91
503	COMPUTER, LAPTOP	1	\$1,179.00	\$1,179.00
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69

503	COMPUTER, LAPTOP	1	\$1,179.00	\$1,179.00
503	COMPUTER, LAPTOP	1	\$1,179.00	\$1,179.00
503	COMPUTER, LAPTOP	1	\$1,264.91	\$1,264.91
503	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
503	COMPUTER, LAPTOP	1	\$1,264.91	\$1,264.91
503	COMPUTER, LAPTOP	1	\$1,179.00	\$1,179.00
503	COMPUTER, LAPTOP	1	\$1,493.31	\$1,493.31
503	COMPUTER, LAPTOP	1	\$2,067.10	\$2,067.10
503	COMPUTER, LAPTOP	1	\$2,067.10	\$2,067.10
503	COMPUTER, LAPTOP	1	\$2,370.28	\$2,370.28
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$2.074.46	\$750.00
503 503	,	1	\$2,074.46 \$1,129.92	\$2,074.46 \$1,129.92
503	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$1,128.82 \$1,210.58	\$1,128.82 \$1,210.58
503	COMPUTER, LAPTOP	1	\$1,758.85	\$1,758.85
503	COMPUTER, LAPTOP	1	\$1,650.85	\$1,650.85
503	COMPUTER, LAPTOP	1	\$1,249.36	\$1,249.36
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$1,066.91	\$1,066.91
503 503	COMPUTER, LAPTOP	1 1	\$652.69	\$652.69
503	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$652.69 \$652.69	\$652.69 \$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503 503	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$750.00 \$652.69	\$750.00 \$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$1,249.36	\$1,249.36
503	COMPUTER, LAPTOP	1	\$1,208.07	\$1,208.07

503	COMPUTER, LAPTOP	1	\$1,208.07	\$1,208.07
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,372.98	\$1,372.98
503	COMPUTER, LAPTOP	1	\$2,148.08	\$2,148.08
503	COMPUTER, LAPTOP	1	\$1,237.57	\$1,237.57
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,458.29	\$1,458.29
503	COMPUTER, LAPTOP	1	\$806.58	\$806.58
503	COMPUTER, LAPTOP	1	\$1,208.07	\$1,208.07
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
503	COMPUTER, LAPTOP	1	\$1,201.00	\$1,201.00
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
503	COMPUTER, LAPTOP	1	\$1,707.59	\$1,707.59
503	COMPUTER, LAPTOP	1	\$1,773.55	\$1,773.55
503	COMPUTER, LAPTOP	1	\$652.69	\$652.69
503	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,092.85	\$1,092.85
509	COMPUTER, LAPTOP	1	\$1,530.21	\$1,530.21
509	COMPUTER, LAPTOP	1	\$1,376.24	\$1,376.24
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,376.24	\$1,376.24
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$652.69	\$652.69
		1		
509	COMPUTER, LAPTOP		\$1,530.21	\$1,530.21
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$2,508.44	\$2,508.44
509	COMPUTER, LAPTOP	1	\$1,376.24	\$1,376.24
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,145.95	\$1,145.95
509	COMPUTER, LAPTOP	1	\$1,376.24	\$1,376.24
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,480.06	\$1,480.06
509	COMPUTER, LAPTOP	1	\$2,327.46	\$2,327.46
509	COMPUTER, LAPTOP	1	\$1,530.21	\$1,530.21
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,530.21	\$1,530.21
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,530.21	\$1,530.21
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,480.06	\$1,480.06
509	COMPUTER, LAPTOP	1	\$806.58	\$806.58
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
509				\$750.00
	COMPUTER, LAPTOP	1	\$750.00	
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$1,367.25	\$1,367.25
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$1,139.46	\$1,139.46
509	COMPUTER, LAPTOP	1	\$1,375.20	\$1,375.20
509	COMPUTER, LAPTOP	1	\$1,375.20	\$1,375.20
509	COMPUTER, LAPTOR	1	\$1,375.20	\$1,375.20
510	COMPUTER, LAPTOP	1	\$750.00	\$750.00
510	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
510	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
510	COMPUTER, LAPTOP	1	\$750.00	\$750.00
510	COMPUTER, LAPTOP	1	\$1,605.94	\$1,605.94
510	COMPUTER, LAPTOP	1	\$750.00	\$750.00
	22 2.2., 2.1. 10.	•	ψ.55.50	ψ, 33.30

510	COMPUTER, LAPTOP	1	\$1,605.94	\$1,605.94
510	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
510	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
510	COMPUTER, LAPTOP	1	\$1,367.25	\$1,367.25
510	COMPUTER, LAPTOR	1	\$1,932.37	\$1,932.37
510 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,135.49 \$1,128.82	\$1,135.49 \$1,128.82
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$798.35	\$798.35
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
540	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
540	COMPUTER, LAPTOR	1 1	\$1,128.82	\$1,128.82
540 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$1,128.82 \$1,128.82	\$1,128.82 \$1,128.82
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$2,018.00	\$2,018.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$652.69 \$750.00	\$652.69 \$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540	COMPUTER, LAPTOP	1	\$806.58	\$806.58
540	COMPUTER, LAPTOP	1	\$806.58	\$806.58
540	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
540	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
540	COMPUTER, LAPTOP	1	\$2,059.00	\$2,059.00
540 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$798.35	\$750.00 \$798.35
540	COMPUTER, LAPTOP	1	\$2,035.00	\$2,035.00
540	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
540	COMPUTER, LAPTOP	1	\$1,076.79	\$1,076.79
540	COMPUTER, LAPTOP	1	\$798.35	\$798.35
540	COMPUTER, LAPTOP	1	\$798.35	\$798.35
540	COMPUTER, LAPTOP	1	\$1,178.83	\$1,178.83
540	COMPUTER, LAPTOP	1	\$750.00	\$750.00
540 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,547.46 \$1,128.82	\$1,547.46 \$1,128.82
540	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
540	COMPUTER, LAPTOP	1	\$1,281.00	\$1,281.00
540	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
540	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
540	COMPUTER, LAPTOP	1	\$1,955.36	\$1,955.36
540	COMPUTER, LAPTOP	1	\$1,955.36	\$1,955.36
540 540	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,178.82 \$2,018.00	\$1,178.82 \$2,018.00
541	COMPUTER, LAPTOP	1	\$1,062.32	\$1,062.32
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOR	1	\$877.88	\$877.88
541 541	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$877.88 \$877.88	\$877.88 \$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LAPTOP	1	\$877.88	\$877.88
541	COMPUTER, LADTOR	1	\$877.88	\$877.88
541 541	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,232.40 \$1,651.98	\$1,232.40 \$1,651.98
541 541	COMPUTER, LAPTOP	1	\$1,651.98	\$1,432.00
542	COMPUTER, LAPTOP	1	\$877.88	\$877.88
542	COMPUTER, LAPTOP	1	\$877.88	\$877.88
542	COMPUTER, LAPTOP	1	\$1,164.61	\$1,164.61
542	COMPUTER, LAPTOP	1	\$1,799.76	\$1,799.76
542	COMPUTER, LAPTOP	1	\$806.58	\$806.58
542	COMPUTER, LADTOR	1	\$1,164.61	\$1,164.61
542 542	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,375.20 \$1,164.61	\$1,375.20 \$1,164.61
574	COMINITER, ENTITO	1	71,107.01	γ±,±∪ 4 .∪±

542	COMPUTER, LAPTOP	1	\$2,353.41	\$2,353.41
545	COMPUTER, LAPTOP	1	\$1,221.00	\$1,221.00
545	COMPUTER, LAPTOP	1	\$1,299.44	\$1,299.44
545	COMPUTER, LAPTOP	1	\$1,442.19	\$1,442.19
545	COMPUTER, LAPTOP	1	\$1,442.19	\$1,442.19
545	COMPUTER, LAPTOP	1	\$1,734.56	\$1,734.56
545	COMPUTER, LAPTOP	1	\$1,212.55	\$1,212.55
545	COMPUTER, LAPTOP	1	\$1,489.14	\$1,489.14
545	COMPUTER, LAPTOP	1	\$1,236.22	\$1,236.22
545	COMPUTER, LAPTOP	1	\$1,236.22	\$1,236.22
545	COMPUTER, LAPTOP	1	\$1,221.00	\$1,221.00
545	COMPUTER, LAPTOP	1	\$1,236.22	\$1,236.22
545	COMPUTER, LAPTOP	1	\$1,221.00	\$1,221.00
545	COMPUTER, LAPTOP	1	\$1,331.46	\$1,331.46
545	COMPUTER, LAPTOP	1	\$1,865.43	\$1,865.43
545	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
545	COMPUTER, LAPTOP	1	\$1,341.61	\$1,341.61
545	COMPUTER, LAPTOP	1	\$1,188.92	\$1,188.92
545	COMPUTER, LAPTOP	1	\$1,124.79	\$1,124.79
545	COMPUTER, LAPTOP	1	\$1,236.22	\$1,236.22
551	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
551	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
551	COMPUTER, LAPTOP	1	\$1,377.08	\$1,377.08
560	COMPUTER, LAPTOP	1	\$1,797.45	\$1,797.45
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,784.04	\$1,784.04
560	COMPUTER, LAPTOP	1	\$1,897.00	\$1,897.00
560	COMPUTER, LAPTOP	1	\$1,763.97	\$1,763.97
560	COMPUTER, LAPTOP	1	\$1,389.05	\$1,389.05
		1		
560	COMPUTER, LAPTOP		\$1,154.46	\$1,154.46
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,154.46	\$1,154.46
560	COMPUTER, LAPTOP	1	\$1,237.00	\$1,237.00
560	COMPUTER, LAPTOP	1	\$1,237.00	\$1,237.00
560	COMPUTER, LAPTOP	1	\$1,948.98	\$1,948.98
560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
560	COMPUTER, LAPTOP	1	\$1,654.28	\$1,654.28
560	COMPUTER, LAPTOP	1	\$1,487.79	\$1,487.79
560	COMPUTER, LAPTOP	1	\$1,973.40	\$1,973.40
560	COMPUTER, LAPTOP	1	\$1,957.40	\$1,957.40
560	COMPUTER, LAPTOP	1	\$2,356.71	\$2,356.71
560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
560	COMPUTER, LAPTOP	1	\$1,654.28	\$1,654.28
560	COMPUTER, LAPTOP	1	\$1,848.79	\$1,848.79
560	COMPUTER, LAPTOP	1	\$1,487.79	\$1,487.79
560	COMPUTER, LAPTOP	1	\$1,763.97	\$1,763.97
560	COMPUTER, LAPTOP	1	\$1,877.21	\$1,877.21
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,491.06	\$1,491.06
560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
	,			
560	COMPUTER, LAPTOP	1	\$1,884.28	\$1,884.28
560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
560	COMPUTER, LAPTOP	1	\$1,164.78	\$1,164.78
560	COMPUTER, LAPTOP	1	\$806.58	\$806.58
560	COMPUTER, LAPTOP	1	\$2,294.20	\$2,294.20
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,957.40	\$1,957.40
560	COMPUTER, LAPTOP	1	\$1,246.61	\$1,246.61
560	COMPUTER, LAPTOP	1	\$1,718.60	\$1,718.60
560	COMPUTER, LAPTOP	1	\$806.58	\$806.58
560	COMPUTER, LAPTOP	1	\$806.58	\$806.58
560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
560	COMPUTER, LAPTOP	1	\$1,718.60	\$1,718.60
560	COMPUTER, LAPTOP	1	\$1,198.00	\$1,198.00
560	COMPUTER, LAPTOP	1	\$1,222.22	\$1,222.22
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
560	COMPUTER, LAPTOP	1	\$1,957.40	\$1,957.40
560	COMPUTER, LAPTOP	1	\$1,389.05	\$1,389.05
560	COMPUTER, LAPTOP	1	\$1,416.00	\$1,416.00
560	COMPUTER, LAPTOP	1	\$1,758.85	\$1,758.85
560	COMPUTER, LAPTOP	1	\$1,416.00	\$1,416.00
		-	ψ±, .10.00	φ±, ¬±0.00

560	COMPUTER, LAPTOP	1	\$750.00	\$750.00
560	COMPUTER, LAPTOP	1	\$2,942.54	\$2,942.54
560	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
560	COMPUTER, LAPTOP	1	\$652.69	\$652.69
570 570	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$806.58 \$1,973.53	\$806.58 \$1,973.53
570	COMPUTER, LAPTOP	1	\$1,237.57	\$1,237.57
570	COMPUTER, LAPTOP	1	\$1,237.57	\$1,237.57
570	COMPUTER, LAPTOP	1	\$806.58	\$806.58
570	COMPUTER, LAPTOP	1	\$652.69	\$652.69
570	COMPUTER, LAPTOP	1	\$1,312.49	\$1,312.49
570 570	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,128.82 \$2,294.13	\$1,128.82 \$2,294.13
570	COMPUTER, LAPTOP	1	\$2,183.98	\$2,294.13
570	COMPUTER, LAPTOP	1	\$1,128.82	\$1,128.82
570	COMPUTER, LAPTOP	1	\$806.58	\$806.58
570	COMPUTER, LAPTOP	1	\$806.58	\$806.58
570	COMPUTER, LAPTOP	1	\$806.58	\$806.58
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,476.13 \$1,565.18	\$1,476.13 \$1,565.18
576	COMPUTER, LAPTOP	1	\$652.69	\$652.69
576	COMPUTER, LAPTOP	1	\$1,932.79	\$1,932.79
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,375.34	\$1,375.34
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,565.18 \$1,476.13	\$1,565.18 \$1,476.13
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$1,565.18	\$750.00 \$1,565.18
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$750.00	\$750.00
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,476.13 \$1,401.16	\$1,476.13 \$1,401.16
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576 576	COMPUTER, LAPTOR	1 1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$1,476.13 \$1,401.16	\$1,476.13 \$1,401.16
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$750.00	\$750.00
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,476.13 \$750.00	\$1,476.13 \$750.00
576	COMPUTER, LAPTOP	1	\$1,253.11	\$1,253.11
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$1,949.07	\$1,949.07
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576 576	COMPUTER, LAPTOR	1 1	\$1,253.11	\$1,253.11
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1	\$1,565.18 \$1,401.16	\$1,565.18 \$1,401.16
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$1,401.16	\$1,401.16
576	COMPUTER, LAPTOP	1	\$1,866.26	\$1,866.26
576	COMPUTER, LAPTOP	1	\$1,949.07	\$1,949.07
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,866.26 \$750.00	\$1,866.26 \$750.00
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,476.13	\$1,476.13
576	COMPUTER, LAPTOP	1	\$1,949.07	\$1,949.07
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576 576	COMPUTER, LAPTOR	1	\$750.00 \$1.040.07	\$750.00
576 576	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$1,949.07 \$750.00	\$1,949.07 \$750.00
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18

576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,949.07	\$1,949.07
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,565.18	\$1,565.18
576	COMPUTER, LAPTOP	1	\$1,628.42	\$1,628.42
581	COMPUTER, LAPTOP	1	\$1,442.95	\$1,442.95
581	COMPUTER, LAPTOP	1	\$1,587.17	\$1,587.17
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$1,456.00	\$1,456.00
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$877.88	\$877.88
581	COMPUTER, LAPTOP	1	\$877.88	\$877.88
581	COMPUTER, LAPTOP	1	\$877.88	\$877.88
581	COMPUTER, LAPTOP	1	\$877.88	\$877.88
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
581	COMPUTER, LAPTOP	1	\$1,712.95	\$1,712.95
581	COMPUTER, LAPTOP	1	\$750.00	\$750.00
581	COMPUTER, LAPTOP	1	\$1,758.85	\$1,758.85
581	COMPUTER, LAPTOP	1	\$2,006.70	\$2,006.70
581	COMPUTER, LAPTOP	1	\$1,432.00	\$1,432.00
581	COMPUTER, LAPTOP	1	\$1,456.00	\$1,456.00
581	COMPUTER, LAPTOP	1	\$1,432.00	\$1,432.00
581	COMPUTER, LAPTOP	1	\$1,651.00	\$1,651.00
581	COMPUTER, LAPTOP	1	\$877.88	\$877.88
				·
581	COMPUTER, LAPTOP	1	\$1,196.13	\$1,196.13
583	COMPUTER, LAPTOP	1	\$859.99	\$859.99
583	COMPUTER, LAPTOP	1	\$1,979.02	\$1,979.02
				. ,
587	COMPUTER, LAPTOP	1	\$1,249.36	\$1,249.36
587	COMPUTER, LAPTOP	1	\$2,067.10	\$2,067.10
587	COMPUTER, LAPTOP	1	\$2,067.10	\$2,067.10
587	COMPUTER, LAPTOP	1	\$652.69	\$652.69
587	COMPUTER, LAPTOP	1	\$652.69	\$652.69
587	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
587	COMPUTER, LAPTOP	1	\$1,909.99	\$1,909.99
587	COMPUTER, LAPTOP	1	\$1,501.27	\$1,501.27
591	COMPUTER, LAPTOP	1	\$1,587.65	\$1,587.65
591	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
591	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
591	COMPUTER, LAPTOP	1	\$1,368.60	\$1,368.60
591	COMPUTER, LAPTOP	1	\$385.52	\$385.52
	ŕ			
591	COMPUTER, LAPTOP	1	\$1,587.67	\$1,587.67
591	COMPUTER, LAPTOP	1	\$1,587.65	\$1,587.65
591	COMPUTER, LAPTOP	1	\$1,280.37	\$1,280.37
591	COMPUTER, LAPTOP	1	\$1,049.73	\$1,049.73
591	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
591	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
	,			
591	COMPUTER, LAPTOP	1	\$1,587.65	\$1,587.65
591	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
591	COMPUTER, LAPTOP	1	\$1,819.81	\$1,819.81
591	COMPUTER, LAPTOP			
	ŕ	1	\$1,021.75	\$1,021.75
591	COMPUTER, LAPTOP	1	\$1,587.65	\$1,587.65
591	COMPUTER, LAPTOP	1	\$1,870.17	\$1,870.17
591		1		
	COMPUTER, LAPTOP		\$1,819.81	\$1,819.81
591	COMPUTER, LAPTOP	1	\$1,870.17	\$1,870.17
591	COMPUTER, LAPTOP	1	\$1,129.62	\$1,129.62
591	COMPUTER, LAPTOP	1	\$1,870.17	\$1,870.17
591	COMPUTER, LAPTOP	1	\$1,870.17	\$1,870.17
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
630	COMPUTER, LAPTOP	1	\$1,249.36	\$1,249.36
630	COMPUTER, LAPTOP	1	\$1,701.82	\$1,701.82
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
630	COMPUTER, LAPTOP	1	\$750.00	\$750.00
661	COMPUTER, LAPTOP	1	\$1,159.62	\$1,159.62
661	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
661	COMPUTER, LAPTOP	1	\$1,221.00	\$1,221.00
661	COMPUTER, LAPTOP	1	\$1,433.00	\$1,433.00
661	COMPUTER, LAPTOP	1	\$1,563.85	\$1,563.85
661	COMPUTER, LAPTOP	1	\$1,775.85	\$1,775.85
665	COMPUTER, LAPTOP	1	\$750.00	\$750.00

CCE	COMPLITED LADTOR	1	¢750.00	¢750.00
665 665	COMPUTER, LAPTOP COMPUTER, LAPTOP	1 1	\$750.00 \$750.00	\$750.00 \$750.00
882	COMPUTER, LAPTOP	1	\$750.00 \$750.00	\$750.00 \$750.00
882	COMPUTER, LAPTOP	1	\$1,981.98	\$1,981.98
3101	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
3103	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
	COMPUTER, LAPTOP	1		
3106	•	1	\$1,129.27	\$1,129.27
3106	COMPUTER, LAPTOR		\$1,129.62	\$1,129.62
3106	COMPUTER, LANTON	1	\$1,129.62	\$1,129.62
3106	COMPUTER, LANTON	1	\$1,535.74	\$1,535.74
3106	COMPUTER, LAPTOP	1	\$1,129.28	\$1,129.28
3106	COMPUTER, LAPTOP	1	\$750.00	\$750.00
3106	COMPUTER, LAPTOP	1	\$1,377.07	\$1,377.07
3107	COMPUTER, LAPTOP	1	\$1,715.06	\$1,715.06
3107	COMPUTER, LAPTOP	1	\$750.00	\$750.00
210	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
212	COMPUTER, LAPTOP, 2-IN-1	1	\$1,410.96	\$1,410.96
212	COMPUTER, LAPTOP, 2-IN-1	1	\$1,550.00	\$1,550.00
212	COMPUTER, LAPTOP, 2-IN-1	1	\$1,936.29	\$1,936.29
212	COMPUTER, LAPTOP, 2-IN-1	1	\$1,936.29	\$1,936.29
213	COMPUTER, LAPTOP, 2-IN-1	1	\$1,488.40	\$1,488.40
341	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
400	COMPUTER, LAPTOP, 2-IN-1	1	\$1,833.24	\$1,833.24
400	COMPUTER, LAPTOP, 2-IN-1	1	\$1,338.04	\$1,338.04
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,449.00	\$1,449.00
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,691.41	\$1,691.41
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,691.41	\$1,691.41
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,691.41	\$1,691.41
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,716.17	\$1,716.17
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
402	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
429		1		
	COMPUTER, LAPTOP, 2-IN-1		\$1,272.11	\$1,272.11
436	COMPUTER, LAPTOP, 2-IN-1	1	\$1,873.48	\$1,873.48
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,630.42	\$1,630.42
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,451.55	\$1,451.55
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,687.20	\$1,687.20
440	COMPUTER, LAPTOP, 2-IN-1	1	\$1,734.84	\$1,734.84
450	COMPUTER, LAPTOP, 2-IN-1	1	\$878.67	\$878.67
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,851.34	\$1,851.34
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,039.77	\$1,039.77
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,207.28	\$1,207.28
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,039.77	\$1,039.77
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,039.77
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11 \$2,358.13	\$1,172.11 \$2,358.13
		1		
451	COMPUTER, LANTON, 2-IN-1		\$1,207.28	\$1,207.28
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.13	\$2,358.13
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.13	\$2,358.13
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.12	\$2,358.12
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.12	\$2,358.12
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.12	\$2,358.12
451	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
451	COMPUTER, LAPTOP, 2-IN-1	1	\$2,358.13	\$2,358.13
452	COMPUTER, LAPTOP, 2-IN-1	1	\$1,207.28	\$1,207.28
453	COMPUTER, LAPTOP, 2-IN-1	1	\$1,173.11	\$1,173.11
453	COMPUTER, LAPTOP, 2-IN-1	1	\$1,173.11	\$1,173.11
453	COMPUTER, LAPTOP, 2-IN-1	1	\$1,173.11	\$1,173.11
453	COMPUTER, LAPTOP, 2-IN-1	1	\$1,173.11	\$1,173.11
454	COMPUTER, LAPTOP, 2-IN-1	1	\$1,670.41	\$1,670.41
454	COMPUTER, LAPTOP, 2-IN-1	1	\$1,102.83	\$1,102.83
454	COMPUTER, LAPTOP, 2-IN-1	1	\$1,102.83	\$1,102.83
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
				. ,

475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.39	\$1,351.39
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
475	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
475	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
475	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.39	\$1,351.39
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.39	\$1,351.39
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.39	\$1,351.39
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.39	\$1,351.39
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$2,132.43	\$2,132.43
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$903.04	\$903.04
475	• • •	1	\$2,132.43	\$2,132.43
	COMPUTER, LAPTOP, 2-IN-1			
475	COMPUTER, LAPTOP, 2-IN-1	1	\$2,132.43	\$2,132.43
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$2,132.43	\$2,132.43
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,417.42	\$1,417.42
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,351.40	\$1,351.40
475	COMPUTER, LAPTOP, 2-IN-1	1	\$1,407.25	\$1,407.25
492	COMPUTER, LAPTOP, 2-IN-1	1	\$2,522.35	\$2,522.35
	, , - · · · -	_	. ,	+=,===:33

492	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
492	COMPUTER, LAPTOP, 2-IN-1	1	\$2,522.35	\$2,522.35
492	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
492	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
492	COMPUTER, LAPTOP, 2-IN-1	1	\$2,522.35	\$2,522.35
492	COMPUTER, LAPTOP, 2-IN-1	1		\$1,172.11
			\$1,172.11	
492	COMPUTER, LAPTOP, 2-IN-1	1	\$1,172.11	\$1,172.11
492	COMPUTER, LAPTOP, 2-IN-1	1	\$2,522.35	\$2,522.35
492	COMPUTER, LAPTOP, 2-IN-1	1	\$2,522.35	\$2,522.35
494	COMPUTER, LAPTOP, 2-IN-1	1	\$1,410.96	\$1,410.96
494	COMPUTER, LAPTOP, 2-IN-1	1	\$1,243.13	\$1,243.13
494	COMPUTER, LAPTOP, 2-IN-1	1	\$1,410.96	\$1,410.96
494	COMPUTER, LAPTOP, 2-IN-1	1	\$1,701.78	\$1,701.78
494	COMPUTER, LAPTOP, 2-IN-1	1	\$1,410.96	\$1,410.96
495	COMPUTER, LAPTOP, 2-IN-1	1	\$2,066.24	\$2,066.24
495	COMPUTER, LAPTOP, 2-IN-1	1	\$1,393.20	\$1,393.20
497	COMPUTER, LAPTOP, 2-IN-1	1	\$1,592.28	\$1,592.28
497	COMPUTER, LAPTOP, 2-IN-1	1	\$1,592.28	\$1,592.28
497	COMPUTER, LAPTOP, 2-IN-1	1	\$1,592.28	\$1,592.28
499	COMPUTER, LAPTOP, 2-IN-1	1	\$1,588.57	\$1,588.57
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,514.24	\$1,514.24
503		1		
	COMPUTER, LAPTOP, 2-IN-1		\$1,563.19	\$1,563.19
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,192.49	\$1,192.49
503	COMPUTER, LAPTOP, 2-IN-1	1	\$2,258.42	\$2,258.42
503		1		\$1,220.38
	COMPUTER, LAPTOP, 2-IN-1		\$1,220.38	
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,688.37	\$1,688.37
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,891.75	\$1,891.75
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,416.98	\$1,416.98
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,708.22	\$1,708.22
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,220.38	\$1,220.38
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,550.49	\$1,550.49
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,974.71	\$1,974.71
503	COMPUTER, LAPTOP, 2-IN-1	1	\$2,719.49	\$2,719.49
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,833.24	\$1,833.24
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,563.19	\$1,563.19
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,688.37	\$1,688.37
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,108.42	\$1,108.42
		1		
503	COMPUTER, LAPTOP, 2-IN-1		\$1,688.38	\$1,688.38
503	COMPUTER, LAPTOP, 2-IN-1	1	\$1,181.64	\$1,181.64
503	COMPUTER, LAPTOP, 2-IN-1	1	\$750.00	\$750.00
509	COMPUTER, LAPTOP, 2-IN-1	1	\$1,118.01	\$1,118.01
509	COMPUTER, LAPTOP, 2-IN-1	1	\$1,610.06	\$1,610.06
540	COMPUTER, LAPTOP, 2-IN-1	1	\$1,633.74	\$1,633.74
540	COMPUTER, LAPTOP, 2-IN-1	1	\$1,053.03	\$1,053.03
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
				. ,
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,181.64	\$1,181.64
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,181.64	\$1,181.64
541	COMPUTER, LAPTOP, 2-IN-1	1	\$1,181.64	\$1,181.64
	COMPUTER, LAPTOP, 2-IN-1			\$2,069.97
542		1	\$2,069.97	
542	COMPUTER, LAPTOP, 2-IN-1	1	\$1,433.42	\$1,433.42
542	COMPUTER, LAPTOP, 2-IN-1	1	\$2,322.02	\$2,322.02
542	COMPUTER, LAPTOP, 2-IN-1	1	\$1,433.42	\$1,433.42
542	COMPUTER, LAPTOP, 2-IN-1	1	\$2,069.97	\$2,069.97
542	COMPUTER, LAPTOP, 2-IN-1	1	\$1,433.42	\$1,433.42
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,231.54	\$1,231.54
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,510.54	\$1,510.54
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,721.05	\$1,721.05
560	COMPUTER, LAPTOP, 2-IN-1	1	\$1,426.32	\$1,426.32
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
576	COMPUTER, LAPTOP, 2-IN-1	1	\$1,628.42	\$1,628.42
581	COMPUTER, LAPTOP, 2-IN-1	1	\$1,426.32	\$1,426.32
581	COMPUTER, LAPTOP, 2-IN-1	1	\$1,426.32	\$1,426.32
581	COMPUTER, LAPTOP, 2-IN-1	1	\$1,426.32	\$1,426.32
583	COMPUTER, LAPTOP, 2-IN-1	1	\$1,181.64	\$1,181.64
303	CONTO ILIN, LAFTOF, Z-IN-I	1	γ1,101.0 4	1,101.04

583	COMPUTER, LAPTOP, 2-IN-1	1	\$1,701.19	\$1,701.19
591	COMPUTER, LAPTOP, 2-IN-1	1	\$1,652.91	\$1,652.91
630	COMPUTER, LAPTOP, 2-IN-1	1	\$1,712.95	\$1,712.95
882	COMPUTER, LAPTOP, 2-IN-1	1	\$1,510.54	\$1,510.54
492	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
503	COMPUTER, LAPTOP, RUGGED	1	\$5,267.25	\$5,267.25
503	COMPUTER, LAPTOP, RUGGED	1	\$5,267.25	\$5,267.25
503	COMPUTER, LAPTOP, RUGGED	1	\$5,267.25	\$5,267.25
503	COMPUTER, LAPTOP, RUGGED	1	\$5,267.25	\$5,267.25
503	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
503	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
503	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
503	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
503	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
507	COMPUTER, LAPTOP, RUGGED	1		\$4,671.85
			\$4,671.85	
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
540	COMPUTER, LAPTOP, RUGGED	1	\$4,296.85	\$4,296.85
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,147.55	\$4,147.55
540	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
		1	\$4,100.00	
540	COMPUTER, LAPTOP, RUGGED		·	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,615.55	\$4,615.55
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,615.55	\$4,615.55
540	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$2,856.86	\$2,856.86
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540		1		
	COMPUTER, LAPTOP, RUGGED		\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,147.55	\$4,147.55
540	COMPUTER, LAPTOP, RUGGED	1	\$2,856.86	\$2,856.86
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$2,856.86	\$2,856.86
540		1	\$3,636.58	
	COMPUTER, LAPTOP, RUGGED		·	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$2,856.86	\$2,856.86
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,147.55	\$4,147.55
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
540	COMPUTER, LAPTOP, RUGGED	1	\$4,147.55	\$4,147.55
540	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540		1		
	COMPUTER, LAPTOP, RUGGED		\$4,100.00	\$4,100.00
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58

540	COMPUTER, LAPTOP, RUGGED	1	\$4,296.85	\$4,296.85
540	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$5,226.19	\$5,226.19
540	COMPUTER, LAPTOP, RUGGED	1	\$3,636.58	\$3,636.58
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,147.55	\$4,147.55
540	COMPUTER, LAPTOP, RUGGED	1	\$3,072.91	\$3,072.91
540	COMPUTER, LAPTOP, RUGGED	1	\$4,797.69	\$4,797.69
542	COMPUTER, LAPTOP, RUGGED	1	\$4,538.22	\$4,538.22
542	COMPUTER, LAPTOP, RUGGED	1	\$4,538.22	\$4,538.22
542	COMPUTER, LAPTOP, RUGGED	1	\$3,811.91	\$3,811.91
542	COMPUTER, LAPTOP, RUGGED	1	\$5,162.88	\$5,162.88
551	COMPUTER, LAPTOP, RUGGED	1	\$5,090.00	\$5,090.00
551	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
551	COMPUTER, LAPTOP, RUGGED	1	\$4,560.87	\$4,560.87
551	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
551	COMPUTER, LAPTOP, RUGGED	1	\$4,286.95	\$4,286.95
551	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
551	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
551	COMPUTER, LAPTOP, RUGGED	1	\$4,286.95	\$4,286.95
551	COMPUTER, LAPTOP, RUGGED	1	\$4,286.95	\$4,286.95
551	COMPUTER, LAPTOP, RUGGED	1	\$4,560.87	\$4,560.87
551	COMPUTER, LAPTOP, RUGGED	1	\$3,726.35	\$3,726.35
552	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
552	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
552	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
552	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
552	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
552	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,325.00	\$4,325.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,154.77	\$4,154.77
553	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
553	COMPUTER, LAPTOP, RUGGED	1	\$4,594.42	\$4,594.42
553	COMPUTER, LAPTOP, RUGGED	1	\$4,594.42	\$4,594.42
553	COMPUTER, LAPTOP, RUGGED	1	\$4,594.42	\$4,594.42
553	COMPUTER, LAPTOP, RUGGED	1	\$4,594.42	\$4,594.42
553	COMPUTER, LAPTOP, RUGGED	1	\$4,594.42	\$4,594.42
553	COMPUTER, LAPTOP, RUGGED	1	\$5,528.29	\$5,528.29
553	COMPUTER, LAPTOP, RUGGED	1	\$5,528.29	\$5,528.29
553	COMPUTER, LAPTOP, RUGGED	1	\$5,528.29	\$5,528.29
553	COMPUTER, LAPTOP, RUGGED	1	\$5,528.29	\$5,528.29
553	COMPUTER, LAPTOP, RUGGED	1	\$5,528.29	\$5,528.29
554	COMPUTER, LAPTOP, RUGGED	1	\$4,294.68	\$4,294.68
554	COMPUTER, LAPTOP, RUGGED	1	\$5,209.46	\$5,209.46
554	COMPUTER, LAPTOP, RUGGED	1	\$5,209.46	\$5,209.46
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
554	COMPUTER, LAPTOP, RUGGED	1	\$5,129.99	\$5,129.99
560	COMPUTER, LAPTOP, RUGGED	1	\$4,378.27	\$4,378.27
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1		\$4,100.00
			\$4,100.00	
560	COMPUTER, LADTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00

560	COMPUTER, LAPTOP, RUGGED	1	\$4,378.26	\$4,378.26
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
		1		
560	COMPUTER, LAPTOP, RUGGED		\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560		1		
	COMPUTER, LAPTOP, RUGGED		\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
560	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
		1		
560	COMPUTER, LAPTOP, RUGGED	_	\$4,100.00	\$4,100.00

560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
	, ,			
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
		1		
560	COMPUTER, LAPTOP, RUGGED		\$3,168.74	\$3,168.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
			. ,	
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,878.40	\$3,878.40
		1	\$3,878.40	
560	COMPUTER, LAPTOP, RUGGED			\$3,878.40
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
	· · · · ·			
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
560	COMPUTER, LAPTOP, RUGGED	1	\$3,955.83	\$3,955.83
		1		
560	COMPUTER, LAPTOP, RUGGED		\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,244.68	\$4,244.68
560	COMPUTER, LAPTOP, RUGGED	1	\$4,378.26	\$4,378.26
560	COMPUTER, LAPTOP, RUGGED	1	\$4,378.26	\$4,378.26
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.99	\$4,177.99
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560		1		
	COMPUTER, LAPTOP, RUGGED		\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED			
JUU	CUIVIFU I ER, LAPTUP, KUUGED	1	\$4,177.74	\$4,177.74
	, ,			

560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
			\$4,177.74	
560	COMPUTER, LAPTOP, RUGGED	1	. ,	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
	•	1		
560	COMPUTER, LAPTOP, RUGGED		\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
		1		\$4,177.74
560	COMPUTER, LAPTOP, RUGGED		\$4,177.74	
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
	• • •			. ,
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,177.74	\$4,177.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.06	\$4,266.06
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
500	33 3.L., 2 13. , 1.330LD	<u>*</u>	ų .,200.25	ψ +,200.23

560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
				. ,
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560		1		\$4,266.29
	COMPUTER, LAPTOP, RUGGED		\$4,266.29	
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,266.29	\$4,266.29
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
				. ,
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
560	COMPUTER, LAPTOP, RUGGED	1	\$4,972.95	\$4,972.95
	• •	1		. ,
560	COMPUTER, LAPTOP, RUGGED		\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.25	\$4,719.25
560		1	\$4,719.22	\$4,719.22
	COMPUTER, LAPTOP, RUGGED			
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,719.22	\$4,719.22
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
	, ,			
560	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
560	COMPUTER, LAPTOP, RUGGED	1	\$4,085.57	\$4,085.57
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
	· · · · ·			
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
570	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
570	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
570	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
587	COMPUTER, LAPTOP, RUGGED	1	\$4,671.85	\$4,671.85
587	COMPUTER, LAPTOP, RUGGED	1	\$4,671.85	\$4,671.85
587	COMPUTER, LAPTOP, RUGGED	1	\$4,671.85	\$4,671.85
587	COMPUTER, LAPTOP, RUGGED	1	\$4,671.85	\$4,671.85
				. ,

587	COMPUTER, LAPTOP, RUGGED	1	\$4,296.85	\$4,296.85
587	COMPUTER, LAPTOP, RUGGED	1	\$4,296.85	\$4,296.85
587	COMPUTER, LAPTOP, RUGGED	1	\$4,296.85	\$4,296.85
630	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
630	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$3,512.98 \$4,296.85	\$3,512.98 \$4,296.85
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,255.57	\$3,255.57
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,378.26	\$4,378.26
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$4,100.00 \$4,100.00	\$4,100.00 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,255.57	\$3,255.57
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,875.86	\$3,875.86
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,800.00	\$3,800.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$4,100.00 \$4,100.00	\$4,100.00 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED	1 1	\$4,100.00	\$4,100.00 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1	\$4,100.00 \$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,234.61	\$4,234.61
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1	\$4,100.00 \$4,100.00	\$4,100.00 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED	1 1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1	\$5,162.88 \$3,811.91	\$5,162.88 \$3,811.91
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,482.38	\$4,482.38
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$3,333.56 \$3,989.09	\$3,333.56 \$3,989.09
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,989.09	\$3,989.09
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$3,072.91	\$3,072.91
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1	\$4,100.00 \$4,100.00	\$4,100.00 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,168.74	\$3,168.74
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,085.57	\$4,085.57
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000 1000	COMPUTER, LAPTOP, RUGGED COMPUTER, LAPTOP, RUGGED	1 1	\$3,072.91 \$4,100.00	\$3,072.91 \$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
	, . ,		, =	, -,

1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,482.38	\$4,482.38
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,558.11	\$3,558.11
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,512.98	\$3,512.98
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,333.56	\$3,333.56
1000		1	\$3,726.35	\$3,726.35
	COMPUTER, LAPTOP, RUGGED			
1000	COMPUTER, LAPTOP, RUGGED	1	\$3,915.56	\$3,915.56
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$2,856.86	\$2,856.86
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
1000	COMPUTER, LAPTOP, RUGGED	1	\$4,100.00	\$4,100.00
453	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$668.39	\$668.39
475	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$1,003.97	\$1,003.97
499	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$850.00	\$850.00
499	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$1,076.11	\$1,076.11
503	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$437.00	\$437.00
545	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$500.00	\$500.00
581	COMPUTER, MINI, W/MONITOR (SFF/MFF)	1	\$850.00	\$850.00
404	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
426	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$970.48	\$970.48
426	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$970.48	\$970.48
427	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
427	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
428	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,725.37	\$1,725.37
428	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,766.19	\$1,766.19
429	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,725.37	\$1,725.37
429	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
429	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
429	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,766.19	\$1,766.19
435	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,128.67	\$1,128.67
436	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
436	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,766.19	\$1,766.19
436	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,259.98	\$1,259.98
438	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
438	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,128.67	\$1,128.67
439	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$987.76	\$987.76
			•	
439	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$987.75	\$987.75
439	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$987.76	\$987.76
439	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$987.76	\$987.76
439	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,389.99	\$1,389.99
441	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
441	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,052.56	\$1,052.56
441	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
441	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
451	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
451	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
452	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,166.18	\$1,166.18
453	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
453	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
453	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
453	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
453	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
454	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
454	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
	, , ,			
503	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
540	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
541	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
541	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,023.56	\$1,023.56
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00

545	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
560	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
560	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,023.56	\$1,023.56
570	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1		
576	, ,		\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1		\$1,159.79
	, , ,		\$1,159.79	
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,378.17	\$1,378.17
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576		1	\$1,100.00	\$1,100.00
	COMPUTER, MONITOR, ALL-IN-ONE (AIO)			
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,023.56	\$1,023.56
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576		1		\$1,010.44
	COMPUTER, MONITOR, ALL IN ONE (AIO)		\$1,010.44	
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,020.10	\$1,020.10
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,151.54	\$1,151.54
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
- -	· · · · · · · · · · · · · · · · · · ·	•	, ,	,_,

576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,378.17	\$1,378.17
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,151.54	\$1,151.54
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1		\$1,010.44
	, , , , , , , , , , , , , , , , , , , ,		\$1,010.44	
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,378.17	\$1,378.17
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
	, , , , , , , , , , , , , , , , , , , ,			
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,378.17	\$1,378.17
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,151.54	\$1,151.54
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,151.54	\$1,151.54
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,151.54	\$1,151.54
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,010.44	\$1,010.44
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
	, , , , , , , , , , , , , , , , , , , ,			
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,070.09	\$1,070.09
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,108.00	\$1,108.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
	, , , , , , , , , , , , , , , , , , , ,			
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,159.79	\$1,159.79
576	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
591	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,100.00	\$1,100.00
665	COMPUTER, MONITOR, ALL-IN-ONE (AIO)	1	\$1,068.55	\$1,068.55
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	
	• • •			\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$56,163.83	\$56,163.83
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$56,163.81	\$56,163.81
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$56,163.83	\$56,163.83

503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$56,163.83	\$56,163.83
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$5,500.00	\$5,500.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$8,550.00	\$8,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END	1	\$29,550.00	\$29,550.00
503 503	COMPUTER, NETWORK ATTACHED STORAGE (NAS), HIGH-END COMPUTER, NOTEBOOK, TABLET	1 1	\$20,890.35 \$1,509.07	\$20,890.35 \$1,509.07
503	COMPUTER, RACK FILE SERVER	1	\$3,745.00	\$3,745.00
503	COMPUTER, RACK FILE SERVER	1	\$3,745.00	\$3,745.00
541	COMPUTER, SIGN-IN SYSTEM	1	\$3,100.00	\$3,100.00
541	COMPUTER, SIGN-IN SYSTEM	1	\$3,000.00	\$3,000.00
541	COMPUTER, SIGN-IN SYSTEM	1	\$3,000.00	\$3,000.00
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$354,642.27	\$354,642.27
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$123,678.65	\$123,678.65
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$176,299.30	\$176,299.30
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$175,000.00	\$175,000.00
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$175,000.00	\$175,000.00
503	COMPUTER, STORAGE APPLIANCE, NETWORK	1	\$199,895.38	\$199,895.38
503	COMPUTER, STORAGE ARRAY, HIGH-END	1	\$23,889.47	\$23,889.47
503	COMPUTER, STORAGE ARRAY, HIGH-END	1	\$25,000.00	\$25,000.00
503	COMPUTER, STORAGE ARRAY, HIGH-END	1	\$23,889.47	\$23,889.47
503	COMPUTER, STORAGE ARRAY, HIGH-END	1	\$25,000.00	\$25,000.00
440	COMPUTER, TABLET	1	\$2,365.00	\$2,365.00
452 452	COMPUTER, TABLET, RUGGED COMPUTER, TABLET, RUGGED	1 1	\$1,965.66 \$1,965.65	\$1,965.66 \$1,965.65
452	COMPUTER, TABLET, RUGGED COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.99	\$1,965.99
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
452	COMPUTER, TABLET, RUGGED	1	\$1,965.66	\$1,965.66
552	COMPUTER, TABLET, RUGGED	1	\$2,072.00	\$2,072.00
552	COMPUTER, TABLET, RUGGED	1	\$2,072.00	\$2,072.00
554	COMPUTER, TABLET, RUGGED	1	\$1,937.00	\$1,937.00
554	COMPUTER, TABLET, RUGGED	1	\$1,937.00	\$1,937.00
554	COMPUTER, TABLET, RUGGED	1	\$1,937.00	\$1,937.00
554	COMPUTER, TABLET, RUGGED	1	\$1,937.00	\$1,937.00
554	COMPUTER, TABLET, RUGGED	1	\$1,937.00	\$1,937.00
560	COMPUTER, TABLET, RUGGED	1 1	\$2,008.22	\$2,008.22
560 560	COMPUTER, TABLET, RUGGED	1	\$2,008.22	\$2,008.22
560	COMPUTER, TABLET, RUGGED COMPUTER, TABLET, RUGGED	1	\$2,008.22 \$2,008.22	\$2,008.22 \$2,008.22
560	COMPUTER, TABLET, RUGGED	1	\$2,008.22	\$2,008.22
560	COMPUTER, TABLET, RUGGED	1	\$3,950.67	\$3,950.67
570	COMPUTER, TABLET, RUGGED	1	\$2,745.76	\$2,745.76
210	COMPUTER, W/ MONITOR	1	\$2,281.40	\$2,281.40
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210 210	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$672.87 \$672.87	\$672.87 \$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$1,935.30	\$1,935.30
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$1,240.55	\$1,240.55

210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$858.00	\$858.00
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
210	COMPUTER, W/ MONITOR	1	\$1,080.54	\$1,080.54
210	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
210	COMPUTER, W/ MONITOR	1	\$2,281.40	\$2,281.40
210	COMPUTER, W/ MONITOR	1	\$2,281.40	\$2,281.40
210	COMPUTER, W/ MONITOR	1	\$1,330.65	\$1,330.65
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
			·	
210	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$1,080.54	\$1,080.54
210	COMPUTER, W/ MONITOR	1	\$1,526.37	\$1,526.37
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
210	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
210	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
210	COMPUTER, W/ MONITOR	1	\$1,526.37	\$1,526.37
210	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
210	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
210	, ·	1	\$850.00	\$850.00
	COMPUTER, W/ MONITOR			
210	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
211	COMPUTER, W/ MONITOR	1	\$751.63	\$751.63
213	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
213	COMPUTER, W/ MONITOR	1	\$1,067.83	\$1,067.83
215	COMPUTER, W/ MONITOR	1	\$1,361.06	\$1,361.06
215	COMPUTER, W/ MONITOR	1	\$1,544.80	\$1,544.80
215	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
215	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
215	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
215	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
215	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
215	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
215	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
215	COMPUTER, W/ MONITOR	1	\$1,602.69	\$1,602.69
215	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
215	COMPUTER, W/ MONITOR	1	\$858.00	\$858.00
341	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
402	COMPUTER, W/ MONITOR	1	\$1,236.56	\$1,236.56
402	COMPUTER, W/ MONITOR	1	\$1,124.14	\$1,124.14
402	COMPUTER, W/ MONITOR	1	\$1,124.14	\$1,124.14
403	COMPUTER, W/ MONITOR	1	\$881.21	\$881.21
403	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
403	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
403	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
403	COMPUTER, W/ MONITOR	1	\$674.01	\$674.01
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$1,447.01	\$1,447.01
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403				
	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00

403	COMPUTER, W/ MONITOR	1	\$1,006.51	\$1,006.51
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403	COMPUTER, W/ MONITOR	1	\$977.08	\$977.08
403	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
403 403	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$674.01 \$674.01	\$674.01 \$674.01
403	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
403	COMPUTER, W/ MONITOR	1	\$1,447.01	\$1,447.01
403 403	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$674.01 \$674.01	\$674.01 \$674.01
403	COMPUTER, W/ MONITOR	1	\$711.66	\$711.66
403	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
403	COMPUTER, W/ MONITOR	1	\$674.01	\$674.01
403	COMPUTER, W/ MONITOR	1	\$967.81	\$967.81
403	COMPUTER, W/ MONITOR	1	\$1,316.00	\$1,316.00
403 403	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$1,316.00 \$779.07	\$1,316.00 \$779.07
403	COMPUTER, W/ MONITOR	1	\$674.01	\$674.01
403	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$850.00	\$850.00 \$1,134.47
404 404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1	\$1,134.47 \$850.00	\$1,134.47 \$850.00
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404 404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$952.38 \$952.38	\$952.38 \$952.38
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
404	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
404	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
404	COMPUTER, W/ MONITOR	1 1	\$881.21	\$881.21
404 404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1	\$674.01 \$674.01	\$674.01 \$674.01
404	COMPUTER, W/ MONITOR	1	\$674.01	\$674.01
404	COMPUTER, W/ MONITOR	1	\$1,134.47	\$1,134.47
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404 404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$865.85 \$865.85	\$865.85 \$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$952.38	\$952.38
404 404	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$865.85 \$865.85	\$865.85 \$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$865.85	\$865.85
404	COMPUTER, W/ MONITOR	1	\$865.83	\$865.83
405	COMPUTER, W/ MONITOR	1	\$1,184.94	\$1,184.94
405 435	COMPUTER, W/ MONITOR	1	\$950.34	\$950.34
425 425	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$850.00 \$921.33	\$850.00 \$921.33
425	COMPUTER, W/ MONITOR	1	\$929.12	\$929.12
425	COMPUTER, W/ MONITOR	1	\$929.12	\$929.12
426	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
426	COMPUTER, W/ MONITOR	1	\$1,124.14	\$1,124.14
426 426	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$779.07 \$934.15	\$779.07 \$934.15
426	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1	\$934.15 \$862.47	\$934.15 \$862.47
427	COMPUTER, W/ MONITOR	1	\$853.20	\$853.20
427	COMPUTER, W/ MONITOR	1	\$881.21	\$881.21
427	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
428	COMPUTER, W/ MONITOR	1	\$1,012.80	\$1,012.80
428 428	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1 1	\$873.70 \$850.00	\$873.70 \$850.00
428	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
429	COMPUTER, W/ MONITOR	1	\$1,111.00	\$1,111.00
429	COMPUTER, W/ MONITOR	1	\$1,001.73	\$1,001.73
429	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15

435	COMPUTER, W/ MONITOR	1	\$895.93	\$895.93
435	COMPUTER, W/ MONITOR	1	\$799.13	\$799.13
435	COMPUTER, W/ MONITOR	1	\$933.70	\$933.70
435	COMPUTER, W/ MONITOR	1	\$933.70	\$933.70
435	COMPUTER, W/ MONITOR	1	\$1,126.07	\$1,126.07
435	COMPUTER, W/ MONITOR	1	\$1,088.32	\$1,088.32
	• •	1	\$985.77	\$985.77
436	COMPUTER, W/ MONITOR			
437	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
437	COMPUTER, W/ MONITOR	1	\$1,093.38	\$1,093.38
437	COMPUTER, W/ MONITOR	1	\$1,158.57	\$1,158.57
437	COMPUTER, W/ MONITOR	1	\$1,111.00	\$1,111.00
437	COMPUTER, W/ MONITOR	1	\$853.22	\$853.22
438	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
438	COMPUTER, W/ MONITOR	1	\$1,142.06	\$1,142.06
				. ,
438	COMPUTER, W/ MONITOR	1	\$1,766.19	\$1,766.19
438	COMPUTER, W/ MONITOR	1	\$1,172.38	\$1,172.38
439	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
439	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
440	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$1,000.00	\$1,000.00
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$1,070.60	\$1,070.60
440	COMPUTER, W/ MONITOR	1	\$1,070.60	\$1,070.60
440		1	\$850.00	\$850.00
	COMPUTER, W/ MONITOR			
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$1,009.09	\$1,009.09
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
440	COMPUTER, W/ MONITOR	1	\$1,164.37	\$1,164.37
440	COMPUTER, W/ MONITOR	1	\$766.63	\$766.63
441	COMPUTER, W/ MONITOR	1	\$895.93	\$895.93
441	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
441	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
441	COMPUTER, W/ MONITOR	1	\$1,158.57	\$1,158.57
441	COMPUTER, W/ MONITOR	1	\$895.93	\$895.93
441	COMPUTER, W/ MONITOR	1	\$1,205.05	\$1,205.05
441	COMPUTER, W/ MONITOR	1	\$1,205.05	\$1,205.05
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$1,179.00	\$1,179.00
450	COMPUTER, W/ MONITOR	1	\$1,179.00	\$1,179.00
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$950.66	\$950.66
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
450	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
450	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
451	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
451	COMPUTER, W/ MONITOR	1	\$1,414.31	\$1,414.31
451	COMPUTER, W/ MONITOR	1	\$781.40	\$781.40
451	COMPUTER, W/ MONITOR	1	\$1,222.29	\$1,222.29
451	COMPUTER, W/ MONITOR	1	\$1,222.29	\$1,222.29
451	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
451	COMPUTER, W/ MONITOR	1	\$947.06	\$947.06
451	COMPUTER, W/ MONITOR	1	\$947.06	\$947.06
451	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
452	COMPUTER, W/ MONITOR	1	\$1,177.17	\$1,177.17
452	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
452	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
452	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
453	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
453	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49

450	COMPUTED AND MODITOR		4056.40	4056.40
453	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
453	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
453	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
453	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
453	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
454	COMPUTER, W/ MONITOR	1	\$1,196.90	\$1,196.90
454	COMPUTER, W/ MONITOR	1	\$816.81	\$816.81
454	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
454	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
454	COMPUTER, W/ MONITOR	1	\$1,196.90	\$1,196.90
475	COMPUTER, W/ MONITOR	1	\$1,218.55	\$1,218.55
475	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
475	COMPUTER, W/ MONITOR	1	\$2,024.24	\$2,024.24
475	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
475	COMPUTER, W/ MONITOR	1	\$910.52	\$910.52
475	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
475	COMPUTER, W/ MONITOR	1	\$1,255.95	\$1,255.95
475	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
475	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
475	COMPUTER, W/ MONITOR	1	\$2,024.24	\$2,024.24
475	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
475	COMPUTER, W/ MONITOR	1	\$929.12	\$929.12
475	COMPUTER, W/ MONITOR	1	\$1,218.55	\$1,218.55
475	COMPUTER, W/ MONITOR	1		
			\$1,120.12	\$1,120.12
475	COMPUTER, W/ MONITOR	1	\$1,218.55	\$1,218.55
475	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
475	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
475	COMPUTER, W/ MONITOR	1	\$2,024.24	\$2,024.24
475	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$1,089.91	\$1,089.91
	, ,			
492	COMPUTER, W/ MONITOR	1	\$1,172.95	\$1,172.95
492	COMPUTER, W/ MONITOR	1	\$2,120.38	\$2,120.38
492	COMPUTER, W/ MONITOR	1	\$1,234.13	\$1,234.13
492	COMPUTER, W/ MONITOR	1	\$1,148.12	\$1,148.12
492	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$708.57	\$708.57
492	COMPUTER, W/ MONITOR	1	\$1,090.04	\$1,090.04
492	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$2,120.38	\$2,120.38
492	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
492	COMPUTER, W/ MONITOR	1	\$1,172.95	\$1,172.95
492		1		\$1,089.91
	COMPUTER, W/ MONITOR		\$1,089.91	
492	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
492	COMPUTER, W/ MONITOR	1	\$1,148.12	\$1,148.12
492	COMPUTER, W/ MONITOR	1	\$1,172.95	\$1,172.95
492	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
495	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
495	COMPUTER, W/ MONITOR	1	\$984.16	\$984.16
		1		\$984.16
495	COMPUTER, W/ MONITOR		\$984.16	
495	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
495	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
495	COMPUTER, W/ MONITOR	1	\$840.46	\$840.46
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
499	COMPUTER, W/ MONITOR	1	\$1,046.77	\$1,046.77
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60

499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
	• •			
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$1,095.60	\$1,095.60
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$879.26	\$879.26
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
	• •			
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
	• •			
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$924.07	\$924.07
499	COMPUTER, W/ MONITOR	1	\$924.07	\$924.07
499	COMPUTER, W/ MONITOR	1	\$924.07	\$924.07
499	COMPUTER, W/ MONITOR	1	\$1,007.80	\$1,007.80
				. ,
499	COMPUTER, W/ MONITOR	1	\$1,240.55	\$1,240.55
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
	• •			
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
		1		
499	COMPUTER, W/ MONITOR		\$1,347.87	\$1,347.87
499	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$847.59	\$847.59
499	COMPUTER, W/ MONITOR	1	\$847.59	\$847.59
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
	• •		·	
499	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
499		1	\$847.59	\$847.59
	COMPUTER, W/ MONITOR			
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$1,046.77	\$1,046.77
499	COMPUTER, W/ MONITOR	1		\$867.15
			\$867.15	
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
	• •			
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
499	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
				\$847.59
499	COMPUTER, W/ MONITOR	1	\$847.59	
499	COMPUTER, W/ MONITOR	1	\$859.60	\$859.60
499	COMPUTER, W/ MONITOR	1	\$1,046.79	\$1,046.79
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$640.03	\$640.03
499	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
499	COMPUTER, W/ MONITOR	1	\$1,157.88	\$1,157.88
499	COMPUTER, W/ MONITOR	1	\$1,046.77	\$1,046.77
499	COMPUTER, W/ MONITOR	1	\$1,046.77	\$1,046.77
499	COMPUTER, W/ MONITOR	1	\$1,046.77	\$1,046.77
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
499	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
499	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
503	COMPUTER, W/ MONITOR	1	\$1,596.36	\$1,596.36
503	COMPUTER, W/ MONITOR	1	\$1,251.83	\$1,251.83
503	COMPUTER, W/ MONITOR	1	\$1,251.83	\$1,251.83
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
	, , -			•

503	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$1,029.88	\$1,029.88
503	COMPUTER, W/ MONITOR	1	\$1,547.20	\$1,547.20
503	COMPUTER, W/ MONITOR	1	\$1,538.12	\$1,538.12
503	COMPUTER, W/ MONITOR	1	\$1,530.16	\$1,530.16
503	COMPUTER, W/ MONITOR	1	\$1,547.20	\$1,547.20
503	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
503	COMPUTER, W/ MONITOR	1	\$1,482.84	\$1,482.84
503	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
503	COMPUTER, W/ MONITOR	1	\$437.00	\$437.00
503	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$1,369.75	\$1,369.75
503	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
503	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
503	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
503	COMPUTER, W/ MONITOR	1	\$1,547.20	\$1,547.20
503	COMPUTER, W/ MONITOR	1	\$1,251.83	\$1,251.83
503	COMPUTER, W/ MONITOR	1	\$1,241.90	\$1,241.90
503	COMPUTER, W/ MONITOR	1	\$1,196.90	\$1,196.90
503	COMPUTER, W/ MONITOR	1	\$765.12	\$765.12
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
503	COMPUTER, W/ MONITOR	1	\$1,019.20	\$1,019.20
503	COMPUTER, W/ MONITOR	1	\$1,365.75	\$1,365.75
503	COMPUTER, W/ MONITOR	1	\$1,019.20	\$1,019.20
503	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
509	COMPUTER, W/ MONITOR	1	\$1,215.85	\$1,215.85
509	COMPUTER, W/ MONITOR	1	\$1,133.41	\$1,133.41
509	COMPUTER, W/ MONITOR	1	\$1,257.12	\$1,257.12
509	COMPUTER, W/ MONITOR	1	\$923.36	\$923.36
509	COMPUTER, W/ MONITOR	1	\$1,363.69	\$1,363.69
509	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
509	COMPUTER, W/ MONITOR	1	\$1,159.75	\$1,159.75
509	COMPUTER, W/ MONITOR	1	\$840.46	\$840.46
509	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
509	COMPUTER, W/ MONITOR	1	\$984.16	\$984.16
510	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
510	COMPUTER, W/ MONITOR	1	\$1,248.90	\$1,248.90
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$1,399.49	\$1,399.49
540	COMPUTER, W/ MONITOR	1	\$1,399.49	\$1,399.49
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57

540	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
540	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$1,399.49	\$1,399.49
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540	COMPUTER, W/ MONITOR	1	\$727.56	\$727.56
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
540	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
540		1	\$727.56	
	COMPUTER, W/ MONITOR			\$727.56
540	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
540	COMPUTER, W/ MONITOR	1	\$1,399.49	\$1,399.49
540	COMPUTER, W/ MONITOR	1	\$1,338.00	\$1,338.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
541	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541		1		
	COMPUTER, W/ MONITOR		\$1,357.36	\$1,357.36
541	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
541	COMPUTER, W/ MONITOR	1	\$1,025.71	\$1,025.71
541	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
541	COMPUTER, W/ MONITOR	1	\$2,310.37	\$2,310.37
			\$2,310.36	
541	COMPUTER, W/ MONITOR	1		\$2,310.36
541	COMPUTER, W/ MONITOR	1	\$2,310.37	\$2,310.37
541	COMPUTER, W/ MONITOR	1	\$2,310.36	\$2,310.36
541	COMPUTER, W/ MONITOR	1	\$2,310.36	\$2,310.36
541	COMPUTER, W/ MONITOR	1	\$2,310.36	\$2,310.36
541	COMPUTER, W/ MONITOR	1	\$2,310.36	\$2,310.36
541	COMPUTER, W/ MONITOR	1	\$2,310.37	\$2,310.37
541	COMPUTER, W/ MONITOR	1	\$2,310.37	\$2,310.37
	, ·			
541	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
541	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
541	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
541	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
541	COMPUTER, W/ MONITOR	1	\$822.34	\$822.34
541	COMPUTER, W/ MONITOR	1	\$822.34	\$822.34
541	COMPUTER, W/ MONITOR	1	\$1,298.75	\$1,298.75
541	COMPUTER, W/ MONITOR	1	\$1,298.75	\$1,298.75
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
541	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
541		1		
	COMPUTER, W/ MONITOR		\$1,229.05	\$1,229.05
541	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
542	COMPUTER, W/ MONITOR	1	\$1,488.96	\$1,488.96
542	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57

542	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
542	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
542	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
542	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
542	COMPUTER, W/ MONITOR	1	\$1,704.37	\$1,704.37
545	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
545	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
545	COMPUTER, W/ MONITOR	1	\$731.13	\$731.13
				·
545	COMPUTER, W/ MONITOR	1	\$1,023.88	\$1,023.88
545	COMPUTER, W/ MONITOR	1	\$1,023.88	\$1,023.88
		1		
545	COMPUTER, W/ MONITOR		\$735.02	\$735.02
545	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
545	COMPUTER, W/ MONITOR	1	\$805.53	\$805.53
	• •			
545	COMPUTER, W/ MONITOR	1	\$300.00	\$300.00
545	COMPUTER, W/ MONITOR	1	\$927.26	\$927.26
545	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
551	COMPUTER, W/ MONITOR	1	\$1,201.55	\$1,201.55
551	COMPUTER, W/ MONITOR	1	\$1,035.25	\$1,035.25
551	COMPUTER, W/ MONITOR	1	\$926.00	\$926.00
551	COMPUTER, W/ MONITOR	1	\$926.00	\$926.00
551	COMPUTER, W/ MONITOR	1	\$1,469.47	\$1,469.47
551	COMPUTER, W/ MONITOR	1	\$1,301.77	\$1,301.77
551	COMPUTER, W/ MONITOR	1	\$926.00	\$926.00
552	• •			\$952.72
	COMPUTER, W/ MONITOR	1	\$952.72	
552	COMPUTER, W/ MONITOR	1	\$952.72	\$952.72
552	COMPUTER, W/ MONITOR	1	\$952.72	\$952.72
552	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
552	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
552	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
552	COMPUTER, W/ MONITOR	1	\$1,036.73	\$1,036.73
552	COMPUTER, W/ MONITOR	1	\$952.72	\$952.72
552	COMPUTER, W/ MONITOR	1	\$952.72	\$952.72
553	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
553	COMPUTER, W/ MONITOR	1	\$1,127.50	\$1,127.50
553	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
553	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
553	COMPUTER, W/ MONITOR	1	\$733.75	\$733.75
553	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
553	COMPUTER, W/ MONITOR	1	\$733.75	\$733.75
553	COMPUTER, W/ MONITOR	1	\$1,127.50	\$1,127.50
553	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
553	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
553	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
553	COMPUTER, W/ MONITOR	1	\$1,113.09	\$1,113.09
553	COMPUTER, W/ MONITOR	1	\$1,133.41	\$1,133.41
	• •			
553	COMPUTER, W/ MONITOR	1	\$1,095.60	\$1,095.60
553	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
	COMPUTER, W/ MONITOR	1		
553	COMPUTER, W/ MONTOR		\$1,113.09	\$1,113.09
554	COMPUTER, W/ MONITOR	1	\$1,182.37	\$1,182.37
554	COMPUTER, W/ MONITOR	1	¢1 102 27	\$1,182.37
			\$1,182.37	
554	COMPUTER, W/ MONITOR	1	\$1,182.37	\$1,182.37
554	COMPUTER, W/ MONITOR	1	\$1,182.37	\$1,182.37
554	COMPUTER, W/ MONITOR	1	\$1,182.37	\$1,182.37
554	COMPUTER, W/ MONITOR	1	\$1,419.45	\$1,419.45
554	COMPUTER, W/ MONITOR	1	\$1,121.57	\$1,121.57
554	COMPUTER, W/ MONITOR	1	\$1,071.91	\$1,071.91
554	COMPUTER, W/ MONITOR	1	\$1,182.37	\$1,182.37
560	COMPUTER, W/ MONITOR	1	\$1,031.45	\$1,031.45
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$913.72	\$913.72
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$779.07	\$779.07
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
560	COMPUTER, W/ MONITOR	1	\$974.57	\$974.57
560	COMPUTER, W/ MONITOR	1	\$1,558.10	\$1,558.10
560	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
560	COMPUTER, W/ MONITOR	1	\$1,482.85	\$1,482.85
560	COMPUTER, W/ MONITOR	1	\$1,482.84	\$1,482.84
560	COMPUTER, W/ MONITOR	1		\$1,619.68
			\$1,619.68	
560	COMPUTER, W/ MONITOR	1	\$916.53	\$916.53
560	COMPUTER, W/ MONITOR	1	\$1,619.67	\$1,619.67
560	COMPUTER, W/ MONITOR	1	\$2,933.99	\$2,933.99
560	COMPUTER, W/ MONITOR	1	\$1,330.53	\$1,330.53
560	COMPUTER, W/ MONITOR	1	\$956.49	\$956.49
560	COMPUTER, W/ MONITOR	1	\$2,654.09	\$2,654.09
500	COIVII OTEN, VV/ IVIOIVITON	1	72,004.03	J2,UJ4.UJ

560	COMPUTER, W/ MONITOR	1	\$1,601.01	\$1,601.01
560	COMPUTER, W/ MONITOR	1	\$1,484.43	\$1,484.43
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
	• •			
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,196.90	\$1,196.90
	• •			
560	COMPUTER, W/ MONITOR	1	\$2,106.97	\$2,106.97
560	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
560	COMPLITED W/ MONITOR	1	\$2,106.97	
	COMPUTER, W/ MONITOR			\$2,106.97
560	COMPUTER, W/ MONITOR	1	\$4,100.00	\$4,100.00
560	COMPUTER, W/ MONITOR	1	\$1,330.53	\$1,330.53
560	COMPUTER, W/ MONITOR	1	\$1,330.52	\$1,330.52
560	COMPUTER, W/ MONITOR	1	\$1,330.53	\$1,330.53
560	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
560	COMPUTER, W/ MONITOR	1	\$1,393.97	\$1,393.97
560	COMPUTER, W/ MONITOR	1	\$658.61	\$658.61
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,469.47	\$1,469.47
560	COMPUTER, W/ MONITOR	1	\$1,330.53	\$1,330.53
560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
560	COMPUTER, W/ MONITOR	1	\$1,121.01	\$1,121.01
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$1,093.38	\$1,093.38
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
	• •			
560	COMPUTER, W/ MONITOR	1	\$1,183.29	\$1,183.29
560	COMPUTER, W/ MONITOR	1	\$2,572.34	\$2,572.34
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,295.00	\$1,295.00
560	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
	COMPUTER, W/ MONITOR			
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
560	COMPUTER, W/ MONITOR	1	\$910.52	\$910.52
560	COMPUTER, W/ MONITOR	1	\$1,624.06	\$1,624.06
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
560	COMPUTER, W/ MONITOR	1	\$1,295.00	\$1,295.00
		1		
560	COMPUTER, W/ MONITOR		\$807.90	\$807.90
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
560	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
560	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
	, , ,			
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
	• •			
560	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
560	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
FCO				
560	COMPUTER, W/ MONITOR	1	\$1,092.06	\$1,092.06
560	COMPUTER, W/ MONITOR	1	\$1,534.10	\$1,534.10
560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
	• •			
560	COMPUTER, W/ MONITOR	1	\$3,769.45	\$3,769.45
560	COMPUTER, W/ MONITOR	1	\$1,045.05	\$1,045.05
560	COMPUTER, W/ MONITOR	1	\$658.61	\$658.61
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,183.29	\$1,183.29
560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
560	COMPUTER, W/ MONITOR	1	\$1,511.04	\$1,511.04
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,330.53	\$1,330.53
560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
560	COMPUTER, W/ MONITOR	1	\$1,683.01	\$1,683.01
560	COMPUTER, W/ MONITOR	1	\$983.16	\$983.16
560	COMPUTER, W/ MONITOR	1	\$1,271.89	\$1,271.89
560	COMPUTER, W/ MONITOR	1	\$1,310.34	\$1,310.34
560	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
560	COMPUTER, W/ MONITOR	1	\$1,196.90	\$1,196.90
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00

560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
560	COMPUTER, W/ MONITOR	1	\$1,511.04	\$1,511.04
560	COMPUTER, W/ MONITOR	1	\$1,469.47	\$1,469.47
560	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
560	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
560	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
560	· ·	1		\$1,271.89
	COMPUTER, W/ MONITOR		\$1,271.89	
560	COMPUTER, W/ MONITOR	1	\$1,534.10	\$1,534.10
560	COMPUTER, W/ MONITOR	1	\$789.84	\$789.84
560	COMPUTER, W/ MONITOR	1	\$789.84	\$789.84
560	COMPUTER, W/ MONITOR	1	\$1,183.29	\$1,183.29
560	COMPUTER, W/ MONITOR	1	\$910.52	\$910.52
560	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
560	COMPUTER, W/ MONITOR	1	\$707.66	\$707.66
560	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
560	COMPUTER, W/ MONITOR	1	\$754.31	\$754.31
560	COMPUTER, W/ MONITOR	1	\$689.00	\$689.00
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
560	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,487.04	\$1,487.04
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
560	COMPUTER, W/ MONITOR	1	\$1,310.34	\$1,310.34
560	COMPUTER, W/ MONITOR	1	\$1,310.34	\$1,310.34
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,183.29	\$1,183.29
560	COMPUTER, W/ MONITOR	1	\$863.26	\$863.26
560	COMPUTER, W/ MONITOR	1	\$1,093.00	\$1,093.00
	• •			
560	COMPUTER, W/ MONITOR	1	\$1,219.40	\$1,219.40
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
560	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$906.78	\$906.78
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$926.94	\$926.94
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$858.88	\$858.88
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1		\$1,146.63
			\$1,146.63	
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1		\$1,101.46
370	CONTROTER, VV/ INICIALITOR	1	\$1,101.46	\$1,1U1.4D

570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,140.54	\$1,140.54
570	COMPUTER, W/ MONITOR	1	\$1,232.80	\$1,232.80
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
	, ,		. ,	
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR			
	, ,	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,296.09	\$1,296.09
570	COMPUTER, W/ MONITOR	1	\$881.39	\$881.39
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
	, ,			
570	COMPUTER, W/ MONITOR	1	\$881.39	\$881.39
570	COMPUTER, W/ MONITOR	1	\$881.39	\$881.39
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
				\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	
570	COMPUTER, W/ MONITOR	1	\$983.16	\$983.16
570	COMPUTER, W/ MONITOR	1	\$983.16	\$983.16
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570		1	\$881.39	\$881.39
	COMPUTER, W/ MONITOR			
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
570	COMPUTER, W/ MONITOR	1	\$983.16	\$983.16
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$910.52	\$910.52
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$858.88	\$858.88
570	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00

570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$858.88	\$858.88
570	COMPUTER, W/ MONITOR	1	\$958.46	\$958.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,121.00	\$1,121.00
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
570	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
572	COMPUTER, W/ MONITOR	1	\$1,170.18	\$1,170.18
				. ,
572	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
572	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
576	COMPUTER, W/ MONITOR	1	\$1,159.79	\$1,159.79
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$971.47	\$971.47
576	COMPUTER, W/ MONITOR	1	\$1,949.97	\$1,949.97
576	COMPUTER, W/ MONITOR	1	\$1,949.97	\$1,949.97
576	COMPUTER, W/ MONITOR	1	\$1,949.97	\$1,949.97
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$1,949.97	\$1,949.97
576	COMPUTER, W/ MONITOR	1	\$1,455.87	\$1,455.87
	, ,			
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$1,949.97	\$1,949.97
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
576	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
581	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
581	COMPUTER, W/ MONITOR	1	\$1,103.00	\$1,103.00
581	COMPUTER, W/ MONITOR	1	\$1,488.96	\$1,488.96
581	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
581	COMPUTER, W/ MONITOR	1	\$1,357.36	\$1,357.36
581	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
581				
	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
581	COMPUTER, W/ MONITOR	1	\$1,397.41	\$1,397.41
583	COMPUTER, W/ MONITOR	1	\$1,298.75	\$1,298.75
583	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
583	COMPUTER, W/ MONITOR	1	\$750.06	\$750.06
587	COMPUTER, W/ MONITOR	1	\$1,258.69	\$1,258.69
587	COMPUTER, W/ MONITOR	1	\$900.00	\$900.00
587		1	\$977.00	\$977.00
	COMPUTER, W/ MONITOR			
587	COMPUTER, W/ MONITOR	1	\$977.00	\$977.00
587	COMPUTER, W/ MONITOR	1	\$977.00	\$977.00
587	COMPUTER, W/ MONITOR	1	\$1,347.87	\$1,347.87
587	COMPUTER, W/ MONITOR	1	\$771.27	\$771.27
591	COMPUTER, W/ MONITOR	1	\$1,411.63	\$1,411.63
591	COMPUTER, W/ MONITOR	1	\$1,088.32	\$1,088.32
591	COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
591	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1	\$1,101.46	\$1,101.46
591	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
591	COMPUTER, W/ MONITOR	1	\$1,088.32	\$1,088.32
591	COMPUTER, W/ MONITOR	1	\$966.19	\$966.19
591	COMPUTER, W/ MONITOR	1	\$1,411.63	\$1,411.63
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
630	COMPUTER, W/ MONITOR	1	\$1,229.05	\$1,229.05
630	COMPUTER, W/ MONITOR	1	\$1,238.42	\$1,238.42
630	COMPUTER, W/ MONITOR	1	\$985.77	\$985.77
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
630	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
661	COMPUTER, W/ MONITOR	1	\$1,493.68	\$1,493.68
661	COMPUTER, W/ MONITOR	1	\$2,281.40	\$2,281.40
661	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
661	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
661	COMPUTER, W/ MONITOR	1	\$1,077.85	\$1,077.85
-	, ,	-	. ,- ==	, ,

882	COMPUTER, W/ MONITOR	1	\$1,152.11	\$1,152.11
882	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
882	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
882	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
882	COMPUTER, W/ MONITOR	1	\$1,147.87	\$1,147.87
882	COMPUTER, W/ MONITOR	1	\$752.70	\$752.70
882	COMPUTER, W/ MONITOR	1	\$752.70	\$752.70
882	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
882	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
882	COMPUTER, W/ MONITOR	1	\$672.87	\$672.87
882	COMPUTER, W/ MONITOR	1	\$934.15	\$934.15
882	COMPUTER, W/ MONITOR	1	\$1,152.11	\$1,152.11
3101	COMPUTER, W/ MONITOR	1	\$967.44	\$967.44
3101	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
			·	
3103	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
3103	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
3103	COMPUTER, W/ MONITOR	1	\$748.57	\$748.57
3103	COMPUTER, W/ MONITOR	1	\$792.02	\$792.02
3106	COMPUTER, W/ MONITOR	1	\$1,503.26	\$1,503.26
3106	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
3106		1	\$1,095.07	\$1,095.07
	COMPUTER, W/ MONITOR			
3107	COMPUTER, W/ MONITOR	1	\$850.00	\$850.00
3107	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
3107	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
3107	COMPUTER, W/ MONITOR	1	\$867.15	\$867.15
3107	COMPUTER, W/ MONITOR	1	\$924.07	\$924.07
540	COMPUTER, W/ MONITOR, GRAPHIC	1	\$5,006.00	\$5,006.00
210	CONCRETE BREAKER, ATTACHMENT	1	\$14,800.00	\$14,800.00
3107	CONCRETE MIXER, TOWED	1	\$4,300.00	\$4,300.00
882	CONEX, CONTAINER, STORAGE, 20'	1	\$2,200.00	\$2,200.00
882	CONEX, CONTAINER, STORAGE, 20'	1	\$2,200.00	\$2,200.00
882	CONEX, CONTAINER, STORAGE, 20'	1	\$2,200.00	\$2,200.00
882	CONEX, CONTAINER, STORAGE, 20'	1	\$2,200.00	\$2,200.00
3103		1		\$2,200.00
	CONEX, CONTAINER, STORAGE, 20'		\$2,200.00	
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
560	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
		1		
882	CONEX, CONTAINER, STORAGE, 40'		\$4,500.00	\$4,500.00
882	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
882	CONEX, CONTAINER, STORAGE, 40'	1	\$1,850.00	\$1,850.00
882	CONEX, CONTAINER, STORAGE, 40'	1	\$1,850.00	\$1,850.00
3102	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
3107	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
3107	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
3107	CONEX, CONTAINER, STORAGE, 40'	1	\$4,500.00	\$4,500.00
3107	CONEX, CONTAINER, STORAGE, 40'	1	\$5,994.35	\$5,994.35
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
540	CONSOLETTE, 2-WAY RADIO	1	\$6,428.72	\$6,428.72
552	CONSOLETTE, 2-WAY RADIO	1	\$6,026.97	\$6,026.97
				\$5,707.85
560	CONTRABAND ENFORCEMENT KIT, W/ FIBERSCOPE	1	\$5,707.85	
560	CONTRABAND ENFORCEMENT KIT, W/ FIBERSCOPE	1	\$5,707.85	\$5,707.85
560	CONTRABAND ENFORCEMENT KIT, W/ FIBERSCOPE	1	\$4,836.27	\$4,836.27
560	CONTRABAND ENFORCEMENT KIT, W/ FIBERSCOPE	1	\$4,836.27	\$4,836.27
581	CONTROL SYSTEM, SATELLITE	1	\$3,000.00	\$3,000.00
581	CONVEYOR, METAL	4	\$165.00	\$660.00
581	COOL MIST SYSTEM, PORTABLE	3	\$1,650.00	\$4,950.00
570	COOLER, WALK-IN	1	\$5,375.00	\$5,375.00
570	COOLER, WALK-IN	1	\$5,375.00	\$5,375.00
404	COPIER, CART	1	\$175.00	\$175.00
435	COPIER, CART	1	\$175.00	\$175.00
440	COPIER, CART	1	\$175.00	\$175.00
499	COPIER, CART	1	\$175.00	\$175.00
570	COPIER, CART	1	\$175.00	\$175.00
540	COT	1	\$68.00	\$68.00
540	COT	1	\$68.00	\$68.00
3.0		1	Ç00.00	Ç00.00

581	COT	1	\$68.00	\$68.00
581 630	СОТ СОТ	1 1	\$68.00 \$68.00	\$68.00 \$68.00
540		1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE COT, AMBULANCE	1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE	1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE	1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE	1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE	1	\$5,600.00	\$5,600.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$12,952.00	\$12,952.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$20,000.00	\$20,000.00
540	COT, AMBULANCE, POWERED	1	\$20,000.00	\$20,000.00
540	COT, AMBULANCE, POWERED	1	\$14,999.58	\$14,999.58
540	COT, AMBULANCE, POWERED	1	\$20,000.00	\$20,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$20,000.00	\$20,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, AMBULANCE, POWERED	1	\$14,842.40	\$14,842.40
540	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
570	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
570	COT, AMBULANCE, POWERED	1	\$12,337.37	\$12,337.37
570	COT, AMBULANCE, POWERED	1	\$11,300.00	\$11,300.00
1000	COT, AMBULANCE, POWERED	1	\$19,798.20	\$19,798.20
1000	COT, AMBULANCE, POWERED	1	\$14,842.40	\$14,842.40
1000	COT, AMBULANCE, POWERED	1	\$20,000.00	\$20,000.00
1000	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
1000	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
1000	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
1000	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
1000	COT, AMBULANCE, POWERED	1	\$15,000.00	\$15,000.00
540	COT, CLINIC	1	\$195.00	\$195.00
503	CPU, DISPLAY EXPRESS W/SOFTWARE	1	\$3,500.00	\$3,500.00
882	CRANE, BRIDGE	1	\$20,550.00	\$20,550.00
509	CRANE, HYDRAULIC, 1 TON	1	\$1,779.00	\$1,779.00
882	CRANE, HYDRAULIC, 1 TON	1	\$2,880.00	\$2,880.00
210	CREDENZA	1	\$350.00	\$350.00
211	CREDENZA	1	\$350.00	\$350.00
400	CREDENZA	2	\$350.00	\$700.00
428	CREDENZA	1	\$350.00	\$350.00
429	CREDENZA	1	\$350.00	\$350.00
438	CREDENZA	1	\$350.00	\$350.00
438	CREDENZA	1	\$350.00	\$350.00
439	CREDENZA	1	\$350.00	\$350.00
440	CREDENZA	1	\$350.00	\$350.00
440	CREDENZA	1	\$350.00	\$350.00 \$350.00
440	CREDENZA	1	\$350.00	,
440 440	CREDENZA CREDENZA	1 1	\$350.00 \$350.00	\$350.00 \$350.00
440				\$350.00
441	CREDENZA CREDENZA	1 1	\$350.00 \$350.00	\$350.00
441	CREDENZA	1	\$350.00	\$350.00
450	CREDENZA	2	\$350.00	\$700.00
451	CREDENZA	1	\$350.00	\$350.00
452	CREDENZA	1	\$350.00	\$350.00
453	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	2	\$350.00	\$700.00
475	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	1	\$350.00	\$350.00
475	CREDENZA	1	\$350.00	\$350.00
494	CREDENZA	1	\$350.00	\$350.00
494	CREDENZA	1	\$350.00	\$350.00
495	CREDENZA	1	\$350.00	\$350.00
495	CREDENZA	1	\$350.00	\$350.00
495	CREDENZA	1	\$350.00	\$350.00
499	CREDENZA	1	\$350.00	\$350.00
499	CREDENZA	1	\$350.00	\$350.00
503	CREDENZA	1	\$350.00	\$350.00

503	CREDENZA	1	\$350.00	\$350.00
552	CREDENZA	1	\$350.00	\$350.00
554	CREDENZA	1	\$350.00	\$350.00
560	CREDENZA	1	\$350.00	\$350.00
560	CREDENZA	1	\$350.00	\$350.00
560	CREDENZA	1	\$350.00	\$350.00
560	CREDENZA	1	\$350.00	\$350.00
570	CREDENZA	1	\$350.00	\$350.00
572	CREDENZA	8	\$350.00	\$2,800.00
576	CREDENZA	1	\$350.00	\$350.00
576	CREDENZA	1	\$350.00	\$350.00
581	CREDENZA	1	\$350.00	\$350.00
583	CREDENZA	1	\$350.00	\$350.00
587	CREDENZA	1	\$350.00	\$350.00
400	CREDENZA, W/ BUILT-IN BOOKCASE	2	\$475.00	\$950.00
428	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
429	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
439	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
440	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
440	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
440	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
440	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
440	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
475	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
475	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
475	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
492	CREDENZA, W/ BUILT-IN BOOKCASE	2	\$475.00	\$950.00
495	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
503	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
560	CREDENZA, W/ BUILT-IN BOOKCASE	1	\$475.00	\$475.00
882	CREEPER, MECHANIC	4	\$40.00	\$160.00
540	CRIB, DROPSIDE	1	\$300.00	\$300.00
509	CRIMPER, PIPE, HYDRAULIC	1	\$3,882.30	\$3,882.30
509	CRIMPING/ COMPRESSION TOOL, W/ DIE, SET	1	\$370.00	\$370.00
509	CRUSHER, LIGHT BULB	1	\$4,811.48	\$4,811.48
453	CUBICLE, 15-19	1	\$300.00	\$300.00
576	CUBICLE, 15-19	1	\$300.00	\$300.00
576		4	\$300.00	\$1,200.00
	CUBICLE, 15-19			
210	CUBICLE, 4-5	1	\$180.00	\$180.00
497	CUBICLE, 4-5	1	\$180.00	\$180.00
540	CUBICLE, 4-5	1	\$180.00	\$180.00
475	CUBICLE, 6-9	1	\$200.00	\$200.00
545	CUBICLE, 6-9	1	\$200.00	\$200.00
576	CUBICLE, 6-9	1	\$200.00	\$200.00
450	CURRENCY COUNTER, LOW-END	1	\$380.00	\$380.00
499	CURRENCY COUNTER, LOW-END	1	\$300.00	\$300.00
510	CURRENCY COUNTER, LOW-END	1	\$380.00	\$380.00
570	CUTTER, BOLT	1	\$50.00	\$50.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
540	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
553	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
553	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
553	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
553	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
553	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
560	DASH CAMERA, VEHICLE	1	\$500.00	\$500.00
630	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
630	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$1,480.00	\$1,480.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
	•			. ,

1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
1000	DASH CAMERA, VEHICLE	1	\$4,500.00	\$4,500.00
503	DATA PRECISION COOLING SYSTEM	1	\$4,900.00	\$4,900.00
503	DATA PRECISION COOLING SYSTEM	1	\$4,900.00	\$4,900.00
503	DATA PRECISION COOLING SYSTEM	1	\$4,900.00	\$4,900.00
210	DEFIBRILLATOR, AED	1	\$1,400.00	\$1,400.00
211	DEFIBRILLATOR, AED	1	\$1,400.00	\$1,400.00
214	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
215	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
400	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
400	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
403	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
454	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
	,			. ,

492	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
492	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
499	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
499	DEFIBRILLATOR, AED	1	\$1,325.00	\$1,325.00
499	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
503	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
509	DEFIBRILLATOR, AED	1	\$1,325.00	\$1,325.00
509	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
509	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
509	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
509	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
509	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
510	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
540	DEFIBRILLATOR, AED	1	\$2,149.00	\$2,149.00
540	DEFIBRILLATOR, AED	1	\$2,151.21	\$2,151.21
540	DEFIBRILLATOR, AED	1	\$2,151.21	\$2,151.21
540	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
540	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
540	DEFIBRILLATOR, AED	1	\$2,122.40	\$2,122.40
540	DEFIBRILLATOR, AED	1	\$1,398.81	\$1,398.81
540	DEFIBRILLATOR, AED	1	\$1,398.81	\$1,398.81
540	DEFIBRILLATOR, AED	1	\$1,398.81	\$1,398.81
540	DEFIBRILLATOR, AED	1	\$1,398.81	\$1,398.81
540	DEFIBRILLATOR, AED	1	\$1,398.81	\$1,398.81
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
541	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
545	DEFIBRILLATOR, AED	1	\$1,424.00	\$1,424.00
545	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
554	DEFIBRILLATOR, AED	1	\$643.33	\$643.33
554	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,945.13	\$1,945.13
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,945.12	\$1,945.12
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,945.12	\$1,945.12
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,400.00	\$1,400.00
560	DEFIBRILLATOR, AED	1	\$1,400.00	\$1,400.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
560	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
570	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
570	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
570	DEFIBRILLATOR, AED DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
		1	\$1,650.00	
570	DEFIBRILLATOR, AED DEFIBRILLATOR, AED			\$1,650.00
576	•	1	\$1,650.00	\$1,650.00
576	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
581	DEFIBRILLATOR, AED	1	\$1,500.00	\$1,500.00
581	DEFIBRILLATOR, AED	1	\$1,325.00	\$1,325.00
587	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
630	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
630	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
1000	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
1000	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
1000	DEFIBRILLATOR, AED	1	\$1,523.80	\$1,523.80
1000	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
1000	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
3106	DEFIBRILLATOR, AED	1	\$1,560.37	\$1,560.37
3106	DEFIBRILLATOR, AED	1	\$1,560.38	\$1,560.38
3107	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
3107	DEFIBRILLATOR, AED	1	\$1,650.00	\$1,650.00
540	DEFIBRILLATOR, AED TRAINER	1	\$380.00	\$380.00
540	DEFIBRILLATOR, AED TRAINER	11	\$380.00	\$4,180.00
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61

540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$19,500.00	\$19,500.00
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
540	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
570	DEFIBRILLATOR/ MONITOR, EMS	1	\$19,500.00	\$19,500.00
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$31,353.41	\$31,353.41
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
	DEFIBRILLATOR/ MONITOR, EMS	1		
1000	· · · · · · · · · · · · · · · · · · ·		\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
1000	DEFIBRILLATOR/ MONITOR, EMS	1	\$28,918.61	\$28,918.61
509	DEHUMIDIFIER, HIGH END	1	\$1,740.00	\$1,740.00
509	DEHUMIDIFIER, HIGH END	1	\$1,740.00	\$1,740.00
540	DEHUMIDIFIER, HIGH END	1	\$1,740.00	\$1,740.00
509	DEHUMIDIFIER, HIGH-END	1	\$2,570.00	\$2,570.00
509	DEHUMIDIFIER, HIGH-END	1	\$2,570.00	\$2,570.00
210	DESK, EXECUTIVE, ROLL-TOP	1	\$900.00	\$900.00
212	DESK, EXECUTIVE, ROLL-TOP	1	\$900.00	\$900.00
450	DESK, EXECUTIVE, ROLL-TOP	1	\$900.00	\$900.00
882	DESK, EXECUTIVE, ROLL-TOP	1	\$900.00	\$900.00
210	DESK, COMPUTER	1	\$200.00	\$200.00
214	DESK, COMPUTER	1	\$200.00	\$200.00
400	DESK, COMPUTER	1	\$200.00	\$200.00
400	DESK, COMPUTER	2	\$200.00	\$400.00
402	DESK, COMPUTER	1	\$200.00	\$200.00
403	DESK, COMPUTER	4	\$200.00	\$800.00
404	DESK, COMPUTER	1	\$200.00	\$200.00
405	DESK, COMPUTER	1	\$200.00	\$200.00
405	DESK, COMPUTER	1	\$200.00	\$200.00
437	DESK, COMPUTER	1	\$200.00	\$200.00
439	DESK, COMPUTER	1	\$200.00	\$200.00
450	DESK, COMPUTER	1	\$200.00	\$200.00
	,	3	·	
452	DESK, COMPUTER		\$200.00	\$600.00
475	DESK, COMPUTER	1	\$200.00	\$200.00
497	DESK, COMPUTER	1	\$200.00	\$200.00
497	DESK, COMPUTER	1	\$200.00	\$200.00
503	DESK, COMPUTER	1	\$200.00	\$200.00
503	DESK, COMPUTER	1	\$200.00	\$200.00
503	DESK, COMPUTER	1	\$200.00	\$200.00
509	DESK, COMPUTER	1	\$200.00	\$200.00
509	DESK, COMPUTER	1	\$200.00	\$200.00
540	DESK, COMPUTER	1	\$200.00	\$200.00
552	DESK, COMPUTER	1	\$200.00	\$200.00
553	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	3	\$200.00	\$600.00
560	DESK, COMPUTER	2	\$200.00	\$400.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
560	DESK, COMPUTER	1	\$200.00	\$200.00
570	DESK, COMPUTER	2	\$200.00	\$400.00
570	DESK, COMPUTER	1	\$200.00	\$200.00
570	DESK, COMPUTER	1	\$200.00	\$200.00
591	DESK, COMPUTER	1	\$200.00	\$200.00
630	DESK, COMPUTER	1	\$200.00	\$200.00
630	DESK, COMPUTER	1	\$200.00	\$200.00
630	DESK, COMPUTER	1	\$200.00	\$200.00

210	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
210	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
210	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
210	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
210	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
210	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
210	DESK, DOUBLE PEDESTAL	1		\$320.00
			\$320.00	
210	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
210	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
210	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
210	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
211	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
213	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
213	DESK, DOUBLE PEDESTAL	1	\$500.00	\$500.00
214	DESK, DOUBLE PEDESTAL	2		
			\$320.00	\$640.00
215	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
215	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
341	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
341	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
341	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
341	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
400	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
400		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
400	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
400	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
402	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
402	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
402	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
402	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
402	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
		2		
405	DESK, DOUBLE PEDESTAL		\$320.00	\$640.00
405	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
425	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
425	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
426	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
427	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
428	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
429	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
429		1		
	DESK, DOUBLE PEDESTAL		\$320.00	\$320.00
435	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
438	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
440	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
		1		
440	DESK, DOUBLE PEDESTAL		\$320.00	\$320.00
450	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
450	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
452	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
452	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
453	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
453	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
454	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
475	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
475	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00

475	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
475	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
475	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
492	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
494	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
494		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
494	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
494	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
494	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
494	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
495	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
497	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
503	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
509	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
509	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
509	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
509	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
509	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
509	DESK, DOUBLE PEDESTAL	4	\$320.00	\$1,280.00
509		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
509	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
509	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
510	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
510	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
510	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
510	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
510	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
510	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
540	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
				•
540	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
540	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
540	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
		1		\$320.00
540	DESK, DOUBLE PEDESTAL		\$320.00	
540	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
540	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
540	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
545	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
545	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
545	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
552	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
552	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
552	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
552	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
553	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
553	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
554	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
554	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
554	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
554	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
554	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
554				
	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00

560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	•	1		\$320.00
	DESK, DOUBLE PEDESTAL		\$320.00	
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
				·
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DECK DOLIBLE DEDECTAL	2		\$640.00
	DESK, DOUBLE PEDESTAL		\$320.00	
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DECK DOUBLE DEDECTAL	1		
	DESK, DOUBLE PEDESTAL		\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
560	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
570	DESK, DOUBLE PEDESTAL	4	\$320.00	\$1,280.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	5	\$320.00	\$1,600.00
		2		
570	DESK, DOUBLE PEDESTAL		\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	4	\$320.00	\$1,280.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
570				
	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
570	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
572	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
572	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
572	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
	- ,	-	,	+320.00

576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
	•			
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
	•		·	
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	5	\$320.00	\$1,600.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	5	\$320.00	\$1,600.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
	•			•
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2		\$640.00
			\$320.00	•
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
	DESK, DOUBLE PEDESTAL	1		\$320.00
576	DESK, DOUBLE PEDESTAL		\$320.00	
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			,
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
	,			
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
				•
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576		2		\$640.00
	DESK, DOUBLE PEDESTAL		\$320.00	
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
		-	70100	4020.00

576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	4	\$320.00	\$1,280.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
576	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
581	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
581	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
581	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
583	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
591	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
591	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
591	DESK, DOUBLE PEDESTAL DESK, DOUBLE PEDESTAL	3	\$320.00	\$960.00
591		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
630	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
661	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
882	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
882	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
882	DESK, DOUBLE PEDESTAL	2	\$320.00	\$640.00
882	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
3103		1	\$320.00	\$320.00
	DESK, DOUBLE PEDESTAL			
3103	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
3106	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
3106	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
3106	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
3106	DESK, DOUBLE PEDESTAL	1	\$320.00	\$320.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
				•
210	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
212	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
213	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
400	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
400	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
400	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
400	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
402	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
403	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
	·			

404	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
404	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
404	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
405	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
405	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
426	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
427	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
428	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
435	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
436	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
437	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
439	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
440		1		\$490.00
	DESK, DOUBLE PEDESTAL, W/ RETURN		\$490.00	
441	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
441	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
450	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
452	DESK, DOUBLE PEDESTAL, W/ RETURN	3	\$490.00	\$1,470.00
454	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
454	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
454	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
454	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475		1		\$490.00
	DESK, DOUBLE PEDESTAL, W/ RETURN		\$490.00	
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
				•
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
475	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
495	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
497	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
497	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
499	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
499	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
499	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
503	DESK, DOUBLE PEDESTAL, W/ RETURN	10	\$490.00	\$4,900.00
503	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
503	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
503	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
509	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
509	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
	- ,	-	ų .55.50	ų .50.00

509	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
509	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
509	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
510	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
540	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
545	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
545	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
554	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
554	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
554	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
560	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
570	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
570	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
570	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
570	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
570	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
572	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
572	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
572	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
572	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
		1		\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN		\$490.00	
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
				\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	•
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
576	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
591	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
591	DESK, DOUBLE PEDESTAL, W/ RETURN	2	\$490.00	\$980.00
591	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
630	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
630	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
630	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
630	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
630	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
882	DESK, DOUBLE PEDESTAL, W/ RETURN	1	\$490.00	\$490.00
405	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
499	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
540	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
551	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
551	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
551	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
551	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
551	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
576	DESK, DOUBLE, W/BOOKCASE	1	\$490.00	\$490.00
210	DESK, EXECUTIVE	1	\$900.00	\$900.00
211	DESK, EXECUTIVE	1	\$900.00	\$900.00
211	DESK, EXECUTIVE	1	\$900.00	\$900.00
215	DESK, EXECUTIVE	2	\$900.00	\$1,800.00
400	DESK, EXECUTIVE	1	\$900.00	\$900.00
400	DESK, EXECUTIVE	1	\$900.00	\$900.00

405	DESK, EXECUTIVE	1	\$900.00	\$900.00
426	DESK, EXECUTIVE	2	\$900.00	\$1,800.00
427	DESK, EXECUTIVE	1	\$900.00	\$900.00
428	DESK, EXECUTIVE	1	\$900.00	\$900.00
429	DESK, EXECUTIVE	3	\$900.00	\$2,700.00
437	DESK, EXECUTIVE	2	\$900.00	\$1,800.00
439	DESK, EXECUTIVE	1	\$900.00	\$900.00
440	DESK, EXECUTIVE	1	\$900.00	\$900.00
450	DESK, EXECUTIVE	1	\$900.00	\$900.00
451	DESK, EXECUTIVE	1	\$900.00	\$900.00
452	DESK, EXECUTIVE	1	\$900.00	\$900.00
453	DESK, EXECUTIVE	1	\$900.00	\$900.00
475	DESK, EXECUTIVE	1	\$900.00	\$900.00
499	DESK, EXECUTIVE	1	\$900.00	\$900.00
499	DESK, EXECUTIVE	1	\$900.00	\$900.00
509	DESK, EXECUTIVE	1	\$900.00	\$900.00
540	DESK, EXECUTIVE	1	\$900.00	\$900.00
551	DESK, EXECUTIVE	1	\$900.00	\$900.00
554	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
560	DESK, EXECUTIVE	1	\$900.00	\$900.00
570	DESK, EXECUTIVE	1	\$900.00	\$900.00
210	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
212	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
215	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
215	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
215	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
403	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
403	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
405	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
405	DESK, EXECUTIVE, U SHAPED DESK, EXECUTIVE, U SHAPED	1		\$2,500.00
425	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
436	DESK, EXECUTIVE, U SHAPED DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
438		1	\$2,500.00 \$2,500.00	
	DESK, EXECUTIVE, U SHAPED		\$2,500.00	\$2,500.00
439	DESK, EXECUTIVE, U SHAPED	1	. ,	\$2,500.00
495	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
495	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
495	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
499	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
499	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
560	DESK, EXECUTIVE, U SHAPED	1	\$2,500.00	\$2,500.00
210	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
210	DESK, FURNITURE SYSTEM, 1 OFFICE	5	\$1,000.00	\$5,000.00
210	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
215	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
215	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
341	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
341	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
402	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
403	DESK, FURNITURE SYSTEM, 1 OFFICE	13	\$1,000.00	\$13,000.00
403	DESK, FURNITURE SYSTEM, 1 OFFICE	2	\$1,000.00	\$2,000.00
404	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
404	DESK, FURNITURE SYSTEM, 1 OFFICE	12	\$1,000.00	\$12,000.00
405	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
405	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
426	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
426	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
440	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
440	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
450	DESK, FURNITURE SYSTEM, 1 OFFICE	3	\$1,000.00	\$3,000.00
451	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
451	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
451	DESK, FURNITURE SYSTEM, 1 OFFICE	6	\$1,000.00	\$6,000.00
451	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
451	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
452	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00

452	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
452	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
452	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
452	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453 453	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453 453	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1 1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
453	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
454 454	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
454	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
475	DESK, FURNITURE SYSTEM, 1 OFFICE	3	\$1,000.00	\$3,000.00
494	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
494	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
494	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
495	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
495	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
495 495	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
495	DESK, FURNITURE SYSTEM, 1 OFFICE	6	\$1,000.00	\$6,000.00
495	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
497	DESK, FURNITURE SYSTEM, 1 OFFICE	6	\$1,000.00	\$6,000.00
497	DESK, FURNITURE SYSTEM, 1 OFFICE	4	\$1,000.00	\$4,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	2 4	\$1,000.00	\$2,000.00
499 499	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$4,000.00 \$1,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	6	\$1,000.00	\$6,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
499	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503 503	DESK, FURNITURE SYSTEM, 1 OFFICE	5 1	\$1,000.00 \$1,000.00	\$5,000.00 \$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503 503	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503 503	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1 1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
503	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540 540	DESK, FURNITURE SYSTEM, 1 OFFICE DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00 \$1,000.00	\$1,000.00 \$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
-	, , 		. ,	, ,,,,,,,,,,

540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
	•			. ,
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
540	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
541	DESK, FURNITURE SYSTEM, 1 OFFICE	5	\$1,000.00	\$5,000.00
541	DESK, FURNITURE SYSTEM, 1 OFFICE	4	\$1,000.00	\$4,000.00
541	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
541	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
		1		
541	DESK, FURNITURE SYSTEM, 1 OFFICE		\$1,000.00	\$1,000.00
541	DESK, FURNITURE SYSTEM, 1 OFFICE	4	\$1,000.00	\$4,000.00
542	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
			. ,	
542	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
542	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
	•	1		
542	DESK, FURNITURE SYSTEM, 1 OFFICE		\$1,000.00	\$1,000.00
542	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
551	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
552	DESK, FURNITURE SYSTEM, 1 OFFICE	7	\$1,000.00	\$7,000.00
553	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
553	DESK, FURNITURE SYSTEM, 1 OFFICE	1		\$1,000.00
			\$1,000.00	
553	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	3	\$1,000.00	\$3,000.00
				. ,
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	3	\$1,000.00	\$3,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	2	\$1,000.00	\$2,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
560	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
570	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
576	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
581	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
581	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
581	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
581	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
583	DESK, FURNITURE SYSTEM, 1 OFFICE	2	\$1,000.00	\$2,000.00
583	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
583	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
587	DESK, FURNITURE SYSTEM, 1 OFFICE	2	\$1,000.00	\$2,000.00
587	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
587	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
661	DESK, FURNITURE SYSTEM, 1 OFFICE	6	\$1,000.00	\$6,000.00
665	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
665	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
665	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
665	DESK, FURNITURE SYSTEM, 1 OFFICE	1	\$1,000.00	\$1,000.00
210	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
404	DESK, FURNITURE SYSTEM, 2 OFFICE	6	\$1,500.00	\$9,000.00
425	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
436	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
450	DESK, FURNITURE SYSTEM, 2 OFFICE	13	\$1,500.00	\$19,500.00
452	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
454	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
454	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
492	DESK, FURNITURE SYSTEM, 2 OFFICE	5	\$1,500.00	\$7,500.00
492	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
492	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
499	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
499	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
503	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
503	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
-		-	. ,	, ,,,,,,,,,,

503	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
510	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
540	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
540	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
	•			
540	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
540	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
540	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
541	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
560	DESK, FURNITURE SYSTEM, 2 OFFICE	1	\$1,500.00	\$1,500.00
630	DESK, FURNITURE SYSTEM, 2 OFFICE	2	\$1,500.00	\$3,000.00
475	DESK, FURNITURE SYSTEM, 3 OFFICE	1	\$2,000.00	\$2,000.00
503	DESK, FURNITURE SYSTEM, 3 OFFICE	2	\$2,000.00	\$4,000.00
503	DESK, FURNITURE SYSTEM, 3 OFFICE	1	\$2,000.00	\$2,000.00
587	DESK, FURNITURE SYSTEM, 3 OFFICE	1	\$2,000.00	\$2,000.00
450	DESK, FURNITURE SYSTEM, 4 OFFICE	2		\$7,000.00
	•		\$3,500.00	
499	DESK, FURNITURE SYSTEM, 4 OFFICE	2	\$3,500.00	\$7,000.00
540	DESK, FURNITURE SYSTEM, 4 OFFICE	1	\$3,500.00	\$3,500.00
560	DESK, FURNITURE SYSTEM, 4 OFFICE	1	\$3,500.00	\$3,500.00
553	DESK, FURNITURE SYSTEM, 5 OFFICE	3	\$3,000.00	\$9,000.00
341	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
341	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
341	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
341	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
341	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
403	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
428	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
452	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475		1	\$250.00	\$250.00
	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY			
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
		1		
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475		1	\$250.00	\$250.00
	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY			
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
475	DESK HEIGHT ADILISTABLE DISE W// KEYBOARD TRAV	1	\$250.00	\$250.00
	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY			•
475	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
492	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
494	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
495	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
495	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
495	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
495	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
499	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
	, , , , , , , , , , , , , , , , , , ,			
540	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
540	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
554	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2		\$500.00
			\$250.00	
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00

560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
560	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
570	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
576	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
576	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
576	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
576		1	\$250.00	\$250.00
	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY			
576	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	2	\$250.00	\$500.00
576	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
630	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
630	DESK, HEIGHT-ADJUSTABLE RISE, W/ KEYBOARD TRAY	1	\$250.00	\$250.00
210	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
210	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
				•
210	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
213	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
214	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
341	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
341	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
400	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
403	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
404	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
427	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
428	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
429	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
435	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
436	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
440	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
440	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
440	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
440	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
451	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
475	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
475	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
		1		
475	DESK, SINGLE PEDESTAL		\$270.00	\$270.00
475	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
475	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
475	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
494	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
494	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
495	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
495		1	\$270.00	\$270.00
	DESK, SINGLE PEDESTAL			
497	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
499	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
503	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
503	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
503	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
503	DESK, SINGLE PEDESTAL	4	\$270.00	\$1,080.00
		2		
503	DESK, SINGLE PEDESTAL		\$270.00	\$540.00
509	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
509	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
509	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
509	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
540	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
540	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
545	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
545	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
552	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
553	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
553	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
554	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
554	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	3	\$270.00	\$810.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
560	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
560	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
570	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
570	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
	- /	_		

570	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
570	DESK, SINGLE PEDESTAL	1		\$270.00
570	DESK, SINGLE PEDESTAL	1		\$125.00
576	DESK, SINGLE PEDESTAL	1		\$270.00
576	DESK, SINGLE PEDESTAL	1		\$270.00
576	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
576	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
591	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
630	DESK, SINGLE PEDESTAL	2	\$270.00	\$540.00
630	DESK, SINGLE PEDESTAL	1		\$270.00
630		1		\$270.00
	DESK, SINGLE PEDESTAL			
630	DESK, SINGLE PEDESTAL	1		\$270.00
630	DESK, SINGLE PEDESTAL	2		\$540.00
630	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
630	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
630	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
882	DESK, SINGLE PEDESTAL	1		\$270.00
882	DESK, SINGLE PEDESTAL	1		\$270.00
3101	DESK, SINGLE PEDESTAL	1		\$270.00
3101	DESK, SINGLE PEDESTAL	2		\$540.00
3103	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
3106	DESK, SINGLE PEDESTAL	1	\$270.00	\$270.00
210	DESK, STANDING, ELECTRIC	2	\$2,075.00	\$4,150.00
213	DESK, STANDING, STEEL	1		\$390.00
213		1		\$390.00
	DESK, STANDING, STEEL			
341	DESK, STANDING, STEEL	1		\$390.00
341	DESK, STANDING, STEEL	2	\$390.00	\$780.00
403	DESK, STANDING, STEEL	1	\$390.00	\$390.00
551	DESK, STANDING, STEEL	3	\$390.00	\$1,170.00
509	DESK, STUDENT, FULL SIZE	1	\$50.00	\$50.00
403	DESK, STUDENT, OPEN FACE, SINGLE	1		\$100.00
576		12		\$1,200.00
	DESK, STUDENT, OPEN FACE, SINGLE			
576	DESK, STUDENT, OPEN FACE, SINGLE	12		\$1,200.00
576	DESK, STUDENT, OPEN FACE, SINGLE	12	\$100.00	\$1,200.00
576	DESK, STUDENT, OPEN FACE, SINGLE	12	\$100.00	\$1,200.00
576	DESK, STUDENT, OPEN FACE, SINGLE	12	\$100.00	\$1,200.00
576	DESK, STUDENT, OPEN FACE, SINGLE	1	\$100.00	\$100.00
576	DESK, STUDENT, OPEN FACE, SINGLE	13		\$1,300.00
		13		
576	DESK, STUDENT, OPEN FACE, SINGLE			\$1,300.00
576	DESK, STUDENT, OPEN FACE, SINGLE	1		\$100.00
576	DESK, STUDENT, OPEN FACE, SINGLE	1	\$100.00	\$100.00
576	DESK, STUDENT, OPEN FACE, SINGLE	13	\$100.00	\$1,300.00
576	DESK, STUDENT, OPEN FACE, SINGLE	6	\$100.00	\$600.00
3101	DESK, STUDENT, OPEN FACE, SINGLE	1	\$100.00	\$100.00
576	DESK, STUDENT, OPEN FRONT, SINGLE	11		\$770.00
576	DESK, STUDENT, OPEN FRONT, SINGLE	12		\$840.00
576	DESK, STUDENT, OPEN FRONT, SINGLE	11		\$770.00
576	DESK, STUDENT, OPEN FRONT, SINGLE	12		\$840.00
576	DESK, STUDENT, OPEN FRONT, SINGLE	12		\$840.00
210	DESK, TEACHER	1	\$120.00	\$120.00
215	DESK, TEACHER	2	\$120.00	\$240.00
440	DESK, TEACHER	3		\$360.00
440	DESK, TEACHER	1		\$120.00
210	DESK/TABLE, W/ STORAGE, SINGLE	1		\$200.00
215	DESK/TABLE, W/ STORAGE, SINGLE	1		\$200.00
542	DETECTOR, CAM	1		\$24,500.00
509	DETECTOR, LINE	1	\$300.00	\$300.00
451	DETECTOR, METAL, ARCHWAY	1	\$4,500.00	\$4,500.00
509	DETECTOR, METAL, ARCHWAY	1	\$4,000.00	\$4,000.00
560	DETECTOR, METAL, ARCHWAY	1		\$4,000.00
570	DETECTOR, METAL, ARCHWAY	1		\$4,000.00
				. ,
570	DETECTOR, METAL, ARCHWAY	1		\$4,000.00
576	DETECTOR, METAL, ARCHWAY	1		\$4,000.00
576	DETECTOR, METAL, ARCHWAY	1		\$4,000.00
576	DETECTOR, METAL, ARCHWAY	1	\$4,000.00	\$4,000.00
576	DETECTOR, METAL, ARCHWAY	1	\$4,000.00	\$4,000.00
576	DETECTOR, METAL, ARCHWAY	1		\$4,500.00
576	DETECTOR, METAL, ARCHWAY	1		\$4,500.00
560	DETECTOR, METAL, HANDHELD	1		\$200.00
542	DETECTOR, PHOTOIONIZATION (PID)	1		\$3,590.20
542	DETECTOR, PHOTOIONIZATION (PID)	1		\$4,068.00
542	DETECTOR, PHOTOIONIZATION (PID)	1		\$3,590.20
542	DETECTOR, PHOTOIONIZATION (PID)	1	\$4,068.00	\$4,068.00

542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$899.67	\$899.67
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542		1	\$1,918.05	
	DETECTOR, RADIATION, HAND-HELD			\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR, RADIATION, HAND-HELD	1	\$1,918.05	\$1,918.05
542	DETECTOR/ ANALYZER, HAZARDOUS MATERIAL	1	\$64,750.00	\$64,750.00
542	DETECTOR/ ANALYZER, HAZARDOUS MATERIAL	1	\$63,439.50	\$63,439.50
882	DIAGNOSTIC SCANNER, AUTOMOBILE, FULL-FUNCTION	1	\$5,500.00	\$5,500.00
882	DIAGNOSTIC SCANNER, AUTOMOBILE, FULL-FUNCTION	1	\$2,486.41	\$2,486.41
882	DIAGNOSTIC, COMPLETE COMPUTER	1	\$7,450.00	\$7,450.00
			. ,	
475	DISC DRIVE, EXTERNAL, HARD	1	\$300.00	\$300.00
540	DISHWASHER, HOUSEHOLD	1	\$455.00	\$455.00
545	DISHWASHER, STAINLESS STEEL, COMMERCIAL	1	\$13,495.00	\$13,495.00
541	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
541	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
541	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
541	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
541	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
581	DISPATCH CONSOLE	1	\$9,500.00	\$9,500.00
400	DISPLAY CASE, GLASS, NOT TROPHY	1	\$400.00	\$400.00
510	DISPLAY CASE, GLASS, NOT TROPHY	1	\$400.00	\$400.00
425	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
425	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
425	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
426	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
426	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
426	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
427	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
427	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
427	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
437	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
437	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
437	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
437	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
437	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
438	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
438	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
438	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
		=		
439	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
439	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
439	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
441	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
441	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
441	DISPLAY SIGNAGE, DIGITAL, LED, 65"	1	\$2,500.00	\$2,500.00
540	DISPLAY, TROPHY CASE	2	\$1,390.00	\$2,780.00
541	DISPLAY, TROPHY CASE	2	\$1,390.00	\$2,780.00
	,		\$1,390.00	
576	DISPLAY, TROPHY CASE	1		\$1,390.00
576	DISPLAY, TROPHY CASE	2	\$1,390.00	\$2,780.00
210	DISTRIBUTION CENTER	1	\$400.00	\$400.00
215	DISTRIBUTION CENTER	2	\$400.00	\$800.00
440	DISTRIBUTION CENTER	2	\$400.00	\$800.00
452	DISTRIBUTION CENTER	2	\$400.00	\$800.00
499	DISTRIBUTION CENTER	1	\$400.00	\$400.00
499	DISTRIBUTION CENTER	1	\$400.00	\$400.00
509	DISTRIBUTION CENTER	1	\$400.00	\$400.00
545	DISTRIBUTION CENTER	1	\$400.00	\$400.00
560	DISTRIBUTION CENTER	1	\$400.00	\$400.00
560	DISTRIBUTION CENTER	1	\$400.00	\$400.00
560	DISTRIBUTION CENTER	1	\$400.00	\$400.00
560	DISTRIBUTION CENTER	2	\$400.00	\$800.00
570	DISTRIBUTION CENTER	1	\$400.00	\$400.00
576	DISTRIBUTION CENTER	2	\$400.00	\$800.00
576	DISTRIBUTION CENTER	1	\$400.00	\$400.00
576	DISTRIBUTION CENTER	1	\$400.00	\$400.00

630	DISTRIBUTION CENTER	2	\$400.00	\$800.00
630	DISTRIBUTION CENTER	1	\$400.00	\$400.00
630	DISTRIBUTION CENTER	1	\$400.00	\$400.00
630	DISTRIBUTION CENTER	1	\$400.00	\$400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
503	DISTRIBUTION SYSTEM, CATV, HIGH DEFINITION	1	\$2,400.00	\$2,400.00
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
560	DIVE MASK, W/ PHONE	1	\$1,286.10	\$1,286.10
552	DOCKING STATION, COMPUTER, HANDHELD	6	\$60.00	\$360.00
553	DOCKING STATION, COMPUTER, HANDHELD	3	\$60.00	\$180.00
210	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
210	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
210	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
210	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
210	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
211	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
211	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
211	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
341	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
400	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
425	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
435	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
436	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
438	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
		1		\$100.00
439 440	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	
	DOCKING STATION, LAPTOR COMPUTER, LOW-END		\$100.00	\$100.00
440	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
440	DOCKING STATION, LAPTOP COMPUTER, LOW-END	12	\$100.00	\$1,200.00
451	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
453	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
453	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
492	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
495	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
497	DOCKING STATION, LAPTOP COMPUTER, LOW-END	6	\$100.00	\$600.00
497	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
497	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
497	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
497	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
503	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
503	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
503	DOCKING STATION, LAPTOP COMPUTER, LOW-END	10	\$100.00	\$1,000.00
503	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
510	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
510	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
510	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	3	\$100.00	\$300.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
540		1		\$100.00
	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	
540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00

540	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
541	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
545	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
545	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
545 551	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1 5	\$100.00 \$100.00	\$100.00 \$500.00
551	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
554	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
560 560	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	2 1	\$100.00 \$100.00	\$200.00 \$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$400.00	\$400.00
560 560	DOCKING STATION, LAPTOR COMPUTER, LOW END	1	\$100.00 \$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00 \$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	3	\$100.00	\$300.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00	\$100.00
560 560	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	3	\$100.00	\$300.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
560	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00	\$100.00
560 560	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
570	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00
576 576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00 \$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00	\$100.00
576 576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00	\$100.00
576 576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOR COMPUTER, LOW-END	1	\$100.00	\$100.00
576 576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00 \$100.00	\$100.00 \$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
			,	,

576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
	•			
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
576		1	\$100.00	\$100.00
	DOCKING STATION, LAPTOP COMPUTER, LOW-END			
583	DOCKING STATION, LAPTOP COMPUTER, LOW-END	2	\$100.00	\$200.00
583	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
583	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
	•			
587	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
587	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
3106	DOCKING STATION, LAPTOP COMPUTER, LOW-END	1	\$100.00	\$100.00
551	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
		1		
552	DOCKING STATION, MULTI-PORT, BODY CAMERA		\$500.00	\$500.00
554	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
	• • • • • • • • • • • • • • • • • • • •			
576	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
576	DOCKING STATION, MULTI-PORT, BODY CAMERA	1	\$500.00	\$500.00
560	DOG, NARCOTIC/ PATROL	1	\$12,000.00	\$12,000.00
210	DOLLY	1	\$75.00	\$75.00
403	DOLLY	1	\$75.00	\$75.00
450	DOLLY	1	\$75.00	\$75.00
452	DOLLY	1	\$75.00	\$75.00
497	DOLLY	1	\$75.00	\$75.00
499	DOLLY	1	\$75.00	\$75.00
503	DOLLY	1	\$75.00	\$75.00
541	DOLLY	1	\$75.00	\$75.00
545	DOLLY	1		
			\$75.00	\$75.00
552	DOLLY	1	\$75.00	\$75.00
554	DOLLY	1	\$75.00	\$75.00
560	DOLLY	1	\$75.00	\$75.00
	DOLLY	1		
570			\$75.00	\$75.00
882	DOLLY, BRAKE DRUM AND HUB	1	\$1,690.00	\$1,690.00
402	DOLLY, DESK	1	\$200.00	\$200.00
630	DOLLY, DESK	1	\$200.00	\$200.00
509	DOLLY, FOLDING CHAIRS	9	\$89.00	\$801.00
551	DOLLY, FOLDING CHAIRS	2	\$89.00	\$178.00
560	DOLLY, FOLDING CHAIRS	2	\$89.00	\$178.00
492	DOOR RAM, TACTICAL	1	\$375.00	\$375.00
3106	DRAGGER, ARENA/BASEBALL FIELD	1	\$3,550.00	\$3,550.00
882	DRAIN, WASTE OIL, PORTABLE	1	\$379.00	\$379.00
587	DRILL PRESS	1	\$2,100.00	\$2,100.00
882		1		\$2,100.00
	DRILL PRESS		\$2,100.00	
882	DRILL PRESS	1	\$2,100.00	\$2,100.00
509	DRILL PRESS, 17", V-SPEED, STAND	1	\$500.00	\$500.00
210	DRILL PRESS, TABLE TOP	1	\$495.00	\$495.00
509	DRILL PRESS, TABLE TOP	1	\$495.00	\$495.00
560	DRILL PRESS, TABLE TOP	1	\$495.00	\$495.00
492	DRILL, CORDLESS, PORTABLE	1	\$220.00	\$220.00
503	DRILL, CORDLESS, PORTABLE	3	\$220.00	\$660.00
509	DRILL, CORDLESS, PORTABLE	2		\$440.00
	·		\$220.00	
509	DRILL, CORDLESS, PORTABLE	1	\$220.00	\$220.00
509	DRILL, CORDLESS, PORTABLE	7	\$220.00	\$1,540.00
541	DRILL, CORDLESS, PORTABLE	4	\$220.00	\$880.00
553		1		\$220.00
	DRILL, CORDLESS, PORTABLE		\$220.00	
560	DRILL, CORDLESS, PORTABLE	1	\$220.00	\$220.00
570	DRILL, CORDLESS, PORTABLE	1	\$220.00	\$220.00
581	DRILL, CORDLESS, PORTABLE	3	\$220.00	\$660.00
3101		6		
	DRILL, CORDLESS, PORTABLE		\$220.00	\$1,320.00
3103	DRILL, CORDLESS, PORTABLE	1	\$220.00	\$220.00
3103	DRILL, CORDLESS, PORTABLE	3	\$220.00	\$660.00
3106	DRILL, CORDLESS, PORTABLE	2	\$220.00	\$440.00
3107	DRILL, CORDLESS, PORTABLE	2	\$220.00	\$440.00
882	DRILL, CORE BORE, 2 SPEED	1	\$2,355.00	\$2,355.00
882	DRILL, ELECTRIC, 1/2", V-SPEED, REV.	1	\$150.00	\$150.00
210	DRILL, ELECTRIC, PORTABLE	1	\$85.00	\$85.00
540	DRILL, ELECTRIC, PORTABLE	2	\$85.00	\$170.00

554	DRIVE FLECTRIC DOCTAGE		405.00	405.00
551 576	DRILL, ELECTRIC, PORTABLE	1 2	\$85.00	\$85.00
576 576	DRILL, ELECTRIC, PORTABLE DRILL, ELECTRIC, PORTABLE	2	\$85.00 \$85.00	\$170.00 \$170.00
509	DRILL, ELECTRIC, PORTABLE DRILL, ELECTRIC, VARI-SPEED, REV	3	\$165.00	\$495.00
3103	DRILL, ELECTRIC, VARI-SPEED, REV	3	\$165.00	\$495.00
509	DRILL, HAMMER, VARI-SPEED, REV.	1	\$235.00	\$235.00
3103	DRILL, HAMMER, VARI-SPEED, REV.	1	\$235.00	\$235.00
1000	DRONE	1	\$910.00	\$910.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$2,550.00	\$2,550.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560	DRONE, PROFESSIONAL	1	\$4,181.00	\$4,181.00
560 560	DRONE, PROFESSIONAL DRONE, PROFESSIONAL	1 1	\$4,181.00 \$3,842.12	\$4,181.00 \$3,842.12
560	DRONE, PROFESSIONAL	1	\$3,842.12	\$3,842.12
560	DRONE, W/FLIR THERMAL DETECTION	1	\$12,020.50	\$12,020.50
560	DRONE, W/FLIR THERMAL DETECTION DRONE, W/FLIR THERMAL DETECTION	1	\$12,020.50	\$12,020.50
213	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
453	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
540	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
540	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
540	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
540	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
540	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
541	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
551	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
3106	DRY ERASE BOARD, PORTABLE	1	\$350.00	\$350.00
545	DRYER, CLOTHES, COMMERCIAL, 50-65 LBS.	1	\$3,066.67	\$3,066.67
545	DRYER, CLOTHES, COMMERCIAL, 50-65 LBS.	1	\$3,066.67	\$3,066.67
545	DRYER, CLOTHES, COMMERCIAL, 50-65 LBS.	1	\$3,066.67	\$3,066.67
545	DRYER, CLOTHES, COMMERCIAL, 50-65 LBS.	1	\$3,066.67	\$3,066.67
570	DRYER, CLOTHES, COMMERCIAL, 75+ LBS.	1	\$11,788.75	\$11,788.75
570	DRYER, CLOTHES, COMMERCIAL, 75+ LBS.	1	\$11,788.75	\$11,788.75
570	DRYER, CLOTHES, COMMERCIAL, 75+ LBS.	1	\$11,788.75	\$11,788.75
570	DRYER, CLOTHES, COMMERCIAL, 75+ LBS.	1	\$11,788.75	\$11,788.75
576	DRYER, CLOTHES, COMMERCIAL, 75+ LBS.	1	\$4,544.85	\$4,544.85
540	DRYER, CLOTHES, HOUSEHOLD, HIGH-END	1	\$900.00	\$900.00
560	DRYER, CLOTHES, HOUSEHOLD, HIGH-END	1	\$300.00	\$300.00
576	DRYER, CLOTHES, HOUSEHOLD, HIGH-END	1	\$5,622.67	\$5,622.67
576	DRYER, CLOTHES, HOUSEHOLD, HIGH-END	1	\$5,622.66	\$5,622.66
3107	DRYER, CLOTHES, HOUSEHOLD, HIGH-END	1	\$651.46	\$651.46
540	DRYER, CLOTHES, HOUSEHOLD, LOW END	1	\$350.00	\$350.00 \$350.00
540	DRYER, CLOTHES, HOUSEHOLD, LOW END	1	\$350.00	·
541 560	DRYER, CLOTHES, HOUSEHOLD, LOW END DRYER, CLOTHES, HOUSEHOLD, LOW END	1 1	\$350.00 \$350.00	\$350.00 \$350.00
570		1	\$350.00	\$350.00
576	DRYER, CLOTHES, HOUSEHOLD, LOW END DRYER, CLOTHES, HOUSEHOLD, LOW END	1	\$350.00	\$350.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00

560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
560	DRYSUIT	1	\$1,600.00	\$1,600.00
570	DUNNAGE RACK	4	\$125.00	\$500.00
440	DUPLICATOR, MULTI-DISK/CD	1	\$595.00	\$595.00
440	DUPLICATOR, MULTI-DISK/CD	1	\$939.18	\$939.18
			•	·
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
	DUPLICATOR, MULTI-DISK/CD			
475	•	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
475	DUPLICATOR, MULTI-DISK/CD	1	\$595.00	\$595.00
560	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
560	DUPLICATOR, MULTI-DISK/CD	1	\$595.00	\$595.00
560	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
560	DUPLICATOR, MULTI-DISK/CD	1	\$2,700.00	\$2,700.00
438	DVD PLAYER	1	\$32.00	\$32.00
440	DVD PLAYER	2	\$32.00	\$64.00
451	DVD PLAYER	1	\$32.00	\$32.00
452	DVD PLAYER	1	\$32.00	\$32.00
475	DVD PLAYER	3	\$32.00	\$96.00
503	DVD PLAYER	1	\$32.00	\$32.00
540	DVD PLAYER	1	\$32.00	\$32.00
540	DVD PLAYER	1	\$32.00	\$32.00
560	DVD PLAYER	1	\$32.00	\$32.00
576	DVD PLAYER	1	\$32.00	\$32.00
576	DVD PLAYER	1	\$32.00	\$32.00
576	DVD PLAYER	1	\$32.00	\$32.00
581	DVD PLAYER	1	\$32.00	\$32.00
475	DVD RECORDER	1	\$150.00	\$150.00
499	DVD RECORDER	1		
			\$150.00	\$150.00
560	DVD RECORDER	1	\$150.00	\$150.00
560	DVD RECORDER	1	\$150.00	\$150.00
560	DVD RECORDER	1	\$150.00	\$150.00
560	DVD RECORDER	4	\$150.00	\$600.00
560	DVD RECORDER	1	\$150.00	\$150.00
560	DVD RECORDER	1	\$150.00	\$150.00
453	DVD, BLUE RAY	1	\$109.00	\$109.00
492	DVD, BLUE RAY	1	\$109.00	\$109.00
540	DVD, BLUE RAY	1	\$109.00	\$109.00
426	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
436	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
437	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
440	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
452	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
		-		
453	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
453	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
509	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
542	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
545	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
552	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
554	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
560	DVD/ VCR COMBINATION DVD/ VCR COMBINATION			\$75.00 \$75.00
		1	\$75.00	
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576				
	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00

576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
576	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
581	DVD/ VCR COMBINATION	1	\$75.00	\$75.00
475	DVD/CD-RW	2	\$265.00	\$530.00
499	DVR (DIGITAL VIDEO RECORDER)	1	\$720.00	\$720.00
439	EASEL, ALUMINUM, LARGE	1	\$110.00	\$110.00
576	EASEL, ALUMINUM, LARGE	1	\$110.00	\$110.00
576	EASEL, ALUMINUM, LARGE	1	\$110.00	\$110.00
439	EASEL, DRY/ERASE	1	\$175.00	\$175.00
499	EASEL, DRY/ERASE	1	\$175.00	\$175.00
581	EASEL, DRY/ERASE	1	\$175.00	\$175.00
3106	EASEL, DRY/ERASE	2	\$175.00	\$350.00
560	EASEL, PLASTIC MOLDED	1	\$305.00	\$305.00
3106	EASEL, PLASTIC MOLDED	1	\$305.00	\$305.00
541	EASEL, PORTABLE	3	\$85.00	\$255.00
541	EASEL, PORTABLE	1	\$85.00	\$85.00
454	EASEL, WOOD, LARGE	1	\$25.00	\$25.00
576	EASEL, WOOD, LARGE	1	\$25.00	\$25.00
542	EJECTOR, SMOKE	1	\$1,650.00	\$1,650.00
540	EKG MONITOR AND DEFIBRILLATOR	1	\$3,750.00	\$3,750.00
540	EKG MONITOR AND DEFIBRILLATOR	1	\$3,750.00	\$3,750.00
452	ELECTRONIC, TIME & DATE STAMP	1	\$190.00	\$190.00
452	ELECTRONIC, TIME & DATE STAMP	1	\$190.00	\$190.00
454	ELECTRONIC, TIME & DATE STAMP	1	\$190.00	\$190.00
499	ELECTRONIC, TIME & DATE STAMP	1	\$190.00	\$190.00
541	ELLIPTICAL MACHINE	1	\$3,500.00	\$3,500.00
541	ELLIPTICAL MACHINE	1	\$3,500.00	\$3,500.00
581	EMERGENCY COMMAND CENTER, POP-UP	1	\$450.00	\$450.00
581	EMERGENCY KIT, CYLINDER, CHLORINE	1	\$2,475.00	\$2,475.00
581	EMERGENCY KIT, TANK CAR, CHLORINE	1	\$2,850.00	\$2,850.00
503	ENCLOSURE, SERVER RACK	1	\$1,730.00	\$1,730.00
503	ENCLOSURE, SERVER RACK CASE	1	\$500.00	\$500.00
503	ENCODER, STREAMING MEDIA	1	\$18,380.00	\$18,380.00
581	ENCRYPTION KEY LOADER	1	\$5,804.80	\$5,804.80
509	ENGRAVER, COMPUTER CONTROL	1	\$10,368.68	\$10,368.68
427	ENHANCER, VISUAL	1	\$785.00	\$785.00
436	ENHANCER, VISUAL	1	\$2,995.00	\$2,995.00
576	ENHANCER, VISUAL	1	\$2,995.00	\$2,995.00
560	ENTERTAINMENT CENTER	1	\$350.00	\$350.00
507	EQUIP SHELTER, GRANGER #8	1	\$800,000.00	\$800,000.00
507	EQUIP SHELTER, PRIME #1	1	\$288,000.00	\$288,000.00
210	EXCAVATOR, HYDRAULIC	1	\$230,200.00	\$230,200.00
210	EXCAVATOR, HYDRAULIC	1	\$282,529.00	\$282,529.00
210	EXCAVATOR, HYDRAULIC	1	\$329,772.00	\$329,772.00
210	EXCAVATOR, HYDRAULIC, MINI	1	\$328,156.75	\$328,156.75
882	EXCAVATOR, HYDRAULIC, MINI	1	\$225,588.88	\$225,588.88
3103	EXCAVATOR, HYDRAULIC, MINI	1	\$59,004.96	\$59,004.96
560	EXTERNAL DISC DRIVE, CD-ROM	1	\$250.00	\$250.00
560	EXTERNAL DISC DRIVE, CD-ROM	1	\$250.00	\$250.00
560	EXTERNAL DISC DRIVE, CD-ROM	1	\$250.00	\$250.00
440	EXTERNAL DISK DRIVE, CD ROM WRITER	2	\$400.00	\$800.00
560	EXTERNAL DISK DRIVE, CD ROM WRITER	1	\$400.00	\$400.00
560	EXTERNAL DISK DRIVE, CD ROM WRITER	1	\$400.00	\$400.00
210	FAN, BOX TYPE, 36"	2	\$200.00	\$400.00
509	FAN, BOX TYPE, 36"	1	\$200.00	\$200.00
560	FAN, BOX TYPE, 36"	1	\$200.00	\$200.00
570	FAN, BOX TYPE, 36"	1	\$200.00	\$200.00
560	FAN, EVAPORATIVE COOLER	1	\$2,150.00	\$2,150.00
882	FAN, EVAPORATIVE COOLER	1	\$2,150.00	\$2,150.00
882	FAN, EVAPORATIVE COOLER	1	\$4,180.00	\$4,180.00
882	FAN, EVAPORATIVE COOLER	1	\$4,180.00	\$4,180.00
882	FAN, EVAPORATIVE COOLER	1	\$4,768.31	\$4,768.31
541	FAN, EVAPORATIVE COOLER, SMALL	4	\$1,450.00	\$5,800.00
587	FAN, EVAPORATIVE COOLER, SMALL	1	\$1,450.00	\$1,450.00
587	FAN, EVAPORATIVE COOLER, SMALL	1	\$1,450.00	\$1,450.00
570	FAN, EXHAUST	3	\$400.00	\$1,200.00
3107	FAN, INDUSTRIAL, AIR CIRCULATOR	1	\$960.00	\$960.00
402	FAN, LOW END	2	\$100.00	\$200.00
495	FAN, LOW END	1	\$100.00	\$100.00
499	FAN, LOW END	1	\$100.00	\$100.00
503	FAN, LOW END	1	\$100.00	\$100.00
503	FAN, LOW END	1	\$100.00	\$100.00
503	FAN, LOW END	1	\$100.00	\$100.00
503	FAN, LOW END	1	\$100.00	\$100.00

509	FAN, LOW END	1	\$100.00	\$100.00
509	FAN, LOW END	1	\$100.00	\$100.00
510	FAN, LOW END	1	\$100.00	\$100.00
540	FAN, LOW END	1	\$100.00	\$100.00
541	FAN, LOW END	2	\$100.00	\$200.00
545	FAN, LOW END	1	\$100.00	\$100.00
545	FAN, LOW END	2		\$200.00
			\$100.00	
545	FAN, LOW END	2	\$100.00	\$200.00
553	FAN, LOW END	1	\$100.00	\$100.00
560	FAN, LOW END	2	\$100.00	\$200.00
570	FAN, LOW END	1	\$100.00	\$100.00
570	FAN, LOW END	1	\$100.00	\$100.00
570	FAN, LOW END	1	\$100.00	\$100.00
570	FAN, LOW END	1	\$100.00	\$100.00
576	FAN, LOW END	1	\$100.00	\$100.00
3103	FAN, LOW END	1	\$100.00	\$100.00
3107	FAN, LOW END	1	\$100.00	\$100.00
211	FAX MACHINE	1	\$60.00	\$60.00
212	FAX MACHINE	1	\$60.00	\$60.00
404	FAX MACHINE	1	\$60.00	\$60.00
404	FAX MACHINE	1	\$60.00	\$60.00
405	FAX MACHINE	1	\$60.00	\$60.00
426	FAX MACHINE	1	\$60.00	\$60.00
451	FAX MACHINE	1	\$60.00	\$60.00
451	FAX MACHINE	1	\$60.00	\$60.00
452	FAX MACHINE	1	\$60.00	\$60.00
509	FAX MACHINE	1	\$60.00	\$60.00
560	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
570	FAX MACHINE	1	\$60.00	\$60.00
576	FAX MACHINE	1	\$60.00	\$60.00
576	FAX MACHINE	1	\$60.00	\$60.00
540	FAX MACHINE, LASER	1	\$360.00	\$360.00
215	FAX SERVER	1	\$400.00	\$400.00
3103	FAX/COPIER/PRINTER/SCANNER	1	\$939.98	\$939.98
475	FINGERPRINT BOOKING SYSTEM	1	\$30,480.50	\$30,480.50
475	FINGERPRINT BOOKING SYSTEM	1	\$26,958.50	\$26,958.50
570	FINGERPRINT BOOKING SYSTEM	1		\$29,000.00
			\$29,000.00	
572	FINGERPRINT BOOKING SYSTEM	1	\$29,000.00	\$29,000.00
572	FINGERPRINT BOOKING SYSTEM	1	\$29,000.00	\$29,000.00
560	FINGERPRINT COMPARISON MACHINE	1	\$650.00	\$650.00
560	FINGERPRINT STAND STATION	1	\$165.00	\$165.00
560	FINGERPRINT STAND STATION	1	\$165.00	\$165.00
560	FINGERPRINT STAND STATION	1	\$165.00	\$165.00
503	FIREWALL APPLIANCE, HIGH END	1	\$17,552.79	\$17,552.79
503	FIREWALL APPLIANCE, HIGH END	1	\$17,552.79	\$17,552.79
503	FIREWALL APPLIANCE, LOW END	1	\$1,555.00	\$1,555.00
503	FIREWALL APPLIANCE, LOW END	1	\$1,555.00	\$1,555.00
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
	FIREWALL APPLIANCE, LOW END	1		
540	,		\$1,555.00	\$1,555.00
540	FIREWALL APPLIANCE, LOW END	1	\$2,154.66	\$2,154.66
503	FIREWALL APPLIANCE, MEDIUM END	1	\$4,390.00	\$4,390.00
503	FIREWALL APPLIANCE, MEDIUM END	1	\$4,390.00	\$4,390.00
581	FIREWALL APPLIANCE, MEDIUM END	1	\$4,390.00	\$4,390.00
560	FIRST AID KITS	1	\$95.00	\$95.00
570	FIRST AID KITS	3	\$95.00	\$285.00
403		1	\$70.00	\$70.00
	FIXED HEIGHT, STOOL			
560	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
560	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
560	FIXED HEIGHT, STOOL	2	\$70.00	\$140.00
560	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
576	FIXED HEIGHT, STOOL	2	\$70.00	\$140.00
576	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
630		1	\$70.00	\$70.00
	FIXED HEIGHT, STOOL			
630	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
630	FIXED HEIGHT, STOOL	1	\$70.00	\$70.00
492	FLASHLIGHT SYSTEM, RECHARGABLE	14	\$110.00	\$1,540.00
541	FLASHLIGHT SYSTEM, RECHARGABLE	2	\$110.00	\$220.00

570	FLASHLIGHT SYSTEM, RECHARGABLE	1	\$110.00	\$110.00
581	FLASHLIGHT, LED, INDUSTRIAL	8	\$470.00	\$3,760.00
509	FOG MACHINE, THEATRICAL	1	\$129.00	\$129.00
576	FOOD TRANSPORT, INSULATED PLASTIC, FULL HEIGHT	3	\$400.00	\$1,200.00
560	FORENSIC KIT, MOBILE	1	\$10,085.00	\$10,085.00
3107	FORESTRY CUTTER, ATTACHMENT	1	\$25,500.00	\$25,500.00
			. ,	
210	FORKLIFT, ATTACHMENT	1	\$650.00	\$650.00
3107	FORKLIFT, ATTACHMENT, LOW-END	1	\$350.00	\$350.00
492	FORKLIFT, ELECTRIC	1	\$76,591.48	\$76,591.48
503	FORKLIFT, ELECTRIC	1	\$24,953.00	\$24,953.00
509	FORKLIFT, ELECTRIC	1	\$10,268.95	\$10,268.95
210	FORKLIFT, GAS	1	\$20,045.00	\$20,045.00
210		1	\$35,500.00	
	FORKLIFT, GAS			\$35,500.00
509	FORKLIFT, GAS	1	\$19,272.00	\$19,272.00
509	FORKLIFT, GAS	1	\$17,583.00	\$17,583.00
509	FORKLIFT, GAS	1	\$35,802.52	\$35,802.52
560	FORKLIFT, GAS	1	\$22,000.00	\$22,000.00
665	FREEZER, COMMERCIAL, REACH-IN, 1 SECTION	1	\$2,715.00	\$2,715.00
3106	FREEZER, COMMERCIAL, REACH-IN, 2 SECTION	1	\$4,245.00	\$4,245.00
3106	FREEZER, ICE CREAM	1	\$3,090.00	\$3,090.00
630	FREEZER, LOW-END	1	\$250.00	\$250.00
630	FREEZER, MEDICAL, LOW-END	2	\$350.00	\$700.00
630	FREEZER, MEDICAL, LOW-END	1	\$350.00	\$350.00
	•			
630	FREEZER, MEDICAL, LOW-END	1	\$350.00	\$350.00
570	FREEZER, WALK-IN	1	\$7,500.00	\$7,500.00
3106	FRONT PANEL, STALL	100	\$499.00	\$49,900.00
3106	•	1		
	FRYER, DEEP, 2 BASKETS		\$1,695.00	\$1,695.00
3106	FRYER, DEEP, 2 BASKETS	1	\$2,695.00	\$2,695.00
210	FUEL MANAGEMENT SYSTEM	1	\$8,700.00	\$8,700.00
210	FUEL MANAGEMENT SYSTEM	1	\$8,700.00	\$8,700.00
210	FUEL MANAGEMENT SYSTEM	1	\$8,700.00	\$8,700.00
210	FUEL MANAGEMENT SYSTEM	1	\$8,700.00	\$8,700.00
882	FUEL MANAGEMENT SYSTEM	1	\$8,700.00	\$8,700.00
560	FUME HOOD, PORTABLE	1	\$2,870.00	\$2,870.00
560	FUMING SYSTEM, CA, BENCHTOP	1	\$9,223.00	\$9,223.00
576	GAMERS, CHAIR	4	\$100.00	\$400.00
576	GAMERS, CHAIR	4	\$100.00	\$400.00
576	GAMING CONSOLE, WII	1	\$300.00	\$300.00
576	GAMING CONSOLE, XBOX ONE	2	\$400.00	\$800.00
		1		
560	GASE MASK, W/ RESPIRATOR		\$2,824.53	\$2,824.53
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560		1		\$2,824.48
	GASE MASK, W/ RESPIRATOR		\$2,824.48	
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
560	GASE MASK, W/ RESPIRATOR	1	\$2,824.48	\$2,824.48
3106	GATE, WALK-THROUGH, LARGE	9	\$400.00	\$3,600.00
3106	GATE, WALK-THROUGH, SMALL	2	\$250.00	\$500.00
560	GATOR, 4 WHEEL	1	\$8,538.14	\$8,538.14
509	GAUGE SET, MANIFOLD	2	\$169.00	\$338.00
542	GEIGER COUNTER, STUDENT	1	\$185.00	\$185.00
450	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
452	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
454	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
499	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1		\$35.00
			\$35.00	
554	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
560	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
560	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
560	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
570	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
570	GENERAL PURPOSE CART, PLASTIC, ECONOMY	2	\$35.00	\$70.00
570	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
570	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
570	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
576	GENERAL PURPOSE CART, PLASTIC, ECONOMY	2		\$70.00
			\$35.00	
576	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
576	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
576	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1	\$35.00	\$35.00
3.0	SELECTION SOLD STATE, I DISTING ECONOMII	<u>.</u>	733.00	733.00

576	OFFICE ALPHANES CAPT PLASTIC FORMAN		425.00	425.00
576	GENERAL PURPOSE CART, PLASTIC, ECONOMY	1 1	\$35.00	\$35.00
882 507	GENERAL PURPOSE CART, PLASTIC, ECONOMY GENERATOR, BACKUP	1	\$35.00 \$20,000.00	\$35.00 \$20,000.00
581	GENERATOR, BACKUP	1	\$40,000.00	\$40,000.00
581	GENERATOR, BACKUP	1	\$40,000.00	\$40,000.00
509	GENERATOR, DIESEL	1	\$9,500.00	\$9,500.00
581	GENERATOR, DIESEL	2	\$9,500.00	\$19,000.00
210	GENERATOR, PORTABLE	1	\$2,650.00	\$2,650.00
210	GENERATOR, PORTABLE	1	\$2,961.39	\$2,961.39
560	GENERATOR, PORTABLE	1	\$920.00	\$920.00
581	GENERATOR, PORTABLE	2	\$920.00	\$1,840.00
581	GENERATOR, PORTABLE	1	\$920.00	\$920.00
581	GENERATOR, PORTABLE	1	\$920.00	\$920.00
882	GENERATOR, PORTABLE	1	\$920.00	\$920.00
882	GENERATOR, PORTABLE	1	\$1,599.99	\$1,599.99
882	GENERATOR, PORTABLE	1	\$920.00	\$920.00
882	GENERATOR, PORTABLE	1	\$1,998.00	\$1,998.00
509	GENERATOR, PORTABLE, 4000-5000 KW	1	\$1,200.00	\$1,200.00
3107	GENERATOR, PORTABLE, 4000-5000 KW	1	\$1,200.00	\$1,200.00
581	GENERATOR, PORTABLE, 5000+ KW	1	\$920.00	\$920.00
882	GENERATOR, PORTABLE, 5000+ KW	1	\$2,040.00	\$2,040.00
3101	GENERATOR, PORTABLE, 5000+ KW	1	\$2,040.00	\$2,040.00
3103	GENERATOR, PORTABLE, 5000+ KW	1	\$2,040.00	\$2,040.00
3103	GENERATOR, PORTABLE, 5000+ KW	1	\$2,040.00	\$2,040.00
507	GENERATOR, TRAILER MOUNTED	1	\$13,785.00	\$13,785.00
210	GIS DATA COLLECTOR, HANDHELD	1	\$9,200.00	\$9,200.00
1000	GOLF/ UTILITY CART, GAS	1	\$8,960.00	\$8,960.00
210	GRADE LASER, DUAL	1	\$2,150.00	\$2,150.00
509 3106	GRADE LASER, DUAL GRIDDLE, COMMERCIAL, COUNTERTOP	1 1	\$2,575.00	\$2,575.00 \$1,000.00
3106	GRIDDLE, COMMERCIAL, COUNTERTOP, HIGH-END	1	\$1,000.00 \$5,700.00	\$5,700.00
210	GRINDER / BUFFER, 6" BENCH	1	\$3,700.00	\$3,700.00
210	GRINDER / BUFFER, 6" BENCH	1	\$248.00	\$248.00
509	GRINDER / BUFFER, 6" BENCH	1	\$248.00	\$248.00
576	GRINDER / BUFFER, 6" BENCH	1	\$248.00	\$248.00
3103	GRINDER / BUFFER, 6" BENCH	1	\$248.00	\$248.00
509	GRINDER / BUFFER, 8" BENCH	1	\$580.00	\$580.00
509	GRINDER / BUFFER, 8" BENCH	1	\$580.00	\$580.00
882	GRINDER / BUFFER, 8" BENCH	1	\$580.00	\$580.00
3103	GRINDER, RIGHT ANGLE	1	\$160.00	\$160.00
509	GRINDER/BUFFER, 5"	1	\$200.00	\$200.00
3103	GRINDER/SANDER, RIGHT ANGLE, 7"	1	\$211.00	\$211.00
3103	GROOMER/ RENOVATOR, BALLPARK	1	\$3,140.00	\$3,140.00
3103	GROOMER/ RENOVATOR, BALLPARK	1	\$3,140.00	\$3,140.00
581	GROUNDING & BONDING KIT, HAZ-MAT	1	\$1,015.00	\$1,015.00
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560		1	\$874.50	\$874.50
560 560	GUN, ATTACHMENT, SILENCER/SUPRESSOR GUN, ATTACHMENT, SILENCER/SUPRESSOR	1 1	\$874.50 \$874.50	\$874.50 \$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50 \$874.50	\$874.50 \$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, ATTACHMENT, SILENCER/SUPRESSOR	1	\$874.50	\$874.50
560	GUN, PEPPERBALL	1	\$824.59	\$824.59

560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL	1	\$824.59	\$824.59
560	GUN, PEPPERBALL, SEMI-AUTOMATIC	1	\$1,492.59	\$1,492.59
560	GUN, PEPPERBALL, SEMI-AUTOMATIC	1	\$1,492.59	\$1,492.59
560	GUN, PEPPERBALL, SEMI-AUTOMATIC	1	\$1,492.59	\$1,492.59
560	GUN, PEPPERBALL, SEMI-AUTOMATIC	1	\$1,492.60	\$1,492.60
560	GUN, PEPPERBALL, SEMI-AUTOMATIC	1	\$1,492.60	\$1,492.60
581	HALOGEN LIGHT, PORTABLE	1	\$350.00	\$350.00
882	HALOGEN LIGHT, PORTABLE	1	\$350.00	\$350.00
210	HAMMER, CONSTRUCTION	1	\$49,043.38	\$49,043.38
492	HANDCUFFS	23	\$209.00	\$4,807.00
570	HANDCUFFS	7	\$209.00	\$1,463.00
560	HANDHELD GRINDER	1	\$125.00	\$125.00
560	HANDHELD GRINDER	1	\$125.00	\$125.00
3103	HANDHELD GRINDER	1	\$125.00	\$125.00
3106	HANDHELD GRINDER	1	\$125.00	\$125.00
210	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
400	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
400	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
499	HANDTRUCK, 2-WHEEL	2	\$145.00	\$290.00
509	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
509	HANDTRUCK, 2-WHEEL	2	\$145.00	\$290.00
510	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
540	HANDTRUCK, 2-WHEEL	12	\$145.00	\$1,740.00
540	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
540	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
541	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
542	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
551	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
560	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
560	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
570	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
570	HANDTRUCK, 2-WHEEL	4	\$145.00	\$580.00
570	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
572	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
576	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
576	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
576	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
576 576	HANDTRUCK, 2-WHEEL	1 1	\$145.00	\$145.00
	HANDTRUCK, 2-WHEEL		\$145.00	\$145.00
882	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
882	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
882	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
3101	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
3103	HANDTRUCK, 2-WHEEL	1	\$145.00	\$145.00
3106	HANDTRUCK, 2-WHEEL	2	\$145.00	\$290.00
210	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
400	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
450	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
494	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
499	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
503	HANDTRUCK, 4-WHEEL	5	\$250.00	\$1,250.00
509	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
509	HANDTRUCK, 4-WHEEL	2	\$250.00	\$500.00
540	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
540	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
553	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
560	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
560	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
560	HANDTRUCK, 4-WHEEL		\$250.00	\$250.00
		1		
570 576	HANDTRUCK, 4-WHEEL	5	\$250.00	\$1,250.00
576	HANDTRUCK, 4-WHEEL	2	\$250.00	\$500.00
576	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
581	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
3106	HANDTRUCK, 4-WHEEL	1	\$250.00	\$250.00
3106	HANDTRUCK, 4-WHEEL	3	\$250.00	\$750.00
3106	HANDTRUCK, 4-WHEEL	14	\$250.00	\$3,500.00

210	HANDTRUCK, CHAIRS	3	\$250.00	\$750.00
	,	1		
210	HANDTRUCK, CHAIRS		\$250.00	\$250.00
215	HANDTRUCK, CHAIRS	7	\$250.00	\$1,750.00
499	HANDTRUCK, CHAIRS	2	\$250.00	\$500.00
545	HANDTRUCK, CHAIRS	6	\$250.00	\$1,500.00
576	HANDTRUCK, CHAIRS	1	\$250.00	\$250.00
215	HANDTRUCK, TABLE	2	\$280.00	\$560.00
545	HANDTRUCK, TABLE	1	\$280.00	\$280.00
	,			
581	HAZMAT, BOOT	38	\$100.00	\$3,800.00
581	HAZMAT, WADERS	3	\$70.00	\$210.00
341	HEADSET, TELEPHONE	1	\$250.00	\$250.00
210	HEATER, PORTABLE	2	\$135.00	\$270.00
3107	HEATER, PORTABLE, FORCED AIR (250K-350K BTU)	1	\$630.00	\$630.00
560	HELMET, BALLISTIC/TACTICAL	1	\$1,712.97	\$1,712.97
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1		
			\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$1,713.05	\$1,713.05
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HELMET, BALLISTIC/TACTICAL	1	\$511.54	\$511.54
560	HIGH, INTENSITY ILLUMINATOR	1	\$160.00	\$160.00
560	HIGH, INTENSITY ILLUMINATOR	6	\$160.00	\$960.00
402	HOLE PUNCH, 3, ELECTRIC	1	\$150.00	\$150.00
882	HOSE WASHER, AUTOMATIC	1	\$10,140.00	\$10,140.00
882	HOSE WASHER, AUTOMATIC	1	\$10,140.00	\$10,140.00
581	HOSE, FIRE, 1 INCH PER 50 FEET	4	\$80.00	\$320.00
503	HUB, EZ-008 SWITCH 8-PORT, 10 BASE-T	1	\$679.00	\$679.00
503	HUB, EZ-008 SWITCH 8-PORT, 10 BASE-T	1	\$679.00	\$679.00
560	HUMIDIFIER	1	\$200.00	\$200.00
540	ICE MAKER	1	\$1,800.00	\$1,800.00
3106	ICE MAKER	1	\$2,450.00	\$2,450.00
210	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
509	ICE MAKER, LARGE	1	\$800.00	\$800.00
509	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
541	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
560	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
570	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
570	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
576	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
3103	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
3106	ICE MAKER, LARGE	1	\$3,768.07	\$3,768.07
3107	ICE MAKER, LARGE	1	\$3,330.00	\$3,330.00
540	ICE MAKER, SMALL	1	\$2,970.00	\$2,970.00
560	ICE MAKER, SMALL	1	\$2,970.00	\$2,970.00
570	ICE MAKER, SMALL	1	\$2,970.00	\$2,970.00
540	ICE MAKER, U-LINE	1	\$460.00	\$460.00
560	IMAGER, DRIVER	1	\$3,783.34	\$3,783.34
560	IMAGING SYSTEM AND MOBILE CONVERSION KIT	1	\$58,665.43	\$58,665.43
560	INTERACTIVE PANEL, 55", TOUCHSCREEN	1	\$3,000.00	\$3,000.00
440	INTERACTIVE PANEL, 65", TOUCHSCREEN	1	\$3,500.00	\$3,500.00
554	INTERACTIVE PANEL, 75", TOUCHSCREEN	1	\$4,500.00	\$4,500.00
475	INTERACTIVE PANEL, 84", TOUCHSCREEN	1	\$6,539.99	\$6,539.99
475	INTERACTIVE PANEL, 84", TOUCHSCREEN	1	\$6,539.99	\$6,539.99
475	INTERACTIVE PANEL, 84", TOUCHSCREEN	1	\$6,719.99	\$6,719.99
570	INTERCOM SYSTEM	1	\$2,500.00	\$2,500.00
576	INTERCOM SYSTEM	1	\$2,500.00	\$2,500.00
494	INTERCOM, DOOR	1	\$350.00	\$350.00

560	INTERCOM, DOOR	2	\$350.00	\$700.00
540	INTRAOSSEUS INFUSION SYSTEM	1	\$650.00	\$650.00
560	INVESTIGATION LASER, PISTOL GRIP, DUAL COLOR	1	\$24,995.00	\$24,995.00
210	IPAD	1	\$399.00	\$399.00
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$535.65	\$535.65
210	IPAD	1	\$597.08	\$597.08
210	IPAD	1	\$597.08	\$597.08
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$597.08	\$597.08
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$597.08	\$597.08
210	IPAD IPAD	1	\$597.08	\$597.08
210	IPAD	1	\$597.08	\$597.08
210	IPAD	1	\$614.06	\$614.06
210	IPAD	1	\$614.06 \$614.06	\$614.06
210 210	IPAD IPAD	1 1	\$597.08	\$614.06 \$597.08
210	IPAD	1	\$597.08	\$597.08
215	IPAD	1	\$597.08	\$597.08
341	IPAD	1	\$735.08	\$735.08
400	IPAD	1	\$899.99	\$899.99
402	IPAD	1	\$329.00	\$329.00
402	IPAD	1	\$809.08	\$809.08
405	IPAD	1	\$329.99	\$329.99
450	IPAD	1	\$329.99	\$329.99
450	IPAD	1	\$329.99	\$329.99
453	IPAD	1	\$299.00	\$299.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492 492	IPAD IPAD	1	\$1,293.00	\$1,293.00
		1	\$1,293.00	\$1,293.00
492 492	IPAD IPAD	1 1	\$1,293.00 \$1,293.00	\$1,293.00 \$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00

492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1		\$1,293.00
			\$1,293.00	
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
		1		\$1,293.00
492	IPAD		\$1,293.00	
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
	IPAD			
492 492	IPAD	1	\$1,293.00	\$1,293.00
		1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00

492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1		\$1,293.00
			\$1,293.00	
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
		1		\$1,293.00
492	IPAD		\$1,293.00	
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
	IPAD			
492 492	IPAD	1	\$1,293.00	\$1,293.00
		1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00

492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
	IPAD			
492		1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1	\$1,293.00	\$1,293.00
492	IPAD	1		\$1,293.00
			\$1,293.00	
492	IPAD	1	\$499.00	\$499.00
492	IPAD	1	\$499.00	\$499.00
492	IPAD	1	\$499.00	\$499.00
494	IPAD	1	\$323.24	\$323.24
494	IPAD	1	\$499.00	\$499.00
503	IPAD	1	\$499.00	\$499.00
503	IPAD	1	\$742.14	\$742.14
503	IPAD	1	\$564.06	\$564.06
503	IPAD	1	\$564.06	\$564.06
503	IPAD	1	\$550.00	\$550.00
503	IPAD	1	\$564.06	\$564.06
503	IPAD	1	\$1,195.08	\$1,195.08
503	IPAD	1	\$564.07	\$564.07
503	IPAD	1	\$499.00	\$499.00
503	IPAD	1	\$499.00	\$499.00
503	IPAD	1	\$452.11	\$452.11
503	IPAD	1	\$484.00	\$484.00
503	IPAD	1	\$564.07	\$564.07
503	IPAD	1	\$584.07 \$535.65	\$584.07 \$535.65
503	IPAD	1	\$499.00	\$499.00
503	IPAD	1	\$314.00	\$314.00

503	IPAD	1 \$899.99	\$899.99
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$329.99	\$329.99
503	IPAD	1 \$329.99	\$329.99
503	IPAD	1 \$499.00	\$499.00
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$649.99	\$649.99
503	IPAD	1 \$649.99	\$649.99
503	IPAD	1 \$809.08	\$809.08
503	IPAD	1 \$809.08	\$809.08
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.07	\$564.07
503	IPAD	1 \$564.06	\$564.06
503	IPAD	1 \$499.00	\$499.00
503	IPAD	1 \$484.00	\$484.00
509	IPAD	1 \$1,049.00	\$1,049.00
509	IPAD	1 \$1,049.00	\$1,049.00
509	IPAD	1 \$1,049.00	\$1,049.00
509	IPAD	1 \$1,049.00	\$1,049.00
509	IPAD	1 \$1,049.00	\$1,049.00
510	IPAD	1 \$399.00	\$399.00
510	IPAD	1 \$399.00	\$399.00
510	IPAD	1 \$399.00	\$399.00
510	IPAD	1 \$399.00	\$399.00
540	IPAD	1 \$528.83	\$528.83
542	IPAD	1 \$525.46	\$525.46
542	IPAD	1 \$525.46	\$525.46
542	IPAD	1 \$525.46	\$525.46
545	IPAD	1 \$499.00	\$499.00
545	IPAD	1 \$529.00	\$529.00
545	IPAD	1 \$529.00	\$529.00
545	IPAD	1 \$499.00	\$499.00
545	IPAD	1 \$499.00	\$499.00
545	IPAD	1 \$529.00	\$529.00
545	IPAD	1 \$1,293.00	\$1,293.00
545	IPAD	1 \$529.00	\$529.00
560	IPAD	1 \$429.00	\$429.00
560	IPAD	1 \$429.00	\$429.00
560	IPAD	1 \$429.00	\$429.00
560	IPAD	1 \$429.00	\$429.00
560	IPAD	1 \$2,048.00	\$2,048.00
560	IPAD	1 \$817.73	\$817.73
560	IPAD	1 \$550.00	\$550.00
560	IPAD	1 \$550.00	\$550.00
560	IPAD	1 \$499.00	\$499.00
560	IPAD	1 \$550.00	\$550.00
560	IPAD	1 \$429.00	\$429.00
560	IPAD	1 \$550.00	\$550.00
560	IPAD	1 \$649.99	\$649.99
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$499.00	\$499.00
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$499.00	\$499.00
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
576	IPAD	1 \$557.42	\$557.42
		1 \$499.00	\$499.00
576	IPAD	1 3494111	7499 1111

576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$499.00	\$499.00
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$499.00	\$499.00
576	IPAD	1	\$557.42	\$557.42
576	IPAD	1	\$499.00	\$499.00
576	IPAD	1	\$499.00	\$499.00
576	IPAD	1	\$499.00	\$499.00
581	IPAD	1		\$562.86
			\$562.86	
591	IPAD	1	\$329.00	\$329.00
591	IPAD	1	\$329.00	\$329.00
591	IPAD	1	\$329.00	\$329.00
591	IPAD	1	\$329.00	\$329.00
591	IPAD	1	\$299.00	\$299.00
591	IPAD	1	\$299.00	\$299.00
591	IPAD	1	\$329.00	\$329.00
1000	IPAD	1	\$525.46	\$525.46
3103	IPAD	1	\$399.00	\$399.00
3103	IPAD	1	\$399.00	\$399.00
				•
545	IV STAND, MEDICAL	1	\$40.00	\$40.00
210	JACK HAMMER, AIR, LARGE	1	\$1,712.80	\$1,712.80
560	JACK STAND	3	\$165.00	\$495.00
560	JACK STAND	4	\$165.00	\$660.00
882	JACK STAND	8	\$165.00	\$1,320.00
882	JACK STAND, 10 TON	1	\$2,130.00	\$2,130.00
882	JACK STAND, 10 TON	1	\$2,130.00	\$2,130.00
210	JACK STAND, 2 TON	2	\$430.00	\$860.00
210	JACK, HYDRAULIC	1	\$200.00	\$200.00
509	JACK, HYDRAULIC	1	\$200.00	\$200.00
882	JACK, HYDRAULIC	3	\$200.00	\$600.00
540		1	\$660.00	\$660.00
	JACK, PALLET, HYDRAULIC, 1-3 TON			
545	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$600.00	\$600.00
570	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$600.00	\$600.00
570	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$600.00	\$600.00
576	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$684.90	\$684.90
587	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$600.00	\$600.00
3107	JACK, PALLET, HYDRAULIC, 1-3 TON	1	\$600.00	\$600.00
210	JACK, PALLET, MOTORIZED	1	\$11,865.60	\$11,865.60
541	JACK, PALLET, MOTORIZED	2	\$2,375.00	\$4,750.00
882	JACK, PNEUMATIC, 20 TON	1	\$2,000.00	\$2,000.00
882	JACK, PNEUMATIC, 20 TON	1	\$2,000.00	\$2,000.00
882	JACK, PNEUMATIC, 20 TON	1	\$2,000.00	\$2,000.00
882	JACK, PNEUMATIC, 20 TON	1	\$2,000.00	\$2,000.00
560	JACK, SERVICE, HYDRAULIC, 10 TON	1	\$1,567.50	\$1,567.50
882	JACK, SERVICE, HYDRAULIC, 10 TON	1	\$1,700.00	\$1,700.00
882	JACK, SERVICE, HYDRAULIC, 10 TON	1	\$1,700.00	\$1,700.00
509	JACK, SERVICE, HYDRAULIC, 2 TON	1	\$255.00	\$255.00
553	JACK, SERVICE, HYDRAULIC, 2 TON	1	\$255.00	\$255.00
587	JACK, SERVICE, HYDRAULIC, 2 TON	1	\$255.00	\$255.00
882	JACK, SERVICE, HYDRAULIC, 2 TON	1	\$255.00	\$255.00
560	JACK, SERVICE, HYDRAULIC, 25 TON	1	\$1,567.50	\$1,567.50
882	JACK, SERVICE, HYDRAULIC, 25 TON	1	\$1,695.00	\$1,695.00
882	JACK, SERVICE, HYDRAULIC, 3-4 TON	1	\$925.00	\$925.00
882	JACK, SERVICE, HYDRAULIC, 3-4 TON	1	\$925.00	\$925.00
882	JACK, SERVICE, HYDRAULIC, 3-4 TON	1	\$925.00	\$925.00
560	JACK, TRANSMISSION, HEAVY DUTY, 1/2 TON	1	\$935.00	\$935.00
882	JACK, TRANSMISSION, HEAVY DUTY, 1/2 TON	1	\$935.00	\$935.00
560	K-9 VEHICLE CONTAINER (POLICE DOG)	1	\$2,686.09	\$2,686.09
545	KENNEL, DOG, 4 UNIT, MOBILE	1	\$2,350.00	\$2,350.00
545	KENNEL, DOG, 4 UNIT, MOBILE	1	\$2,350.00	\$2,350.00
545	KENNEL, DOG, 4 UNIT, MOBILE	1	\$2,350.00	\$2,350.00
545	KENNEL, DOG, 4 UNIT, MOBILE	1	\$2,350.00	\$2,350.00
545	KENNEL, DOG, 4 UNIT, MOBILE	1	\$2,350.00	\$2,350.00
			\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1		
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00

545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 6 UNIT, MOBILE	1	\$3,170.00	\$3,170.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$9,510.02	\$9,510.02
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, 9 UNIT, MOBILE	1	\$4,250.00	\$4,250.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$780.00	\$780.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$780.00	\$780.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
545	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$680.00	\$680.00
560	KENNEL, DOG, SINGLE UNIT, MOBILE KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$2,199.99	\$2,199.99
560	KENNEL, DOG, SINGLE UNIT, MOBILE	1	\$2,199.99	\$2,199.99
576	KETTLE, STEAM DIRECT, TILTING, W/ LEG STAND, 40 GAL	1	\$3,450.00	\$3,450.00
570	KETTLE, STEAM DIRECT, TILTING, W/ LEG STAND, 80 GAL.	1	\$4,300.00	\$4,300.00
570	KETTLE, STEAM DIRECT, TILTING, W/ LEG STAND, 80 GAL.	1	\$4,300.00	\$4,300.00
570	KETTLE, STEAM DIRECT, TILTING, W/LEG STAND, 80 GAL.	1	\$4,300.00	\$4,300.00
509	KEY CUTTING MACHINE, COMMERCIAL	1	\$2,600.00	\$2,600.00
509	KEY CUTTING MACHINE, COMMERCIAL, HIGH-END	1	\$6,550.00	\$6,550.00
509	KEY MACHINE	1	\$600.00	\$600.00
509	KEY MACHINE	1	\$600.00	\$600.00
509	KEY MACHINE	1	\$600.00	\$600.00
210	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
210	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
210	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
215	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
453	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
492	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
503	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
540	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
540	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
541	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
545	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
545	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
545	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
560	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
560	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
560	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
560	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
570	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
576	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
630	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
882	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
3106	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1		\$2,915.24
			\$2,915.24	
3106	KIOSK, BODY TEMPERATURE, W/ FACIAL RECOGNITION	1	\$2,915.24	\$2,915.24
499	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$1,500.00	\$1,500.00
499	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$1,500.00	\$1,500.00
499	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$1,500.00	\$1,500.00
499	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$1,500.00	\$1,500.00
572	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$3,410.00	\$3,410.00
572	KIOSK, CHECK-IN, W/ TICKET DISPENSER	1	\$3,410.00	\$3,410.00
503	KIOSK, DOCKET DISPLAY SYSTEM	1	\$10,250.00	\$10,250.00
3103	KIOSK, PAY STATION, AUTOMATIC	1	\$19,100.00	\$19,100.00
576		1	\$410.00	\$410.00
	KITCHEN MIXER, ELECTRIC			
453	LABEL & SIGN MAKER, EASY STEP	1	\$325.00	\$325.00
499	LABEL & SIGN MAKER, EASY STEP	1	\$325.00	\$325.00
499	LABEL & SIGN MAKER, EASY STEP	1	\$325.00	\$325.00

583	LABEL & SIGN MAKER, EASY STEP	2	\$325.00	\$650.00
630	LABEL & SIGN MAKER, EASY STEP	1	\$325.00	\$325.00
630	LABEL & SIGN MAKER, EASY STEP	1	\$325.00	\$325.00
403	LABEL MAKER, HANDHELD	4	\$300.00	\$1,200.00
403	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
494	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
495	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
509	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
540	LABEL MAKER, HANDHELD	3	\$300.00	\$900.00
581	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
583	LABEL MAKER, HANDHELD	1	\$300.00	\$300.00
509	LABEL/SIGN MAKER, EASY-STEP	1	\$4,013.63	\$4,013.63
509	LADDER, 9'-12'	1	\$250.00	\$250.00
540	LADDER, 9'-12'	1	\$250.00	\$250.00
587	LADDER, 9'-12'	1	\$250.00	\$250.00
503	LADDER, EXTENSION, 16'-24'	1	\$400.00	\$400.00
576	LADDER, EXTENSION, 16'-24'	1	\$400.00	\$400.00
509	LADDER, HORIZONTAL	1	\$380.00	\$380.00
540	LADDER, PLATFORM	1	\$400.00	\$400.00
560	LADDER, PLATFORM	1	\$400.00	\$400.00
210	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
211	LADDER, STEP, 2'-6'	_ 1	\$80.00	\$80.00
400	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
400	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
404		1	\$80.00	\$80.00
	LADDER, STEP, 2'-6'			
404	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
437	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
451	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
451	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
494	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
499	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
499	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
503	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
509	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
509	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
509	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
510	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
540	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
540	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
540	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
545	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
551	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
553	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2-6	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560 560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
560	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
570	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
570	LADDER, STEP, 2'-6'	2	\$151.00	\$302.00
576	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
576	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
576	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
576	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
576	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
581	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
581	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
587	LADDER, STEP, 2'-6'	2	\$80.00	\$160.00
630	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
3101	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
3101	LADDER, STEP, 2'-6'	1	\$80.00	\$80.00
210	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
499	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
503	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
503	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
503	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
			, -	

509	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
509	LADDER, STEP, 8'-14'	5	\$250.00	\$1,250.00
509	LADDER, STEP, 8'-14'	2	\$250.00	\$500.00
509	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
540	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
541	LADDER, STEP, 8'-14'	2	\$250.00	\$500.00
560	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
570	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
576	LADDER, STEP, 8'-14'	2	\$250.00	\$500.00
576	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
576	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
587	LADDER, STEP, 8'-14'	2	\$250.00	\$500.00
882	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
882	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
3106	LADDER, STEP, 8'-14'	1	\$250.00	\$250.00
560	LAMINATOR, 25"-27"	1	\$3,995.00	\$3,995.00
581	LAMINATOR, 25"-27"	1	\$1,650.00	\$1,650.00
452	LAMINATOR, DESKTOP	1	\$150.00	\$150.00
497	LAMINATOR, DESKTOP	1	\$150.00	\$150.00
540	LAMINATOR, DESKTOP	2	\$150.00	\$300.00
560	LAMINATOR, DESKTOP	3	\$150.00	\$450.00
587	LAMINATOR, DESKTOP	1	\$150.00	\$150.00
440	LAMP, FLOOR	1	\$100.00	\$100.00
440	LAMP, FLOOR	1	\$100.00	\$100.00
630		1		\$100.00
	LAMP, FLOOR		\$100.00	
630	LAMP, FLOOR	1	\$100.00	\$100.00
553	LAMP, TABLE	1	\$75.00	\$75.00
581	LANTERN/FLOODLIGHT, LED	1	\$320.00	\$320.00
540	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
540	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$1,490.00	\$1,490.00
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$916.67	\$916.67
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$1,490.00	\$1,490.00
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$998.60	\$998.60
1000	LARYNGOSCOPE, VIDEO, PORTABLE	1	\$1,490.00	\$1,490.00
560	LAUNCHER, NON-LETHAL, TACTICAL	1	\$1,019.04	\$1,019.04
560	LAUNCHER, NON-LETHAL, TACTICAL	1	\$1,019.04	\$1,019.04
560	LAUNCHER, NON-LETHAL, TACTICAL	1	\$1,019.04	\$1,019.04
560	LAUNCHER, NON-LETHAL, TACTICAL	1	\$2,851.51	\$2,851.51
560	LAUNCHER, NON-LETHAL, TACTICAL	1	\$2,851.51	\$2,851.51
210	LEAF BLOWER	6	\$200.00	\$1,200.00
570	LEAF BLOWER	1	\$200.00	\$200.00
3101		2		\$400.00
	LEAF BLOWER		\$200.00	
3101	LEAF BLOWER	1	\$200.00	\$200.00
3103	LEAF BLOWER	1	\$200.00	\$200.00
3106	LEAF BLOWER	1	\$200.00	\$200.00
3107	LEAF BLOWER	1	\$200.00	\$200.00
3103	LEAF BLOWER, SELF-PROPELLED	1	\$1,930.00	\$1,930.00
3103	LEAF BLOWER, SELF-PROPELLED	1	\$1,930.00	\$1,930.00
3103	LEAF BLOWER, SELF-PROPELLED	1	\$1,930.00	\$1,930.00
581	LEAK CONTROL KIT, HAZ-MAT	7	\$625.00	\$4,375.00
215	LECTERN W/ SOUND, PORTABLE	1	\$200.00	\$200.00
213	LECTERN, FLOOR	1	\$58.00	\$58.00
425	LECTERN, FLOOR	1	\$58.00	\$58.00
427	LECTERN, FLOOR	2	\$58.00	\$116.00
428	LECTERN, FLOOR	1	\$58.00	\$58.00
436	LECTERN, FLOOR	1	\$58.00	\$58.00
437	LECTERN, FLOOR	1	\$58.00	\$58.00
438	LECTERN, FLOOR	1	\$58.00	\$58.00
439	LECTERN, FLOOR	1	\$58.00	\$58.00
441	LECTERN, FLOOR	1	\$58.00	\$58.00
452	LECTERN, FLOOR	1	\$58.00	\$58.00
454	LECTERN, FLOOR	1	\$58.00	\$58.00
475	LECTERN, FLOOR	1	\$58.00	\$58.00
475	LECTERN, FLOOR	1	\$58.00	\$58.00
494				\$58.00 \$58.00
	LECTERN, FLOOR	1	\$58.00	\$58.00 \$58.00
494	LECTERN, FLOOR	1	\$58.00	
499	LECTERN, FLOOR	1	\$58.00	\$58.00
540	LECTERN, FLOOR	1	\$58.00	\$58.00
541	LECTERN, FLOOR	1	\$58.00	\$58.00
551	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00

560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
560	LECTERN, FLOOR	1	\$58.00	\$58.00
570	LECTERN, FLOOR	1	\$58.00	\$58.00
3106	LECTERN, FLOOR	1	\$58.00	\$58.00
3106	LECTERN, FLOOR	1	\$58.00	\$58.00
438	LECTERN, SOUND	1	\$445.00	\$445.00
540	LECTERN, SOUND	1	\$445.00	\$445.00
560	LECTERN, SOUND	1	\$445.00	\$445.00
440	LECTERN, TABLETOP	1	\$55.00	\$55.00
452	LECTERN, TABLETOP	2	\$55.00	\$110.00
554	LECTERN, W/ OVERHEAD PROJECTOR SHELF	1	\$475.00	\$475.00
402	LENS, CAMERA, DIGITAL, 70-200MM	1	\$1,950.00	\$1,950.00
560	LENS, CAMERA, DIGITAL, ZOOM-WIDE ANGLE	1	\$1,399.00	\$1,399.00
509	LEVEL, SURVEYOR	1	\$370.00	\$370.00
3103	LEVELER/ SCRAPER, LAND	1	\$2,500.00	\$2,500.00
3107	LEVELER/ SCRAPER, LAND	1	\$2,500.00	\$2,500.00
882	LIFT, 2 POST, 5 TON, VEHICLE	1	\$5,500.00	\$5,500.00
882	LIFT, 2 POST, 6 TON, VEHICLE	1	\$7,001.67	\$7,001.67
882	LIFT, 2 POST, 9 TON, VEHICLE	1	\$15,950.00	\$15,950.00
882	LIFT, 2 POST, 9 TON, VEHICLE	1	\$16,281.67	\$16,281.67
560	LIFT, 4 POST, 15 TON, VEHICLE	1	\$16,900.00	\$16,900.00
882	LIFT, AIR, 10 TON	1	\$7,000.00	\$7,000.00
210	LIFT, BOOM, SELF-PROPELLED	1	\$42,000.00	\$42,000.00
1000	LIFT, HYDRAULIC, AMBULANCE COT	1	\$23,400.00	\$23,400.00
3106	LIFT, SCISSOR	1	\$16,489.05	\$16,489.05
509	LIFT, VERTICAL	1	\$10,970.00	\$10,970.00
				. ,
570	LIGHT, MEDICAL EXAM	1	\$150.00	\$150.00
540	LIGHT, SOFTBOX	1	\$100.00	\$100.00
3106	LINE MARKER, DRY	1	\$220.00	\$220.00
210	LOADER, FRONT END	1	\$117,065.30	\$117,065.30
210	LOADER, FRONT END, HYDRAULIC ATTACHMENT	1	\$5,000.00	\$5,000.00
3106	LOADER, FRONT END, HYDRAULIC ATTACHMENT	1	\$3,568.50	\$3,568.50
210	LOADER, FRONT END, W/ BACKHOE	1	\$81,167.00	\$81,167.00
210	LOADER, FRONT END, W/ BACKHOE	1	\$80,389.00	\$80,389.00
210	LOADER, FRONT END, W/ BACKHOE	1	\$125,628.00	\$125,628.00
882	LOADER, FRONT END, W/ BACKHOE	1	\$68,756.00	\$68,756.00
210	LOADER, SKID-STEER	1	\$51,881.00	\$51,881.00
3103	LOADER, SKID-STEER	1	\$41,689.80	\$41,689.80
3106	LOADER, SKID-STEER	1	\$66,088.61	\$66,088.61
3106	LOADER, SKID-STEER	1	\$47,049.12	\$47,049.12
3107	LOADER, SKID-STEER	1	\$38,000.00	\$38,000.00
210	LOADER, TRACK, W/ RIPPER	1	\$162,148.00	\$162,148.00
210	LOADER, TRACK, W/ RIPPER	1	\$193,755.00	\$193,755.00
495	LOADER, TRACK, W/ RIPPER	1	\$230,330.44	\$230,330.44
210		1		
	LOADER, WHEEL		\$72,500.00	\$72,500.00
210	LOADER, WHEEL	1	\$102,135.00	\$102,135.00
210	LOADER, WHEEL	1	\$183,490.00	\$183,490.00
210	LOADER, WHEEL	1	\$159,907.00	\$159,907.00
210	LOADER, WHEEL	1	\$189,563.00	\$189,563.00
495	LOADER, WHEEL	1	\$168,272.00	\$168,272.00
341	LOCKER, 3 UNIT	1	\$200.00	\$200.00
				·
503	LOCKER, 3 UNIT	1	\$200.00	\$200.00
545	LOCKER, 3 UNIT	2	\$200.00	\$400.00
570	LOCKER, 3 UNIT	6	\$200.00	\$1,200.00
570	LOCKER, 3 UNIT	3	\$200.00	\$600.00
540	LOCKER, DOUBLE UNIT	6	\$152.00	\$912.00
551	LOCKER, DOUBLE UNIT	1	\$152.00	\$152.00
552	LOCKER, DOUBLE UNIT	3	\$152.00	\$456.00
210	LOCKER, STUDENT, DOUBLE TIER, 1-6 OPENINGS	3	\$300.00	\$900.00
210	LOCKER, STUDENT, DOUBLE TIER, 2 OPENING	4	\$300.00	\$1,200.00
560	LOCKER, STUDENT, SINGLE TIER, 1-6 OPENINGS	1	\$200.00	\$200.00
3107	LOCKER, STUDENT, SINGLE TIER, 1-6 OPENINGS	1	\$200.00	\$200.00
540	LOCKER, STUDENT-SINGLE TIER, 1 OPENING	5	\$100.00	\$500.00
570	LOUNGER, NURSE	1	\$465.00	\$465.00
576		1		\$465.00
	LOUNGER, NURSE		\$465.00	
576	MACHINE, FINGERPRINT COMPARISON	1	\$500.00	\$500.00
405	MAGAZINE RACK	1	\$75.00	\$75.00
439	MAGAZINE RACK	1	\$75.00	\$75.00
499	MAGAZINE RACK	1	\$75.00	\$75.00
553	MAGAZINE RACK	1	\$75.00	\$75.00
554	MAGAZINE RACK	1	\$75.00	\$75.00
576	MAGAZINE RACK	1	\$75.00	\$75.00
370	MIAUAZINE NACK	1	00.57چ	\$75.00

560	MAGAZINE, EXPLOSIVE STORAGE, CABINET	1	\$5,900.00	\$5,900.00
560	MAGAZINE, EXPLOSIVE STORAGE, TOP-OPENING	1	\$2,550.00	\$2,550.00
560	MAGAZINE, EXPLOSIVE STORAGE, TOP-OPENING	1	\$2,550.00	\$2,550.00
560	MANIKIN, ADULT INTUBATION	1	\$895.00	\$895.00
540	MANIKIN, CPR	1	\$620.00	\$620.00
540	MANIKIN, CPR, ADULT, TORSO	14	\$120.00	\$1,680.00
540	MANIKIN, CPR, ADULT, TORSO	8	\$120.00	\$960.00
576		53	\$120.00	
	MANIKIN, CPR, ADULT, TORSO			\$6,360.00
540	MANIKIN, CPR, INFANT	8	\$350.00	\$2,800.00
540	MANIKIN, CPR, INFANT	4	\$350.00	\$1,400.00
540	MANIKIN, CPR, JUNIOR/ CHILD	1	\$605.00	\$605.00
541	MANIKIN, CPR, JUNIOR/ CHILD	1	\$605.00	\$605.00
541	MANIKIN, CPR, JUNIOR/ CHILD	1	\$605.00	\$605.00
541	MANIKIN, CPR, JUNIOR/ CHILD	1	\$605.00	\$605.00
541	MANIKIN, CPR, JUNIOR/ CHILD	1	\$605.00	\$605.00
540	MANIKIN, INFANT	2	\$450.00	\$900.00
540	MANIKIN, MEDICAL TRAINING	1	\$2,740.00	\$2,740.00
540	MANIKIN, MEDICAL TRAINING	1	\$2,740.00	\$2,740.00
540	MANIKIN, MEDICAL TRAINING	1	\$2,740.00	\$2,740.00
581	MANIKIN, MEDICAL TRAINING	1	\$2,740.00	\$2,740.00
540	MANIKIN, RESUSCITATION, INFANT	1	\$1,740.00	\$1,740.00
540	MANIKIN, RESUSCITATION, INFANT	1	\$1,740.00	\$1,740.00
540	MANIKINS, CPR, FAMILY PACK	1	\$580.00	\$580.00
540		1		\$580.00
	MANIKINS, CPR, FAMILY PACK		\$580.00	
576	MAP, 2 SET, U.S. & WORLD, WALL-MOUNTED	1	\$245.00	\$245.00
503	MASTER CABLE & ANTENNA ANALYZER	1	\$7,937.02	\$7,937.02
503	MASTER CABLE & ANTENNA ANALYZER	1	\$33,180.00	\$33,180.00
503	MASTER CABLE & ANTENNA ANALYZER	1	\$30,450.00	\$30,450.00
503	MASTER CABLE & ANTENNA ANALYZER	1	\$30,870.75	\$30,870.75
560	MAT, 2' X 6'	15	\$60.00	\$900.00
576	MAT, 2' X 6'	6	\$60.00	\$360.00
576	MAT, 4' X 6'	25	\$100.00	\$2,500.00
541	MATRIX SWITCHER, AUDIO/VIDEO	1	\$1,095.00	\$1,095.00
503	MATRIX SWITCHER, DIGITAL MEDIA	1	\$18,400.00	\$18,400.00
503	MATRIX SWITCHER, DIGITAL MEDIA	1	\$18,400.00	\$18,400.00
560	MATRIX SWITCHER, DIGITAL MEDIA	1	\$18,400.00	\$18,400.00
509	MEASURING WHEEL	1	\$150.00	\$150.00
560	MECHANIC CREEPER	2	\$40.00	\$80.00
570	METAL DETECTOR, HANDHELD	2	\$80.00	\$160.00
570		4	\$80.00	\$320.00
	METAL DETECTOR, HANDHELD			
570	METAL DETECTOR, HANDHELD	1	\$80.00	\$80.00
570	METAL DETECTOR, HANDHELD	8	\$80.00	\$640.00
570	METAL DETECTOR, HANDHELD	1	\$80.00	\$80.00
570	METAL DETECTOR, HANDHELD	1	\$80.00	\$80.00
403	MICROFICHE READER/PRINTER	1	\$2,500.00	\$2,500.00
403	MICROFICHE READER/PRINTER	1	\$2,500.00	\$2,500.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
503	MICROPHONE SYSTEM, WIRELESS	1	\$1,000.00	\$1,000.00
400	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
438	MICROPHONE, ALL TYPES, W/ OR W/O STAND	3	\$100.00	\$300.00
439	MICROPHONE, ALL TYPES, W/ OR W/O STAND	2	\$100.00	\$200.00
451	MICROPHONE, ALL TYPES, W/ OR W/O STAND	4	\$100.00	\$400.00
	, , , , ,			
454	MICROPHONE, ALL TYPES, W/ OR W/O STAND	3	\$100.00	\$300.00
499	MICROPHONE, ALL TYPES, W/ OR W/O STAND	2	\$100.00	\$200.00
540	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
541	MICROPHONE, ALL TYPES, W/ OR W/O STAND	2	\$100.00	\$200.00
551	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
560	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
576	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
581	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
581	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
581	MICROPHONE, ALL TYPES, W/ OR W/O STAND	1	\$100.00	\$100.00
3106	MICROPHONE, ALL TYPES, W/ OR W/O STAND	14	\$100.00	\$1,400.00
3106	MICROPHONE, ALL TYPES, W/ OR W/O STAND	6	\$100.00	\$600.00
570	MICROSCOPE, BINOCULAR, ELECTRONIC	1	\$670.00	\$670.00
210	MICROWAVE OVEN	1	\$125.00	\$125.00
210	MICROWAVE OVEN	2	\$125.00	\$250.00
210	MICROWAVE OVEN	1	\$125.00	\$125.00
210	MICROWAVE OVEN	1	\$125.00	\$125.00
211	MICROWAVE OVEN	1	\$125.00	\$125.00
213	MICROWAVE OVEN	1	\$125.00	\$125.00
214	MICROWAVE OVEN	1	\$125.00	\$125.00

400	MICROWAVE OVEN	1	\$125.00	\$125.00
402	MICROWAVE OVEN	1	\$125.00	\$125.00
405	MICROWAVE OVEN	1	\$125.00	\$125.00
438	MICROWAVE OVEN	1	\$125.00	\$125.00
440	MICROWAVE OVEN	1	\$125.00	\$125.00
440	MICROWAVE OVEN	1	\$125.00	\$125.00
441	MICROWAVE OVEN	1	\$125.00	\$125.00
450	MICROWAVE OVEN	1	\$125.00	\$125.00
450	MICROWAVE OVEN	1	\$125.00	\$125.00
451	MICROWAVE OVEN	1	\$125.00	\$125.00
452	MICROWAVE OVEN	1	\$125.00	\$125.00
453	MICROWAVE OVEN	1	\$125.00	\$125.00
475	MICROWAVE OVEN	2	\$125.00	\$250.00
492	MICROWAVE OVEN	1	\$125.00	\$125.00
494	MICROWAVE OVEN	1	\$125.00	\$125.00
495	MICROWAVE OVEN	1	\$125.00	\$125.00
495	MICROWAVE OVEN	2	\$125.00	\$250.00
497	MICROWAVE OVEN	1	\$125.00	\$125.00
499	MICROWAVE OVEN	1	\$125.00	\$125.00
499	MICROWAVE OVEN	2	\$125.00	\$250.00
499	MICROWAVE OVEN	1	\$125.00	\$125.00
503	MICROWAVE OVEN	1	\$125.00	\$125.00
509	MICROWAVE OVEN	1	\$125.00	\$125.00
509	MICROWAVE OVEN	1	\$125.00	\$125.00
540	MICROWAVE OVEN	2	\$125.00	\$250.00
540	MICROMANE OVEN	2		\$250.00
	MICROWAVE OVEN		\$125.00	
540	MICROWAVE OVEN	2	\$125.00	\$250.00
540	MICROWAVE OVEN	1	\$125.00	\$125.00
540	MICROWAVE OVEN	1	\$125.00	\$125.00
541	MICROWAVE OVEN	1	\$125.00	\$125.00
				•
541	MICROWAVE OVEN	1	\$125.00	\$125.00
541	MICROWAVE OVEN	2	\$125.00	\$250.00
545	MICROWAVE OVEN	2	\$125.00	\$250.00
545	MICROWAVE OVEN	1	\$125.00	\$125.00
551	MICROWAVE OVEN	2	\$125.00	\$250.00
551	MICROWAVE OVEN	1	\$125.00	\$125.00
552	MICROWAVE OVEN	1	\$125.00	\$125.00
553	MICROWAVE OVEN	1	\$125.00	\$125.00
560	MICROWAVE OVEN	1	\$125.00	\$125.00
560	MICROWAVE OVEN	2	\$125.00	\$250.00
560	MICROWAVE OVEN	1	\$125.00	\$125.00
560	MICROWAVE OVEN	2	\$125.00	\$250.00
560	MICROWAVE OVEN	1	\$125.00	\$125.00
560	MICROWAVE OVEN	2	\$125.00	\$250.00
560	MICROWAVE OVEN	1	\$125.00	\$125.00
570	MICROWAVE OVEN	1	\$125.00	\$125.00
570	MICROWAVE OVEN	4	\$125.00	\$500.00
				\$125.00
570	MICROWAVE OVEN	1	\$125.00	•
570	MICROWAVE OVEN	2	\$125.00	\$250.00
570	MICROWAVE OVEN	1	\$125.00	\$125.00
570	MICROWAVE OVEN	1	\$125.00	\$125.00
570	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
	MICROWAVE OVEN			\$125.00
576		1	\$125.00	•
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	3	\$125.00	\$375.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MICROWAVE OVEN	1	\$125.00	\$125.00
581	MICROWAVE OVEN	1	\$125.00	\$125.00
587	MICROWAVE OVEN	1	\$125.00	\$125.00
591	MICROWAVE OVEN	1	\$125.00	\$125.00
591	MICROWAVE OVEN	1	\$125.00	\$125.00
591				
	MICROWAVE OVEN	1	\$125.00	\$125.00
665	MICROWAVE OVEN	1	\$125.00	\$125.00
576	MIXER, 30 QUART	1	\$7,500.00	\$7,500.00
540	MIXER, 6-CHANNEL	1	\$500.00	\$500.00
570	MIXER, 60 QUART	1	\$12,530.00	\$12,530.00
570	MIXER, 60 QUART	1	\$12,530.00	\$12,530.00
545	MIXER, SOUND SYSTEM	1	\$2,175.00	\$2,175.00
5.5	many soons storem	•	72,273.00	ΨZ,173.00

545	MIXER, SOUND SYSTEM	1	\$2,175.00	\$2,175.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
503	MODULATOR, AUDIO/ VIDEO	1	\$995.00	\$995.00
403	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,699.59	\$2,699.59
			. ,	
450	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$600.00	\$600.00
452	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$600.00	\$600.00
452	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$600.00	\$600.00
453	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,516.69	\$2,516.69
453	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,458.63	\$2,458.63
453	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,516.69	\$2,516.69
453	•	1		
	MONEY COUNTER, ELECTRIC, HIGH SPEED		\$2,516.69	\$2,516.69
453	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,860.84	\$2,860.84
453	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,860.84	\$2,860.84
454	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$600.00	\$600.00
497	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$6,433.00	\$6,433.00
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$3,244.11	\$3,244.11
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,198.70	\$2,198.70
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$3,902.98	\$3,902.98
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,505.68	\$2,505.68
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,729.81	\$2,729.81
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,737.55	\$2,737.55
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,198.70	\$2,198.70
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,198.70	\$2,198.70
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,198.70	\$2,198.70
499	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$2,722.93	\$2,722.93
551	MONEY COUNTER, ELECTRIC, HIGH SPEED	1	\$600.00	\$600.00
210	MONITOR, 15"-29"	2	\$200.00	\$400.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	2	\$200.00	\$400.00
210	MONITOR, 15"-29"	2	\$200.00	\$400.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
	•			
210	MONITOR, 15"-29" MONITOR, 15"-29"	1	\$200.00	\$200.00
210	•	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	2	\$200.00	\$400.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
210	MONITOR, 15"-29"	2		\$400.00
			\$200.00	
210	MONITOR, 15"-29"	1	\$200.00	\$200.00
211	MONITOR, 15"-29"	2	\$200.00	\$400.00
211	MONITOR, 15"-29"	1	\$200.00	\$200.00
212	MONITOR, 15"-29"	1	\$200.00	\$200.00
213	MONITOR, 15"-29"	1	\$200.00	\$200.00
215	MONITOR, 15"-29"	2	\$200.00	\$400.00
215	MONITOR, 15"-29"	1	\$200.00	\$200.00
215	MONITOR, 15"-29"	1	\$200.00	\$200.00
215	MONITOR, 15"-29"	1	\$200.00	\$200.00
215	MONITOR, 15"-29"	1	\$200.00	\$200.00

341	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
341	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
341	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
341	MONITOR, 15"-29"	2 \$200	
341	MONITOR, 15"-29"	1 \$200	
400	MONITOR, 15"-29"	2 \$200	
400	MONITOR, 15"-29"	1 \$200	
400	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
400	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
402	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
402	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
402	MONITOR, 15"-29"	2 \$200	
			•
402	MONITOR, 15"-29"	1 \$200	
402	MONITOR, 15"-29"	2 \$200	
402	MONITOR, 15"-29"	2 \$200	
402	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
402	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
402	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
402	MONITOR, 15"-29"	2 \$200	
402	MONITOR, 15"-29"	1 \$200	
402	MONITOR, 15"-29"	2 \$200	
402	MONITOR, 15"-29"	2 \$200	
402	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
403	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
403	MONITOR, 15"-29"	5 \$200	0.00 \$1,000.00
403	MONITOR, 15"-29"	9 \$200	
403	MONITOR, 15"-29"	2 \$200	
404	MONITOR, 15"-29"	1 \$200	
404	MONITOR, 15"-29"	4 \$200	
404	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
404	MONITOR, 15"-29"	3 \$200	0.00 \$600.00
405	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
405	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
405	MONITOR, 15"-29"	2 \$200	
405	MONITOR, 15"-29"		
405	MONITOR, 15"-29"	2 \$200	
405	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
405	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
425	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
428	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
436	MONITOR, 15"-29"	2 \$200	
436	MONITOR, 15"-29"	2 \$200	
436	MONITOR, 15"-29"	1 \$200	
437	MONITOR, 15"-29"	1 \$200	
437	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
438	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
439	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
440	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
440	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
440	MONITOR, 15"-29"	4 \$200	0.00 \$800.00
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
440	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
440	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
440	MONITOR, 15"-29"	1 \$200	
440	MONITOR, 15"-29"	3 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	
440	MONITOR, 15"-29"	2 \$200	0.00 \$400.00
440	MONITOR, 15"-29"	1 \$200	0.00 \$200.00
441	MONITOR, 15"-29"	1 \$200	
450	MONITOR, 15"-29"	1 \$200	
450	MONITOR, 15"-29"	33 \$200	
450	MONITOR, 15"-29"	1 \$200	
450	MONITOR, 15"-29"	1 \$200	0.00 \$200.00

451	MONITOR, 15"-29"	3	\$200.00	\$600.00
451	MONITOR, 15"-29"	1	\$200.00	\$200.00
451	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
451	MONITOR, 15"-29"	4	\$200.00	\$800.00
451	MONITOR, 15"-29"	12	\$200.00	\$2,400.00
451	MONITOR, 15"-29"	1	\$200.00	\$200.00
451	MONITOR, 15"-29"	1	\$200.00	\$200.00
452	MONITOR, 15"-29"	3	\$200.00	\$600.00
452	MONITOR, 15"-29"	1	\$200.00	\$200.00
452	MONITOR, 15"-29"	1	\$200.00	\$200.00
452	MONITOR, 15"-29"	1	\$200.00	\$200.00
452	MONITOR, 15"-29"	1	\$200.00	\$200.00
453	MONITOR, 15"-29"	1	\$200.00	\$200.00
453	MONITOR, 15"-29"	2	\$200.00	\$400.00
453	MONITOR, 15"-29"	11	\$200.00	\$2,200.00
453	MONITOR, 15"-29"	1	\$200.00	\$200.00
453	MONITOR, 15"-29"	1	\$200.00	\$200.00
453	MONITOR, 15"-29"	3	\$200.00	\$600.00
453	MONITOR, 15"-29"	2	\$200.00	\$400.00
453	MONITOR, 15"-29"	4	\$200.00	\$800.00
454	MONITOR, 15"-29"	1	\$200.00	\$200.00
454	MONITOR, 15"-29"	2	\$200.00	\$400.00
454	MONITOR, 15"-29"	5	\$200.00	\$1,000.00
454	MONITOR, 15"-29"	1	\$200.00	\$200.00
454	MONITOR, 15"-29"	1	\$200.00	\$200.00
454	MONITOR, 15"-29"	1	\$200.00	\$200.00
454	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	7	\$200.00	\$1,400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	11	\$200.00	\$2,200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	1	\$200.00	\$200.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	2	\$200.00	\$400.00
475	MONITOR, 15"-29"	3	\$200.00	\$600.00
475	MONITOR, 15"-29"	4	\$200.00	\$800.00
475	MONITOR, 15"-29"	3	\$200.00	\$600.00
475	MONITOR, 15"-29"	4	\$200.00	\$800.00
492	MONITOR, 15"-29"	1	\$200.00	\$200.00
492	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
494	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00

		_		
495	MONITOR, 15"-29"	7	\$200.00	\$1,400.00
495	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	2	\$200.00	\$400.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
495	MONITOR, 15"-29"	1	\$200.00	\$200.00
497	MONITOR, 15"-29"	11	\$200.00	\$2,200.00
497	MONITOR, 15"-29"	3	\$200.00	\$600.00
497	MONITOR, 15"-29"	1	\$200.00	\$200.00
497	MONITOR, 15"-29"	1	\$200.00	\$200.00
497	MONITOR, 15"-29"	2	\$200.00	\$400.00
499	MONITOR, 15"-29"	2	\$200.00	\$400.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	12	\$200.00	\$2,400.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	4	\$200.00	\$800.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	1	\$200.00	\$200.00
499	MONITOR, 15"-29"	8	\$200.00	\$1,600.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	8	\$200.00	\$1,600.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	20	\$200.00	\$4,000.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	2	\$200.00	\$400.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
503	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	2	\$200.00	\$400.00
509	MONITOR, 15"-29"	2	\$200.00	\$400.00
509	MONITOR, 15"-29"	4	\$200.00	\$800.00
509	MONITOR, 15"-29"	5	\$200.00	\$1,000.00
509	MONITOR, 15"-29"	1	\$200.00	\$200.00
509	MONITOR, 15"-29"	2	\$200.00	\$400.00
510	MONITOR, 15"-29"	3	\$200.00	\$600.00
510	MONITOR, 15"-29"	1	\$200.00	\$200.00
510	MONITOR, 15"-29"	1	\$200.00	\$200.00
510	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	5	\$200.00	\$1,000.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	3	\$200.00	\$600.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	3	\$200.00	\$600.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	4	\$200.00	\$800.00
540	MONITOR, 15"-29"	3	\$200.00	\$600.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	3	\$200.00	\$600.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00

540	MONITOR, 15"-29"	4	\$200.00	\$800.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	2	\$200.00	\$400.00
540	MONITOR, 15"-29"	3	\$200.00	\$600.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
540	MONITOR, 15"-29"	1	\$200.00	\$200.00
541	MONITOR, 15"-29"	8	\$200.00	\$1,600.00
541	MONITOR, 15"-29"	1	\$200.00	\$200.00
541	MONITOR, 15"-29"	2	\$200.00	\$400.00
541	MONITOR, 15"-29"	8	\$200.00	\$1,600.00
541	MONITOR, 15"-29"	69	\$200.00	\$13,800.00
541	MONITOR, 15"-29"	23	\$200.00	\$4,600.00
541	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
541	MONITOR, 15"-29"	1	\$200.00	\$200.00
541	MONITOR, 15"-29"	4	\$200.00	\$800.00
541	MONITOR, 15"-29"	64	\$200.00	\$12,800.00
541	MONITOR, 15"-29"	12	\$200.00	\$2,400.00
542	MONITOR, 15"-29"	1		\$200.00
			\$200.00	
542	MONITOR, 15"-29"	1	\$200.00	\$200.00
542	MONITOR, 15"-29"	1	\$200.00	\$200.00
542	MONITOR, 15"-29"	1	\$200.00	\$200.00
545	MONITOR, 15"-29"	1	\$200.00	\$200.00
545	MONITOR, 15"-29"	1	\$200.00	\$200.00
545	MONITOR, 15"-29"	1	\$200.00	\$200.00
551	MONITOR, 15"-29"	3	\$200.00	\$600.00
551	MONITOR, 15"-29"	5	\$200.00	\$1,000.00
551	MONITOR, 15"-29"	1	\$200.00	\$200.00
551	MONITOR, 15"-29"	1	\$200.00	\$200.00
551	MONITOR, 15"-29"	1	\$200.00	\$200.00
551	MONITOR, 15"-29"	1	\$200.00	\$200.00
551	MONITOR, 15"-29"	1	\$200.00	\$200.00
552	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
552	MONITOR, 15"-29"	2	\$200.00	\$400.00
552	MONITOR, 15"-29"	1	\$200.00	\$200.00
552	MONITOR, 15"-29"	1	\$200.00	\$200.00
553	MONITOR, 15"-29"	2	\$200.00	\$400.00
553	MONITOR, 15"-29"	3	\$200.00	\$600.00
553	MONITOR, 15"-29"	1	\$200.00	\$200.00
553	MONITOR, 15"-29"	1	\$200.00	\$200.00
553	MONITOR, 15"-29"	2	\$200.00	\$400.00
553	MONITOR, 15"-29"	1	\$200.00	\$200.00
553	MONITOR, 15"-29"	3	\$200.00	\$600.00
553 554			\$200.00	
	MONITOR, 15"-29"	1	·	\$200.00
554	MONITOR, 15"-29"	1	\$200.00	\$200.00
554	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	3	\$200.00	\$600.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	5	\$200.00	\$1,000.00
560	MONITOR, 15"-29"	4	\$200.00	\$800.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	3	\$200.00	\$600.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
	MONITOR, 15"-29"			
560 560		1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00

560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	4	\$200.00	\$800.00
560	MONITOR, 15"-29"	4	\$200.00	\$800.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	3	\$200.00	\$600.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1		\$200.00
	•		\$200.00	
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	3	\$200.00	\$600.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	2		\$400.00
			\$200.00	
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	11	\$200.00	\$2,200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	4	\$200.00	\$800.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	2	\$200.00	\$400.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
560	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	2	\$200.00	\$400.00
570	MONITOR, 15"-29"	2	\$200.00	\$400.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
	•			
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	2	\$200.00	\$400.00
570	MONITOR, 15"-29"	2	\$200.00	\$400.00
570	MONITOR, 15"-29"	8	\$200.00	\$1,600.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	4	\$200.00	\$800.00
570	MONITOR, 15"-29"	2	\$200.00	\$400.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
		2		
570	MONITOR, 15"-29"		\$200.00	\$400.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00

570	MONITOR, 15"-29"	1	\$200.00	\$200.00
570	MONITOR, 15"-29"	1	\$200.00	\$200.00
572	MONITOR, 15"-29"	1	\$200.00	\$200.00
572	MONITOR, 15"-29"	1	\$200.00	\$200.00
572	MONITOR, 15"-29"	1	\$200.00	\$200.00
572	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	,	1	\$200.00	\$200.00
	MONITOR, 15"-29"			
576	MONITOR, 15"-29"	3	\$200.00	\$600.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
	MONITOR, 15"-29"	1		
576	•		\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
	•			·
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	3	\$200.00	\$600.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
	MONITOR, 15"-29"			
576	•	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	3	\$200.00	\$600.00
576	MONITOR, 15"-29"	4	\$200.00	\$800.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15 -29"	3	\$200.00	\$600.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	1	\$200.00	\$200.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15"-29"	2	\$200.00	\$400.00
576	MONITOR, 15 25"	2	\$200.00	\$400.00
581	MONITOR, 15"-29"	1	\$200.00	\$200.00
581	MONITOR, 15"-29"	1	\$200.00	\$200.00
581	MONITOR, 15"-29"	1	\$200.00	\$200.00
581	MONITOR, 15"-29"	3	\$200.00	\$600.00
581	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
581	MONITOR, 15"-29"	2	\$200.00	\$400.00
581	MONITOR, 15"-29"	1	\$200.00	\$200.00
583	MONITOR, 15 25"	4	\$200.00	\$800.00
583	MONITOR, 15"-29"	1	\$200.00	\$200.00
583	MONITOR, 15"-29"	1	\$200.00	\$200.00
587	MONITOR, 15"-29"	1	\$200.00	\$200.00
587	MONITOR, 15"-29"	2	\$200.00	\$400.00

591	MONITOR, 15"-29"	3	\$200.00	\$600.00
591	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	2	\$200.00	\$400.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	2	\$200.00	\$400.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	2	\$200.00	\$400.00
630	MONITOR, 15"-29"	3	\$200.00	\$600.00
630	MONITOR, 15"-29"	2	\$200.00	\$400.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
630	MONITOR, 15"-29"	1	\$200.00	\$200.00
661	MONITOR, 15"-29"	6	\$200.00	\$1,200.00
661	MONITOR, 15"-29"	1	\$200.00	\$200.00
882	MONITOR, 15"-29"	2	\$200.00	\$400.00
882	MONITOR, 15"-29"	4	\$200.00	\$800.00
882	MONITOR, 15"-29"	1	\$200.00	\$200.00
882	MONITOR, 15"-29"	3	\$200.00	\$600.00
3106	MONITOR, 15"-29"	1	\$200.00	\$200.00
3106	MONITOR, 15"-29"	1	\$200.00	\$200.00
3106	MONITOR, 15"-29"	1	\$200.00	\$200.00
438	MONITOR, 30"	1	\$1,979.00	\$1,979.00
440	MONITOR, 30"	1	\$1,979.00	\$1,979.00
503	MONITOR, 30"-42"	1	\$650.00	\$650.00
540	MONITOR, 30"-42"	1	\$650.00	\$650.00
553	MONITOR, 30"-42"	1	\$650.00	\$650.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
440	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
475	MONITOR, 33"	1	\$590.00	\$590.00
541	MONITOR, 33"	1	\$590.00	\$590.00
541	MONITOR, 33"	1	\$590.00	\$590.00
541	MONITOR, 33"	1	\$590.00	\$590.00
570	MONITOR, 33"	1	\$590.00	\$590.00
503	MONITOR, AUDIO	1	\$885.00	\$885.00
	MONITOR, BLOOD PRESSURE			
570	,	1	\$2,100.00	\$2,100.00
570	MONITOR, BLOOD PRESSURE	1	\$2,100.00	\$2,100.00
560	MONITOR, CAMERA-TOP, 7 INCH	1	\$190.00	\$190.00
570	MONITOR, CAMERA-TOP, 7 INCH	1	\$190.00	\$190.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
440	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1		\$350.00
			\$350.00	
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00

475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
475	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
541	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
560	MONITOR, CURVED, 27"-32"	1	\$350.00	\$350.00
	, ,			
404	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$832.90	\$832.90
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
	• •			
440	MONITOR, CURVED, 34"-37"	1	\$832.90	\$832.90
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
440	MONITOR, CURVED, 34"-37"	1	\$832.90	\$832.90
440	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$832.90	\$832.90
	• •			
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
475	MONITOR, CURVED, 34"-37"	1	\$980.00	\$980.00
441	MONITOR, LED, 47"-65"	1	\$2,000.00	\$2,000.00
441	MONITOR, LED, 47"-65"	1	\$2,000.00	\$2,000.00
441	MONITOR, LED, 47"-65"	1	\$2,000.00	\$2,000.00
591	MONITOR, LED, 47"-65"	1	\$2,000.00	\$2,000.00
591	MONITOR, LED, 47"-65"	1	\$2,000.00	\$2,000.00
542	MONITOR, MULTI-GAS, WIRELESS	1	\$1,936.00	\$1,936.00
542	MONITOR, MULTI-GAS, WIRELESS	1	\$4,460.00	\$4,460.00
542	MONITOR, MULTI-GAS, WIRELESS	1	\$3,354.12	\$3,354.12
542	MONITOR, MULTI-GAS, WIRELESS	1	\$7,460.00	\$7,460.00
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$10,508.56	\$10,508.56
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$15,738.65	\$15,738.65
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$10,508.56	\$10,508.56
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$15,738.65	\$15,738.65
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$10,508.56	\$10,508.56
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$10,508.56	\$10,508.56
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$15,738.65	\$15,738.65
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$1,500.00	\$1,500.00
		1		
542	MONITOR, MULTI-THREAT, WIRELESS		\$15,738.65	\$15,738.65
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$10,508.56	\$10,508.56
542	MONITOR, MULTI-THREAT, WIRELESS	1	\$12,000.00	\$12,000.00
570	MONITOR, TOUCHSCREEN, 30"-46"	1	\$2,000.00	\$2,000.00
560	MONITOR, VITAL SIGNS	1	\$1,650.00	\$1,650.00
560	MONITOR, VITAL SIGNS	1	\$1,650.00	\$1,650.00
560	MONITOR, VITAL SIGNS	1	\$1,650.00	\$1,650.00
560	MONITOR, VITAL SIGNS	1	\$1,650.00	\$1,650.00
570	MONITOR, VITAL SIGNS	1	\$1,650.00	\$1,650.00
545	MONITOR, VITAL SIGNS, VETERINARY	1	\$3,409.69	\$3,409.69
542	MONITOR, VITAE SIGNS, VETERINARY MONITOR/ DETECTOR, MULTI-GAS	1	\$1,276.09	\$1,276.09
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,550.00	\$1,550.00
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,932.45	\$1,932.45
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,276.09	\$1,276.09
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,276.09	\$1,276.09
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,550.00	\$1,550.00
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,936.00	\$1,936.00

542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,276.09	\$1,276.09
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,500.00	\$1,500.00
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,276.09	\$1,276.09
542	MONITOR/ DETECTOR, MULTI-GAS	1	\$1,500.00	\$1,500.00
581	MONITOR/ DETECTOR, MULTI-GAS	25	\$1,550.00	\$38,750.00
1000	MONITOR/ DETECTOR, MULTI-GAS	1	\$934.56	\$934.56
542	MONITOR/ DETECTOR, RADIATION	1	\$2,100.00	\$2,100.00
542	MONITOR/ DETECTOR, RADIATION	1	\$2,437.50	\$2,437.50
542	MONITOR/ DETECTOR, RADIATION	1	\$2,437.50	\$2,437.50
542	MONITOR/ DETECTOR, RADIATION	1	\$1,000.00	\$1,000.00
542	MONITOR/ DETECTOR, RADIATION	1	\$2,900.00	\$2,900.00
581	MONITOR/ DETECTOR, RADIATION	21	\$2,100.00	\$44,100.00
581	MOSCAD REMOTE TERMINAL UNIT	1	\$900.00	\$900.00
495	MOTORCYCLE, POLICE	1	\$26,857.51	\$26,857.51
495	MOTORCYCLE, POLICE	1	\$26,857.50	\$26,857.50
495	MOTORCYCLE, POLICE	1	\$26,857.51	\$26,857.51
495	MOTORCYCLE, POLICE	1	\$17,153.82	\$17,153.82
495	MOTORCYCLE, POLICE	1	\$17,953.82	\$17,953.82
495	MOTORCYCLE, POLICE	1	\$17,953.82	\$17,953.82
495	MOTORCYCLE, POLICE	1	\$18,853.82	\$18,853.82
495	MOTORCYCLE, POLICE	1	\$28,552.90	\$28,552.90
495	MOTORCYCLE, POLICE	1	\$28,552.90	\$28,552.90
495	MOTORCYCLE, POLICE	1	\$29,097.66	\$29,097.66
495	MOTORCYCLE, POLICE	1	\$29,097.66	\$29,097.66
210	MOTORGRADER	1	\$204,603.00	\$204,603.00
210	MOTORGRADER	1	\$146,500.00	\$146,500.00
210	MOTORGRADER	1	\$183,624.60	\$183,624.60
210	MOTORGRADER	1	\$265,000.00	\$265,000.00
210	MOTORGRADER	1	\$215,390.00	\$215,390.00
210	MOTORGRADER	1	\$204,203.00	\$204,203.00
210	MOTORGRADER	1	\$239,811.00	\$239,811.00
210	MOTORGRADER	1	\$247,372.17	\$247,372.17
210	MOTORGRADER	1	\$249,170.05	\$249,170.05
210	MOTORGRADER	1	\$249,170.05	\$249,170.05
495	MOTORGRADER	1	\$260,022.00	\$260,022.00
882	MOTORGRADER	1	\$204,203.00	\$204,203.00
882	MOTORGRADER	1	\$240,939.58	\$240,939.58
210	MOWER ATTACHMENT, SIDE BOOM ARM	1	\$44,013.00	\$44,013.00
210	MOWER ATTACHMENT, SIDE BOOM ARM	1	\$16,500.00	\$16,500.00
210	MOWER, BATWING, TOWED	1	\$16,798.74	\$16,798.74
210	MOWER, BATWING, TOWED	1	\$16,689.96	\$16,689.96
882	MOWER, BATWING, TOWED	1	\$18,698.94	\$18,698.94
882	MOWER, BATWING, TOWED	1	\$16,500.00	\$16,500.00
882	MOWER, BATWING, TOWED	1	\$16,798.74	\$16,798.74
882	MOWER, BATWING, TOWED	1	\$17,051.08	\$17,051.08
882	MOWER, BATWING, TOWED	1	\$17,051.08	\$17,051.08
3103	MOWER, BATWING, TOWED	1	\$16,500.00	\$16,500.00
3106	MOWER, BATWING, TOWED	1	\$15,300.00	\$15,300.00
210	MOWER, FLEX FINISH, TOWED	1	\$22,354.80	\$22,354.80
210	MOWER, FLEX FINISH, TOWED	1	\$20,776.86	\$20,776.86
882	MOWER, FLEX FINISH, TOWED	1	\$20,776.86	\$20,776.86
882	MOWER, FLEX FINISH, TOWED	1	\$22,354.80	\$22,354.80
509	MOWER, PUSH	1	\$240.00	\$240.00
210	MOWER, RIDING, ZERO-TURN	1	\$11,588.00	\$11,588.00
560	MOWER, RIDING, ZERO-TURN	1	\$6,925.38	\$6,925.38
882	MOWER, RIDING, ZERO-TURN	1	\$9,010.00	\$9,010.00
3101	MOWER, RIDING, ZERO-TURN	1	\$10,960.00	\$10,960.00
3101	MOWER, RIDING, ZERO-TURN	1	\$14,100.00	\$14,100.00
3103	MOWER, RIDING, ZERO-TURN	1	\$25,050.00	\$25,050.00
3103	MOWER, RIDING, ZERO-TURN	1	\$15,830.00	\$15,830.00
3103	MOWER, RIDING, ZERO-TURN	1	\$12,723.94	\$12,723.94
3106	MOWER, RIDING, ZERO-TURN	1	\$12,743.94	\$12,743.94
3107	MOWER, RIDING, ZERO-TURN	1	\$12,851.29	\$12,851.29
3101	MOWER, ROTARY OR DECK, TOWED	1	\$3,850.00	\$3,850.00
3101	MOWER, ROTARY OR DECK, TOWED	1	\$3,450.00	\$3,450.00
3103	MOWER, ROTARY OR DECK, TOWED	1	\$4,548.78	\$4,548.78
3103	MOWER, ROTARY, MULTI-SPINDLE, TOWED	1	\$8,900.00	\$8,900.00
3107	MOWER, ROTARY, MULTI-SPINDLE, TOWED	1	\$5,545.00	\$5,545.00
560	MOWER, WALK-BEHIND, INDUSTRIAL	1	\$2,352.00	\$2,352.00
509	MULTIMETER, BENCH TYPE	1	\$945.00	\$945.00
882	MULTIMETER, HANDHELD	1	\$245.00	\$245.00
503	MULTIPLEXER	1	\$3,000.00	\$3,000.00
503	MULTIPLEXER	1	\$3,000.00	\$3,000.00
503	MULTIPLEXER	1	\$3,000.00	\$3,000.00
576	MULTIPLEXER	1	\$3,000.00	\$3,000.00
576	MULTIPLEXER	1	\$3,000.00	\$3,000.00

576	MULTIPLEXER	1	\$3,000.00	\$3,000.00
509	NAIL/ BRAD DRIVER, AIR	1	\$298.00	\$298.00
509	NAILER, FINISH, AIR	2	\$285.00	\$570.00
545	NEBULIZER	1	\$195.00	\$195.00
545	NEBULIZER	1	\$195.00	\$195.00
560	NETWORK ATTACHED STORAGE (NAS), LOW-END	1	\$3,250.00	\$3,250.00
560	NETWORK ATTACHED STORAGE (NAS), LOW-END	1	\$3,250.00	\$3,250.00
	, ,		• •	
503	NETWORK CABLE TESTER	1	\$150.00	\$150.00
503	NETWORK EQUIPMENT	1	\$5,000.00	\$5,000.00
503	NETWORK EQUIPMENT	1	\$5,000.00	\$5,000.00
570	OVEN, CONVECTION	1	\$4,220.00	\$4,220.00
570	OVEN, CONVECTION	1	\$4,220.00	\$4,220.00
570	OVEN, CONVECTION	1	\$4,220.00	\$4,220.00
570	OVEN, CONVECTION	1	\$4,220.00	\$4,220.00
576		1		
	OVEN, CONVECTION		\$4,200.26	\$4,200.26
576	OVEN, CONVECTION	1	\$4,200.26	\$4,200.26
570	OVEN, CONVECTION/ STEAMER COMBO	1	\$18,500.00	\$18,500.00
570	OVEN, CONVECTION/ STEAMER COMBO	1	\$18,500.00	\$18,500.00
570	OVEN, PROOFING/ CIRCULATING AIR	1	\$3,000.00	\$3,000.00
570	OVEN, PROOFING/ CIRCULATING AIR	1	\$3,000.00	\$3,000.00
570	OVEN, PROOFING/ CIRCULATING AIR	1	\$3,000.00	\$3,000.00
570		1		
	OVEN, STERILIZING		\$400.00	\$400.00
630	OVEN, STERILIZING	1	\$400.00	\$400.00
630	OVERBED UTILITY STAND	1	\$275.00	\$275.00
630	OVERBED UTILITY STAND	1	\$275.00	\$275.00
581	OVERPACK SALVAGE DRUM, HAZ-MAT	10	\$220.00	\$2,200.00
509	PAINT SPRAYER, AIRLESS	1	\$600.00	\$600.00
503	PALLET RACK, WAREHOUSE	1	\$180.00	\$180.00
214	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
403	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
404	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
499	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
499	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
545	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
554	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
560	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
560	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
576	PAPER CUTTER, HEAVY DUTY	2	\$75.00	\$150.00
587	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
630	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
3106	PAPER CUTTER, HEAVY DUTY	1	\$75.00	\$75.00
492	PAPER FOLDER/INSERTER	1	\$4,110.00	\$4,110.00
499	PAPER FOLDER/INSERTER	1	\$10,990.19	\$10,990.19
451	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
451	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
453	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
494	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
497	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
503	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
509	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
576	PAPER HOLE PUNCH, ELECTRIC	1	\$469.00	\$469.00
453	PAPER HOLE PUNCH/STAPLER, ELECTRIC	1	\$500.00	\$500.00
492	PAPER SHEET COUNTER, HIGH-VOLUME	1	\$17,600.00	\$17,600.00
492	PAPER SHEET COUNTER, HIGH-VOLUME	1	\$17,600.00	\$17,600.00
882	PARTS CLEANER, 15 GAL.	1	\$655.00	\$655.00
882	PARTS CLEANER, 15 GAL.	1	\$655.00	\$655.00
210	PAVER, ASPHALT	1	\$317,600.00	\$317,600.00
560	PELICAN CASE, QUAD CRISIS RESPONSE	1	\$5,000.00	\$5,000.00
560	PELICAN CASE, RESCUE PHONE	1	\$1,500.00	\$1,500.00
509	PERSONNEL LIFT, 300 LB.	1	\$19,495.00	\$19,495.00
576	PIANO	1	\$2,000.00	\$2,000.00
576	PIANO, UPRIGHT	1	\$3,650.00	\$3,650.00
576	PIANO, UPRIGHT	1	\$3,650.00	\$3,650.00
210	PIPE & CABLE LOCATOR	1	\$7,950.00	\$7,950.00
210	PIPE POWER DRIVE	1	\$1,250.00	\$1,250.00
552	PISTOL, TACTICAL	1	\$454.00	\$454.00
552	PISTOL, TACTICAL	1	\$454.00	\$454.00
560	PISTOL, TACTICAL	1	\$476.00	\$476.00
540	PLASTIC, SHELVING	1	\$40.00	\$40.00
560	PLASTIC, SHELVING	4	\$40.00	\$160.00
		•	r :=:==	7

560	PLOTTER, CUTTING	1	\$6,445.00	\$6,445.00
3101	POLE PRUNER, GAS	1	\$590.00	\$590.00
3101	POLE PRUNER, GAS	1	\$590.00	\$590.00
3103	POLE PRUNER, GAS	1	\$590.00	\$590.00
581	POOL, DECONTAMINATION	10	\$240.00	\$2,400.00
3103	POST DRIVER, 4-STROKE	1	\$760.00	\$760.00
499	POSTAL MAILING MACHINE	1	\$2,595.00	\$2,595.00
540	POSTER CUTTER	1	\$185.00	\$185.00
540	POSTER CUTTER	1	\$185.00	\$185.00
560	POSTER CUTTER	1	\$185.00	\$185.00
3103	POWER BROOM	1	\$1,150.00	\$1,150.00
509	POWER LOGGER, 3-PHASE	1	\$3,350.00	\$3,350.00
560	POWER RACK	2	\$299.00	\$598.00
404	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
404	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	2	\$250.00	\$500.00
503	POWER SUPPLY, AC/DC	2	\$250.00	\$500.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
503	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
560	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
570	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
576	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
576	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
581	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
581	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
581	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
581	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
581	POWER SUPPLY, AC/DC	1	\$250.00	\$250.00
541	POWER SUPPLY, BACK-UPS, 2 OUTLETS	2	\$90.00	\$180.00
570	POWER SUPPLY, BACK-UPS, 2 OUTLETS	1	\$90.00	\$90.00
403	POWER SUPPLY, BACK-UPS, 6 OUTLETS	3	\$390.00	\$1,170.00
503	POWER SUPPLY, BACK-UPS, 6 OUTLETS	1	\$390.00	\$390.00
541	POWER SUPPLY, BACK-UPS, 6 OUTLETS	1	\$390.00	\$390.00
581	POWER SUPPLY, BACK-UPS, 6 OUTLETS	2	\$390.00	\$780.00
581	POWER SUPPLY, BACK-UPS, 6 OUTLETS	1	\$390.00	\$390.00
3106	POWER SUPPLY, BACK-UPS, 6 OUTLETS	1	\$390.00	\$390.00
581	POWER SUPPLY, COMPUTER	2	\$300.00	\$600.00
560	POWER SUPPLY, SMART-UPS, 1000 XL, TOWER MODEL, 120V	1	\$420.00	\$420.00
560	POWER SUPPLY, SMART-UPS, 1000 XL, TOWER MODEL, 120V	1	\$420.00	\$420.00
503	POWER SUPPLY, SMART-UPS, 2200 XL, TOWER MODEL, 120V	1	\$830.00	\$830.00
630	POWER SUPPLY, SMART-UPS, 2200 XL, TOWER MODEL, 208V	1	\$905.00	\$905.00
510	POWER SUPPLY, SMART-UPS, 4 OUTLETS	1	\$325.00	\$325.00
510	POWER SUPPLY, SMART-UPS, 4 OUTLETS	1	\$325.00	\$325.00
510	POWER SUPPLY, SMART-UPS, 4 OUTLETS	2	\$325.00	\$650.00
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,426.17	\$1,426.17
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,232.29	\$1,232.29
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,232.29	\$1,232.29
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,232.29	\$1,232.29
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$699.00	\$699.00
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,646.62	\$1,646.62
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$1,646.62	\$1,646.62
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$699.00	\$699.00
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$699.00	\$699.00
503	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$699.00	\$699.00
570	POWER SUPPLY, SMART-UPS, 6 OUTLETS	1	\$699.00	\$699.00
541	POWER SUPPLY, SMART-UPS, 750 XL, TOWER MODEL, 120V	1	\$345.00	\$345.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$2,521.87	\$2,521.87
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$973.27	\$973.27
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$699.00	\$699.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$2,708.63	\$2,708.63
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$2,708.63	\$2,708.63
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,116.00	\$1,116.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,110.00	\$1,110.00
-30		-	ψ±,±33.00	Ç1,133.00

503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$527.38	\$527.38
503	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$979.98	\$979.98
581	POWER SUPPLY, SMART-UPS, 8 OUTLETS	1	\$1,199.00	\$1,199.00
441	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
441	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,401.45	\$1,401.45
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,250.00	\$1,250.00
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$2,291.32	\$2,291.32
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$2,291.32	\$2,291.32
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$2,291.32	\$2,291.32
503	POWER SUPPLY, SMART-UPS, RACKMOUNT	1	\$1,080.26	\$1,080.26
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$3,657.15	\$3,657.15
503		1		
	POWER SUPPLY, UNINTERRUPTED, (UPS)		\$3,657.15	\$3,657.15
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$3,657.15	\$3,657.15
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
503	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
541	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
541	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
581	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
3106	POWER SUPPLY, UNINTERRUPTED, (UPS)	1	\$500.00	\$500.00
507	POWER SUPPLY, UNINTERRUPTED, TOWER	1	\$11,000.00	\$11,000.00
576	PRESENTATION SYSTEM, DIGITAL MEDIA	1	\$4,500.00	\$4,500.00
882	PRESS, PUNCH, METAL	1	\$1,745.00	\$1,745.00
882	PRESS, SHOP, 50 TON	1	\$6,775.00	\$6,775.00
509	PRESSING TOOL, COPPER, BATTERY-OPERATED	1	\$2,750.67	\$2,750.67
542	PRESSURE TEST KIT, GAS-TIGHT SUITS	1	\$2,200.00	\$2,200.00
542	PRESSURE TEST KIT, GAS-TIGHT SUITS	1	\$2,200.00	\$2,200.00
403	PRINTER, DOT MATRIX	1	\$300.00	\$300.00
581	PRINTER, DOT MATRIX	1	\$300.00	\$300.00
499	PRINTER, ID CARD	1	\$2,080.00	\$2,080.00
509	PRINTER, ID CARD	1	\$1,768.00	\$1,768.00
509	PRINTER, ID CARD	1	\$3,250.00	\$3,250.00
	PRINTER, ID CARD	1	\$2,080.00	
560	•		. ,	\$2,080.00
581	PRINTER, ID CARD	1	\$2,080.00	\$2,080.00
581	PRINTER, ID CARD	1	\$2,080.00	\$2,080.00
587	PRINTER, ID CARD	1	\$2,080.00	\$2,080.00
402	PRINTER, ID LABEL	1	\$300.00	\$300.00
402	PRINTER, ID LABEL	1	\$300.00	\$300.00
402	PRINTER, ID LABEL	1	\$300.00	\$300.00
452	PRINTER, ID LABEL	1	\$300.00	\$300.00
453	PRINTER, ID LABEL	2	\$300.00	\$600.00
454	PRINTER, ID LABEL	1	\$300.00	\$300.00
454	PRINTER, ID LABEL	1	\$300.00	\$300.00
499	PRINTER, ID LABEL	1	\$300.00	\$300.00
503		4	\$300.00	\$1,200.00
	PRINTER, ID LABEL			
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
560	PRINTER, ID LABEL	1	\$300.00	\$300.00
572	PRINTER, ID LABEL	1	\$300.00	\$300.00
630	PRINTER, ID LABEL	1	\$300.00	\$300.00
450	PRINTER, INKJET	1	\$60.00	\$60.00
451	PRINTER, INKJET	5	\$60.00	\$300.00
451	PRINTER, INKJET	1	\$60.00	\$60.00
451	PRINTER, INKJET	1	\$60.00	\$60.00
454	PRINTER, INKJET	1	\$60.00	\$60.00
454	PRINTER, INKJET	1	\$60.00	\$60.00
454	PRINTER, INKJET	1	\$60.00	\$60.00
454	PRINTER, INKJET	1	\$60.00	\$60.00
495	PRINTER, INKJET	1	\$60.00	\$60.00

509	PRINTER, INKJET	1	\$60.00	\$60.00
		1		\$60.00
509	PRINTER, INKJET		\$60.00	
545	PRINTER, INKJET	1	\$60.00	\$60.00
551	PRINTER, INKJET	1	\$60.00	\$60.00
560	PRINTER, INKJET	1	\$60.00	\$60.00
570	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
576	PRINTER, INKJET	2	\$60.00	\$120.00
576	PRINTER, INKJET	1	\$60.00	\$60.00
3101	PRINTER, INKJET	1	\$60.00	\$60.00
3106	PRINTER, INKJET	2	\$60.00	\$120.00
3106	PRINTER, INKJET	1	\$60.00	\$60.00
210	PRINTER, LASERJET	1	\$522.49	\$522.49
213	PRINTER, LASERJET	1	\$660.00	\$660.00
400	PRINTER, LASERJET	1	\$584.59	\$584.59
403	PRINTER, LASERJET	1	\$906.31	\$906.31
403	PRINTER, LASERJET	1	\$738.47	\$738.47
403	PRINTER, LASERJET	1	\$906.31	\$906.31
426	PRINTER, LASERJET	1	\$660.00	\$660.00
426	PRINTER, LASERJET	1	\$660.00	\$660.00
427	PRINTER, LASERJET	1	\$562.75	\$562.75
427	PRINTER, LASERJET	1	\$660.00	\$660.00
427	PRINTER, LASERJET	1	\$566.36	\$566.36
429	PRINTER, LASERJET	1	\$755.47	\$755.47
435	PRINTER, LASERJET	1	\$660.00	\$660.00
435	PRINTER, LASERJET	1	\$668.78	\$668.78
437	PRINTER, LASERJET	1	\$666.69	\$666.69
439	PRINTER, LASERJET	1	\$660.00	\$660.00
439	PRINTER, LASERJET	1	\$660.00	\$660.00
440	PRINTER, LASERJET	1	\$660.00	\$660.00
440	PRINTER, LASERJET	1	\$949.99	\$949.99
440	PRINTER, LASERJET	1	\$660.00	\$660.00
440	PRINTER, LASERJET	1	\$660.00	\$660.00
441	PRINTER, LASERJET	1	\$659.43	\$659.43
450	PRINTER, LASERJET	1	\$660.00	\$660.00
450	PRINTER, LASERJET	1	\$660.00	\$660.00
450		1		\$660.00
	PRINTER, LASERJET		\$660.00	
450	PRINTER, LASERJET	1	\$660.00	\$660.00
450	PRINTER, LASERJET	1	\$949.99	\$949.99
450	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$807.49	\$807.49
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$660.00	\$660.00
451	PRINTER, LASERJET	1	\$1,803.80	\$1,803.80
452	PRINTER, LASERJET	1	\$660.00	\$660.00
452	PRINTER, LASERJET	1	\$617.36	\$617.36
				•
452	PRINTER, LASERJET	1	\$660.00	\$660.00
452	PRINTER, LASERJET	1	\$617.36	\$617.36
452	PRINTER, LASERJET	1	\$660.00	\$660.00
452	PRINTER, LASERJET	1	\$1,147.77	\$1,147.77
452	PRINTER, LASERJET	1	\$967.50	\$967.50
453	PRINTER, LASERJET	1	\$660.00	\$660.00
453	PRINTER, LASERJET	1	\$827.83	\$827.83
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$660.00	\$660.00
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
453	PRINTER, LASERJET	1	\$551.67	\$551.67
733	I MINIEN, EMBERGET	1	233T.07	/٥.١٥٠

453	PRINTER, LASERJET	1 \$660.0	00 \$660.00
453	PRINTER, LASERJET	1 \$551.6	57 \$551.67
453	PRINTER, LASERJET	1 \$660.0	
453	PRINTER, LASERJET	1 \$551.6	
453	PRINTER, LASERJET	1 \$551.6	
453	PRINTER, LASERJET	1 \$551.6	
454	PRINTER, LASERJET	1 \$593.7	
454	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$949.9	9 \$949.99
475	PRINTER, LASERJET	1 \$660.0	
475	PRINTER, LASERJET	1 \$660.0	
			·
475	PRINTER, LASERJET	1 \$660.0	
475	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$660.0	00 \$660.00
475	PRINTER, LASERJET	1 \$660.0	
475	PRINTER, LASERJET	1 \$660.0	
475	PRINTER, LASERJET	1 \$1,111.4	
475	PRINTER, LASERJET	1 \$660.0	
475	PRINTER, LASERJET	1 \$1,086.0	0 \$1,086.00
492	PRINTER, LASERJET	1 \$660.0	00 \$660.00
492	PRINTER, LASERJET	1 \$573.2	\$573.21
492	PRINTER, LASERJET	1 \$543.1	
492	PRINTER, LASERJET	1 \$660.0	
			•
492	PRINTER, LASERJET	1 \$660.0	
492	PRINTER, LASERJET	1 \$660.0	
492	PRINTER, LASERJET	1 \$660.0	00 \$660.00
492	PRINTER, LASERJET	1 \$660.0	00 \$660.00
495	PRINTER, LASERJET	1 \$660.0	00 \$660.00
495	PRINTER, LASERJET	1 \$660.0	
495	PRINTER, LASERJET	1 \$777.4	
495	PRINTER, LASERJET	1 \$583.8	
495	PRINTER, LASERJET	1 \$583.8	
497	PRINTER, LASERJET	1 \$784.6	55 \$784.65
497	PRINTER, LASERJET	1 \$660.0	00 \$660.00
497	PRINTER, LASERJET	1 \$759.9	9 \$759.99
497	PRINTER, LASERJET	1 \$664.9	
499	PRINTER, LASERJET	1 \$412.4	
499	PRINTER, LASERJET	1 \$739.6	
499	PRINTER, LASERJET	1 \$660.0	
499	PRINTER, LASERJET	1 \$1,340.2	2 \$1,340.22
499	PRINTER, LASERJET	1 \$742.8	\$5 \$742.85
499	PRINTER, LASERJET	1 \$1,340.2	2 \$1,340.22
499	PRINTER, LASERJET	1 \$1,578.3	
499	PRINTER, LASERJET	1 \$742.8	
499	PRINTER, LASERJET	1 \$700.0	
499	PRINTER, LASERJET	1 \$660.0	
499	PRINTER, LASERJET	1 \$660.0	00 \$660.00
499	PRINTER, LASERJET	1 \$997.0	00 \$997.00
499	PRINTER, LASERJET	1 \$706.9	
499	PRINTER, LASERJET	1 \$1,340.2	
499	PRINTER, LASERJET	1 \$660.0	
503	PRINTER, LASERJET	1 \$594.9	
509	PRINTER, LASERJET	1 \$1,387.1	
540	PRINTER, LASERJET	1 \$660.0	
540	PRINTER, LASERJET	1 \$660.0	00 \$660.00
540	PRINTER, LASERJET	1 \$660.0	90 \$660.00
540	PRINTER, LASERJET	1 \$599.3	\$599.30
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$551.1	.1 \$551.11
541	PRINTER, LASERJET	1 \$551.1	
541	PRINTER, LASERJET	1 \$660.0	
541	PRINTER, LASERJET	1 \$660.0	
541	PRINTER, LASERJET	1 \$660.0	
541	PRINTER, LASERJET	1 \$660.0	
541	PRINTER, LASERJET	1 \$660.0	
542	PRINTER, LASERJET	1 \$556.8	\$3 \$556.83
545	PRINTER, LASERJET	1 \$660.0	90 \$660.00
545	PRINTER, LASERJET	1 \$1,942.9	
545	PRINTER, LASERJET	1 \$949.5	
	,	_	

551	PRINTER, LASERJET	1	\$766.32	\$766.32
551	PRINTER, LASERJET	1	\$412.47	\$412.47
551	PRINTER, LASERJET	1	\$415.14	\$415.14
551	PRINTER, LASERJET	1	\$415.14	\$415.14
552	PRINTER, LASERJET	1	\$589.55	\$589.55
552	PRINTER, LASERJET	1	\$584.59	\$584.59
553	PRINTER, LASERJET	1	\$660.00	\$660.00
554	PRINTER, LASERJET	1	\$541.49	\$541.49
554	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$836.37	\$836.37
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$660.00	\$660.00
560	PRINTER, LASERJET	1	\$820.13	\$820.13
560	PRINTER, LASERJET	1	\$588.54	\$588.54
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570		1		\$660.00
	PRINTER, LASERJET		\$660.00	
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$326.57	\$326.57
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$326.57	\$326.57
570	PRINTER, LASERJET	1	\$326.57	\$326.57
570	PRINTER, LASERJET			\$358.93
		1	\$358.93	
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$809.39	\$809.39
570	PRINTER, LASERJET	1	\$944.29	\$944.29
570	PRINTER, LASERJET	1	\$1,161.99	\$1,161.99
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
570	PRINTER, LASERJET	1	\$660.00	\$660.00
572	PRINTER, LASERJET	1	\$660.00	\$660.00
572	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
576	PRINTER, LASERJET	1	\$660.00	\$660.00
581	PRINTER, LASERJET	1	\$660.00	\$660.00
581	PRINTER, LASERJET	1	\$660.00	\$660.00
581	PRINTER, LASERJET	1	\$660.00	\$660.00
581	PRINTER, LASERJET	1	\$950.60	\$950.60
581	PRINTER, LASERJET	1	\$660.00	\$660.00
882	PRINTER, LASERJET	1	\$660.00	\$660.00
882	PRINTER, LASERIET LUCLUEND	1	\$788.15	\$788.15
213	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
214	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
400	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
400	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
400	PRINTER, LASERJET, HIGH END	1	\$904.36	\$904.36
400	PRINTER, LASERJET, HIGH END	1	\$1,332.98	\$1,332.98
402	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
402	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
403	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
403	PRINTER, LASERJET, HIGH END	1	\$906.31	\$906.31
403	PRINTER, LASERJET, HIGH END	1	\$906.31	\$906.31
403	PRINTER, LASERJET, HIGH END	1	\$906.31	\$906.31
403	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
403	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
403	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
403	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
403	PRINTER, LASERJET, HIGH END	1	\$1,191.00	\$1,191.00
403		1		\$738.47
	PRINTER, LASERIET, HIGH END		\$738.47	
403	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
403	PRINTER, LASERJET, HIGH END	1	\$1,455.89	\$1,455.89
403	PRINTER, LASERJET, HIGH END	1	\$1,455.89	\$1,455.89
403	PRINTER, LASERJET, HIGH END	1	\$906.31	\$906.31

404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
	·			
404	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
404	PRINTER, LASERJET, HIGH END	1	\$642.75	\$642.75
404	PRINTER, LASERJET, HIGH END	1	\$796.97	\$796.97
404	PRINTER, LASERJET, HIGH END	1	\$738.47	\$738.47
404	PRINTER, LASERJET, HIGH END	1	\$736.95	\$736.95
404	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
404	PRINTER, LASERJET, HIGH END	1	\$796.97	\$796.97
		1		\$820.13
404	PRINTER, LASERJET, HIGH END		\$820.13	
404	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
404	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
404	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
404	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404		1		
	PRINTER, LASERJET, HIGH END		\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$755.89	\$755.89
404	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
405	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
426	PRINTER, LASERJET, HIGH END	1	\$961.00	\$961.00
426	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
426	PRINTER, LASERJET, HIGH END	1	\$1,139.99	\$1,139.99
428		1	\$788.15	\$788.15
	PRINTER, LASERJET, HIGH END			
435	PRINTER, LASERJET, HIGH END	1	\$698.00	\$698.00
435	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
436	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
436	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
				•
437	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
437	PRINTER, LASERJET, HIGH END	1	\$1,190.00	\$1,190.00
438	PRINTER, LASERJET, HIGH END	1	\$777.84	\$777.84
440	PRINTER, LASERJET, HIGH END	1	\$949.99	\$949.99
440		1	\$1,088.00	\$1,088.00
	PRINTER, LASERJET, HIGH END			
440	PRINTER, LASERJET, HIGH END	1	\$926.49	\$926.49
450	PRINTER, LASERJET, HIGH END	1	\$904.36	\$904.36
450	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
450	PRINTER, LASERJET, HIGH END	1	\$779.95	\$779.95
450	PRINTER, LASERJET, HIGH END	1	\$796.97	\$796.97
450	PRINTER, LASERJET, HIGH END	1	\$1,023.69	\$1,023.69
450	PRINTER, LASERJET, HIGH END	1	\$874.29	\$874.29
450	PRINTER, LASERJET, HIGH END	1	\$1,088.00	\$1,088.00
		1	\$779.86	\$779.86
450	PRINTER, LASERJET, HIGH END			
450	PRINTER, LASERJET, HIGH END	1	\$779.95	\$779.95
450	PRINTER, LASERJET, HIGH END	1	\$776.64	\$776.64
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$920.90	\$920.90
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$776.64	\$776.64
450	PRINTER, LASERJET, HIGH END	1	\$1,023.69	\$1,023.69
450	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
				\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$938.42	•
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
	·			
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$938.42	\$938.42
450	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
451	PRINTER, LASERJET, HIGH END	1	\$930.77	\$930.77
452		1		
	PRINTER, LASERJET, HIGH END		\$1,359.16	\$1,359.16
452	PRINTER, LASERJET, HIGH END	1	\$1,342.73	\$1,342.73
452	PRINTER, LASERJET, HIGH END	1	\$1,342.73	\$1,342.73
452	PRINTER, LASERJET, HIGH END	1	\$1,339.87	\$1,339.87
452	PRINTER, LASERJET, HIGH END	1	\$1,342.73	\$1,342.73
452	PRINTER, LASERJET, HIGH END	1	\$1,359.16	\$1,359.16
452	PRINTER, LASERJET, HIGH END	1	\$1,342.73	\$1,342.73
452	PRINTER, LASERJET, HIGH END	1	\$1,342.73	\$1,342.73
454	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
454	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
454	PRINTER, LASERJET, HIGH END	1	\$923.04	\$923.04
454	PRINTER, LASERJET, HIGH END	1	\$923.04	\$923.04
454	PRINTER, LASERJET, HIGH END	1	\$769.87	\$769.87
454	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
-J-	THIRTEIN, ENGLIDET, HIGH LIVE	1	Ψ 020.13	γυ2U.13

454	PRINTER, LASERJET, HIGH END	1	\$769.87	\$769.87
454	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
454	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
454	PRINTER, LASERJET, HIGH END	1	\$820.13	\$820.13
475	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
475	PRINTER, LASERJET, HIGH END	1	\$1,088.00	\$1,088.00
475	PRINTER, LASERJET, HIGH END	1	\$949.99	\$949.99
475	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
475	PRINTER, LASERJET, HIGH END	1	\$1,111.49	\$1,111.49
475	PRINTER, LASERJET, HIGH END	1	\$971.27	\$971.27
475	PRINTER, LASERJET, HIGH END	1	\$905.28	\$905.28
475	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
492	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
492	PRINTER, LASERJET, HIGH END	1	\$608.23	\$608.23
492		1		\$3,548.09
	PRINTER, LASERJET, HIGH END		\$3,548.09	. ,
492	PRINTER, LASERJET, HIGH END	1	\$749.33	\$749.33
494	PRINTER, LASERJET, HIGH END	1	\$1,042.33	\$1,042.33
495	PRINTER, LASERJET, HIGH END	1	\$1,013.59	\$1,013.59
495	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
495	PRINTER, LASERJET, HIGH END	1	\$1,196.99	\$1,196.99
495	PRINTER, LASERJET, HIGH END	1	\$788.15	\$788.15
497	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
499		1	\$1,200.00	\$1,200.00
	PRINTER, LASSRIET, HIGH END			
499	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
499	PRINTER, LASERJET, HIGH END	1	\$1,166.85	\$1,166.85
499	PRINTER, LASERJET, HIGH END	1	\$949.99	\$949.99
499	PRINTER, LASERJET, HIGH END	1	\$997.00	\$997.00
499	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
499	PRINTER, LASERJET, HIGH END	1	\$1,017.30	\$1,017.30
499	PRINTER, LASERJET, HIGH END	1	\$1,706.19	\$1,706.19
499		1		\$997.00
	PRINTER, LASERJET, HIGH END		\$997.00	
499	PRINTER, LASERJET, HIGH END	1	\$1,139.99	\$1,139.99
499	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
499	PRINTER, LASERJET, HIGH END	1	\$967.50	\$967.50
499	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
499	PRINTER, LASERJET, HIGH END	1	\$585.55	\$585.55
499	PRINTER, LASERJET, HIGH END	1	\$1,677.65	\$1,677.65
499	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
503		1		
	PRINTER, LASSERIET, HIGH END		\$1,200.00	\$1,200.00
503	PRINTER, LASERJET, HIGH END	1	\$783.12	\$783.12
503	PRINTER, LASERJET, HIGH END	1	\$889.27	\$889.27
509	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
510	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
540	PRINTER, LASERJET, HIGH END	1	\$1,544.00	\$1,544.00
541	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
552	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
552	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
553	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
553	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
553	PRINTER, LASERJET, HIGH END	1	\$796.97	\$796.97
554	PRINTER, LASERJET, HIGH END	1	\$1,201.38	\$1,201.38
560	PRINTER, LASERJET, HIGH END	1	\$904.36	\$904.36
560	PRINTER, LASERJET, HIGH END	1	\$634.15	\$634.15
560	PRINTER, LASERJET, HIGH END	1	\$1,229.10	\$1,229.10
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
	PRINTER, LASERJET, HIGH END			
560	· · · · · · · · · · · · · · · · · · ·	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,397.00	\$1,397.00
560	PRINTER, LASERJET, HIGH END	1	\$733.00	\$733.00
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,393.64	\$1,393.64
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
560	PRINTER, LASERJET, HIGH END	1	\$1,166.85	\$1,166.85
570	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
570	PRINTER, LASERJET, HIGH END	1	\$1,161.99	\$1,161.99
570	PRINTER, LASERJET, HIGH END	1	\$1,161.99	\$1,161.99
570	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
570	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
570	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
572	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
576	PRINTER, LASERJET, HIGH END	1	\$796.97	\$796.97
576	PRINTER, LASERJET, HIGH END	1	\$1,154.94	\$1,154.94
576	PRINTER, LASERIET, HIGH END	1	\$1,200.00	\$1,200.00
576	PRINTER, LASERJET, HIGH END	1	\$669.32	\$669.32

576				
	PRINTER, LASERJET, HIGH END	1	\$1,111.49	\$1,111.49
581	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
583	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
630	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
			. ,	
661	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
882	PRINTER, LASERJET, HIGH END	1	\$755.47	\$755.47
882	PRINTER, LASERJET, HIGH END	1	\$1,200.00	\$1,200.00
882	PRINTER, LASERJET, HIGH END	1	\$930.77	\$930.77
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
				•
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210		1	\$200.00	\$200.00
	PRINTER, LASERJET, LOW END			
211	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
211	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
212	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
212	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
212		1		\$200.00
	PRINTER, LASERJET, LOW END		\$200.00	
213	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
213	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
215	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
215	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
400	PRINTER, LASERJET, LOW END	1	\$330.75	\$330.75
400	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
402	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
403	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
403	PRINTER, LASERJET, LOW END	6	\$200.00	\$1,200.00
403	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
403	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
403	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
403	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
403	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
404	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
404	PRINTER, LASERJET, LOW END	10	\$200.00	\$2,000.00
425	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
426	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
426	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
427	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
427	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
427	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
427	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
				•
428	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
428	PRINTER, LASERJET, LOW END	1	\$200.00	
428	PRINTER, LASERJET, LOW END	-	\$200.00	\$200.00
429		1	\$200.00	\$200.00
423	PRINTER, LASERJET, LOW END			
		1 1	\$200.00 \$200.00	\$200.00 \$200.00
429	PRINTER, LASERJET, LOW END	1 1 1	\$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00
429 429	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00
429 429 437	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00
429 429 437	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 439	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00	\$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 438 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00
429 429 437 437 438 438 439 439 440 440 440 440 440 440 440 440 440 44	PRINTER, LASERJET, LOW END	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$200.00 \$200.00	\$200.00 \$200.00

440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERIET, LOW END	1	\$200.00	\$200.00
440 440	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1	\$200.00 \$200.00	\$200.00 \$200.00
440	PRINTER, LASERJET, LOW END	1	\$249.41	\$249.41
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440 440	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1	\$200.00 \$200.00	\$200.00 \$200.00
440	PRINTER, LASERIET, LOW END PRINTER, LASERIET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$249.41	\$249.41
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440 440	PRINTER, LASERIET, LOW END	1 1	\$200.00 \$200.00	\$200.00 \$200.00
440	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
440	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
441	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
450 450	PRINTER, LASERIET, LOW END	13 1	\$200.00 \$200.00	\$2,600.00 \$200.00
450	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1	\$660.00	\$660.00
450	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
450	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
450	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
450	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
450	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
451	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
451	PRINTER, LASERIET, LOW END	2	\$200.00	\$400.00
451 451	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 5	\$200.00 \$200.00	\$200.00 \$1,000.00
451	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
453	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
453	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
453	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
453	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
454	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475 475	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	2 1	\$200.00 \$200.00	\$400.00 \$200.00
475 475	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.67	\$209.67
475	PRINTER, LASERJET, LOW END	1	\$207.39	\$207.39
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERIET, LOW END	1	\$200.00	\$200.00
475 475	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1	\$200.00 \$200.00	\$200.00 \$200.00
475	PRINTER, LASERIET, LOW END PRINTER, LASERIET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$209.67	\$209.67
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERIET, LOW END	1	\$200.00	\$200.00
475 475	PRINTER, LASERIET, LOW END	1 1	\$200.00	\$200.00
475 475	PRINTER, LASERJET, LOW END PRINTER, LASERJET, LOW END	1 1	\$200.00 \$200.00	\$200.00 \$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00

475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
475	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
475	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
492		1	\$200.00	\$200.00
	PRINTER, LASERJET, LOW END			
492	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
492	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
492	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
492	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
494	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
495	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
		1		
495	PRINTER, LASERJET, LOW END		\$200.00	\$200.00
495	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
495	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
497	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
497	PRINTER, LASERJET, LOW END	3	\$200.00	\$600.00
497	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$286.98	\$286.98
499	PRINTER, LASERJET, LOW END	1	\$286.98	\$286.98
499	PRINTER, LASERJET, LOW END	1	\$412.47	\$412.47
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
		3		
499	PRINTER, LASERJET, LOW END		\$200.00	\$600.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499		1	\$415.70	\$415.70
	PRINTER, LASERJET, LOW END			
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
499	PRINTER, LASERJET, LOW END	3	\$200.00	\$600.00
503	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
503	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
503	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
503	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
503	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
503	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
509	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
509	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
509	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
509	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
				\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
540	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
541	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
541	PRINTER, LASERJET, LOW END	8	\$200.00	\$1,600.00
541	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
541	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
541	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
541	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
541	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
542	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
	PRINTER, LASERJET, LOW END			
545	• •	1	\$200.00	\$200.00
545	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
545	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
545	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
		1		
551	PRINTER, LASERJET, LOW END		\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
551	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
552	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00

552	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	3	\$200.00	\$600.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
553	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
554	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
554	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	3	\$200.00	\$600.00
		1		
560	PRINTER, LASERJET, LOW END		\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
	FRINTER, LASERSET, LOW LIND			
560	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$599.99	\$599.99
570	PRINTER, LASERJET, LOW END	1	\$895.30	\$895.30
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
		1		
570	PRINTER, LASERJET, LOW END		\$200.00	\$200.00
570	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
570	DDINITED LACEDIET LOW END	1	\$200.00	\$200.00
	PRINTER, LASERJET, LOW END			
572	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
572	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
572	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
				•
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
				·
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	2	\$200.00	\$400.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
576	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
		1		\$200.00
581	PRINTER, LASERJET, LOW END		\$200.00	
581	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
581	PRINTER, LASERJET, LOW END	5	\$200.00	\$1,000.00
581	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
581	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
583	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00

583	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
591	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
882	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
882	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
3101	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
3103	PRINTER, LASERJET, LOW END	1	\$200.00	\$200.00
210		1	\$440.00	\$440.00
	PRINTER, LASERJET, MULTI-FUNCTION			
210	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
210	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
210	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
210	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
210	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
400	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
402		1		\$440.00
	PRINTER, LASERJET, MULTI-FUNCTION		\$440.00	
405	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
428	PRINTER, LASERJET, MULTI-FUNCTION	1	\$869.39	\$869.39
436	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
436	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
440	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
451	PRINTER, LASERJET, MULTI-FUNCTION	1	\$675.44	\$675.44
451	PRINTER, LASERJET, MULTI-FUNCTION	1	\$675.44	\$675.44
452	PRINTER, LASERJET, MULTI-FUNCTION	1	\$499.35	\$499.35
453	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
453	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
453	PRINTER, LASERJET, MULTI-FUNCTION	1	\$346.17	\$346.17
454	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
454	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
475	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
475	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
475	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
492	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
495	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
499	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
		1		\$440.00
503	PRINTER, LASERJET, MULTI-FUNCTION		\$440.00	
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
		1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION			
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
540	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
541	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
545	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
545	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
551	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
553	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$465.89	\$465.89
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$485.66	\$485.66
560		1		\$440.00
	PRINTER, LASERIET, MULTI-FUNCTION		\$440.00	
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$485.66	\$485.66
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$494.04	\$494.04
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$487.61	\$487.61
560		1		\$440.00
	PRINTER, LASERIET, MULTI-FUNCTION		\$440.00	
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$487.61	\$487.61
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00

560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$466.91	\$466.91
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$465.89	\$465.89
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$465.89	\$465.89
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
560	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
570	PRINTER, LASERJET, MULTI-FUNCTION	1	\$450.04	\$450.04
570	PRINTER, LASERJET, MULTI-FUNCTION	1	\$450.04	\$450.04
572	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
576	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
576	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
576	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
576	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
581	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
581	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
583	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
591	PRINTER, LASERJET, MULTI-FUNCTION	1	\$381.88	\$381.88
591	PRINTER, LASERJET, MULTI-FUNCTION	1	\$381.88	\$381.88
591	PRINTER, LASERJET, MULTI-FUNCTION	1	\$381.88	\$381.88
591	PRINTER, LASERJET, MULTI-FUNCTION	1	\$381.88	\$381.88
591	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
882	PRINTER, LASERJET, MULTI-FUNCTION	1	\$440.00	\$440.00
3101	PRINTER, LASERJET, MULTI-FUNCTION	1	\$337.34	\$337.34
				·
210	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
210	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
210	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
210	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
210	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$526.29	\$526.29
435	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$625.54	\$625.54
436	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
439	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$749.99	\$749.99
441	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$663.18	\$663.18
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$499.35	\$499.35
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$671.83	\$671.83
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$671.83	\$671.83
451	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$671.83	\$671.83
497	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
503	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
540	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
540	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
540	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
552	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$490.76	\$490.76
560	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
560	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
560	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1		
560	·		\$735.06	\$735.06
560	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$850.00	\$850.00
591	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$668.74	\$668.74
591	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$1,269.96	\$1,269.96
591	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$749.99	\$749.99
	· · · · · · · · · · · · · · · · · · ·			
591	PRINTER, LASERJET, MULTI-FUNCTION, HIGH-END	1	\$749.99	\$749.99
425	PRINTER, LASERJET/ LED, MULTI-FUNCTION, HIGH-END	1	\$2,280.00	\$2,280.00
475	PRINTER, LASERJET/ LED, MULTI-FUNCTION, HIGH-END	1	\$1,553.67	\$1,553.67
403	PRINTER, PHOTO	1	\$240.00	\$240.00
541	PRINTER, PHOTO	1	\$240.00	\$240.00
581	PRINTER, PHOTO, COLOR, DIGITAL	1	\$4,150.00	\$4,150.00
440	PRINTER, POSTER	1	\$3,700.00	\$3,700.00
475	PRINTER, POSTER	1	\$4,149.97	\$4,149.97
541	PRINTER, POSTER	1	\$3,700.00	\$3,700.00
560	PRINTER, POSTER	1	\$3,700.00	\$3,700.00
560	PRINTER, POSTER	1	\$3,700.00	\$3,700.00
503	PRINTER, POSTER, HIGH-END	1	\$7,665.00	\$7,665.00
210				
	PRINTER, POSTER, MULTI-FUNCTION	1	\$3,700.00	\$3,700.00
509	PRINTER, POSTER, MULTI-FUNCTION	1	\$8,606.31	\$8,606.31
541	PRINTER, POSTER, MULTI-FUNCTION	1	\$9,500.00	\$9,500.00
210	PRINTER, POSTER, THERMAL	1	\$15,575.00	\$15,575.00
403	PRINTER, RECEIPT	2	\$220.00	\$440.00
403	PRINTER, RECEIPT	1	\$220.00	\$220.00
453	PRINTER, RECEIPT	2	\$220.00	\$440.00
453	PRINTER, RECEIPT	1	\$220.00	\$220.00
				•

499	PRINTER, RECEIPT	1	\$220.00	\$220.00
499	PRINTER, RECEIPT	2	\$220.00	\$440.00
499	PRINTER, RECEIPT	1	\$220.00	\$220.00
499	PRINTER, RECEIPT	1	\$220.00	\$220.00
499	PRINTER, RECEIPT	1	\$220.00	\$220.00
510	PRINTER, RECEIPT	1	\$220.00	\$220.00
510	PRINTER, RECEIPT	1	\$220.00	\$220.00
510	PRINTER, RECEIPT	2	\$220.00	\$440.00
494	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
494	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
494	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
510	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
541	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
545	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
545	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
560	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
576	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
576	PRINTER, SCANNER, COPIER, ALL-IN-ONE	1	\$90.00	\$90.00
882	PRINTER, SCANNER, COPIER, ALL-IN-ONE	2	\$90.00	\$180.00
581	PRINTER, SCANNER, COPIER, ALL-IN-ONE, WIDE-FORMAT	1	\$250.00	\$250.00
210	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
213	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
405	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
405	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
405	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
405	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
440	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
453		1		\$375.00
	PRINTER, SCANNER, COPIER, W/ FAX		\$375.00	
503	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
540	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
541	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
542	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
542	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
542	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
551	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
551	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
560	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
560	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
570	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
576	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
576	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
581	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
583	PRINTER, SCANNER, COPIER, W/ FAX	1	\$375.00	\$375.00
427	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
499	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
541	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
560	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
560	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
560	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
560	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1	\$650.00	\$650.00
	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END		\$650.00	
576 587	PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END PRINTER, SCANNER, COPIER, W/ FAX, HIGH-END	1 1	•	\$650.00
			\$650.00	\$650.00
503	PRINTER, SCANNER, COPIER, W/ FAX, NETWORK	1	\$2,400.00	\$2,400.00
560	PRINTER/ CUTTER MACHINE, COLOR, WIDE-BODY	1	\$17,340.00	\$17,340.00
213	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
428	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
429	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
438	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
440	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
492	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
540	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
540	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
541	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
551	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
551	PROJECTOR, LCD, HIGH END	1	\$4,500.00	\$4,500.00
576	PROJECTOR, LCD, HIGH END	1	\$8,936.69	\$8,936.69
210	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
210	PROJECTOR, LCD, LOW END	1	\$857.73	\$857.73
215	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
400	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
402	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
402	PROJECTOR, LCD, LOW END	1	\$509.98	\$509.98
402	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
404	PROJECTOR, LCD, LOW END	1	\$1,072.00	\$1,072.00
425	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
426	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
		-	7-,-30.00	+ 1,100.00

427	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
436	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
437	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
450	PROJECTOR, LCD, LOW END	1	\$1,360.24	\$1,360.24
475	PROJECTOR, LCD, LOW END	1	\$2,499.00	\$2,499.00
475	PROJECTOR, LCD, LOW END	1	\$2,438.73	\$2,438.73
475	PROJECTOR, LCD, LOW END	1	\$1,499.99	\$1,499.99
475	PROJECTOR, LCD, LOW END	1	\$1,499.99	\$1,499.99
475	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
492	PROJECTOR, LCD, LOW END	1	\$1,154.23	\$1,154.23
494	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
499	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
510	PROJECTOR, LCD, LOW END	1	\$999.00	\$999.00
510	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
541	PROJECTOR, LCD, LOW END	1	\$1,312.79	\$1,312.79
541	PROJECTOR, LCD, LOW END	1	\$1,312.79	\$1,312.79
541	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
541	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
541	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
551	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
560	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
560	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
560	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
560	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
560	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
572	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
576	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
		1		
581	PROJECTOR, LCD, LOW END		\$1,100.00	\$1,100.00
581	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
581	PROJECTOR, LCD, LOW END	1	\$1,100.00	\$1,100.00
3106	PROJECTOR, LCD, LOW END	1	\$1,851.15	\$1,851.15
3106	PROJECTOR, LCD, LOW END	1	\$1,695.00	\$1,695.00
576	PROJECTOR, OVERHEAD	1	\$310.00	\$310.00
540	PROJECTOR, SLIDE-CAROUSEL	1	\$350.00	\$350.00
454	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
503	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
540	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
3106	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
3106	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
3106	PUBLIC ADDRESS SYSTEM, HIGH END	1	\$3,500.00	\$3,500.00
3106		1		\$3,500.00
	PUBLIC ADDRESS SYSTEM, HIGH END		\$3,500.00	
402	PUBLIC ADDRESS SYSTEM, LOW END	1	\$1,087.00	\$1,087.00
452	PUBLIC ADDRESS SYSTEM, LOW END	1	\$1,087.00	\$1,087.00
581	PULLEY, ROPE, RESCUE	16	\$300.00	\$4,800.00
210	PUMP, EMULSION, SKID MOUNTED	1	\$23,116.00	\$23,116.00
540	PUMP, INFUSION	1	\$2,000.00	\$2,000.00
540	PUMP, INFUSION	1	\$2,000.00	\$2,000.00
540	PUMP, INFUSION	1	\$2,000.00	\$2,000.00
210	PUMP, TRASH WATER	1	\$10,218.00	\$10,218.00
210	PUMP, TRASH WATER, SMALL	1	\$800.00	\$800.00
210	PUMP, TRASH WATER, SMALL	1	\$800.00	\$800.00
560	PUMP, TRASH WATER, SMALL	1	\$800.00	\$800.00
3107	PUMP, TRASH WATER, SMALL	1	\$800.00	\$800.00
3103	PUMP, WATER	1	\$750.00	\$750.00
3103	PUMP, WATER	1	\$750.00	\$750.00
509	PURIFIER, AIR, SYSTEM	1	\$1,100.00	\$1,100.00
509	PURIFIER, AIR, SYSTEM	1	\$1,100.00	\$1,100.00
560	PURIFIER, AIR, SYSTEM	1	\$1,100.00	\$1,100.00
3101	QUICK HITCH, TRACTOR	1	\$820.00	\$820.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,965.17	\$1,965.17
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,965.17	\$1,965.17
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503				
	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER RACK ENCLOSURE, COMPUTER	1 1	\$1,700.00 \$1,700.00	\$1,700.00 \$1,700.00

503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
503	RACK ENCLOSURE, COMPUTER	1	\$1,700.00	\$1,700.00
215	RACK, BLUEPRINTS/MAPS	1	\$425.00	\$425.00
509	RACK, BLUEPRINTS/MAPS	1	\$425.00	\$425.00
509	RACK, BLUEPRINTS/MAPS	1	\$425.00	\$425.00
3106	RACK, BLUEPRINTS/MAPS	1	\$425.00	\$425.00
540	RACK, BULK STORAGE (PER SECTION)	10	\$350.00	\$3,500.00
540	RACK, BULK STORAGE (PER SECTION)	1	\$350.00	\$350.00
540	RACK, BULK STORAGE (PER SECTION)	29	\$350.00	\$10,150.00
	·			
587	RACK, BULK STORAGE (PER SECTION)	3	\$350.00	\$1,050.00
882	RACK, BULK STORAGE (PER SECTION)	4	\$350.00	\$1,400.00
882	RACK, BULK STORAGE (PER SECTION)	1	\$350.00	\$350.00
560	RACK, DUMBBELLS	2	\$110.00	\$220.00
560	RACK, PAPER ROLLS, LARGE	1	\$400.00	\$400.00
553	RACK, PARTS DISPLAY	1	\$125.00	\$125.00
587	RACK, PARTS DISPLAY	1	\$125.00	\$125.00
882	RACK, PARTS DISPLAY	3	\$125.00	\$375.00
570	RACK, PROPERTY	10	\$50.00	\$500.00
495	RACK, WIRE SHELVING 6'-8' HEIGHT	2	\$350.00	\$700.00
545	RACK, WIRE SHELVING 6'-8' HEIGHT	2	\$350.00	\$700.00
545	RACK, WIRE SHELVING 6'-8' HEIGHT	2	\$350.00	\$700.00
545	RACK, WIRE SHELVING 6'-8' HEIGHT	3	\$350.00	\$1,050.00
	•			
572	RACK, WIRE SHELVING 6'-8' HEIGHT	22	\$350.00	\$7,700.00
576	RACK, WIRE SHELVING 6'-8' HEIGHT	5	\$350.00	\$1,750.00
576	RACK, WIRE SHELVING 6'-8' HEIGHT	8	\$350.00	\$2,800.00
576	RACK, WIRE SHELVING 6'-8' HEIGHT	1	\$350.00	\$350.00
630	RACK, WIRE SHELVING 6'-8' HEIGHT	1	\$350.00	\$350.00
551	RADAR GUN, HANDHELD, POLICE	1	\$3,170.00	\$3,170.00
553	RADAR GUN, HANDHELD, POLICE	1	\$3,170.00	\$3,170.00
553	RADAR GUN, HANDHELD, POLICE	1	\$3,170.00	\$3,170.00
553	RADAR UNIT, DASH-MOUNTED, POLICE	1	\$3,390.00	\$3,390.00
553	RADAR UNIT, DASH-MOUNTED, POLICE	1	\$3,390.00	\$3,390.00
553	RADAR UNIT, DASH-MOUNTED, POLICE	1	\$3,390.00	\$3,390.00
581	RADIO INTERFACE UNIT, 6 CHANNEL, DISPATCH SYSTEM	1	\$7,400.00	\$7,400.00
581	RADIO INTERFACE UNIT, 6 CHANNEL, DISPATCH SYSTEM	1	\$7,400.00	\$7,400.00
		1		
581	RADIO INTERFACE UNIT, 6 CHANNEL, DISPATCH SYSTEM		\$7,400.00	\$7,400.00
581	RADIO INTERFACE UNIT, 6 CHANNEL, DISPATCH SYSTEM	1	\$7,400.00	\$7,400.00
507	RADIO REPEATER, BASE STATION, MOBILE	1	\$12,000.00	\$12,000.00
507	RADIO REPEATER, BASE STATION, MOBILE	1	\$12,000.00	\$12,000.00
507	RADIO REPEATER, BASE STATION, MOBILE	1	\$17,987.25	\$17,987.25
507	RADIO TOWER #1 & EQUIP, PRIME	1	\$900,000.00	\$900,000.00
507	RADIO TOWER #10 & EQUIP, CEDAR PARK S.	1	\$1,300,000.00	\$1,300,000.00
507	RADIO TOWER #2 & EQUIP, CEDAR PARK	1	\$1,524,930.00	\$1,524,930.00
507	RADIO TOWER #3 & EQUIP, THRALL	1	\$1,524,930.00	\$1,524,930.00
507	RADIO TOWER #4 & EQUIP, LIBERTY HILL	1	\$1,524,930.00	\$1,524,930.00
507	RADIO TOWER #5 & EQUIP	1	\$1,600,000.00	\$1,600,000.00
507	RADIO TOWER #6 & EQUIP	1	\$1,600,000.00	\$1,600,000.00
507	RADIO TOWER #7 & EQUIP, TOWER RD	1	\$1,990,400.00	\$1,990,400.00
507	• •	1		
	RADIO TOWER #8 & EQUIP, GRANGER		\$53,279.00	\$53,279.00
507	RADIO TOWER #9 & EQUIP, TAYLOR	1	\$1,957,050.00	\$1,957,050.00
507	RADIO TOWER & EQUIP, FLORENCE	1	\$1,509,879.50	\$1,509,879.50
507	RADIO TOWER & EQUIP, LIME CREEK	1	\$260,350.00	\$260,350.00
560	RADIO, AM/FM, W/ CASSETTE/ CD, PORTABLE	1	\$277.00	\$277.00
552	RADIO, BASE STATION	1	\$575.00	\$575.00
581	RADIO, BASE STATION	1	\$575.00	\$575.00
210	RADIO, BASE STATION, DIGITAL	1	\$3,600.00	\$3,600.00
507	RADIO, BASE STATION, DIGITAL	1	\$13,195.00	\$13,195.00
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$7,428.72	\$7,428.72
540	RADIO, BASE STATION, DIGITAL	1	\$6,428.72	\$6,428.72
541	RADIO, BASE STATION, DIGITAL	1	\$3,600.00	\$3,600.00
541	RADIO, BASE STATION, DIGITAL	1	\$5,557.00	\$5,557.00
587	RADIO, BASE STATION, DIGITAL	1	\$13,195.00	\$13,195.00
587	RADIO, BASE STATION, DIGITAL	1	\$13,195.00	\$13,195.00
1000	RADIO, BASE STATION, DIGITAL	1	\$3,600.00	\$3,600.00
1000	RADIO, BASE STATION, DIGITAL	1	\$7,000.00	\$7,000.00
1000	RADIO, BASE STATION, DIGITAL	1	\$3,600.00	\$3,600.00
540	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
540	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00

540	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
541	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
581	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
581	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
1000	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
1000	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
1000	,	1	\$1,480.00	\$1,480.00
	RADIO, BASE STATION, MOBILE			
1000	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
1000	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
1000	RADIO, BASE STATION, MOBILE	1	\$1,480.00	\$1,480.00
541	RADIO, CONSOLE	1	\$8,601.94	\$8,601.94
570	RADIO, CONSOLE	1	\$5,417.47	\$5,417.47
570	RADIO, CONSOLE	1	\$5,417.47	\$5,417.47
570	RADIO, CONSOLE	1	\$5,417.47	\$5,417.47
570	RADIO, CONSOLE	1	\$7,000.00	\$7,000.00
570	RADIO, CONSOLE	1	\$7,000.00	\$7,000.00
581	RADIO, MICROWAVE	1	\$3,000.00	\$3,000.00
581	RADIO, MICROWAVE	1	\$3,000.00	\$3,000.00
581	RADIO, MOBILE	24	\$980.00	\$23,520.00
581	RADIO, MOBILE	1	\$980.00	\$980.00
581	RADIO, MOBILE	1	\$2,180.00	\$2,180.00
		1		
581	RADIO, MOBILE		\$2,180.00	\$2,180.00
581	RADIO, MOBILE	1	\$2,180.00	\$2,180.00
1000	RADIO, MOBILE	1	\$1,480.00	\$1,480.00
581	RADIO, MOBILE, DIGITAL	1	\$3,350.00	\$3,350.00
581	RADIO, MOBILE, DIGITAL	1	\$3,350.00	\$3,350.00
1000	RADIO, MOBILE, DIGITAL	1	\$4,229.29	\$4,229.29
1000	RADIO, MOBILE, DIGITAL	1	\$3,350.00	\$3,350.00
1000	RADIO, MOBILE, DIGITAL	1	\$3,350.00	\$3,350.00
210	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
215	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
503		1	\$4,786.86	\$4,786.86
	RADIO, MOBILE, DIGITAL, RUGGED			
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,428.72	\$6,428.72
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,328.72	\$6,328.72
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,328.72	\$6,328.72
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, ROGGED	1		\$5,377.82
			\$5,377.82	
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, ROGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70

503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,487.55	\$6,487.55
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,487.55	\$6,487.55
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,487.55	\$6,487.55
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503		1	\$5,855.65	\$5,855.65
	RADIO, MOBILE, DIGITAL, RUGGED			
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503		1	\$5,855.65	\$5,855.65
	RADIO, MOBILE, DIGITAL, RUGGED			
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,614.96	\$5,614.96
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,614.96	\$5,614.96
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,666.33	\$5,666.33
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,666.33	\$5,666.33
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,328.72	\$6,328.72
503		1		\$6,328.72
	RADIO, MOBILE, DIGITAL, RUGGED		\$6,328.72	
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,328.72	\$6,328.72
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,428.72	\$6,428.72
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,255.70	\$5,255.70
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,855.65	\$5,855.65
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
503	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
		1		
540	RADIO, MOBILE, DIGITAL, RUGGED		\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$1,480.00	\$1,480.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,428.72	\$6,428.72
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
	, , , ,			
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,428.72	\$6,428.72
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,428.72	\$6,428.72
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
540	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
541	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
542	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
		1	¢4.007.01	¢4 907 01
553	RADIO, MOBILE, DIGITAL. RUGGED		\$4.897.01	34.097.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01

553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
553	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,155.70	\$6,155.70
560		1		
	RADIO, MOBILE, DIGITAL, RUGGED		\$6,162.44	\$6,162.44
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.44	\$6,162.44
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.44	\$6,162.44
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,791.84	\$6,791.84
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,791.84	\$6,791.84
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,791.84	\$6,791.84
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
		1		
560	RADIO, MOBILE, DIGITAL, RUGGED		\$5,900.00	\$5,900.00
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
570	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,965.98	\$5,965.98
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,073.98	\$4,073.98
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,777.98	\$5,777.98
581		1		\$5,777.98
	RADIO, MOBILE, DIGITAL, RUGGED		\$5,777.98	
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581		1		\$5,900.00
	RADIO, MOBILE, DIGITAL, RUGGED		\$5,900.00	
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
		1		
581	RADIO, MOBILE, DIGITAL, RUGGED		\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1		\$6,162.97
			\$6,162.97	
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97

581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,417.47	\$5,417.47
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,328.72	\$6,328.72
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,162.97	\$6,162.97
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
581	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587		1		
	RADIO, MOBILE, DIGITAL, RUGGED		\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587		1		
	RADIO, MOBILE, DIGITAL, RUGGED		\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1		\$5,377.82
	· · · · · · · · · · · · · · · · · · ·		\$5,377.82	1. 1
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
	RADIO, MOBILE, DIGITAL, RUGGED			
587	· · · · · · · · · · · · · · · · · · ·	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
	· · · · · · · · · · · · · · · · · · ·			
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
587	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
307	NADIO, MODILE, DIGITAL, NOGGLD	1	۰۵۲ ۱ دردډ	04.11،04

S87 RADIO, MODEL, DORTHA, RUGGED 1 53,377.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,587.83 53,77.82 53,57.78 53,77.82 53,57.78 53,77.82 53,57.78 53,77.82 53,77.82 53,57.78 53,77.82					
587 RADIO, MORIEL, BIOTRAIL, RUGGED 1 53,77.82 53,57.83 53,77.83		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377,82	\$5,377.82
S87 RADIO, MORIEL, DIGITAL, RUIGED 1 5,377.32 55.5					\$5,377.82
S87 RADIO, MORILE, DIGITAL, RUGGED 1 53,377.82 55,57.82 587 RADIO, MORILE, DIGITAL, RUGGED 1 53,377.82 55,57.82 587 RADIO, MORILE, DIGITAL, RUGGED 1 53,377.82 55,57.82 587 RADIO, MORILE, DIGITAL, RUGGED 1 53,377.82 53,57.83 587 RADIO, MORILE, DIGITAL, RUGGED 1 54,897.01 54,					
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 53,377.82 55.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 54,786.86 54.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 54,786.86 54.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 58,870.01 54.870.01		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 53,377.82 55.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 54,786.86 54.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 54,786.86 54.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 58,870.01 54.870.01		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MORIEL, DISTAR, BURGED 1 53,377.82 53.5 587 RADIO, MORIEL, DISTAR, BURGED 1 53,877.82 53.5 587 RADIO, MORIEL, DISTAR, BURGED 1 53,877.82 53.5 587 RADIO, MORIEL, DISTAR, BURGED 1 53,877.82 53.5 587 RADIO, MORIEL, DISTAR, BURGED 1 54,887.01 54,887.01 54,887.01 54,887.01 54,887.01 54,887.01 54,887.01 54,887.01 54,887.01 54,			1		\$5,377.82
S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S3,377.82 S5.5 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S5,377.82 S5.5 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S3,377.82 S5.5 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S3,377.82 S5.5 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S5,377.82 S5.5 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S6,877.80 S5.7 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S6,877.80 S5.7 S87 RADIO, MORIEL, DIGITAL, RUGGED 1 S6,064.86 S6.6					
\$87 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.87 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.87 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.887 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,4897.01 \$5,4897.		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.87 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.87 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,377.82 \$5,55.887 \$600, MOBIEL, BIGHTAL, RUGGED 1 \$5,4897.01 \$5,4897.		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377,82	\$5,377.82
S87 RADIO, MOBILE, RIGHTAL, RUGGED 1 \$5,377.82 \$5.5					
\$87 RADIO, MOBIE, BIGFTA, RUGGED 1 \$5,377.82 \$5,5 \$8,5					\$5,377.82
S87 RADIO, MOBILE, MORTAL, RUGGED 1 \$5,377.82 \$5.55.78 \$8.78 \$8.00 \$0.000 \$1.0000 \$1.000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MOBILE, MORTAL, RUGGED 1 \$5,377.82 \$5.55.78 \$8.78 \$8.00 \$0.000 \$1.0000 \$1.000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$1.0000 \$		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5.377.82	\$5,377.82
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5377.82 55.587 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5300.00 55.58 RADIO, MOBILE, DIGITAL, RUGGED 1 5,4897.01 54.4897.01 54.4897.01 54.4897.01 54.4897.01 54.4897.01 54.4897.01 54					\$5,377.82
S87					
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,377.82 55.		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,377.82 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 54,786.86 54. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 54,887.01 54. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 56,664.96 56. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 56,664.96 56. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 55,377.82 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5377.82 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5370.00 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5370.00 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,5370.00 53. S87 RADIO, MOBILE, DIGITAL, RUGGED 1 5,500.00 53. S88 RUGGED 1 5,500.00 53. S89 RUGGED 1 5,500.00 53. S89 RUGGED 1 5,500.00 53. S89 RUGGED 1 5,500.00 53.		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
S87					\$5,377.82
887 RADIO, MOBILE, DIGITAL, RUGGED 1 \$3,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4.4 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,064.96 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,064.96 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,4897.01 \$4.4 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 631 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5					
587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,889.70 \$4.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,606.49 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,606.49 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
887 RADO, MOBILE, DIGITAL, RUGGED 1 \$3,377.82 \$53,377.82 \$53,377.82 \$53,378.82 \$53,377.82 \$53,378.82 \$53,377.82 \$53,3		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
887 RADO, MOBILE, DIGITAL, RUGGED 1 \$3,377.82 \$53,377.82 \$53,377.82 \$53,378.82 \$53,377.82 \$53,378.82 \$53,377.82 \$53,3		RADIO MORILE DIGITAL RUGGED	1	\$5 377 82	\$5,377.82
887 RADIO, MOMBLE, DIGITAL, RUGGED 1 \$3,478.86 \$5.3 887 RADIO, MOMBLE, DIGITAL, RUGGED 1 \$4,889.01 \$4.4 887 RADIO, MOMBLE, DIGITAL, RUGGED 1 \$6,064.96 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,064.96 \$6.6 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,897.01 \$4.4 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5					
\$87 RADIO, MOBILE, DIGITAL, RUGGED \$88 RADIO, MOBILE, DIGITAL, RUGGED \$89 RADIO, MOBILE, DIGITAL, RUGGED \$80 RADIO, MOBILE, DIGITAL, RU		RADIO, MOBILE, DIGITAL, RUGGED		\$5,377.82	\$5,377.82
\$87 RADIO, MOBIEL, DIGITAL, RUGGED \$88 RADIO, MOBIEL, DIGITAL, RUGGED \$89 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,300.00 \$5,500.00 \$60 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,000.00 \$61 \$5,000.00 \$61 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,000.00 \$61 \$5,000.00 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
\$87 RADIO, MOBIEL, DIGITAL, RUGGED \$88 RADIO, MOBIEL, DIGITAL, RUGGED \$89 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,300.00 \$5,500.00 \$60 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,000.00 \$61 \$5,000.00 \$61 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,000.00 \$61 \$5,000.00 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61 \$61		RADIO MOBILE DIGITAL RUGGED	1	\$4 786 86	\$4,786.86
\$87 RADIO, MOBIEL, DIGITAL, RUGGED \$87 RADIO, MOBIEL, DIGITAL, RUGGED \$87 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,377.82 55; \$87 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,377.82 55; \$87 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,377.82 55; \$87 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$4,897.01 54, \$80 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$4,897.01 54, \$80 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$4,897.01 54, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 55, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 57, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 57, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,500.00 57, \$81 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,384.07 55, \$82 \$1000 RADIO, MOBIEL, DIGITAL, RUGGED \$1 \$5,384.07 55, \$83 \$4.07 55, \$83 \$4.07 55, \$83 \$4.07 55, \$83 \$4.07 55, \$84 \$4.897.01 54, \$85 \$4.897.01 54, \$85 \$4.897.01 54, \$85 \$4.897.01 54, \$85 \$4.897.01 54, \$85 \$4.897.01 54, \$85 \$6,500.00 54					
S87 RADIO, MOBILE, DIGITAL, RUGGED 1 55,078.96 50,058.97 RADIO, MOBILE, DIGITAL, RUGGED 1 55,377.82 55,578.78 587 RADIO, MOBILE, DIGITAL, RUGGED 1 54,897.01 54,487.01 5					\$4,897.01
\$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,377.82 \$5.5 \$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,377.82 \$5.5 \$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,897.01 \$4,4 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$7.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$7.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,384.07 \$5.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$4,897.01 \$4.4 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$		RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,064.96	\$6,064.96
\$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,377.82 \$5.5 \$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,377.82 \$5.5 \$87 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,897.01 \$4,4 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$630 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.5 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$5.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$7.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,900.00 \$7.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$5,384.07 \$5.7 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$1 \$4,897.01 \$4.4 \$1000 RADIO, MOBILE, DIGITAL, RUGGED \$		RADIO, MOBILE, DIGITAL, RUGGED	1	\$6.064.96	\$6,064.96
\$87 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,377.82 \$5.5 \$7 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5.7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4.4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5.5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4.4 1000 RADIO, MOBILE					
587 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,997.01 \$4,6 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,1 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$7,000.00 \$7,1 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$7,900.00 \$5,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 <t< td=""><td></td><td></td><td></td><td></td><td>\$5,377.82</td></t<>					\$5,377.82
630 RADIO, MOBILE, DIGITAL, RUGGED 31 SA,897.01 S44,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S5,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S7,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S7,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,384.07 S5,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,4897.01 S4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,500.00 S5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,500.00 S5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,890.00 S5,5 1000 RADIO, MOBILE,		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,377.82	\$5,377.82
630 RADIO, MOBILE, DIGITAL, RUGGED 31 SA,897.01 S44,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S5,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S7,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,000.00 S7,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,384.07 S5,51 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,4897.01 S4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,500.00 S5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,500.00 S5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 11 S5,890.00 S5,5 1000 RADIO, MOBILE,		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4.897.01	\$4,897.01
630 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,500.00 \$5,500.00 \$5,500.00 \$6,500.00					\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$55,					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$7,000.00 \$7,7		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 \$6,500.0	1	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 \$6,500.0		RADIO MORILE DIGITAL RUGGED	1	\$7,000,00	\$7,000.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 55,900.00 S.5.7,					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81 \$4,87.01		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4	1	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4		RADIO MOBILE DIGITAL RUGGED	1	\$7,000,00	\$7,000.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,51					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.0					\$4,897.01
1000 RADIO, MÖBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000 RADIO, MÖBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED	ı	RADIO MOBILE DIGITAL RUGGED	1	\$5 384 07	\$5,384.07
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$5,500.00 \$5,500.00 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,500.00 \$6,500.00 \$					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.0					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUG		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,884.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUG	J	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 \$4,000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 \$4,897.0			1	\$4.897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,4786.86 \$4,786.86					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUG		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,300.00 \$5,5000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,4000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,40000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,40000 RADIO, MOBILE, DIGI	1	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,71000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,61000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,51000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,51000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,51000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,51000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$6,61000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,786.86 \$4,78000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,78000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,78000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8000 RADIO, MOBILE, DIGITA	i		1		\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$4,786.86 \$6,786.8					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,256.66 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,256.66 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,81 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01	J	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4.897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,3 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,6 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,599.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66					\$6,256.66
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5000 \$6,500		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5000 \$6,500	J	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4.897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,900.00 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01			1		\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66		RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66	J	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$5,384.07 \$5,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,590.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01				1. 1	
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01					\$5,384.07
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,7 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01	,	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,786.86 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,786.86 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,509.42 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,807.01 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,509.42 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,809.01 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,509.00 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,509.00 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,809.00	J	RADIO, MOBILE, DIGITAL. RUGGED	1	\$6.256.66	\$6,256.66
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,786.86 \$4,786.86 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,509.42 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8					\$4,786.86
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,897.		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,897.	,	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,509.42	\$6,509.42
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8		·			\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,256.66 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,897.01 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,700 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,800 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,800					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,2 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8		RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,5 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8 1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,897.					
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8					\$6,256.66
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8	,	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
	J		1		\$4,897.01
1 \$4,897.01 \$4,8 to the transfer of the transf					
					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8	,	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$6,256.66 \$6,3		RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,8	,	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
					\$4,897.01
					\$4,897.01
1000 RADIO, MOBILE, DIGITAL, RUGGED 1 \$4,897.01 \$4,		RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01

1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
		1		\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED		\$4,897.01	. ,
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
		1		
1000	RADIO, MOBILE, DIGITAL, RUGGED		\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,786.86	\$4,786.86
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,693.36	\$6,693.36
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00

1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,926.51	\$4,926.51
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
	• • •			
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$7,000.00	\$7,000.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$3,350.00	\$3,350.00
1000		1		\$5,900.00
	RADIO, MOBILE, DIGITAL, RUGGED		\$5,900.00	
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,900.00	\$5,900.00
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$6,256.66	\$6,256.66
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
1000	RADIO, MOBILE, DIGITAL, RUGGED	1	\$5,384.07	\$5,384.07
			\$4,897.01	
1000	RADIO, MOBILE, DIGITAL, RUGGED	1		\$4,897.01
210	RADIO, PORTABLE	1	\$1,980.00	\$1,980.00
210	RADIO, PORTABLE	1	\$1,980.00	\$1,980.00
560	RADIO, PORTABLE	1	\$5,495.64	\$5,495.64
560	RADIO, PORTABLE	1	\$5,495.64	\$5,495.64
560	RADIO, PORTABLE	1	\$5,495.64	\$5,495.64
583	RADIO, PORTABLE	1	\$6,055.16	\$6,055.16
1000	RADIO, PORTABLE	1		\$1,980.00
			\$1,980.00	
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1		\$2,281.63
			\$2,281.63	
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
	-, -::::::===, =:=:::=	_	, _,	,-01.00

210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
503	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
503	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
503	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
503	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
503	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
509	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
509	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
509	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
509	RADIO, PORTABLE, DIGITAL	1	\$4,121.49	\$4,121.49
509	RADIO, PORTABLE, DIGITAL	1	\$4,121.49	\$4,121.49
509	RADIO, PORTABLE, DIGITAL	1	\$4,121.49	\$4,121.49
509	RADIO, PORTABLE, DIGITAL	1	\$3,421.72	\$3,421.72
509	RADIO, PORTABLE, DIGITAL	1		
			\$4,121.49	\$4,121.49
509	RADIO, PORTABLE, DIGITAL	1	\$4,121.49	\$4,121.49
554	RADIO, PORTABLE, DIGITAL	1	\$4,150.64	\$4,150.64
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
560	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
560	RADIO, PORTABLE, DIGITAL	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, DIGITAL	1	\$4,229.29	\$4,229.29
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
570	RADIO, PORTABLE, DIGITAL	1	\$2,951.23	\$2,951.23
570	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
			-	

570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
	RADIO, PORTABLE, DIGITAL	1		\$2,044.66
570	·		\$2,044.66	
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570		1	\$1,702.93	\$1,702.93
	RADIO, PORTABLE, DIGITAL			
570	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,044.66	\$2,044.66
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
		1		
570	RADIO, PORTABLE, DIGITAL		\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.80	\$2,489.80
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, DIGITAL	1	\$2,489.79	\$2,489.79
570	RADIO, PORTABLE, DIGITAL	1	\$2,292.90	\$2,292.90
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
		1		\$2,292.91
576 576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	
576	RADIO, PORTABLE, DIGITAL		\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
	•		•	

576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576		1	\$2,292.91	\$2,292.91
	RADIO, PORTABLE, DIGITAL			
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576		1		
	RADIO, PORTABLE, DIGITAL		\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,450.00	\$2,450.00
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
576	RADIO, PORTABLE, DIGITAL	1	\$2,292.91	\$2,292.91
581	RADIO, PORTABLE, DIGITAL	1	\$2,881.63	\$2,881.63
581	RADIO, PORTABLE, DIGITAL	1	\$2,881.63	\$2,881.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
587	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
882	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
882	RADIO, PORTABLE, DIGITAL	1	\$2,281.63	\$2,281.63
1000				
	RADIO, PORTABLE, DIGITAL	1	\$4,714.85	\$4,714.85
541	RADIO, PORTABLE, LOW END	18	\$340.00 \$4.150.64	\$6,120.00
553	RADIO, PORTABLE, LOW END	1	\$4,150.64	\$4,150.64
581	RADIO, PORTABLE, LOW END	2	\$340.00	\$680.00
3106	RADIO, PORTABLE, LOW END	4	\$340.00	\$1,360.00
210	RADIO, PORTABLE, RUGGED	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, RUGGED	1	\$4,194.72	\$4,194.72
210	RADIO, PORTABLE, RUGGED	1	\$4,194.72	\$4,194.72

210	RADIO, PORTABLE, RUGGED	1	\$3,117.13	\$3,117.13
341	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
341	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
440	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	·			
440	RADIO, PORTABLE, RUGGED	1	\$4,404.59	\$4,404.59
440	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	RADIO, PORTABLE, RUGGED	1		
440	·		\$4,150.64	\$4,150.64
440	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
440	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
440	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
452	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
475	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
475	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	·			
475	RADIO, PORTABLE, RUGGED	1	\$5,196.10	\$5,196.10
475	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	RADIO, PORTABLE, RUGGED			
475	·	1	\$4,150.64	\$4,150.64
475	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
		1		
503	RADIO, PORTABLE, RUGGED		\$5,045.08	\$5,045.08
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$5,196.10	\$5,196.10
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$2,400.00	\$2,400.00
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$5,116.44	\$5,116.44
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503		1		\$4,314.85
	RADIO, PORTABLE, RUGGED		\$4,314.85	
503	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
503	RADIO, PORTABLE, RUGGED	1	\$5,116.44	\$5,116.44
503	RADIO, PORTABLE, RUGGED	1	\$2,400.00	\$2,400.00
503	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
503	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
503	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
503	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED			\$5,495.64
		1	\$5,495.64	. ,
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
503	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
509	RADIO, PORTABLE, RUGGED	1	\$4,121.49	\$4,121.49
	·			
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540		1		
	RADIO, PORTABLE, RUGGED		\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
		1		
540	RADIO, PORTABLE, RUGGED		\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
		1	γ - 7,130.04	,±3U.04
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	
				\$4,150.64 \$4,150.64

540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,500.00	\$4,500.00
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	· · · · · · · · · · · · · · · · · · ·	1		\$5,460.60
	RADIO, PORTABLE, RUGGED		\$5,460.60	
540	RADIO, PORTABLE, RUGGED	1	\$5,460.60	\$5,460.60
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
540	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
				. ,

541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541		1	\$4,725.00	
	RADIO, PORTABLE, RUGGED			\$4,725.00
541	RADIO, PORTABLE, RUGGED	1	\$3,386.70	\$3,386.70
541	RADIO, PORTABLE, RUGGED	1	\$3,386.70	\$3,386.70
541	RADIO, PORTABLE, RUGGED	1	\$3,386.70	\$3,386.70
541	RADIO, PORTABLE, RUGGED	1	\$3,386.70	\$3,386.70
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
541	RADIO, PORTABLE, RUGGED	1	\$6,332.32	\$6,332.32
541	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
542	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
542	RADIO, PORTABLE, RUGGED	1	\$6,860.38	\$6,860.38
542	RADIO, PORTABLE, RUGGED	1	\$6,860.38	\$6,860.38
551	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
		1	\$4,897.01	
551	RADIO, PORTABLE, RUGGED			\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
551	•	1		
	RADIO, PORTABLE, RUGGED		\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$6,153.55	\$6,153.55
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
552	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
553	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
553	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
553	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	, ,			
553	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
553	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1		
			\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
		1		
554	RADIO, PORTABLE, RUGGED		\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64

554	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
560	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560		1		\$4,229.29
	RADIO, PORTABLE, RUGGED		\$4,229.29	
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,495.64	\$5,495.64
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$5,116.44	\$5,116.44
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,116.44	\$5,116.44
560	RADIO, PORTABLE, RUGGED	1	\$2,292.90	\$2,292.90
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560		1		
	RADIO, PORTABLE, RUGGED		\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1		\$4,229.29
			\$4,229.29	
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,804.80	\$5,804.80
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
		1		
560	RADIO, PORTABLE, RUGGED		\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED			\$4,897.01
		1	\$4,897.01	
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
560	RADIO, PORTABLE, RUGGED	1	\$4,786.86	\$4,786.86
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
300	NADIO, FORTABLE, NOUGED	1	→+,∠∠ ∃.∠∃	34,223.29

560	RADIO, PORTABLE, RUGGED	1	\$5,116.44	\$5,116.44
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
560	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
			· · · · · · · · · · · · · · · · · · ·	
560	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
570	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
570	RADIO, PORTABLE, RUGGED	1	\$1,702.93	\$1,702.93
570	RADIO, PORTABLE, RUGGED	1	\$1,702.92	\$1,702.92
570	RADIO, PORTABLE, RUGGED	1	\$2,292.90	\$2,292.90
570	RADIO, PORTABLE, RUGGED	1	\$3,220.38	\$3,220.38
581	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
581	RADIO, PORTABLE, RUGGED	1		\$4,229.29
	•		\$4,229.29	
581	RADIO, PORTABLE, RUGGED	1	\$4,500.00	\$4,500.00
581	RADIO, PORTABLE, RUGGED	1	\$4,500.00	\$4,500.00
581	RADIO, PORTABLE, RUGGED	1	\$4,500.00	\$4,500.00
581	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
581	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
587	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
587	RADIO, PORTABLE, RUGGED	1	\$993.75	\$993.75
			\$993.75	
587	RADIO, PORTABLE, RUGGED	1		\$993.75
587	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
630	RADIO, PORTABLE, RUGGED	1	\$5,377.82	\$5,377.82
630	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
630	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1		
			\$4,897.01	\$4,897.01
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
	,			
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70

1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
			. ,	
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,897.01	\$4,897.01
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
		1		
1000	RADIO, PORTABLE, RUGGED		\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,888.70	\$5,888.70
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
1000		1		
	RADIO, PORTABLE, RUGGED		\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,475.16	\$4,475.16
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1		
			\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$5,460.60	\$5,460.60
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
	·			
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,045.08	\$5,045.08
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
	·			
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
	RADIO, PORTABLE, RUGGED			
1000		1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	·	1		
	RADIO, PORTABLE, RUGGED		\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$4,150.64	\$4,150.64
1000	RADIO, PORTABLE, RUGGED	1	\$5,460.60	\$5,460.60
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$5,196.10	\$5,196.10
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,314.85	\$4,314.85
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
1000	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
	RADIO, PORTABLE, RUGGED	1	\$4,229.29	\$4,229.29
		1	74 //4 /4	34.779.79
1000	RADIO, PORTABLE, RUGGED	=	ψ .,223.23	+ -,======

341	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$4,229.29	\$4,229.29
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,214.96	\$6,214.96
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.06	\$5,384.06
	· · · ·			
475	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.06	\$5,384.06
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,690.62	\$6,690.62
	·		. ,	
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,690.62	\$6,690.62
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,690.62	\$6,690.62
503	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
		1		
540	RADIO, PORTABLE, RUGGED, HIGH-END		\$5,384.07	\$5,384.07
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
	· · · · · ·			
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,960.08	\$6,960.08
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
540	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,614.64	\$5,614.64
	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	
541			. ,	\$6,055.16
541	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
541	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
541	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$7,395.19	\$7,395.19
541	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$8,701.37	\$8,701.37
541	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1		\$6,055.16
			\$6,055.16	
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
	·			
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
	· · · · · ·			
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
542	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
552	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,700.00	\$6,700.00
554	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,517.99	\$6,517.99
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
	RADIO, PORTABLE, RUGGED, HIGH-END			
560		1	\$5,384.07	\$5,384.07
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,256.66	\$6,256.66
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,256.66	\$6,256.66
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,256.66	\$6,256.66
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,256.66	\$6,256.66
560	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,509.42	\$6,509.42
576	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
576	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
581	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
581	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
581	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
	·			

581	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
581	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
583	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$6,055.16	\$6,055.16
587	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
587	RADIO, PORTABLE, RUGGED, HIGH-END	1	\$5,384.07	\$5,384.07
1000 492	RADIO, PORTABLE, RUGGED, HIGH-END RAIN COATS, POLICE	1 10	\$6,055.16 \$75.00	\$6,055.16 \$750.00
540	RANGE, ELECTRIC/GAS	10	\$430.00	\$430.00
551	RANGE, ELECTRIC/GAS	1	\$430.00	\$430.00
215	RECEIVER, GNSS	1	\$2,183.13	\$2,183.13
215	RECEIVER, GNSS	1	\$2,183.13	\$2,183.13
560	RECORDING SYSTEM, COVERT, AUDIO, CASSETTE	1	\$950.00	\$950.00
503	RECORDING SYSTEM, INTERROGATION, VIDEO/AUDIO	1 1	\$31,294.00	\$31,294.00
210 440	RECYCLER AND SOIL STABILIZER, PAVEMENT REFRIGERATOR, COUNTERTOP	1	\$708,810.00 \$250.00	\$708,810.00 \$250.00
440	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
454	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
509	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
540	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
540	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
542	REFRIGERATOR, COUNTERTOR	1 1	\$250.00	\$250.00
545 545	REFRIGERATOR, COUNTERTOP REFRIGERATOR, COUNTERTOP	1	\$250.00 \$250.00	\$250.00 \$250.00
551	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
554	REFRIGERATOR, COUNTERTOP	2	\$250.00	\$500.00
560	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
570	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576 576	REFRIGERATOR, COUNTERTOP REFRIGERATOR, COUNTERTOP	1 1	\$250.00 \$250.00	\$250.00 \$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
576	REFRIGERATOR, COUNTERTOR	1	\$250.00	\$250.00
581 583	REFRIGERATOR, COUNTERTOP REFRIGERATOR, COUNTERTOP	2 1	\$250.00 \$250.00	\$500.00 \$250.00
591	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
591	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
630	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
630	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
630	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
630	REFRIGERATOR, COUNTERTOP	1	\$250.00	\$250.00
213 213	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1 1	\$884.00 \$884.00	\$884.00 \$884.00
402	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
453	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
453	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
475	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
475	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
494	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
499 503	REFRIGERATOR, HOUSEHOLD, W/ ICEMIAKER	1 1	\$884.00 \$884.00	\$884.00 \$884.00
509	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$717.30	\$717.30
510	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$1,080.00	\$1,080.00
540	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
540	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
541	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
541 541	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1 1	\$884.00 \$884.00	\$884.00 \$884.00
545	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
545	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$579.99	\$579.99
545	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$1,425.65	\$1,425.65
551	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
553	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
587	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
3103 3106	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1 1	\$1,080.00 \$998.00	\$1,080.00 \$998.00
3107	REFRIGERATOR, HOUSEHOLD, W/ ICEMIAKER	1	\$884.00	\$884.00
3107	REFRIGERATOR, HOUSEHOLD, W/ ICEMAKER	1	\$884.00	\$884.00
210	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
210	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
210	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
211	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
214	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00

15					
PRINCEPATOR NOTERNAMEN 1	215	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	2	\$400.00	\$800.00
BETRICERATOR, MOUSEMED, AND CEMMER 2 \$400.00 \$40	404	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
SEPROGRAFON, PROJESHOLD, WO CEMMERS 1 \$400.00 \$4	405	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
452 RETRICERATOR, NOUSEPOLD, WIS CEMMER 1 \$400.00 \$400.0		· · ·			
### ### ### ### ### ### ### ### ### ##					
## 15 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$10,000 \$100,000 ## 27 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$10,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$10,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 29 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28 REFINICEATOR, HOUSENDE, W/O ICEMARER 1 \$100,000 \$100,000 ## 28					
492 REFINICEPATOR, HOUSENDLO, W/O ICENAMER 1 \$400.00 \$400.00					
## ## ## ## ## ## ## ## ## ## ## ## ##					
495 REFINICIPATOR, HOUSENDLO, W/O ICEMANER 2 \$400.00 \$600.00					
497 REPRIGEATOR, HOUSENDLD, WOI CEMAKER 1 \$000.0 \$100.00				\$400.00	
499 REPRIGEATOR, NOUSENCLU, WOLCEMAKER 1 \$000.00 \$400.00	497	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
499	497	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER		\$400.00	\$400.00
499					
499 REFRIGRATOR, HOUSENDO, WOI CEMMARER 1 \$400.00 \$400.00					
### ###					
1					
1					
SAGE REFRIGRATOR, HOUSEHOLD, WID ICEMAKER 1 \$400.00 \$400.00 \$500.00					
P. REFIGERATOR, NOUSERLOD, W/O ICEMAKER 1 \$00.000 \$400.000					
590 REFIGICATION, HOUSEHOLD, VIO ICEMAKER 1 \$400.00 \$400.00	509	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
Section Sect	509	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
540 REFRICERATOR, HOUSHOLD, WO ICEMAKER 1 \$400.00 \$400.0	509	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
540 REFRIGERATOR, HOUSEHOLD, WOI (CEMAKER 1 5400.00 5300.00 5400 REFRIGERATOR, HOUSEHOLD, WOI (CEMAKER 1 5400.00 5500.00 551 REFRIGERATOR, HOUSEHOLD, WOI CEMAKER 1					
Separation Sep		· · ·			
540 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400					
540 REPRIGERATOR, HOUSEHOLD, W/O ICEMAKER					
SADO REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER					
SAGO REFIRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$4					
S41 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER					
545 REFRIGERATOR, HOUSEHOLD, WO ICEMAKER	540	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
S45 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	541	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
545 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1		REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER		\$400.00	
SETI REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 SA00.00 S400.00 S40					
S52 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1					
553 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 554 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$800.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$800.00 560 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, HOUSEHOLD, W/O ICEMA					
S54 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 \$400.00 \$500 \$600.00					
S60 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 \$500					
S60 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 \$500					
S60 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1					
S60 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1	560	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
STO REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1	560	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	2	\$400.00	\$800.00
S70 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1					
570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMA					
570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMA					
570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMA					
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMA					
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMA		· · ·			
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH					
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$5,175.00 \$5,175.00 576	576	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 576 REFRIGERATOR, REACH-IN, 1 SECTION	576	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION					
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION		, , ,			
576 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 <td< td=""><td></td><td></td><td></td><td></td><td></td></td<>					
581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 2 \$400.00 \$800.00 581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 682 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION					
581 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 591 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00				•	
630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
630 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$5,175.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00	591	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
882 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00	630	REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER	1	\$400.00	\$400.00
3101 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
3103 REFRIGERATOR, HOUSEHOLD, W/O ICEMAKER 1 \$400.00 570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00					
570 REFRIGERATOR, PASS-THROUGH 1 \$2,680.00 \$2,680.00 570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
570 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00 576 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00					
665 REFRIGERATOR, REACH-IN, 1 SECTION 1 \$5,175.00 \$5,175.00	576	REFRIGERATOR, REACH-IN, 1 SECTION		\$5,175.00	\$5,175.00
	665	REFRIGERATOR, REACH-IN, 1 SECTION	1	\$5,175.00	\$5,175.00

3106	REFRIGERATOR, REACH-IN, 1 SECTION	1	\$5,175.00	\$5,175.00
570	REFRIGERATOR, REACH-IN, 2 SECTION	1	\$5,945.00	\$5,945.00
570	REFRIGERATOR, REACH-IN, 2 SECTION	1	\$5,945.00	\$5,945.00
570 3106	REFRIGERATOR, REACH IN 2 SECTION	1 1	\$5,945.00	\$5,945.00
3106	REFRIGERATOR, REACH-IN, 2 SECTION REFRIGERATOR, REACH-IN, 2 SECTION	1	\$2,445.00 \$5,945.00	\$2,445.00 \$5,945.00
540	REFRIGERATOR/ FREEZER, SIDE-BY-SIDE	1	\$1,700.00	\$1,700.00
540	REFRIGERATOR/ FREEZER, SIDE-BY-SIDE	1	\$1,700.00	\$1,700.00
560	REFRIGERATOR/ FREEZER, SIDE-BY-SIDE	1	\$1,700.00	\$1,700.00
570	REFRIGERATOR/ FREEZER, SIDE-BY-SIDE	1	\$1,700.00	\$1,700.00
587	REFRIGERATOR/ FREEZER, SIDE-BY-SIDE	1	\$1,700.00	\$1,700.00
507	REPEATER TOWER, FLORENCE	1	\$11,774.57	\$1,774.57
507	REPEATER TOWER, FLORENCE	1	\$1,737,303.80	\$1,737,303.80
541	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
541	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
541	REPEATER, RADIO	1	\$2,670.61	\$2,670.61
560	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
581	REPEATER, RADIO	1	\$5,000.00	\$5,000.00
540	RESUSCI ANNE - JUNIOR	5	\$400.00	\$2,000.00
540	RESUSCI ANNE - JUNIOR	1	\$400.00	\$400.00
210	RETROREFLECTOMETER	1	\$16,600.00	\$16,600.00
560	RIFLE	1	\$625.00	\$625.00
560	RIFLE	1	\$649.95	\$649.95
560	RIFLE	1	\$689.00	\$689.00
560	RIFLE	1	\$768.95	\$768.95
560	RIFLE	1	\$649.95	\$649.95
560	RIFLE	1	\$649.95	\$649.95
560	RIFLE	1	\$649.95	\$649.95
560	RIFLE	1	\$649.95	\$649.95
551	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,095.00	\$1,095.00
551	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,185.50	\$1,185.50
551	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,185.50	\$1,185.50
551	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$861.79	\$861.79
552	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$870.45	\$870.45
552	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$870.45	\$870.45
552	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$870.45	\$870.45
552	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$870.45	\$870.45
554	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$552.94	\$552.94
554	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$552.94	\$552.94
554	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,119.00	\$1,119.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$880.45	\$880.45
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$880.45	\$880.45
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$880.45	\$880.45
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$880.45	\$880.45
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	=	\$880.45	\$880.45
560 560	RIFLE, SEMI-AUTOMATIC/ ASSAULT RIFLE, SEMI-AUTOMATIC/ ASSAULT	1 1	\$880.45 \$870.45	\$880.45 \$870.45
		1		
560 560	RIFLE, SEMI-AUTOMATIC/ ASSAULT RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$870.45 \$799.75	\$870.45 \$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75 \$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$799.75	\$799.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.15	\$783.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15

560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$788.15	\$788.15
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$783.51	\$783.51
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,254.75	\$1,254.75
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,000.00	\$2,000.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,119.00	\$2,119.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$800.00	\$800.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$800.00	\$800.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$800.00	\$800.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
	·			
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,164.13	\$2,164.13
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,089.23	\$2,089.23
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,970.00	\$1,970.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,970.00	\$1,970.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,053.29	\$2,053.29
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$2,053.29	\$2,053.29
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$1,299.98	\$1,299.98
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$639.00	\$639.00
	·			\$639.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$639.00	
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$639.00	\$639.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$753.41	\$753.41
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$753.41	\$753.41
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$599.00	\$599.00
560	RIFLE, SEMI-AUTOMATIC/ ASSAULT	1	\$599.00	\$599.00
554	RIFLE, SHORT BARREL	1	\$667.75	\$667.75
554	RIFLE, SHORT BARREL	1	\$667.75	\$667.75
554	RIFLE, SHORT BARREL	1	\$667.75	\$667.75
554	RIFLE, SHORT BARREL	1	\$667.75	\$667.75
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00

560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560		1	\$2,030.00	\$2,030.00
	RIFLE, SHORT BARREL			
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$2,030.00	\$2,030.00
560	RIFLE, SHORT BARREL	1	\$1,979.20	\$1,979.20
560	RIFLE, SHORT BARREL	1	\$1,979.20	\$1,979.20
560	RIFLE, SHORT BARREL	1	\$1,979.20	\$1,979.20
560	RIFLE, SHORT BARREL	1	\$1,979.20	\$1,979.20
560	RIFLE, SHORT BARREL	1	\$1,979.20	\$1,979.20
560	RIFLE, TACTICAL/ SNIPER	1	\$5,792.74	\$5,792.74
560	RIFLE, TACTICAL/ SNIPER	1	\$5,792.74	\$5,792.74
560	RIFLE, TACTICAL/ SNIPER	1	\$5,792.74	\$5,792.74
560	RIFLE, TACTICAL/ SNIPER	1	\$5,792.74	\$5,792.74
560	RIFLE, TACTICAL/ SNIPER	1	\$5,490.00	\$5,490.00
560	RIFLE, TACTICAL/ SNIPER	1	\$5,490.00	\$5,490.00
560	RIFLE, TACTICAL/ SNIPER	1	\$5,490.00	\$5,490.00
560	RIFLE, TACTICAL/ SNIPER	1	\$5,490.00	\$5,490.00
560	ROLL APPLICATOR, HAND SQUEEZE (SIGN MAKER), 48"	1	\$3,000.00	\$3,000.00
3103	ROLLER, ASPHALT, SMALL	1	\$6,407.60	\$6,407.60
3106	ROLLER, ASPHALT, SMALL	1	\$23,291.55	\$23,291.55
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$87,824.00	\$87,824.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$90,800.00	\$90,800.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$83,733.00	\$83,733.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$74,770.00	\$74,770.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$115,595.00	\$115,595.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$133,500.00	\$133,500.00
210		1		
	ROLLER/ COMPACTOR, PNEUMATIC		\$113,646.00	\$113,646.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$34,861.00	\$34,861.00
210	ROLLER/ COMPACTOR, PNEUMATIC	1	\$46,000.00	\$46,000.00
210	ROLLER/ COMPACTOR, VIBRATORY, TANDEM	1	\$130,530.00	\$130,530.00
210	ROLLER/ COMPACTOR, VIBRATORY, TANDEM, SMALL	1	\$40,686.00	\$40,686.00
210	ROLLER/ COMPACTOR, VIBRATORY, TANDEM, SMALL	1	\$61,894.00	\$61,894.00
210	ROLLER/ COMPACTOR, VIBRATORY, TANDEM, SMALL	1	\$61,894.00	\$61,894.00
	ROLLER/ COMPACTOR, VIBRATORY, TANDEM, SMALL	1		
882	· · · · · · · · · · · · · · · · · · ·		\$61,894.00	\$61,894.00
540	ROOM DIVIDER/PARTITION	1	\$160.00	\$160.00
540	ROOM DIVIDER/PARTITION	1	\$160.00	\$160.00
540	ROOM DIVIDER/PARTITION	1	\$160.00	\$160.00
560	ROOM DIVIDER/PARTITION	17	\$160.00	\$2,720.00
581	ROPE, RESCUE	12	\$160.00	\$1,920.00
495	ROTARY MIXER, ROAD RECLAIMER	1	\$745,277.00	\$745,277.00
509	ROUTER W/ MOTOR, HANDHELD	2	\$231.00	\$462.00
630	ROUTER, 1 1/2 HP W/ D-HANDLE BASE	1	\$265.00	\$265.00
541	ROUTER, BROADBAND, WIRELESS	1	\$828.94	\$828.94
541	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
	ROUTER, COMPUTER	1		
581			\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581	ROUTER, COMPUTER	1	\$3,000.00	\$3,000.00
581		1	\$3,000.00	
	ROUTER, COMPUTER			\$3,000.00
581	ROUTER, COMPUTER	9	\$3,000.00	\$27,000.00
581	ROUTER, EDGE, ETHERNET	1	\$29,500.00	\$29,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
	: =: y =:::=::::::::::::::::::::::::::::::::	*	+0,555.00	Ç0,000.00

			_	
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$6,500.00	\$6,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
510	ROUTER, ETHERNET	1	\$1,500.00	\$1,500.00
503	ROUTER, FIBER OPTIC	1	\$2,500.00	\$2,500.00
503	ROUTER, FIBER OPTIC	1	\$2,500.00	\$2,500.00
503	ROUTER, FIBER OPTIC	1	\$2,500.00	\$2,500.00
503	ROUTER, FIBER OPTIC	1	\$9,528.82	\$9,528.82
581	ROUTER, HOTSPOT	1	\$350.00	\$350.00
503	ROUTER, INTEGRATED SERVICES, HIGH-END	1	\$5,200.00	\$5,200.00
581	ROUTER, INVERTED PIN	1	\$3,585.00	\$3,585.00
581	ROUTER, INVERTED PIN	1	\$3,585.00	\$3,585.00
540	ROUTER, WIRELESS	1	\$65.00	\$65.00
541	ROUTER, WIRELESS	1	\$65.00	\$65.00
542	ROUTER, WIRELESS, FOR GAS/ RADIATION DETECTORS	1	\$2,900.00	\$2,900.00
542	ROUTER, WIRELESS, FOR GAS/ RADIATION DETECTORS	1	\$2,900.00	\$2,900.00
542	ROUTER, WIRELESS, FOR GAS/ RADIATION DETECTORS	1	\$2,310.00	\$2,310.00
542	ROUTER, WIRELESS, FOR GAS/ RADIATION DETECTORS	1	\$2,900.00	\$2,900.00
560	ROWER, INCLINE	16	\$320.00	\$5,120.00
451	SAFE, LARGE	1	\$950.00	\$950.00
451	SAFE, LARGE	1	\$950.00	\$950.00
453	SAFE, LARGE	1	\$950.00	\$950.00
499	SAFE, LARGE	1	\$950.00	\$950.00
499	SAFE, LARGE	1	\$950.00	\$950.00
499	SAFE, LARGE	1	\$950.00	\$950.00
499	SAFE, LARGE	1	\$950.00	\$950.00
510	SAFE, LARGE	1	\$601.41	\$601.41
540	SAFE, LARGE	1	\$950.00	\$950.00
551	SAFE, LARGE	1	\$950.00	\$950.00
551	SAFE, LARGE	1	\$950.00	\$950.00
551	SAFE, LARGE	1	\$950.00	\$950.00
551	SAFE, LARGE	1	\$950.00	\$950.00
552	SAFE, LARGE	1	\$950.00	\$950.00
570		1		\$950.00
	SAFE, LARGE		\$950.00	
576	SAFE, LARGE	1	\$950.00	\$950.00
3101	SAFE, LARGE	1	\$950.00	\$950.00
3106	SAFE, LARGE	1	\$950.00	\$950.00
3107	SAFE, LARGE	1	\$61.41	\$61.41
400	SAFE, SMALL	1	\$350.00	\$350.00
403	SAFE, SMALL	2	\$350.00	\$700.00
450	SAFE, SMALL	1	\$350.00	\$350.00
475	SAFE, SMALL	2	\$350.00	\$700.00
494	SAFE, SMALL	1	\$350.00	\$350.00
495	SAFE, SMALL	1	\$350.00	\$350.00
499	SAFE, SMALL	1	\$350.00	\$350.00
499	SAFE, SMALL	1	\$350.00	\$350.00
499	SAFE, SMALL	2	\$350.00	\$700.00
499	SAFE, SMALL	2	\$350.00	\$700.00
499	SAFE, SMALL	1	\$350.00	\$350.00
509	SAFE, SMALL	1	\$350.00	\$350.00
540	SAFE, SMALL	1	\$350.00	\$350.00
541	SAFE, SMALL	1	\$350.00	\$350.00
541	SAFE, SMALL	1	\$350.00	\$350.00
551	SAFE, SMALL	1	\$350.00	\$350.00
551	SAFE, SMALL	1	\$350.00	\$350.00
552	SAFE, SMALL	1	\$350.00	\$350.00
552	SAFE, SMALL	1	\$350.00	\$350.00
552	SAFE, SMALL	1	\$350.00	\$350.00
552	SAFE, SMALL	1	\$350.00	\$350.00
554	SAFE, SMALL	1	\$350.00	\$350.00
554	SAFE, SMALL	1	\$350.00	\$350.00
554	SAFE, SMALL	1	\$350.00	\$350.00
560	SAFE, SMALL	1	\$350.00	\$350.00
560	SAFE, SMALL	1	\$350.00	\$350.00
560	SAFE, SMALL	1	\$350.00	\$350.00
560	SAFE, SMALL	1	\$350.00	\$350.00
560	SAFE, SMALL	1	\$350.00	\$350.00
570	SAFE, SMALL	1	\$350.00	\$350.00
576	SAFE, SMALL	1	\$350.00	\$350.00
509	SANDER, BELT, 4", HANDHELD	1	\$140.00	\$140.00

			4	*
3101	SANDER, BELT/DISC, 4" X 6"	1	\$135.00	\$135.00
509 576	SANDER, RANDOM ORBITAL, V. SPEED	1	\$190.00	\$190.00
581	SANDER, RANDOM ORBITAL, V-SPEED	1 1	\$190.00	\$190.00 \$3,800.00
503	SATELLITE LOCATOR / TRACKER SATELLITE RECEIVER	1	\$3,800.00 \$2,183.12	\$2,183.12
3101	SAW HORSE	2	\$30.00	\$60.00
509	SAW, BAND	2	\$390.00	\$780.00
3103	SAW, BAND	1	\$390.00	\$390.00
210	SAW, CHAIN	12	\$385.00	\$4,620.00
3101	SAW, CHAIN	3	\$385.00	\$1,155.00
3103	SAW, CHAIN	2	\$385.00	\$1,133.00
3107	SAW, CHAIN	2	\$385.00	\$770.00
210	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
210	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
210	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3101	SAW, CHAIN, PROFESSIONAL	1	\$504.00	\$504.00
3101	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$875.50	\$875.50
3103	SAW, CHAIN, PROFESSIONAL	1	\$799.00	\$799.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3103	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3107	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
3107	SAW, CHAIN, PROFESSIONAL	1	\$670.00	\$670.00
210	SAW, CHOP	1	\$260.00	\$260.00
210	SAW, CHOP	1	\$260.00	\$260.00
509	SAW, CHOP	1	\$260.00	\$260.00
3103	SAW, CHOP	1	\$260.00	\$260.00
3107	SAW, CHOP	1	\$260.00	\$260.00
509	SAW, CIRCULAR BLADE	1	\$230.00	\$230.00
509	SAW, CIRCULAR, HANDHELD	1	\$125.00	\$125.00
509	SAW, CIRCULAR, HANDHELD	1	\$125.00	\$125.00
509	SAW, CIRCULAR, HANDHELD	2	\$125.00	\$250.00
509	SAW, CIRCULAR, HANDHELD	1	\$125.00	\$125.00
540	SAW, CIRCULAR, HANDHELD	1	\$125.00	\$125.00
581	SAW, CIRCULAR, HANDHELD	3	\$125.00	\$375.00
3101	SAW, CIRCULAR, HANDHELD	3	\$125.00	\$375.00
3103	SAW, CIRCULAR, HANDHELD	2	\$125.00	\$250.00
3106	SAW, CIRCULAR, HANDHELD	1	\$125.00	\$125.00
509	SAW, CIRCULAR, TABLE MODEL	1	\$700.00	\$700.00
882	SAW, CONCRETE	1	\$2,000.00	\$2,000.00
503	SAW, CORDLESS	1	\$300.00	\$300.00
541	SAW, CORDLESS	1	\$300.00	\$300.00
509	SAW, JIG, HAND HELD	1	\$160.00	\$160.00
560	SAW, JIG, HAND HELD	1	\$160.00	\$160.00
3101	SAW, JIG, HAND HELD	1	\$160.00	\$160.00
3106	SAW, JIG, HAND HELD	1	\$160.00	\$160.00
509	SAW, MITER WITH BOX, MANUAL	1	\$100.00	\$100.00
560	SAW, MITRE, COMPOUND	2	\$340.00	\$680.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
210	SAW, POLE	1	\$540.00	\$540.00
3103	SAW, POLE	1	\$567.88	\$567.88
3103	SAW, POLE	1	\$540.00	\$540.00
3103	SAW, POLE	1	\$540.00	\$540.00
3103	SAW, POLE	1	\$540.00	\$540.00
3107	SAW, POLE	1	\$540.00	\$540.00
3107	SAW, POLE	1	\$540.00	\$540.00
509	SAW, RADIAL ARM	1	\$685.00	\$685.00
509	SAW, RECIPROCATING	2	\$130.00	\$260.00
3103	SAW, RECIPROCATING	1	\$130.00	\$130.00
509	SAW, RECIPROCATING, ELECTRIC	1	\$185.00	\$185.00
509	SAW, SAWZALL, V-SPEED	1	\$230.00	\$230.00
3103	SAW, SAWZALL, V-SPEED	2	\$230.00	\$460.00
509	SAW, TILTING ARBOR, 10"	1	\$2,199.00	\$2,199.00
630	SCALE, INFANT	1	\$450.00	\$450.00
630	SCALE, INFANT	1	\$450.00	\$450.00
			•	•

630	SCALE, INFANT	1	\$450.00	\$450.00
576	SCALE, KITCHEN	2	\$215.00	\$430.00
560	SCALE, MEDICAL	1	\$320.00	\$320.00
576	SCALE, MEDICAL	1	\$320.00	\$320.00
576	SCALE, MEDICAL	1	\$320.00	\$320.00
576	SCALE, MEDICAL	1	\$320.00	\$320.00
630	SCALE, MEDICAL	1	\$320.00	\$320.00
630	SCALE, MEDICAL	1	\$320.00	\$320.00
630	SCALE, MEDICAL	1	\$320.00	\$320.00
630	SCALE, MEDICAL	1	\$320.00	\$320.00
630	SCALE, MEDICAL	1	\$320.00	\$320.00
630		1		\$320.00
	SCALE, MEDICAL		\$320.00	
405	SCALE, SCIENTIFIC	1	\$139.00	\$139.00
494	SCALE, SCIENTIFIC	1	\$139.00	\$139.00
540	SCALE, SCIENTIFIC	1	\$139.00	\$139.00
560	SCALE, SCIENTIFIC	2	\$139.00	\$278.00
576	SCALE, SCIENTIFIC	2	\$139.00	\$278.00
545	SCALER/ POLISHER, DENTAL, VETERINARY	1	\$5,051.70	\$5,051.70
560	SCANNER, 3D, HANDHELD	1	\$6,294.70	\$6,294.70
560	SCANNER, 3D, HANDHELD	1	\$6,294.70	\$6,294.70
560	SCANNER, 3D, HANDHELD	1	\$6,590.00	\$6,590.00
453	SCANNER, BAR CODE READER, PEN/ WAND STYLE	3	\$150.00	\$450.00
453	SCANNER, BAR CODE READER, PEN/ WAND STYLE	3	\$150.00	\$450.00
570	SCANNER, BAR CODE READER, PEN/ WAND STYLE	1	\$150.00	\$150.00
450	SCANNER, BOOK	1	\$475.00	\$475.00
451		1	\$475.00	\$475.00
	SCANNER, BOOK			
451	SCANNER, BOOK	1	\$475.00	\$475.00
451	SCANNER, BOOK	10	\$475.00	\$4,750.00
451	SCANNER, BOOK	1	\$475.00	\$475.00
630	SCANNER, BOOK, BARCODE, SMALL	2	\$475.00	\$950.00
499	SCANNER, CHECK/ CURRENCY, HIGH SPEED	1	\$950.00	\$950.00
499	SCANNER, CHECK/ CURRENCY, HIGH SPEED	1	\$2,722.93	\$2,722.93
499	SCANNER, CHECK/ CURRENCY, HIGH SPEED	1	\$950.00	\$950.00
400	SCANNER, DOCUMENT	1	\$427.09	\$427.09
400	SCANNER, DOCUMENT	1	\$405.58	\$405.58
400	SCANNER, DOCUMENT	1	\$405.58	\$405.58
402	SCANNER, DOCUMENT	1	\$890.00	\$890.00
402	SCANNER, DOCUMENT	1	\$890.00	\$890.00
402	SCANNER, DOCUMENT	1	\$890.00	\$890.00
402	SCANNER, DOCUMENT	1	\$890.00	\$890.00
403	SCANNER, DOCUMENT	1	\$718.30	\$718.30
403	SCANNER, DOCUMENT	1	\$668.94	\$668.94
403	SCANNER, DOCUMENT	1	\$680.80	\$680.80
403	SCANNER, DOCUMENT	1	\$858.43	\$858.43
403	SCANNER, DOCUMENT	1	\$858.43	\$858.43
403	SCANNER, DOCUMENT	1	\$890.00	\$890.00
403	SCANNER, DOCUMENT	1	\$637.13	\$637.13
403	SCANNER, DOCUMENT	1	\$901.41	\$901.41
403	SCANNER, DOCUMENT	1	\$11,662.50	\$11,662.50
403	SCANNER, DOCUMENT	1	\$522.00	\$522.00
403	SCANNER, DOCUMENT	1	\$11,662.50	\$11,662.50
403	SCANNER, DOCUMENT	1	\$890.00	\$890.00
403		1	\$637.13	\$637.13
403	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$665.20	\$665.20
403	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$858.43	\$858.43
404	SCANNER, DOCUMENT	1	\$522.00	\$522.00
404	SCANNER, DOCUMENT	1	\$637.13	\$637.13
404	SCANNER, DOCUMENT	1	\$665.20	\$665.20
404	SCANNER, DOCUMENT	1	\$665.20	\$665.20
404	SCANNER, DOCUMENT	1	\$665.20	\$665.20
404	SCANNER, DOCUMENT	1	\$665.20	\$665.20
404	SCANNER, DOCUMENT	1	\$665.20	\$665.20
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$718.30	\$718.30
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$665.52	\$665.52
404	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$665.52	\$665.52
404	SCANNER, DOCUMENT	1	\$718.30	\$718.30
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00

404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
404	SCANNER, DOCUMENT	1	\$890.00	\$890.00
405	SCANNER, DOCUMENT	1	\$459.87	\$459.87
427	SCANNER, DOCUMENT	1	\$890.00	\$890.00
427 427	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$890.00 \$890.00	\$890.00 \$890.00
427	SCANNER, DOCUMENT	1	\$890.00	\$890.00
429	SCANNER, DOCUMENT	1	\$890.00	\$890.00
435	SCANNER, DOCUMENT	1	\$822.02	\$822.02
435	SCANNER, DOCUMENT	1	\$890.00	\$890.00
435	SCANNER, DOCUMENT	1	\$880.31	\$880.31
435	SCANNER, DOCUMENT	1	\$880.31	\$880.31
435 437	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$890.00 \$890.00	\$890.00 \$890.00
437	SCANNER, DOCUMENT	1	\$641.83	\$641.83
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$892.15	\$892.15
440	SCANNER, DOCUMENT	1	\$2,149.88	\$2,149.88
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$2,152.90	\$2,152.90
440 440	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$890.00 \$890.00	\$890.00 \$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
440	SCANNER, DOCUMENT	1	\$890.00	\$890.00
441 450	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$720.00 \$890.00	\$720.00 \$890.00
450	SCANNER, DOCUMENT	1	\$890.00	\$890.00
451	SCANNER, DOCUMENT	1	\$829.95	\$829.95
451	SCANNER, DOCUMENT	1	\$829.95	\$829.95
451	SCANNER, DOCUMENT	1	\$890.00	\$890.00
451	SCANNER, DOCUMENT	1	\$892.65	\$892.65
451 451	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$821.32 \$892.65	\$821.32 \$892.65
451	SCANNER, DOCUMENT	1	\$829.95	\$829.95
451	SCANNER, DOCUMENT	1	\$891.67	\$891.67
451	SCANNER, DOCUMENT	1	\$821.32	\$821.32
451	SCANNER, DOCUMENT	1	\$829.95	\$829.95
451	SCANNER, DOCUMENT	1	\$890.00	\$890.00
451	SCANNER, DOCUMENT	1	\$610.31	\$610.31
451 451	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$610.31 \$892.65	\$610.31 \$892.65
451	SCANNER, DOCUMENT	1	\$610.31	\$610.31
452	SCANNER, DOCUMENT	1	\$821.32	\$821.32
452	SCANNER, DOCUMENT	1	\$890.00	\$890.00
452	SCANNER, DOCUMENT	1	\$2,833.61	\$2,833.61
452	SCANNER, DOCUMENT	1	\$890.00	\$890.00
452	SCANNER, DOCUMENT	1	\$821.32	\$821.32
452 452	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$2,833.61 \$2,833.61	\$2,833.61 \$2,833.61
452	SCANNER, DOCUMENT	1	\$821.32	\$821.32
452	SCANNER, DOCUMENT	1	\$903.67	\$903.67
452	SCANNER, DOCUMENT	1	\$940.37	\$940.37
453	SCANNER, DOCUMENT	1	\$1,463.51	\$1,463.51
453	SCANNER, DOCUMENT	1	\$1,463.51	\$1,463.51
454 454	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$1,455.21 \$1,455.21	\$1,455.21 \$1,455.21
454	SCANNER, DOCUMENT	1	\$1,455.21	\$1,455.21
454	SCANNER, DOCUMENT	1	\$883.67	\$883.67
454	SCANNER, DOCUMENT	1	\$1,429.53	\$1,429.53
454	SCANNER, DOCUMENT	1	\$890.00	\$890.00
454	SCANNER, DOCUMENT	1	\$1,429.53	\$1,429.53
475	SCANNER, DOCUMENT	1	\$886.07	\$886.07
475 475	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$850.82 \$849.04	\$850.82 \$849.04
475 475	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$849.04	\$849.04 \$886.07
475	SCANNER, DOCUMENT	1	\$850.82	\$850.82
475	SCANNER, DOCUMENT	1	\$849.04	\$849.04
475	SCANNER, DOCUMENT	1	\$849.04	\$849.04
475	SCANNER, DOCUMENT	1	\$849.04	\$849.04
475	SCANNER, DOCUMENT	1	\$849.04	\$849.04
475 475	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$850.82 \$857.83	\$850.82 \$857.83
4/3	SCHIVINEN, DUCCUIVIEINT	1	55./دەد	ده./دە <i>چ</i>

475	SCANNER, DOCUMENT	1	\$896.76	\$896.76
475	SCANNER, DOCUMENT	1	\$890.00	\$890.00
475	SCANNER, DOCUMENT	1	\$890.00	\$890.00
475	SCANNER, DOCUMENT	1	\$886.07	\$886.07
475 475	SCANNER, DOCUMENT	1 1	\$849.04 \$890.00	\$849.04 \$890.00
475	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$890.00	\$890.00
475	SCANNER, DOCUMENT	1	\$890.00	\$890.00
475	SCANNER, DOCUMENT	1	\$860.40	\$860.40
475	SCANNER, DOCUMENT	1	\$859.43	\$859.43
475	SCANNER, DOCUMENT	1	\$896.76	\$896.76
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492 492	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$509.14 \$509.14	\$509.14 \$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492	SCANNER, DOCUMENT	1	\$509.14	\$509.14
492 495	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$509.14 \$890.00	\$509.14 \$890.00
495	SCANNER, DOCUMENT	1	\$880.00	\$880.00
495	SCANNER, DOCUMENT	1	\$890.00	\$890.00
495	SCANNER, DOCUMENT	1	\$890.00	\$890.00
495	SCANNER, DOCUMENT	1	\$746.89	\$746.89
495	SCANNER, DOCUMENT	1	\$880.00	\$880.00
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495 495	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$654.07 \$654.07	\$654.07 \$654.07
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495	SCANNER, DOCUMENT	1	\$867.71	\$867.71
495 495	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$746.89 \$746.89	\$746.89 \$746.89
495	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$746.89	\$746.89
495	SCANNER, DOCUMENT	1	\$880.00	\$880.00
495	SCANNER, DOCUMENT	1	\$890.00	\$890.00
495	SCANNER, DOCUMENT	1	\$890.00	\$890.00
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
495	SCANNER, DOCUMENT	1	\$654.07	\$654.07
497 497	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$821.32 \$821.32	\$821.32 \$821.32
497	SCANNER, DOCUMENT	1	\$890.00	\$890.00
497	SCANNER, DOCUMENT	1	\$821.32	\$821.32
499	SCANNER, DOCUMENT	1	\$898.35	\$898.35
499	SCANNER, DOCUMENT	1	\$898.35	\$898.35
503	SCANNER, DOCUMENT	1	\$852.76	\$852.76
503	SCANNER, DOCUMENT	1	\$890.00	\$890.00
503 503	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$852.76 \$10,686.64	\$852.76 \$10,686.64
503	SCANNER, DOCUMENT	1	\$890.00	\$890.00
503	SCANNER, DOCUMENT	1	\$1,455.21	\$1,455.21
503	SCANNER, DOCUMENT	1	\$676.07	\$676.07
545	SCANNER, DOCUMENT	1	\$665.06	\$665.06
545	SCANNER, DOCUMENT	1	\$653.12	\$653.12
545 545	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$653.12 \$659.33	\$653.12 \$659.33
551	SCANNER, DOCUMENT	1	\$1,375.46	\$1,375.46
551	SCANNER, DOCUMENT	1	\$896.76	\$896.76
551	SCANNER, DOCUMENT	1	\$1,375.46	\$1,375.46
551	SCANNER, DOCUMENT	1	\$896.76	\$896.76
552	SCANNER, DOCUMENT	1	\$570.94	\$570.94
552	SCANNER, DOCUMENT	1	\$538.56	\$538.56
552 552	SCANNER, DOCUMENT SCANNER, DOCUMENT	1 1	\$538.56 \$538.56	\$538.56 \$538.56
552 553	SCANNER, DOCUMENT SCANNER, DOCUMENT	1	\$858.99	\$538.56 \$858.99
553	SCANNER, DOCUMENT	1	\$879.99	\$879.99
553	SCANNER, DOCUMENT	1	\$858.99	\$858.99
553	SCANNER, DOCUMENT	1	\$890.00	\$890.00
554	SCANNER, DOCUMENT	1	\$1,433.08	\$1,433.08
554	SCANNER, DOCUMENT	1	\$1,433.08	\$1,433.08
554	SCANNER, DOCUMENT	1	\$848.43	\$848.43
554	SCANNER, DOCUMENT	1	\$848.43	\$848.43

554	SCANNER, DOCUMENT	1	\$940.22	\$940.22
560	SCANNER, DOCUMENT	1	\$859.43	\$859.43
560	SCANNER, DOCUMENT	1	\$890.00	\$890.00
560	SCANNER, DOCUMENT	1	\$896.76	\$896.76
560	SCANNER, DOCUMENT	1	\$900.31	\$900.31
560	SCANNER, DOCUMENT	1	\$855.89	\$855.89
560	SCANNER, DOCUMENT	1	\$895.00	\$895.00
560	SCANNER, DOCUMENT	1	\$895.00	\$895.00
560	SCANNER, DOCUMENT	1	\$886.07	\$886.07
560	SCANNER, DOCUMENT	1	\$886.07	\$886.07
560	SCANNER, DOCUMENT	1	\$880.00	\$880.00
560	SCANNER, DOCUMENT	1	\$855.59	\$855.59
560	SCANNER, DOCUMENT	1	\$895.67	\$895.67
560	SCANNER, DOCUMENT	1	\$896.76	\$896.76
560	SCANNER, DOCUMENT	1	\$848.43	\$848.43
560	SCANNER, DOCUMENT	1	\$886.07	\$886.07
560	SCANNER, DOCUMENT	1	\$653.12	\$653.12
560	SCANNER, DOCUMENT	1	\$2,155.69	\$2,155.69
560	SCANNER, DOCUMENT	1	\$890.00	\$890.00
560	SCANNER, DOCUMENT	1	\$890.00	\$890.00
560	SCANNER, DOCUMENT	1	\$880.00	\$880.00
560	SCANNER, DOCUMENT	1	\$896.75	\$896.75
560	SCANNER, DOCUMENT	1	\$653.12	\$653.12
560	SCANNER, DOCUMENT	1	\$880.00	\$880.00
560	SCANNER, DOCUMENT	1	\$896.76	\$896.76
560	SCANNER, DOCUMENT	1	\$886.07	\$886.07
560	SCANNER, DOCUMENT	1	\$890.00	\$890.00
560	SCANNER, DOCUMENT	1	\$409.05	\$409.05
		1		\$409.05
560	SCANNER, DOCUMENT		\$409.05	
560	SCANNER, DOCUMENT	1	\$653.12	\$653.12
560	SCANNER, DOCUMENT	1	\$409.05	\$409.05
560	SCANNER, DOCUMENT	1	\$883.30	\$883.30
560	SCANNER, DOCUMENT	1	\$499.25	\$499.25
570	SCANNER, DOCUMENT	1	\$860.40	\$860.40
570	SCANNER, DOCUMENT	1	\$857.83	\$857.83
570	SCANNER, DOCUMENT	1	\$881.85	\$881.85
570	SCANNER, DOCUMENT	1	\$653.12	\$653.12
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$896.76	\$896.76
570	SCANNER, DOCUMENT	1	\$903.67	\$903.67
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$896.76	\$896.76
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$821.32	\$821.32
570	SCANNER, DOCUMENT	1	\$857.83	\$857.83
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$903.67	\$903.67
570	SCANNER, DOCUMENT	1	\$902.59	\$902.59
570	SCANNER, DOCUMENT	1	\$720.00	\$720.00
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$903.67	\$903.67
570	SCANNER, DOCUMENT	1	\$903.67	\$903.67
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$890.00	\$890.00
570	SCANNER, DOCUMENT	1	\$902.59	\$902.59
570	SCANNER, DOCUMENT	1	\$902.59	\$902.59
570	SCANNER, DOCUMENT	1	\$903.67	\$903.67
570	SCANNER, DOCUMENT	1	\$4,059.37	\$4,059.37
570	SCANNER, DOCUMENT	1	\$902.59	\$902.59
570				
	SCANNER, DOCUMENT	1	\$857.83	\$857.83
570	SCANNER, DOCUMENT	1	\$896.76	\$896.76
572	SCANNER, DOCUMENT	1	\$890.00	\$890.00
576	SCANNER, DOCUMENT	1	\$890.00	\$890.00
581	SCANNER, DOCUMENT	1	\$890.00	\$890.00
591	SCANNER, DOCUMENT	1	\$880.31	\$880.31
591	SCANNER, DOCUMENT	1	\$929.99	\$929.99
591	SCANNER, DOCUMENT	1	\$672.32	\$672.32
591		1	\$829.95	\$829.95
	SCANNER, DOCUMENT			
3103	SCANNER, DOCUMENT	1	\$857.83	\$857.83
403	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,431.39	\$5,431.39
403	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
403	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
403	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
428	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$660.00	\$660.00
440	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,741.53	\$4,741.53
450	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,584.35	\$4,584.35
		*	÷ .,5555	Ç .,504.55

453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,200.00	\$4,200.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,200.00	\$4,200.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1		\$3,999.00
453	, , , ,		\$3,999.00	
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,200.00	\$4,200.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
453	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$3,999.00	\$3,999.00
492	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$8,489.35	\$8,489.35
492	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,154.31	\$5,154.31
495	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
499	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$8,442.15	\$8,442.15
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,968.33	\$4,968.33
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$4,968.33	\$4,968.33
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,803.96	\$5,803.96
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,232.70	\$5,232.70
570	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,232.70	\$5,232.70
576	SCANNER, DOCUMENT, DUPLEX, PROFESSIONAL	1	\$5,595.00	\$5,595.00
540	SCANNER, DOCUMENT, LOW-END	1	\$370.00	\$370.00
403	SCANNER, FLATBED, COLOR	2	\$300.00	\$600.00
403	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
404	SCANNER, FLATBED, COLOR	9	\$300.00	\$2,700.00
405	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
429	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
454	SCANNER, FLATBED, COLOR	2	\$300.00	\$600.00
475	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
475	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
475	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
509	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
560	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
560	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
570	SCANNER, FLATBED, COLOR	1	\$300.00	\$300.00
560	SCANNER, FLATBED, COLOR, HIGH-END	1	\$900.00	\$900.00
451	SCANNER, FLATBED, COLOR, LOW-END	1	\$120.00	\$120.00
451	SCANNER, FLATBED, COLOR, LOW-END	1	\$120.00	\$120.00
451	SCANNER, FLATBED, COLOR, LOW-END	1	\$120.00	\$120.00
492	SCANNER, FLATBED, COLOR, LOW-END	1	\$120.00	\$120.00
503	SCANNER, FLATBED, COLOR, LOW-END	6	\$120.00	\$720.00
545	SCANNER, FLATBED, COLOR, LOW-END	1	\$120.00	\$120.00
499	SCANNER, HIGH PERFORMANCE, AUTOMATION	1	\$62,287.00	\$62,287.00
341	SCANNER, IMAGE	1	\$860.40	\$860.40
	,		·	
403	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
403	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
403	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
436	SCANNER, IMAGE	1	\$2,068.79	\$2,068.79
440	SCANNER, IMAGE	1	\$2,152.90	\$2,152.90
440	SCANNER, IMAGE	1	\$2,149.88	\$2,149.88
440	SCANNER, IMAGE	1	\$2,161.07	\$2,161.07
440	SCANNER, IMAGE	1	\$2,023.63	\$2,023.63
440	SCANNER, IMAGE	1		\$2,587.05
			\$2,587.05	
450	SCANNER, IMAGE	1	\$2,117.53	\$2,117.53
450	SCANNER, IMAGE	1	\$2,144.04	\$2,144.04
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450	SCANNER, IMAGE	1	\$2,093.38	\$2,093.38
450	SCANNER, IMAGE	1	\$2,116.47	\$2,116.47
450	SCANNER, IMAGE	1	\$2,116.47	\$2,116.47
450	SCANNER, IMAGE	1	\$2,155.69	\$2,155.69
450	SCANNER, IMAGE	1	\$2,144.04	\$2,144.04
450	SCANNER, IMAGE	1	\$2,116.47	\$2,116.47
450	SCANNER, IMAGE	1	\$2,142.67	\$2,142.67
450	SCANNER, IMAGE	1	\$2,140.63	\$2,140.63
450	SCANNER, IMAGE	1	\$2,140.63	\$2,140.63
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450	SCANNER, IMAGE	1	\$2,155.69	\$2,155.69
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450	SCANNER, IMAGE	1	\$2,222.53	\$2,222.53
450	SCANNER, IMAGE	1	\$2,222.53	\$2,222.53
450	SCANNER, IMAGE	1	\$2,140.63	\$2,140.63
450	SCANNER, IMAGE	1	\$2,262.56	\$2,262.56

450	SCANNER, IMAGE	1	\$2,215.43	\$2,215.43
450	SCANNER, IMAGE	1	\$2,222.53	\$2,222.53
450	SCANNER, IMAGE	1	\$2,165.37	\$2,165.37
450	SCANNER, IMAGE	1	\$2,262.56	\$2,262.56
450	SCANNER, IMAGE	1	\$2,165.46	\$2,165.46
450	SCANNER, IMAGE	1	\$2,068.79	\$2,068.79
450	SCANNER, IMAGE	1	\$2,117.53	\$2,117.53
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450		1		\$2,050.00
	SCANNER, IMAGE		\$2,050.00	
450	SCANNER, IMAGE	1	\$2,215.43	\$2,215.43
450	SCANNER, IMAGE	1	\$2,222.53	\$2,222.53
450	SCANNER, IMAGE	1	\$2,222.53	\$2,222.53
450	SCANNER, IMAGE	1	\$2,125.93	\$2,125.93
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
450	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
452	SCANNER, IMAGE	1	\$2,833.61	\$2,833.61
452	SCANNER, IMAGE	1	\$2,833.61	\$2,833.61
452	SCANNER, IMAGE	1	\$2,040.37	\$2,040.37
452	SCANNER, IMAGE	1	\$2,833.61	\$2,833.61
		1		
452	SCANNER, IMAGE		\$2,050.00	\$2,050.00
452	SCANNER, IMAGE	1	\$2,023.63	\$2,023.63
453	SCANNER, IMAGE	1	\$2,587.05	\$2,587.05
453	SCANNER, IMAGE	1	\$2,587.05	\$2,587.05
454	SCANNER, IMAGE	1	\$1,457.55	\$1,457.55
454	SCANNER, IMAGE	1	\$1,423.26	\$1,423.26
454	SCANNER, IMAGE	1	\$1,457.55	\$1,457.55
454	SCANNER, IMAGE	1	\$1,423.26	\$1,423.26
454	SCANNER, IMAGE	1	\$1,488.00	\$1,488.00
454	SCANNER, IMAGE	1	\$1,423.26	\$1,423.26
475	SCANNER, IMAGE	1	\$857.83	\$857.83
				•
475	SCANNER, IMAGE	1	\$857.83	\$857.83
475	SCANNER, IMAGE	1	\$860.40	\$860.40
499	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
560	SCANNER, IMAGE	1	\$891.67	\$891.67
570	SCANNER, IMAGE	1	\$2,042.76	\$2,042.76
570	SCANNER, IMAGE	1	\$2,590.00	\$2,590.00
570	SCANNER, IMAGE	1	\$2,144.04	\$2,144.04
570	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
570	SCANNER, IMAGE	1	\$2,161.07	\$2,161.07
572	SCANNER, IMAGE	1	\$2,838.59	\$2,838.59
576		1		
	SCANNER, IMAGE		\$2,144.04	\$2,144.04
581	SCANNER, IMAGE	1	\$2,050.00	\$2,050.00
440	SCANNER, PHOTOGRAPH	1	\$399.00	\$399.00
454	SCANNER, TEST	1	\$1,455.21	\$1,455.21
581	SCANNER, TEST	1	\$1,250.00	\$1,250.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
		1		
570	SCBA BREATHING APPARATUS		\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
570	SCBA BREATHING APPARATUS	1	\$3,775.00	\$3,775.00
581	SCBA BREATHING APPARATUS	12	\$3,775.00	\$45,300.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,581.75	\$6,581.75
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,600.00	\$6,600.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,600.00	\$6,600.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,600.00	\$6,600.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$4,044.00	\$4,044.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,581.75	\$6,581.75
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$4,044.00	\$4,044.00
	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1		
542			\$4,044.00	\$4,044.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,581.75	\$6,581.75
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$4,044.00	\$4,044.00
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,581.75	\$6,581.75
542	SCBA BREATHING APPARATUS, W/ RECHARGE SYSTEM	1	\$6,581.75	\$6,581.75
542	SCBA CART, 2 CYLINDER	1	\$1,200.00	\$1,200.00
581	SCBA CART, 2 CYLINDER	2	\$2,195.00	\$4,390.00
542	SCBA SUPPLIED AIR RESPIRATOR, ESCAPE	1	\$1,140.00	\$1,140.00
581	SCBA SUPPLIED AIR RESPIRATOR, ESCAPE	4	\$1,140.00	\$4,560.00
542	SCENE LIGHT, LED, PORTABLE	1	\$1,999.00	\$1,999.00
542	SCENE LIGHT, LED, PORTABLE SCENE LIGHT, LED, PORTABLE	1	\$1,983.00	\$1,983.00
560	SCOPE, RIFLE, TACTICAL	1	\$1,049.90	\$1,049.90
560	SCOPE, RIFLE, TACTICAL	1	\$1,800.00	\$1,800.00
560	SCOPE, RIFLE, TACTICAL	1	\$1,800.00	\$1,800.00
560	SCOPE, RIFLE, TACTICAL	1	\$1,079.00	\$1,079.00

560	SCOPE, RIFLE, TACTICAL	1	\$3,253.58	\$3,253.58
560	SCOPE, RIFLE, TACTICAL	1	\$3,253.58	\$3,253.58
560	SCOPE, RIFLE, TACTICAL	1	\$3,253.58	\$3,253.58
560	SCOPE, RIFLE, TACTICAL	1	\$3,253.56	\$3,253.56
560	SCRAPER, BOX BLADE	1	\$515.00	\$515.00
3101	SCRAPER, BOX BLADE	1	\$1,995.00	\$1,995.00
3103	SCRAPER, BOX BLADE	1	\$1,995.00	\$1,995.00
3107	SCRAPER, BOX BLADE	1	\$515.00	\$515.00
215	SCREEN, PROJECTION, MOTORIZED	1	\$1,480.00	\$1,480.00
425	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
437	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
494	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
540	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
540	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
576	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
581	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
581	SCREEN, PROJECTION, MOTORIZED	1	\$3,750.00	\$3,750.00
402	SCREEN, PROJECTION, W/ TRIPOD	1	\$150.00	\$150.00
475	SCREEN, PROJECTION, W/ TRIPOD	4	\$150.00	\$600.00
210	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
400	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
402	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
426	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
427	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
428	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
440	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
475	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
499	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
			·	
499	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
499	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
551	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
551	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
551	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
551	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
560	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
560	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
581	SCREEN, PROJECTION, WALL MOUNT, 12' X 12'	1	\$700.00	\$700.00
215	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
400	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
551	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
560	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
		1	\$89.00	\$89.00
560	SCREEN, PROJECTION, WALL/CEILING MOUNT			
560	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
	, , , ,			
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	2	\$89.00	\$178.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
576	SCREEN, PROJECTION, WALL/CEILING MOUNT	1	\$89.00	\$89.00
3106	SCRUBBER, FLOOR	1	\$800.00	\$800.00
210	SCRUBBER, FLOOR, AUTOSCRUBBER	1	\$6,800.00	\$6,800.00
570	SCRUBBER, FLOOR, AUTOSCRUBBER	1	\$7,505.51	\$7,505.51
570	SCRUBBER, FLOOR, AUTOSCRUBBER	1	\$6,200.00	\$6,200.00
882	SCRUBBER, FLOOR, AUTOSCRUBBER	1	\$3,758.00	\$3,758.00
570	SEALER, COMMERCIAL	1	\$350.00	\$350.00
	•			
581	SEARCH CAMERA, WIRELESS VIDEO SYSTEM	1	\$21,995.00	\$21,995.00
541	SECURITY GATE, ELECTRONIC, LIBRARY BOOK	1	\$3,000.00	\$3,000.00
560	SECURITY INSPECTION SCANNER, X-RAY	1	\$27,820.00	\$27,820.00
560	SECURITY INSPECTION SCANNER, X-RAY	1	\$25,607.00	\$25,607.00
560	SECURITY INSPECTION SCANNER, X-RAY	1	\$22,000.00	\$22,000.00
570	SECURITY INSPECTION SCANNER, X-RAY	1	\$22,000.00	\$22,000.00
570	SECURITY INSPECTION SCANNER, X-RAY	1	\$22,000.00	\$22,000.00
503				
	SECURITY MANAGEMENT APPLIANCE	1	\$1,130.83	\$1,130.83
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66

503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
		1		
503	SECURITY MANAGEMENT APPLIANCE		\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
503	SECURITY MANAGEMENT APPLIANCE	1	\$2,154.66	\$2,154.66
499	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,080.00	\$1,080.00
503	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,500.00	\$1,500.00
503	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,500.00	\$1,500.00
503	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,500.00	\$1,500.00
503	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,500.00	\$1,500.00
503	SECURITY SYSTEM, AUDIO/ VIDEO SURVEILLANCE	1	\$1,500.00	\$1,500.00
503	SECURITY SYSTEM, DVR	1	\$8,752.07	\$8,752.07
	•			
503	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
503	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
503	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
503	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
503	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
560	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
560	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
576	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
576	SECURITY SYSTEM, DVR	1	\$1,250.00	\$1,250.00
560	SECURITY SYSTEM, HIGH-END	1	\$9,075.00	\$9,075.00
	•			
510	SECURITY SYSTEM, LOW-END	1	\$1,700.00	\$1,700.00
210	SEED DRILL, NOT-TILL, TOWED	1	\$15,615.00	\$15,615.00
503	SERVER, TIME, NETWORK	1	\$4,800.00	\$4,800.00
576	SERVING LINE, STEAM TABLE, 5-HOLE, 2 COOLERS	1	\$4,400.00	\$4,400.00
509		1		\$2,018.09
	SEWER CAM AND EQUIPMENT		\$2,018.09	
497	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
499	SHELF UNIT, ADJUSTABLE	2	\$275.00	\$550.00
503	SHELF UNIT, ADJUSTABLE	9	\$275.00	\$2,475.00
540	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
545	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
545	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
545	SHELF UNIT, ADJUSTABLE	5	\$275.00	\$1,375.00
545	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
545	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
560	SHELF UNIT, ADJUSTABLE	3	\$275.00	\$825.00
560	SHELF UNIT, ADJUSTABLE	14	\$275.00	\$3,850.00
560	SHELF UNIT, ADJUSTABLE	8	\$275.00	\$2,200.00
560	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
570	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
576	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
576	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
576	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
576	SHELF UNIT, ADJUSTABLE	3	\$275.00	\$825.00
576	SHELF UNIT, ADJUSTABLE	6	\$275.00	\$1,650.00
576	SHELF UNIT, ADJUSTABLE	5	\$275.00	\$1,375.00
576	SHELF UNIT, ADJUSTABLE	1	\$275.00	\$275.00
	•			
576	SHELF UNIT, ADJUSTABLE	2	\$275.00	\$550.00
454	SHELF, CORNER	1	\$150.00	\$150.00
560	SHELF, CORNER	1	\$150.00	\$150.00
560	SHELF, CORNER	1	\$150.00	\$150.00
560	SHELF, CORNER	1	\$150.00	\$150.00
492	SHELVING, 4 SHELVES, MOBILE	11	\$425.00	\$4,675.00
540	SHELVING, 4 SHELVES, MOBILE	1	\$425.00	\$425.00
210	SHELVING, INDUSTRIAL	2	\$185.00	\$370.00
403	SHELVING, INDUSTRIAL	2	\$185.00	\$370.00
492	SHELVING, INDUSTRIAL	1	\$185.00	\$185.00
	•			
509	SHELVING, INDUSTRIAL	14	\$185.00	\$2,590.00
540	SHELVING, INDUSTRIAL	11	\$185.00	\$2,035.00
540	SHELVING, INDUSTRIAL	3	\$185.00	\$555.00
540	SHELVING, INDUSTRIAL	11	\$185.00	\$2,035.00
545	SHELVING, INDUSTRIAL	3	\$185.00	\$555.00
553	SHELVING, INDUSTRIAL	4	\$185.00	\$740.00
570	SHELVING, INDUSTRIAL	2	\$185.00	\$370.00
454		1	\$160.00	\$160.00
	SHELVING, METAL ADJUSTABLE 12'			
210	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
403	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
403	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
403	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
404	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
404	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
429	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
438	SHELVING, METAL, ADJUSTABLE, 6'	6	\$85.00	\$510.00
450	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
452	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00

492	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
				•
497	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
499	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
503	SHELVING, METAL, ADJUSTABLE, 6'	8	\$85.00	\$680.00
503	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
503	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
	· · · ·			·
509	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
509	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
509		3		\$255.00
	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	
509	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
509	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
509	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
509	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
510	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
540	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
540	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
540	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
540	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
540	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
		2		
540	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	\$170.00
540	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
540	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
541	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
541	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
541	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
541	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
541	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
545	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
545	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
545	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
553		1	\$85.00	\$85.00
333	SHELVING, METAL, ADJUSTABLE, 6'			
554	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
554	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
554	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
560	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
		2		
560	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	\$170.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
560	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
560	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
570	SHELVING, METAL, ADJUSTABLE, 6'	9	\$85.00	\$765.00
570	SHELVING, METAL, ADJUSTABLE, 6'	15	\$85.00	\$1,275.00
570	SHELVING, METAL, ADJUSTABLE, 6'	6	\$85.00	\$510.00
570	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
570	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
570	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
570	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
570	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
570	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
570	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
570	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
570	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
570	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
570	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
570	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
576	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
576		5		
	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	\$425.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
576	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
576	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00

576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
576	SHELVING, METAL, ADJUSTABLE, 6'	10	\$85.00	\$850.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
576	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
581	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
		6		
581	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	\$510.00
630	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
630	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
630	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
630	SHELVING, METAL, ADJUSTABLE, 6'	4	\$85.00	\$340.00
630	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
630	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
630	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
630	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
630	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
		2		
882	SHELVING, METAL, ADJUSTABLE, 6'		\$85.00	\$170.00
882	SHELVING, METAL, ADJUSTABLE, 6'	1	\$85.00	\$85.00
882	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
882	SHELVING, METAL, ADJUSTABLE, 6'	16	\$85.00	\$1,360.00
882	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
3101	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
3106	SHELVING, METAL, ADJUSTABLE, 6'	3	\$85.00	\$255.00
3106	SHELVING, METAL, ADJUSTABLE, 6'	2	\$85.00	\$170.00
3107	SHELVING, METAL, ADJUSTABLE, 6'	5	\$85.00	\$425.00
210	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
210	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
404	SHELVING, METAL, ADJUSTABLE, 8'	7	\$120.00	\$840.00
404	SHELVING, METAL, ADJUSTABLE, 8'	6	\$120.00	\$720.00
499	SHELVING, METAL, ADJUSTABLE, 8'	3	\$120.00	\$360.00
509	SHELVING, METAL, ADJUSTABLE, 8'	3	\$120.00	\$360.00
509	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
509	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
554	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
554	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
560	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
560	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
560	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
560	SHELVING, METAL, ADJUSTABLE, 8'	8	\$120.00	\$960.00
560	SHELVING, METAL, ADJUSTABLE, 8'	5	\$120.00	\$600.00
570	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
576		1		
	SHELVING, METAL, ADJUSTABLE, 8'		\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	3	\$120.00	\$360.00
576	SHELVING, METAL, ADJUSTABLE, 8'	7	\$120.00	\$840.00
576	SHELVING, METAL, ADJUSTABLE, 8'	6	\$120.00	\$720.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	4	\$120.00	\$480.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	5	\$120.00	\$600.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	7	\$120.00	\$840.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
576	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
576	SHELVING, METAL, ADJUSTABLE, 8'	2	\$120.00	\$240.00
576	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
	SHELVING, METAL, ADJUSTABLE, 8'			
576		4	\$120.00	\$480.00
3106	SHELVING, METAL, ADJUSTABLE, 8'	1	\$120.00	\$120.00
551	SHIELD, BALLISTIC	1	\$2,730.00	\$2,730.00
551	SHOTGUN	1	\$653.43	\$653.43
551	SHOTGUN	1	\$653.43	\$653.43
551	SHOTGUN	1	\$490.30	\$490.30
551	SHOTGUN	1	\$490.30	\$490.30
554	SHOTGUN	1	\$579.99	\$579.99
554	SHOTGUN	1	\$579.99	\$579.99
554	SHOTGUN	1	\$579.99	\$579.99
560	SHOTGUN	1	\$579.99	\$579.99
560	SHOTGUN	1	\$579.99	\$579.99
560	SHOTGUN	1	\$579.99	\$579.99
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
J. V		-	7322.30	4322.30

570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
570	SHOTGUN, TACTICAL	1	\$522.50	\$522.50
581	SHOWER, DECONTAMINATION	11	\$2,530.00	\$27,830.00
542	SHOWER, DECONTAMINATION, MULTIPLE PERSON	1	\$8,391.60	\$8,391.60
542	SHOWER, DECONTAMINATION, MULTIPLE PERSON	1	\$8,391.60	\$8,391.60
581	SHOWER, DECONTAMINATION, MULTIPLE PERSON	4	\$4,040.00	\$16,160.00
210	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
210	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
213	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
403	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
436	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
437	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
499	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
499	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
540	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
540	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
540	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
540	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
540	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
553	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
560	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
560	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
560	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
560	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
560	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
570	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
570	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
570	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
570	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
576	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
576	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
576	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
576	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
581	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
583	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
3106	SHREDDER, PAPER, DESK TOP	1	\$150.00	\$150.00
210	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
210	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
214	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
215	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
215	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
400	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
400	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
400	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
403	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
436	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
438	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
440	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
441	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
450	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
450	SHREDDER, PAPER, FLOOR MODEL SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
451	• •	1	\$475.00	\$475.00
451 451	SHREDDER, PAPER, FLOOR MODEL SHREDDER, PAPER, FLOOR MODEL	1	\$475.00 \$475.00	\$475.00 \$475.00
451 451	• •			\$475.00 \$475.00
	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00 \$475.00	
454 475	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
475	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
475	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
492	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
495	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
497	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
499	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
503	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
509	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
509	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
509	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
540	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
540	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
540	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
540	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
540	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
545	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
551	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
551	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00

552	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
552	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
554	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
560	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
560	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
560	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
560	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
560	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
	· · · · ·			
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
570	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
576	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
581	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
	· · · · ·			
587	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
591	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
630	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
630	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
630	SHREDDER, PAPER, FLOOR MODEL	1	\$475.00	\$475.00
			·	
400	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$2,231.00	\$2,231.00
403	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,454.95	\$1,454.95
405	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$800.00	\$800.00
450	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,549.98	\$1,549.98
452	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,150.00	\$1,150.00
453	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,933.00	\$1,933.00
475	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,450.00	\$1,450.00
475	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$691.19	\$691.19
494	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,150.00	\$1,150.00
495	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1		\$1,150.00
			\$1,150.00	
497	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,150.00	\$1,150.00
509	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$725.06	\$725.06
540	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,150.00	\$1,150.00
541	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,450.00	\$1,450.00
541	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$2,231.00	\$2,231.00
553	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,108.14	\$1,108.14
553	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$806.59	\$806.59
553	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,769.99	\$1,769.99
560	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$734.23	\$734.23
	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT			
560		1	\$1,150.00	\$1,150.00
570	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$2,207.99	\$2,207.99
570	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$514.58	\$514.58
570	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$2,207.99	\$2,207.99
630	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT	1	\$1,150.00	\$1,150.00
475	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT, HEAVY DUTY	1		\$2,105.00
			\$2,105.00	
554	SHREDDER, PAPER, FLOOR MODEL, CROSS/STRIP-CUT, HEAVY DUTY	1	\$2,260.00	\$2,260.00
210	SHREDDER, TOWED	1	\$3,280.00	\$3,280.00
210	SHREDDER, TOWED	1	\$20,714.04	\$20,714.04
210	SHREDDER, TOWED	1	\$20,714.04	\$20,714.04
	•			
560	SHREDDER, TOWED	1	\$3,280.00	\$3,280.00
3103	SHREDDER, TOWED	1	\$3,280.00	\$3,280.00
492	SHRINK-WRAP MACHINE	1	\$5,995.00	\$5,995.00
494	SIGN, PEDESTAL	2	\$150.00	\$300.00
560	SIGN, PEDESTAL	2	\$150.00	\$300.00
503	SIGNAL BOOSTER, MULTI-CHANNEL, DIGITAL	1		
			\$28,000.00	\$28,000.00
503	SIGNAL BOOSTER, MULTI-CHANNEL, DIGITAL	1	\$28,000.00	\$28,000.00
503	SIGNAL BOOSTER, MULTI-CHANNEL, DIGITAL	1	\$28,000.00	\$28,000.00
540	SIGNAL BOOSTER, MULTI-CHANNEL, DIGITAL	1	\$28,000.00	\$28,000.00
540	SIMULATOR, BREATHING	1	\$38,895.00	\$38,895.00
560		1		
	SIMULATOR, DRIVING		\$67,375.00	\$67,375.00
560	SIMULATOR, DRIVING	1	\$67,375.00	\$67,375.00
560	SIMULATOR, FIREARM TRAINING	1	\$30,750.00	\$30,750.00
541	SIMULATOR, HAZ-MAT	1	\$500.00	\$500.00
540	SIMULATOR, HEART RHYTHM (ECG)	1	\$611.42	\$611.42
540	SIMULATOR, HEART RHYTHM (ECG)	1	\$765.00	\$765.00
540	SIMULATOR, HEART RHYTHM (ECG)	1	\$765.00	\$765.00
540	SIMULATOR, PERICARDIOCENTESIS	1	\$1,185.55	\$1,185.55
542	SIMULATOR, ROLLOVER, TANKER TRUCK	1	\$7,920.00	\$7,920.00

540	SIMULATOR, VITAL SIGNS	1	\$11,373.81	\$11,373.81
540	SIMULATOR, VITAL SIGNS	1	\$7,756.39	\$7,756.39
581	SITE CONTROLLER	1	\$3,000.00	\$3,000.00
581	SITE CONTROLLER	1	\$3,000.00	\$3,000.00
560	SKI MACHINE	1	\$950.00	\$950.00
540	SKILLS TRAINER, AIRWAY MANAGEMENT	1	\$2,200.00	\$2,200.00
560	SLED, WEIGHT	1	\$195.00	\$195.00
570	SLICER, MEAT, MANUAL	1	\$1,200.00	\$1,200.00
570	SLICER, MEAT, MANUAL	1	\$1,920.00	\$1,920.00
576	SLICER, MEAT, MANUAL	1	\$1,920.00	\$1,920.00
402	SMARTBOARD/ELECTRONIC WHITEBOARD	1	\$2,000.00	\$2,000.00
541	SMARTBOARD/ELECTRONIC WHITEBOARD	1	\$2,000.00	\$2,000.00
576	SMARTBOARD/ELECTRONIC WHITEBOARD	1	\$2,000.00	\$2,000.00
576	SMARTBOARD/ELECTRONIC WHITEBOARD	1	\$2,000.00	\$2,000.00
581	SMARTBOARD/ELECTRONIC WHITEBOARD	1	\$1,900.12	\$1,900.12
560	SMOKER, BBQ, HIGH-END	1	\$1,600.00	\$1,600.00
509	SNAKE, ELECTRIC (ROTO ROOTER)	1	\$1,181.00	\$1,181.00
509	SNAKE, ELECTRIC (ROTO ROOTER)	1	\$1,500.00	\$1,500.00
509	SNAKE, ELECTRIC (ROTO ROOTER)	1	\$1,500.00	\$1,500.00
400	SOFA, LARGE	1	\$910.00	\$910.00
439	SOFA, LARGE	1	\$910.00	\$910.00
452	SOFA, LARGE	1	\$910.00	\$910.00
475	SOFA, LARGE	1	\$910.00	\$910.00
499	SOFA, LARGE	1	\$910.00	\$910.00
540	SOFA, LARGE	1	\$910.00	\$910.00
540	SOFA, LARGE	1	\$910.00	\$910.00
		1		\$910.00
540	SOFA, LARGE		\$910.00	
552	SOFA, LARGE	1	\$910.00	\$910.00
554	SOFA, LARGE	1	\$910.00	\$910.00
400	SOFA, MEDIUM	1	\$300.00	\$300.00
440	SOFA, MEDIUM	1	\$300.00	\$300.00
440	SOFA, MEDIUM	2	\$300.00	\$600.00
440	SOFA, MEDIUM	1	\$300.00	\$300.00
475	SOFA, MEDIUM	1	\$300.00	\$300.00
475	SOFA, MEDIUM	2	\$300.00	\$600.00
492		1		\$300.00
	SOFA, MEDIUM		\$300.00	
551	SOFA, MEDIUM	1	\$300.00	\$300.00
554	SOFA, MEDIUM	1	\$300.00	\$300.00
554	SOFA, MEDIUM	1	\$300.00	\$300.00
554	SOFA, MEDIUM	1	\$300.00	\$300.00
554	SOFA, MEDIUM	1	\$300.00	\$300.00
560	SOFA, MEDIUM	1	\$300.00	\$300.00
560	SOFA, MEDIUM	1	\$300.00	\$300.00
576	SOFA, MEDIUM	1	\$300.00	\$300.00
581	SOFA, MEDIUM	1	\$300.00	\$300.00
341	SOFA, SMALL/MEDIUM	1	\$250.00	\$250.00
450	SOFA, SMALL/MEDIUM	1	\$250.00	\$250.00
560	SOFA, SMALL/MEDIUM	1	\$250.00	\$250.00
560	SOFA, SMALL/MEDIUM	1	\$250.00	\$250.00
581	SOFA, SMALL/MEDIUM	1	\$250.00	\$250.00
509	SOLDERING IRON/ GUN	1	\$38.00	\$38.00
587	SOLDERING/ DESOLDERING STATION	1	\$5,026.31	\$5,026.31
475	SPEAKER SYSTEM, W/ MICROPHONE, PORTABLE	2	\$175.00	\$350.00
540	SPEAKER TRIPOD	4	\$350.00	\$1,400.00
540 576	SPEAKER TRIPOD SPEAKER TRIPOD	4		\$1,400.00
			\$350.00	
435	SPEAKER, PA SYSTEM	1	\$700.00	\$700.00
560	SPEAKER, STEREO, SMALL	1	\$350.00	\$350.00
435	SPEAKER, TOWER/ COLUMN	1	\$900.00	\$900.00
435	SPEAKER, TOWER/ COLUMN	1	\$900.00	\$900.00
542	SPECTRUM ANALYZER, RADIO	1	\$4,056.00	\$4,056.00
3101	SPLITTER, LOG	1	\$1,450.00	\$1,450.00
3107	SPLITTER, LOG	1	\$1,450.00	\$1,450.00
581	SPLITTER/ COMBINER RADIO	1	\$2,500.00	\$2,500.00
	SPLITTER/ COMBINER RADIO	1	\$2,500.00	
581 591				\$2,500.00
581	SPLITTER / COMBINER RADIO	1	\$2,500.00	\$2,500.00
581	SPLITTER/ COMBINER RADIO	1	\$2,500.00	\$2,500.00
495	SPORT UTILITY VEHICLE	1	\$50,619.00	\$50,619.00
495	SPORT UTILITY VEHICLE	1	\$51,269.00	\$51,269.00
495	SPORT UTILITY VEHICLE	1	\$51,269.00	\$51,269.00
495	SPORT UTILITY VEHICLE	1	\$52,188.00	\$52,188.00
495	SPORT UTILITY VEHICLE	1	\$53,336.00	\$53,336.00
495	SPORT UTILITY VEHICLE	1	\$54,723.00	\$54,723.00
495	SPORT UTILITY VEHICLE	1	\$52,599.76	\$52,599.76
495	SPORT OTHERT VEHICLE	1	\$52,599.76	\$52,599.76
495	SPORT UTILITY VEHICLE	1	\$14,169.00	\$14,169.00
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71

495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,787.81	\$45,787.81
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$26,471.00	\$26,471.00
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$45,666.71	\$45,666.71
495	SPORT UTILITY VEHICLE	1	\$33,008.85	\$33,008.85
495	SPORT UTILITY VEHICLE	1	\$41,547.48	\$41,547.48
495	SPORT UTILITY VEHICLE	1	\$41,547.48	\$41,547.48
495	SPORT UTILITY VEHICLE	1	\$49,923.30	\$49,923.30
495	SPORT UTILITY VEHICLE	1	\$44,283.18	\$44,283.18
495	SPORT UTILITY VEHICLE	1	\$44,512.22	\$44,512.22
495	SPORT UTILITY VEHICLE	1	\$25,896.50	\$25,896.50
495		1		
	SPORT UTILITY VEHICLE		\$29,097.00	\$29,097.00
495	SPORT UTILITY VEHICLE	1	\$39,991.00	\$39,991.00
495	SPORT UTILITY VEHICLE	1	\$46,764.45	\$46,764.45
495	SPORT UTILITY VEHICLE	1	\$40,391.00	\$40,391.00
495	SPORT UTILITY VEHICLE	1	\$29,296.00	\$29,296.00
495	SPORT UTILITY VEHICLE	1	\$39,972.85	\$39,972.85
495	SPORT UTILITY VEHICLE	1	\$32,447.39	\$32,447.39
		1		
495	SPORT UTILITY VEHICLE		\$46,481.39	\$46,481.39
495	SPORT UTILITY VEHICLE	1	\$51,195.00	\$51,195.00
495	SPORT UTILITY VEHICLE	1	\$54,817.00	\$54,817.00
495	SPORT UTILITY VEHICLE	1	\$27,140.75	\$27,140.75
495	SPORT UTILITY VEHICLE	1	\$36,685.00	\$36,685.00
495	SPORT UTILITY VEHICLE	1	\$19,224.50	\$19,224.50
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$44,940.11	\$44,940.11
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$37,958.10	\$37,958.10
495	SPORT UTILITY VEHICLE	1	\$37,958.10	\$37,958.10
495	SPORT UTILITY VEHICLE	1	\$28,408.50	\$28,408.50
495	SPORT UTILITY VEHICLE	1	\$33,322.25	\$33,322.25
		1		
495	SPORT UTILITY VEHICLE		\$25,091.00	\$25,091.00
495	SPORT UTILITY VEHICLE	1	\$26,045.50	\$26,045.50
495	SPORT UTILITY VEHICLE	1	\$41,530.00	\$41,530.00
495	SPORT UTILITY VEHICLE	1	\$53,797.00	\$53,797.00
495	SPORT UTILITY VEHICLE	1	\$53,797.00	\$53,797.00
495	SPORT UTILITY VEHICLE	1	\$29,186.00	\$29,186.00
495	SPORT UTILITY VEHICLE	1	\$27,789.00	\$27,789.00
495	SPORT UTILITY VEHICLE	1	\$31,899.85	\$31,899.85
495	SPORT UTILITY VEHICLE	1	\$27,930.00	\$27,930.00
495	SPORT UTILITY VEHICLE	1	\$30,137.00	\$30,137.00
495	SPORT UTILITY VEHICLE	1	\$37,271.61	\$37,271.61
495	SPORT UTILITY VEHICLE	1	\$45,015.58	\$45,015.58
495	SPORT UTILITY VEHICLE	1	\$42,661.61	\$42,661.61
495	SPORT UTILITY VEHICLE	1	\$42,661.61	\$42,661.61
495	SPORT UTILITY VEHICLE	1	\$37,418.84	\$37,418.84
495	SPORT UTILITY VEHICLE	1	\$37,418.84	\$37,418.84
495	SPORT UTILITY VEHICLE	1	\$37,418.84	\$37,418.84

495	SPORT UTILITY VEHICLE	1	\$37,418.84	\$37,418.84
495	SPORT UTILITY VEHICLE	1	\$37,418.84	\$37,418.84
495	SPORT UTILITY VEHICLE	1	\$42,661.61	\$42,661.61
495	SPORT UTILITY VEHICLE	1	\$25,335.00	\$25,335.00
495	SPORT UTILITY VEHICLE	1	\$25,135.00	\$25,135.00
495	SPORT UTILITY VEHICLE	1	\$42,239.12	\$42,239.12
	SPORT UTILITY VEHICLE			
495		1	\$30,264.50	\$30,264.50
495	SPORT UTILITY VEHICLE	1	\$30,648.00	\$30,648.00
495	SPORT UTILITY VEHICLE	1	\$30,648.00	\$30,648.00
495	SPORT UTILITY VEHICLE	1	\$24,674.75	\$24,674.75
495	SPORT UTILITY VEHICLE	1	\$31,143.00	\$31,143.00
495	SPORT UTILITY VEHICLE	1	\$31,143.00	\$31,143.00
495	SPORT UTILITY VEHICLE	1	\$31,373.00	\$31,373.00
495	SPORT UTILITY VEHICLE	1		
			\$31,373.00	\$31,373.00
495	SPORT UTILITY VEHICLE	1	\$31,373.00	\$31,373.00
495	SPORT UTILITY VEHICLE	1	\$20,043.00	\$20,043.00
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$30,924.19	\$30,924.19
495	SPORT UTILITY VEHICLE	1	\$32,131.08	\$32,131.08
495	SPORT UTILITY VEHICLE	1	\$32,131.08	\$32,131.08
495	SPORT UTILITY VEHICLE	1	\$32,131.08	\$32,131.08
495	SPORT UTILITY VEHICLE	1	\$32,131.08	\$32,131.08
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$24,956.00	\$24,956.00
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$37,092.96	\$37,092.96
495	SPORT UTILITY VEHICLE	1	\$27,916.00	\$27,916.00
495	SPORT UTILITY VEHICLE	1	\$28,116.00	\$28,116.00
495	SPORT UTILITY VEHICLE	1	\$25,877.00	\$25,877.00
495	SPORT UTILITY VEHICLE	1	\$35,855.94	\$35,855.94
495	SPORT UTILITY VEHICLE	1	\$19,637.00	\$19,637.00
495	SPORT UTILITY VEHICLE	1	\$19,637.00	\$19,637.00
495	SPORT UTILITY VEHICLE	1	\$19,637.00	\$19,637.00
495	SPORT UTILITY VEHICLE	1	\$19,637.00	\$19,637.00
495	SPORT UTILITY VEHICLE	1	\$19,637.00	\$19,637.00
495	SPORT UTILITY VEHICLE	1	\$45,620.05	\$45,620.05
495	SPORT UTILITY VEHICLE	1	\$25,400.00	\$25,400.00
495	SPORT UTILITY VEHICLE	1	\$42,778.87	\$42,778.87
495	SPORT UTILITY VEHICLE	1	\$42,359.00	\$42,359.00
495	SPORT UTILITY VEHICLE	1	\$17,922.00	\$17,922.00
495	SPORT UTILITY VEHICLE	1	\$50,521.08	\$50,521.08
495	SPORT UTILITY VEHICLE	1	\$50,521.08	\$50,521.08
495	SPORT UTILITY VEHICLE	1	\$26,384.77	\$26,384.77
495	SPORT UTILITY VEHICLE	1	\$33,972.00	\$33,972.00
495	SPORT UTILITY VEHICLE	1	\$25,726.00	\$25,726.00
495	SPORT UTILITY VEHICLE	1	\$39,509.35	\$39,509.35
495	SPORT UTILITY VEHICLE	1	\$43,755.96	\$43,755.96
495	SPORT UTILITY VEHICLE	1	\$43,213.60	\$43,213.60
495	SPORT UTILITY VEHICLE	1	\$44,869.80	\$44,869.80
495	SPORT UTILITY VEHICLE	1	\$31,405.59	\$31,405.59
495	SPORT UTILITY VEHICLE	1	\$40,643.86	\$40,643.86
495	SPORT UTILITY VEHICLE	1	\$40,742.87	\$40,742.87
495	SPORT UTILITY VEHICLE	1	\$40,643.86	\$40,643.86
495	SPORT UTILITY VEHICLE	1	\$30,962.13	\$30,962.13
495	SPORT UTILITY VEHICLE	1	\$30,010.12	\$30,010.12
495	SPORT UTILITY VEHICLE	1	\$18,453.00	\$18,453.00
495	SPORT UTILITY VEHICLE	1	\$29,495.10	\$29,495.10
495	SPORT UTILITY VEHICLE	1	\$30,305.00	\$30,305.00
495	SPORT UTILITY VEHICLE	1	\$24,105.75	\$24,105.75
495	SPORT UTILITY VEHICLE	1	\$39,509.35	\$39,509.35
495	SPORT UTILITY VEHICLE	1	\$33,095.00	\$33,095.00
495	SPORT UTILITY VEHICLE	1	\$15,760.00	\$15,760.00
495	SPORT UTILITY VEHICLE	1	\$32,760.00	\$32,760.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$47,960.00	\$47,960.00
495	SPORT UTILITY VEHICLE	1	\$52,752.55	\$52,752.55
495	SPORT UTILITY VEHICLE	1	\$51,669.00	\$51,669.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$39,010.57	\$39,010.57
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
.55	J. J. J. J. Lett. Felloce	-	+02,000.00	431,003.00

495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$39,010.57	\$39,010.57
495	SPORT UTILITY VEHICLE	1	\$51,669.00	\$51,669.00
495	SPORT UTILITY VEHICLE	1	\$32,760.00	\$32,760.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
		1		
495	SPORT UTILITY VEHICLE		\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$51,069.00	\$51,069.00
495	SPORT UTILITY VEHICLE	1	\$27,043.00	\$27,043.00
495	SPORT UTILITY VEHICLE	1	\$32,904.76	\$32,904.76
495	SPORT UTILITY VEHICLE	1	\$34,904.55	\$34,904.55
495	SPORT UTILITY VEHICLE	1	\$30,163.00	\$30,163.00
495				
	SPORT UTILITY VEHICLE	1	\$38,683.24	\$38,683.24
495	SPORT UTILITY VEHICLE	1	\$54,366.54	\$54,366.54
495	SPORT UTILITY VEHICLE	1	\$52,063.80	\$52,063.80
495	SPORT UTILITY VEHICLE	1	\$32,349.00	\$32,349.00
495	SPORT UTILITY VEHICLE	1	\$32,349.00	\$32,349.00
495	SPORT UTILITY VEHICLE	1	\$31,314.00	\$31,314.00
495	SPORT UTILITY VEHICLE	1	\$26,336.75	\$26,336.75
495	SPORT UTILITY VEHICLE	1	\$45,413.00	\$45,413.00
495	SPORT UTILITY VEHICLE	1	\$51,625.28	\$51,625.28
495	SPORT UTILITY VEHICLE	1	\$51,305.28	\$51,305.28
495	SPORT UTILITY VEHICLE	1	\$51,305.28	\$51,305.28
495	SPORT UTILITY VEHICLE	1	\$51,305.28	\$51,305.28
495	SPORT UTILITY VEHICLE	1	\$51,305.28	\$51,305.28
495	SPORT UTILITY VEHICLE	1	\$43,775.00	\$43,775.00
495	SPORT UTILITY VEHICLE	1	\$50,871.85	\$50,871.85
495	SPORT UTILITY VEHICLE	1	\$51,062.78	\$51,062.78
495	SPORT UTILITY VEHICLE	1	\$48,295.78	\$48,295.78
495	SPORT UTILITY VEHICLE	1	\$49,121.00	\$49,121.00
495	SPORT UTILITY VEHICLE	1	\$49,121.00	\$49,121.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$49,570.65	\$49,570.65
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$43,207.75	\$43,207.75
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1		
			\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$52,833.00	\$52,833.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$46,189.00	\$46,189.00
495	SPORT UTILITY VEHICLE	1	\$46,189.00	\$46,189.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$52,833.00	\$52,833.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$48,821.00	\$48,821.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,570.65	\$49,570.65
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$49,567.00	\$49,567.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00
495	SPORT UTILITY VEHICLE	1	\$49,446.00	\$49,446.00

495	SPORT UTILITY VEHICLE	1	\$32,619.00	\$32,619.00
495	SPORT UTILITY VEHICLE	1	\$32,619.00	\$32,619.00
495	SPORT UTILITY VEHICLE	1	\$37,736.00	\$37,736.00
495	SPORT UTILITY VEHICLE	1	\$49,168.87	\$49,168.87
495	SPORT UTILITY VEHICLE	1	\$45,537.60	\$45,537.60
495	SPORT UTILITY VEHICLE	1	\$37,275.00	\$37,275.00
495	SPORT UTILITY VEHICLE	1	\$54,247.28	\$54,247.28
495	SPORT UTILITY VEHICLE	1	\$49,536.00	\$49,536.00
495	SPORT UTILITY VEHICLE	1	\$43,636.00	\$43,636.00
495	SPORT UTILITY VEHICLE	1	\$54,000.00	\$54,000.00
495	SPORT UTILITY VEHICLE	1	\$54,000.00	\$54,000.00
495	SPORT UTILITY VEHICLE	1	\$54,000.00	\$54,000.00
495	SPORT UTILITY VEHICLE	1	\$54,000.00	\$54,000.00
495	SPORT UTILITY VEHICLE	1	\$50,134.00	\$50,134.00
495	SPORT UTILITY VEHICLE	1	\$49,398.00	\$49,398.00
	SPORT UTILITY VEHICLE	1		
495			\$50,434.00	\$50,434.00
495	SPORT UTILITY VEHICLE	1	\$49,870.00	\$49,870.00
495	SPORT UTILITY VEHICLE	1	\$47,207.00	\$47,207.00
495	SPORT UTILITY VEHICLE	1	\$50,295.00	\$50,295.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$48,194.00	\$48,194.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$47,969.00	\$47,969.00
495	SPORT UTILITY VEHICLE	1	\$47,969.00	\$47,969.00
495	SPORT UTILITY VEHICLE	1	\$48,194.00	\$48,194.00
495	SPORT UTILITY VEHICLE	1		
			\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$47,969.00	\$47,969.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$48,624.00	\$48,624.00
495	SPORT UTILITY VEHICLE	1	\$47,624.00	\$47,624.00
495	SPORT UTILITY VEHICLE	1	\$50,868.65	\$50,868.65
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$47,624.00	\$47,624.00
495	SPORT UTILITY VEHICLE	1	\$47,969.00	\$47,969.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$48,194.00	\$48,194.00
495	SPORT UTILITY VEHICLE	1	\$48,194.00	\$48,194.00
495	SPORT UTILITY VEHICLE	1	\$47,423.65	\$47,423.65
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
	SPORT UTILITY VEHICLE SPORT UTILITY VEHICLE			
495		1	\$50,868.65	\$50,868.65
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$47,724.00	\$47,724.00
495	SPORT UTILITY VEHICLE	1		
			\$47,969.00	\$47,969.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,351.00	\$51,351.00
495	SPORT UTILITY VEHICLE	1	\$51,255.00	\$51,255.00
495	SPORT UTILITY VEHICLE	1	\$47,723.65	\$47,723.65
495	SPORT UTILITY VEHICLE	1	\$47,969.00	\$47,969.00

495	SPORT UTILITY VEHICLE	1	\$28,760.48	\$28,760.48
495	SPORT UTILITY VEHICLE	1	\$50,444.00	\$50,444.00
495	SPORT UTILITY VEHICLE	1	\$38,878.50	\$38,878.50
495	SPORT UTILITY VEHICLE	1	\$38,578.50	\$38,578.50
495	SPORT UTILITY VEHICLE	1	\$33,388.38	\$33,388.38
495	SPORT UTILITY VEHICLE	1	\$50,331.00	\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$50,331.00	
				\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$50,331.00	\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$50,331.00	\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$50,331.00	\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$50,331.00	\$50,331.00
495	SPORT UTILITY VEHICLE	1	\$55,775.00	\$55,775.00
495	SPORT UTILITY VEHICLE	1	\$55,775.00	\$55,775.00
495	SPORT UTILITY VEHICLE	1	\$52,877.50	\$52,877.50
495	SPORT UTILITY VEHICLE	1	\$52,877.50	\$52,877.50
495	SPORT UTILITY VEHICLE	1	\$48,347.00	\$48,347.00
495	SPORT UTILITY VEHICLE	1	\$31,055.50	\$31,055.50
495	SPORT UTILITY VEHICLE	1	\$54,710.00	\$54,710.00
495	SPORT UTILITY VEHICLE	1	\$56,338.00	\$56,338.00
495	SPORT UTILITY VEHICLE	1	\$56,338.00	\$56,338.00
495	SPORT UTILITY VEHICLE	1	\$52,755.90	\$52,755.90
495	SPORT UTILITY VEHICLE	1	\$29,155.50	\$29,155.50
495	SPORT UTILITY VEHICLE	1	\$36,106.18	\$36,106.18
495	SPORT UTILITY VEHICLE	1	\$36,106.18	\$36,106.18
495	SPORT UTILITY VEHICLE	1	\$36,106.18	\$36,106.18
495	SPORT UTILITY VEHICLE	1	\$36,406.18	\$36,406.18
495	SPORT UTILITY VEHICLE	1		
			\$36,106.18	\$36,106.18
495	SPORT UTILITY VEHICLE	1	\$36,106.18	\$36,106.18
495	SPORT UTILITY VEHICLE	1	\$44,904.25	\$44,904.25
495	SPORT UTILITY VEHICLE	1	\$36,074.61	\$36,074.61
495	SPORT UTILITY VEHICLE	1	\$41,732.99	\$41,732.99
495	SPORT UTILITY VEHICLE	1	\$41,732.99	\$41,732.99
495	SPORT UTILITY VEHICLE	1	\$24,767.50	\$24,767.50
495		1		
	SPORT UTILITY VEHICLE		\$61,432.00	\$61,432.00
495	SPORT UTILITY VEHICLE	1	\$56,292.00	\$56,292.00
495	SPORT UTILITY VEHICLE	1	\$61,432.00	\$61,432.00
495	SPORT UTILITY VEHICLE	1	\$57,330.59	\$57,330.59
495	SPORT UTILITY VEHICLE	1	\$49,935.13	\$49,935.13
495	SPORT UTILITY VEHICLE	1	\$61,432.00	\$61,432.00
495	SPORT UTILITY VEHICLE	1	\$49,635.13	\$49,635.13
495	SPORT UTILITY VEHICLE	1	\$55,580.00	\$55,580.00
495	SPORT UTILITY VEHICLE	1	\$55,580.00	\$55,580.00
553	SPORT UTILITY VEHICLE	1	\$47,572.27	\$47,572.27
1000	SPORT UTILITY VEHICLE	1	\$33,920.00	\$33,920.00
1000	SPORT UTILITY VEHICLE	1	\$41,916.23	\$41,916.23
540	SPOTLIGHT, THEATRE, MED/SMALL	1	\$500.00	\$500.00
540	SPOTLIGHT, THEATRE, SMALL	3	\$100.00	\$300.00
882	SPRAY GUN, AIR	4	\$300.00	\$1,200.00
540	SPRAYER, ELECTROSTATIC, HANDHELD, CORDLESS	1	\$700.00	\$700.00
570	SPRAYER, ELECTROSTATIC, HANDHELD, CORDLESS	1	\$700.00	\$700.00
560	SPRAYER, INSECTICIDE	1	\$2,500.00	\$2,500.00
560	SPRAYER, INSECTICIDE	1	\$2,500.00	\$2,500.00
3103	SPRAYER, INSECTICIDE	1	\$1,795.00	\$1,795.00
560	SPRAYER, INSECTICIDE, BACKPACK, 4 GAL.	1	\$80.00	\$80.00
3106	SPRAYER, INSECTICIDE, BACKPACK, 4 GAL.	1	\$80.00	\$80.00
3101	SPRAYER, TREE	1	\$8,500.00	\$8,500.00
3103	SPRAYER, WATER, SKID MOUNT, 50 GAL.	1	\$9,643.45	\$9,643.45
3106	SPRAYER, WATER, SKID MOUNT, 50 GAL.	1	\$1,899.00	\$1,899.00
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,012.00	\$3,012.00
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,012.00	\$3,012.00
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,612.05	\$3,612.05
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$7,655.50	\$7,655.50
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,612.05	\$3,612.05
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$6,538.06	\$6,538.06
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$6,538.05	\$6,538.05
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,500.00	\$3,500.00
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$3,500.00	\$3,500.00
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$7,655.50	\$7,655.50
210	SPREADER, SALT/ SAND, TAILGATE MOUNTED	1	\$7,655.50	\$7,655.50
576	SPRING LOADED TRAY CART	1	\$450.00	\$450.00
576	SPRING LOADED TRAY CART	1	\$450.00	\$450.00
560	SQUAT RACK	1	\$269.00	\$269.00
560	SQUAT RACK	1	\$269.00	\$269.00
576	STAGE, PORTABLE (SMALL)	8	\$250.00	\$2,000.00
540	STAIR CHAIR, EVACUATION	1	\$2,674.00	\$2,674.00
540	STAIR CHAIR, EVACUATION	1	\$3,300.00	\$3,300.00
			. ,	

540	STAIR CHAIR, EVACUATION	1	\$3,300.00	\$3,300.00
540	STAIR CHAIR, EVACUATION	1	\$2,300.00	\$2,300.00
1000	STAIR CHAIR, EVACUATION	1	\$2,300.00	\$2,300.00
1000	STAIR CHAIR, EVACUATION	1	\$2,300.00	\$2,300.00
1000	STAIR CHAIR, EVACUATION	1	\$2,674.00	\$2,674.00
882	STAND, ENGINE, 1/2 TON	1	\$297.00	\$297.00
440	STAPLE GUN	1	\$150.00	\$150.00
450	STAPLER, ELECTRIC	7	\$80.00	\$560.00
450	STAPLER, ELECTRIC	1	\$80.00	\$80.00
494	STAPLER, ELECTRIC	1	\$80.00	\$80.00
560	STAPLER, ELECTRIC	1	\$80.00	\$80.00
497	STAPLER, ELECTRIC, PROFESSIONAL	1	\$269.00	\$269.00
			\$3,360.00	
576	STEAMER, CONVECTION, COUNTERTOP	1	. ,	\$3,360.00
882	STEERING WHEEL PULLER	1	\$350.00	\$350.00
560	STEPPER/STAIR MASTER	1	\$5,996.25	\$5,996.25
560	STEPPER/STAIR MASTER	1	\$6,226.50	\$6,226.50
581	STOKES BASKET, RESCUE	3	\$550.00	\$1,650.00
210	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
499	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
553	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
553	STOOL, ADJUSTABLE HEIGHT	2	\$70.00	\$140.00
560	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
	•			
560	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
576	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
576	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
576	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
576	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
630	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
630	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
630	STOOL, ADJUSTABLE HEIGHT	1	\$70.00	\$70.00
475	STOOL, LIBRARY, WOOD, PADDED	3	\$125.00	\$375.00
560	STORAGE RACK, STAINLESS STEEL	1	\$85.00	\$85.00
540	STOVE, 2 BURNER, W/ GRIDDLE	1	\$400.00	\$400.00
570	STOVE, 6 BURNER, 1 OVEN	1	\$2,000.00	\$2,000.00
576	STOVE, 6 BURNER, 1 OVEN	1	\$2,000.00	\$2,000.00
495	STREET SWEEPER	1	\$232,843.50	\$232,843.50
495	STREET SWEEPER	1	\$232,843.50	\$232,843.50
495	STREET SWEEPER	1	\$232,843.50	\$232,843.50
495	STREET SWEEPER	1	\$188,016.00	\$188,016.00
495	STREET SWEEPER	1	\$180,681.00	\$180,681.00
495	STREET SWEEPER	1	\$215,536.50	\$215,536.50
495	STREET SWEEPER	1	\$279,955.00	\$279,955.00
495	STREET SWEEPER	1	\$279,955.00	\$279,955.00
210	STREET SWEEPER, SMALL	1	\$53,068.75	\$53,068.75
210	STREET SWEEPER, SMALL	1	\$46,676.82	\$46,676.82
495	STREET SWEEPER, SMALL	1	\$42,122.00	\$42,122.00
495	STREET SWEEPER, SMALL	1	\$53,068.75	\$53,068.75
882	STREET SWEEPER, SMALL	1	\$46,434.20	\$46,434.20
540	STRETCHER, FOLDING	1	\$485.00	\$485.00
540	STRETCHER, FOLDING	1	\$485.00	\$485.00
			\$5,585.00	•
210	STRIPER, PAVEMENT/FIELD, AIRLESS	1		\$5,585.00
210	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN	1	\$8,002.73	\$8,002.73
210	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN	1	\$9,354.00	\$9,354.00
210	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN	1	\$8,975.00	\$8,975.00
210	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN, RIDE-ON	1	\$9,354.00	\$9,354.00
3103	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN, RIDE-ON	1	\$10,950.00	\$10,950.00
3103	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN, RIDE-ON	1	\$9,770.00	\$9,770.00
3103	STRIPER, PAVEMENT/FIELD, AIRLESS, MULTI-GUN, RIDE-ON	1	\$10,950.00	\$10,950.00
540	STROBE LIGHTING, POWER PACK	1	\$1,000.00	\$1,000.00
882	STROKE HYDRAULIC CYLINDER SET, 5-TON	1	\$620.00	\$620.00
3107	STUMP GRINDER	1	\$6,450.50	\$6,450.50
540	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
540	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
		1	\$700.00	\$700.00
540	SUCTION MACHINE, PORTABLE			
540	SUCTION MACHINE, PORTABLE	1	\$700.00	\$700.00
540	SUCTION MACHINE, PORTABLE	1	\$700.00	\$700.00
540	SUCTION MACHINE, PORTABLE	1	\$820.00	\$820.00
540	SUCTION MACHINE, PORTABLE	1	\$820.00	\$820.00
540	SUCTION MACHINE, PORTABLE	1	\$820.00	\$820.00
540	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
540	SUCTION MACHINE, PORTABLE	1	\$700.00	\$700.00
540	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
540	SUCTION MACHINE, PORTABLE	1	\$717.75	\$717.75
540	SUCTION MACHINE, PORTABLE	1	\$820.00	\$820.00
540	SUCTION MACHINE, PORTABLE	1	\$700.00	\$700.00
570	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
	· · · · · · · · · · · · · · · · · · ·	_	, - : = : = =	7

570	SUSTION MASSING PORTARIE	_	4570.00	4570.00
570	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
1000	SUCTION MACHINE, PORTABLE	1	\$570.00	\$570.00
1000	SUCTION MACHINE, PORTABLE	1	\$820.00	\$820.00
1000 1000	SUCTION MACHINE, PORTABLE	1 1	\$570.00	\$570.00 \$820.00
1000	SUCTION MACHINE, PORTABLE		\$820.00 \$570.00	\$570.00
1000	SUCTION MACHINE, PORTABLE	1	\$700.00	\$700.00
581	SUCTION MACHINE, PORTABLE SUIT, HAZMAT	1 44	\$1,200.00	
560	•			\$52,800.00
	SURVEY STATION, TOTAL	1	\$36,998.00	\$36,998.00
630	SWITCH, 12 PORT	1	\$175.00	\$175.00
541	SWITCH, 16 PORT	1	\$350.00	\$350.00
503	SWITCH, 16 PORT, POE	1	\$330.00	\$330.00
454	SWITCH, 24 PORT	1	\$325.00	\$325.00
581	SWITCH, 24 PORT	2	\$325.00	\$650.00
630	SWITCH, 24 PORT	2	\$325.00	\$650.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$9,528.82	\$9,528.82
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$2,685.20	\$2,685.20
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 24 PORT, POE	1	\$1,760.00	\$1,760.00
570	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
581	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
581	SWITCH, 24 PORT, POE	1	\$1,950.00	\$1,950.00
3106	SWITCH, 24 PORT, POE	1	\$1,900.00	\$1,900.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00 \$1,125.00	\$1,125.00 \$1,125.00
503				
	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00 \$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00 \$1.125.00	\$1,125.00 \$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00

503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
	,			
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$7,091.21	\$7,091.21
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
503	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
581	SWITCH, 48 PORT	1	\$1,170.60	\$1,170.60
581	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
630	SWITCH, 48 PORT	1	\$1,125.00	\$1,125.00
630	SWITCH, 48 PORT	1	\$1,170.60	\$1,170.60
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
441	SWITCH, 48 PORT, POE	1	\$2,205.00	\$2,205.00
441	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
441	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
441	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
441		1		\$3,300.00
	SWITCH, 48 PORT, POE		\$3,300.00	
441	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
441	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503		1	\$3,000.00	\$3,000.00
	SWITCH, 48 PORT, POE			
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$7,091.21	\$7,091.21
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503		1		\$1,760.00
	SWITCH, 48 PORT, POE		\$1,760.00	
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$2,500.00	\$2,500.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$6,127.76	\$6,127.76
503	SWITCH, 48 PORT, POE	1	\$6,127.76	\$6,127.76
503	SWITCH, 48 PORT, POE	1	\$6,127.76	\$6,127.76
503	SWITCH, 48 PORT, POE	1	\$6,127.76	\$6,127.76
503	SWITCH, 48 PORT, POE	1	\$6,931.03	\$6,931.03
503	SWITCH, 48 PORT, POE	1	\$6,931.03	\$6,931.03
503		1		\$3,000.00
	SWITCH, 48 PORT, POE		\$3,000.00	
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$2,205.00	\$2,205.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
555	55, 40 f 5.1, f 5E	±	Ç3,000.00	73,000.00

503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$2,500.00	\$2,500.00
503	SWITCH, 48 PORT, POE	1		
			\$2,500.00	\$2,500.00
503	SWITCH, 48 PORT, POE	1	\$2,500.00	\$2,500.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
	•			
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503		1		\$3,000.00
	SWITCH, 48 PORT, POE		\$3,000.00	
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
	SWITCH, 48 PORT, POE			
503	• •	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
	,	-	,	,-,0.00

SAME					
503 SWITTCH, A PORT, POF 03 SWITCH, A PORT, POF 03 SWITCH, A PORT, POF 04 1 5,000,000 5,000,000 05 SWITCH, A PORT, POF 04 1 1 1,000,000 5,000,000 05 SWITCH, A PORT, POF 0	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
SAMPEN, 48 PORTY, POP 1 \$3,00000 \$3,	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
SAMPLE, 48 PORTI, POB. 1 3,000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,00	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
SAMPLE, 48 PORTI, POB. 1 3,000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,0000000 34,00	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
SAMEL, 48 PORT, POE					
SATECH, 48 PORT, POE					
SAME SWITCH, 48 PORT, POR 1 SAMOND SAM		, ,			
SATE					
SAME					
SSS SWITCH, 48 PORT, POE					
SS SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
SAMERIA, ASPORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
1933 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1		
593 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 \$3,000.00 \$30.000.00 \$30		•			
583 SWITCH, 48 PORT, POE 1 S3,000.00 S3,					
503 SWITCH, 48 PORT, POE 1 S,3,000.00					
SSS SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,		SWITCH, 48 PORT, POE		\$3,000.00	
593 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$1,760.00	\$1,760.00
593 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1		
503 SWITCH, 48 PORT, POE					
SAMERIAN BRORT, POE					
SACRES SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE					
593 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,	503	SWITCH, 48 PORT, POE		\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE					
SAMECH, 48 PORT, POE					
SAMPER AS PORT, POE		, ,			
SAMECH, 48 PORT, POE					
503 SMITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SMITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1					
S3	503	SWITCH, 48 PORT, POE	1	\$3,300.00	\$3,300.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1	503	SWITCH, 48 PORT, POE	1	\$1,760.00	\$1,760.00
S03	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
S03	503	SWITCH, 48 PORT, POE	1	\$3.000.00	\$3.000.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1		, ,			
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 501 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 8 PORT POE <td></td> <td></td> <td></td> <td>• •</td> <td></td>				• •	
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 561 SWITCH, 8 PORT 1 \$100.00 \$3,000.00 562 SWITCH, 8 PORT, MORE 1	503			\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$1,000.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, B PORT 1 \$100.00 \$100.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 <td>503</td> <td>SWITCH, 48 PORT, POE</td> <td>1</td> <td>\$3,000.00</td> <td>\$3,000.00</td>	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 <td></td> <td></td> <td></td> <td></td> <td></td>					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 8 PORT 1 \$100.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, E PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, K					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, SPORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,807.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/		, ,			
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, E PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM					
503 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$3,000.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SW					
509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,376.50 503					
509 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 <	503	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
541 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$100.00 503 SWITCH, CHASSIS 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78	509	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
560 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$100.00 503 SWITCH, CHASSIS 1 \$500.00 \$500.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78	509	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 <	541	SWITCH, 48 PORT, POE	1	\$3,000.00	\$3,000.00
581 SWITCH, 48 PORT, POE 1 \$3,000.00 \$3,000.00 503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 <					
503 SWITCH, 8 PORT 1 \$100.00 \$100.00 560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,8					
560 SWITCH, 8 PORT 1 \$100.00 \$100.00 503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78				* *	
503 SWITCH, 8 PORT, MANAGED 1 \$500.00 \$500.00 503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
503 SWITCH, CHASSIS 1 \$3,000.00 \$3,000.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78	503	SWITCH, KEYBOARD/ VIDEO MONITOR, KVM	1	\$750.00	\$750.00
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78	503	SWITCH, KEYBOARD/ VIDEO MONITOR, KVM	1	\$3,837.78	\$3,837.78
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$750.00 \$750.00 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78	503	SWITCH, KEYBOARD/ VIDEO MONITOR, KVM	1	\$750.00	\$750.00
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,376.50 \$3,376.50 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78 \$3,837.78					
503 SWITCH, KEYBOARD/ VIDEO MONITOR, KVM 1 \$3,837.78 \$3,837.78					
5U3 SWIICH, MUDULAK 1 \$2,500.00 \$2,500.00					
	503	SWITCH, MUDULAK	1	\$2,500.00	\$2,500.00

503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, MODULAR	1	\$2,500.00	\$2,500.00
503	SWITCH, VOICE, IP PHONE SYSTEM	1	\$800.00	\$800.00
576	SYNTHESIZER	1	\$1,900.00	\$1,900.00
503	SYSTEM, COMMUNICATION (911)	1	\$37,043.85	\$37,043.85
503	SYSTEM, COMMUNICATION (911)	1	\$5,400.00	\$5,400.00
581	SYSTEM, COMMUNICATION (911)	1		\$5,400.00
			\$5,400.00	
403	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
404	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
404	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
440	SYSTEM, FILE, SPACE SAVER	14	\$2,800.00	\$39,200.00
440	SYSTEM, FILE, SPACE SAVER	4	\$2,800.00	\$11,200.00
452	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
454	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
475	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
509	SYSTEM, FILE, SPACE SAVER	4	\$2,800.00	\$11,200.00
509	SYSTEM, FILE, SPACE SAVER	3	\$2,800.00	\$8,400.00
560	SYSTEM, FILE, SPACE SAVER	1	\$90,949.86	\$90,949.86
570	SYSTEM, FILE, SPACE SAVER	8	\$2,800.00	\$22,400.00
576	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
576	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
630	SYSTEM, FILE, SPACE SAVER	1	\$2,800.00	\$2,800.00
576	TABLE	1	\$150.00	\$150.00
587	TABLE	2	\$150.00	\$300.00
576	TABLE, AIR HOCKEY	1	\$1,335.00	\$1,335.00
576	TABLE, AIR HOCKEY	1	\$1,335.00	\$1,335.00
213	TABLE, BOARDROOM, W/ POWER	1	\$3,970.00	\$3,970.00
540	TABLE, BOARDROOM, W/ POWER	1	\$3,970.00	\$3,970.00
576	TABLE, CAFETERIA, FOLDING, W/ SEATS	1	\$950.00	\$950.00
576	TABLE, CAFETERIA, FOLDING, W/ SEATS	1	\$950.00	\$950.00
576	TABLE, CAFETERIA, FOLDING, W/ SEATS	1	\$950.00	\$950.00
576	TABLE, CAFETERIA, FOLDING, W/ SEATS	1	\$950.00	\$950.00
576	TABLE, CAFETERIA, FOLDING, W/O SEATS	1	\$490.00	\$490.00
576	TABLE, CAFETERIA, FOLDING, W/O SEATS	2	\$490.00	\$980.00
576	TABLE, CAFETERIA, FOLDING, W/O SEATS	5	\$490.00	\$2,450.00
				\$350.00
450	TABLE, CARREL, 2- UNIT	1	\$350.00	·
540	TABLE, CARREL, COMPUTER	7	\$300.00	\$2,100.00
214	TABLE, COFFEE	1	\$255.00	\$255.00
400	TABLE, COFFEE	1	\$255.00	\$255.00
440	TABLE, COFFEE	1	\$255.00	\$255.00
475	TABLE, COFFEE	2	\$255.00	\$510.00
492	TABLE, COFFEE	1	\$255.00	\$255.00
492	TABLE, COFFEE	1		\$255.00
	,		\$255.00	•
495	TABLE, COFFEE	2	\$255.00	\$510.00
499	TABLE, COFFEE	1	\$255.00	\$255.00
499	TABLE, COFFEE	1	\$255.00	\$255.00
540	TABLE, COFFEE	1	\$255.00	\$255.00
540	TABLE, COFFEE	1	\$255.00	\$255.00
560	TABLE, COFFEE	1	\$255.00	\$255.00
576	TABLE, COFFEE	1	\$255.00	\$255.00
576	TABLE, COFFEE	1	\$255.00	\$255.00
576	TABLE, COFFEE	2	\$255.00	\$510.00
213	TABLE, COFFEE, WICKER/RATTAN	1	\$210.00	\$210.00
437	TABLE, COMPUTER	1	\$265.00	\$265.00
438	TABLE, COMPUTER	1	\$265.00	\$265.00
450	TABLE, COMPUTER	1	\$265.00	\$265.00
492	TABLE, COMPUTER	1	\$265.00	\$265.00
494	TABLE, COMPUTER	1	\$265.00	\$265.00
494	TABLE, COMPUTER	1	\$265.00	\$265.00
497	TABLE, COMPUTER	1	\$265.00	\$265.00
499	TABLE, COMPUTER	1	\$265.00	\$265.00
499	TABLE, COMPUTER	1	\$265.00	\$265.00
503	TABLE, COMPUTER	1	\$265.00	\$265.00
503	TABLE, COMPUTER	1	\$265.00	\$265.00
503	TABLE, COMPUTER	2	\$265.00	\$530.00
503	TABLE, COMPUTER	8	\$265.00	\$2,120.00
509	TABLE, COMPUTER	1	\$265.00	\$265.00
509	TABLE, COMPUTER	1	\$265.00	\$265.00

509	TABLE, COMPUTER	1	\$265.00	\$265.00
540	TABLE, COMPUTER	1	\$265.00	\$265.00
540	TABLE, COMPUTER	1	\$265.00	\$265.00
540	TABLE, COMPUTER	1	\$265.00	\$265.00
542	TABLE, COMPUTER	1	\$265.00	\$265.00
553	TABLE, COMPUTER	1	\$265.00	\$265.00
554	TABLE, COMPUTER	1	\$265.00	\$265.00
560	TABLE, COMPUTER	1	\$265.00	\$265.00
560	TABLE, COMPUTER	1	\$265.00	\$265.00
560	TABLE, COMPUTER	1	\$265.00	\$265.00
570	TABLE, COMPUTER	1	\$265.00	\$265.00
570	TABLE, COMPUTER	2	\$265.00	\$530.00
570	TABLE, COMPUTER	1	\$265.00	\$265.00
570	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER	1	\$265.00	\$265.00
	•			
581	TABLE, COMPUTER	1	\$265.00	\$265.00
581	TABLE, COMPUTER	46	\$265.00	\$12,190.00
591	TABLE, COMPUTER	1	\$265.00	\$265.00
630	TABLE, COMPUTER	1	\$265.00	\$265.00
882	TABLE, COMPUTER	1	\$265.00	\$265.00
576	TABLE, COMPUTER, TWO POSITION	4	\$490.00	\$1,960.00
576		2	\$490.00	\$980.00
	TABLE, COMPUTER, TWO POSITION			
576	TABLE, COMPUTER, TWO POSITION	3	\$490.00	\$1,470.00
576	TABLE, COMPUTER, TWO POSITION	6	\$490.00	\$2,940.00
576	TABLE, COMPUTER, TWO POSITION	4	\$490.00	\$1,960.00
576	TABLE, COMPUTER, TWO POSITION	2	\$490.00	\$980.00
576	TABLE, COMPUTER, TWO POSITION	6	\$490.00	\$2,940.00
210	TABLE, CONFERENCE	1	\$515.00	\$515.00
210	TABLE, CONFERENCE	1	\$515.00	\$515.00
210	TABLE, CONFERENCE	1	\$515.00	\$515.00
210	TABLE, CONFERENCE	1	\$515.00	\$515.00
211	TABLE, CONFERENCE	1	\$515.00	\$515.00
213	TABLE, CONFERENCE	1	\$515.00	\$515.00
213	TABLE, CONFERENCE	1	\$515.00	\$515.00
215	TABLE, CONFERENCE	1	\$515.00	\$515.00
215	TABLE, CONFERENCE	2	\$515.00	\$1,030.00
400	TABLE, CONFERENCE	1	\$515.00	\$515.00
400	TABLE, CONFERENCE	1	\$515.00	\$515.00
400	TABLE, CONFERENCE	2	\$515.00	\$1,030.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
402	TABLE, CONFERENCE	1	\$915.00	\$915.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
402	TABLE, CONFERENCE	1	\$915.00	\$915.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
402	TABLE, CONFERENCE	1	\$515.00	\$515.00
405	TABLE, CONFERENCE	1	\$515.00	\$515.00
405	TABLE, CONFERENCE	1	\$915.00	\$915.00
425	TABLE, CONFERENCE	1	\$515.00	\$515.00
425	TABLE, CONFERENCE	2	\$515.00	\$1,030.00
425	TABLE, CONFERENCE TABLE, CONFERENCE	1	\$515.00	\$1,030.00
427	TABLE, CONFERENCE	1	\$515.00	\$515.00
428	TABLE, CONFERENCE	1	\$515.00	\$515.00
429	TABLE, CONFERENCE	1	\$515.00	\$515.00
436	TABLE, CONFERENCE	1	\$515.00	\$515.00
437	TABLE, CONFERENCE	1	\$515.00	\$515.00
438	TABLE, CONFERENCE	1	\$515.00	\$515.00
440	TABLE, CONFERENCE	1	\$515.00	\$515.00
441	TABLE, CONFERENCE	1	\$515.00	\$515.00
451	TABLE, CONFERENCE	1	\$515.00	\$515.00
452	TABLE, CONFERENCE	1	\$515.00	\$515.00
453	TABLE, CONFERENCE	1	\$915.00	\$915.00
453	TABLE, CONFERENCE	1	\$515.00	\$515.00
453	TABLE, CONFERENCE	1	\$515.00	\$515.00
454	TABLE, CONFERENCE	1	\$515.00	\$515.00
454	TABLE, CONFERENCE	1	\$515.00	\$515.00
475	TABLE, CONFERENCE	1	\$515.00	\$515.00
475	TABLE, CONFERENCE	1	\$515.00	\$515.00

492	TABLE, CONFERENCE	1	\$515.00	\$515.00
494	TABLE, CONFERENCE	1	\$515.00	\$515.00
494	TABLE, CONFERENCE	1	\$515.00	\$515.00
494	TABLE, CONFERENCE	1	\$515.00	\$515.00
499	TABLE, CONFERENCE	1	\$515.00	\$515.00
499	TABLE, CONFERENCE	1	\$515.00	\$515.00
503	TABLE, CONFERENCE	1	\$515.00	\$515.00
503	TABLE, CONFERENCE	1	\$915.00	\$915.00
509	TABLE, CONFERENCE	1	\$515.00	\$515.00
509	TABLE, CONFERENCE	1	\$515.00	\$515.00
510	TABLE, CONFERENCE	1	\$515.00	\$515.00
540	TABLE, CONFERENCE	1	\$515.00	\$515.00
540	TABLE, CONFERENCE	1	\$515.00	\$515.00
540	TABLE, CONFERENCE	1	\$515.00	\$515.00
540	TABLE, CONFERENCE	1	\$515.00	\$515.00
541	TABLE, CONFERENCE	2	\$515.00	\$1,030.00
541	TABLE, CONFERENCE	1	\$515.00	\$515.00
541	TABLE, CONFERENCE	4	\$515.00	\$2,060.00
551	TABLE, CONFERENCE	1	\$515.00	\$515.00
551	TABLE, CONFERENCE	1	\$515.00	\$515.00
551	TABLE, CONFERENCE	1	\$515.00	\$515.00
		1		
553	TABLE, CONFERENCE		\$515.00	\$515.00
554	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
560	TABLE, CONFERENCE	1	\$515.00	\$515.00
570	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
576	TABLE, CONFERENCE	1	\$515.00	\$515.00
		1		\$515.00
576	TABLE, CONFERENCE		\$515.00	
581	TABLE, CONFERENCE	1	\$515.00	\$515.00
581	TABLE, CONFERENCE	1	\$515.00	\$515.00
581	TABLE, CONFERENCE	1	\$515.00	\$515.00
583	TABLE, CONFERENCE	1	\$515.00	\$515.00
587	TABLE, CONFERENCE	1	\$515.00	\$515.00
591	TABLE, CONFERENCE	1	\$515.00	\$515.00
591	TABLE, CONFERENCE	1	\$515.00	\$515.00
	,			
630	TABLE, CONFERENCE	1	\$515.00	\$515.00
630	TABLE, CONFERENCE	1	\$515.00	\$515.00
3106	TABLE, CONFERENCE	1	\$515.00	\$515.00
540	TABLE, DINING	1	\$250.00	\$250.00
212	TABLE, DINING, W/ CHAIRS, COMPLETE	1	\$690.00	\$690.00
540	TABLE, DINING, W/ CHAIRS, COMPLETE	1	\$690.00	\$690.00
540	TABLE, DINING, W/ CHAIRS, COMPLETE	1	\$690.00	\$690.00
210	TABLE, DRAFTING	1	\$435.00	\$435.00
215	TABLE, END	2	\$60.00	\$120.00
341	TABLE, END	2	\$60.00	\$120.00
400	TABLE, END	2	\$150.00	\$300.00
402	TABLE, END	1	\$150.00	\$150.00
403	TABLE, END	1	\$150.00	\$150.00
405	TABLE, END	1	\$150.00	\$150.00
437	TABLE, END	1	\$150.00	\$150.00
440	TABLE, END	2	\$150.00	\$300.00
440	TABLE, END	1	\$150.00	\$150.00
440	TABLE, END	1	\$150.00	\$150.00
451	TABLE, END	1	\$150.00	\$150.00
452	TABLE, END	1	\$150.00	\$150.00
452	TABLE, END	1	\$150.00	\$150.00
495	TABLE, END	1	\$150.00	\$150.00
499	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	2	\$60.00	\$120.00
540	TABLE, END	2	\$150.00	\$300.00

540	TABLE, END	2	\$150.00	\$300.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	1	\$150.00	\$150.00
540	TABLE, END	3	\$150.00	\$450.00
540	TABLE, END	2	\$150.00	\$300.00
541	TABLE, END	1	\$150.00	\$150.00
553	TABLE, END	1	\$150.00	\$150.00
554	TABLE, END	1	\$150.00	\$150.00
554	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	2	\$150.00	\$300.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
560	TABLE, END	1	\$150.00	\$150.00
570	TABLE, END	2	\$150.00	\$300.00
		2		
572	TABLE, END		\$150.00	\$300.00
576	TABLE, END	1	\$150.00	\$150.00
576	TABLE, END	1	\$150.00	\$150.00
576	TABLE, END	6	\$150.00	\$900.00
576	TABLE, END	8	\$150.00	\$1,200.00
576	TABLE, END	1	\$150.00	\$150.00
576	TABLE, END	5	\$150.00	\$750.00
581	TABLE, END	1	\$150.00	\$150.00
630	TABLE, END	1	\$150.00	\$150.00
882	TABLE, END	1	\$150.00	\$150.00
570	TABLE, EXAMINING	1	\$2,100.00	\$2,100.00
630	TABLE, EXAMINING	1	\$2,100.00	\$2,100.00
630	TABLE, EXAMINING	1	\$2,100.00	\$2,100.00
210	TABLE, FOLDING	7	\$120.00	\$840.00
		31		
210	TABLE, FOLDING		\$120.00	\$3,720.00
210	TABLE, FOLDING	2	\$120.00	\$240.00
210	TABLE, FOLDING	1	\$120.00	\$120.00
215	TABLE, FOLDING	27	\$120.00	\$3,240.00
215	TABLE, FOLDING	1	\$120.00	\$120.00
400	TABLE, FOLDING	18	\$120.00	\$2,160.00
402	TABLE, FOLDING	1	\$120.00	\$120.00
402	TABLE, FOLDING	1	\$120.00	\$120.00
404	TABLE, FOLDING	1	\$120.00	\$120.00
405	TABLE, FOLDING	1	\$120.00	\$120.00
429	TABLE, FOLDING	1	\$120.00	\$120.00
453	TABLE, FOLDING	1	\$120.00	\$120.00
453	TABLE, FOLDING	1	\$120.00	\$120.00
453	TABLE, FOLDING	1	\$120.00	\$120.00
454	TABLE, FOLDING	1	\$120.00	\$120.00
475		1		\$120.00
	TABLE, FOLDING		\$120.00	
492	TABLE, FOLDING	1	\$120.00	\$120.00
492	TABLE, FOLDING	4	\$120.00	\$480.00
497	TABLE, FOLDING	1	\$120.00	\$120.00
499	TABLE, FOLDING	2	\$120.00	\$240.00
503	TABLE, FOLDING	81	\$120.00	\$9,720.00
503	TABLE, FOLDING	1	\$120.00	\$120.00
503	TABLE, FOLDING	11	\$120.00	\$1,320.00
503	TABLE, FOLDING	5	\$120.00	\$600.00
503	TABLE, FOLDING	1	\$120.00	\$120.00
503	TABLE, FOLDING	1	\$120.00	\$120.00
509	TABLE, FOLDING	2	\$120.00	\$240.00
509	TABLE, FOLDING	1	\$120.00	\$120.00
509	TABLE, FOLDING	1	\$120.00	\$120.00
509	TABLE, FOLDING	1	\$120.00	\$120.00
509	TABLE, FOLDING	1	\$120.00	\$120.00
				\$120.00
510	TABLE, FOLDING	1	\$120.00	
540	TABLE, FOLDING	1	\$120.00	\$120.00
540	TABLE, FOLDING	1	\$120.00	\$120.00
540	TABLE, FOLDING	2	\$120.00	\$240.00
540	TABLE, FOLDING	4	\$120.00	\$480.00
540	TABLE, FOLDING	2	\$120.00	\$240.00
540	TABLE, FOLDING	3	\$120.00	\$360.00
540	TABLE, FOLDING	1	\$120.00	\$120.00
541		2	\$120.00	\$240.00
541	TABLE, FOLDING			
.14.1	TABLE, FOLDING	1	\$120.00	\$120.00

541	TABLE, FOLDING	1 \$120.	
541	TABLE, FOLDING	1 \$120.	00 \$120.00
545	TABLE, FOLDING	2 \$120.	00 \$240.00
545	TABLE, FOLDING	21 \$120.	00 \$2,520.00
545	TABLE, FOLDING	1 \$120.	00 \$120.00
545	TABLE, FOLDING	1 \$120.	00 \$120.00
551	TABLE, FOLDING	1 \$120.	
552	TABLE, FOLDING	1 \$120.	
552	TABLE, FOLDING	5 \$120.	
553		1 \$120.	
	TABLE, FOLDING		
554	TABLE, FOLDING	1 \$120.	
554	TABLE, FOLDING	1 \$120.	
554	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	2 \$120.	
560	TABLE, FOLDING	1 \$120.	00 \$120.00
560	TABLE, FOLDING	16 \$120.	00 \$1,920.00
560	TABLE, FOLDING	3 \$120.	00 \$360.00
560	TABLE, FOLDING	1 \$120.	00 \$120.00
560	TABLE, FOLDING	14 \$120.	
560	TABLE, FOLDING	3 \$120.	
560	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	1 \$120.	·
560	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	4 \$120.	
560	TABLE, FOLDING	1 \$120.	
560	TABLE, FOLDING	3 \$120.	
560	TABLE, FOLDING	3 \$120.	
560	TABLE, FOLDING	16 \$120.	00 \$1,920.00
560	TABLE, FOLDING	1 \$120.	00 \$120.00
570	TABLE, FOLDING	1 \$120.	00 \$120.00
570	TABLE, FOLDING	1 \$120.	
570	TABLE, FOLDING	1 \$120.	
570	TABLE, FOLDING	15 \$120.	
570	TABLE, FOLDING	3 \$120.	
570	TABLE, FOLDING	1 \$120.	
570	TABLE, FOLDING	1 \$120.	
570	TABLE, FOLDING	2 \$120.	
570	TABLE, FOLDING	1 \$120.	
570	TABLE, FOLDING	1 \$120.	00 \$120.00
570	TABLE, FOLDING	6 \$120.	00 \$720.00
570	TABLE, FOLDING	3 \$120.	00 \$360.00
570	TABLE, FOLDING	2 \$120.	00 \$240.00
572	TABLE, FOLDING	1 \$120.	00 \$120.00
576	TABLE, FOLDING	2 \$120.	
576	TABLE, FOLDING	5 \$120.	
576	TABLE, FOLDING	1 \$120.	
576	TABLE, FOLDING	1 \$120.	
576	TABLE, FOLDING	1 \$120.	·
576	TABLE, FOLDING	1 \$120.	
576	TABLE, FOLDING	1 \$120.	
576	TABLE, FOLDING	13 \$120.	
576	TABLE, FOLDING	1 \$120.	
581	TABLE, FOLDING	5 \$120.	
581	TABLE, FOLDING	2 \$120.	
587	TABLE, FOLDING	2 \$120.	00 \$240.00
591	TABLE, FOLDING	1 \$120.	00 \$120.00
630	TABLE, FOLDING	1 \$120.	00 \$120.00
630	TABLE, FOLDING	5 \$120.	00 \$600.00
630	TABLE, FOLDING	1 \$120.	
630	TABLE, FOLDING	1 \$120.	
630	TABLE, FOLDING	1 \$120.	
630	TABLE, FOLDING	6 \$120.	
882		1 \$120.	
	TABLE, FOLDING		
3101	TABLE, FOLDING	1 \$120.	
3103	TABLE, FOLDING	2 \$120.	
3106	TABLE, FOLDING	4 \$120.	
3106	TABLE, FOLDING	7 \$120.	
3106	TABLE, FOLDING	1 \$120.	
3106	TABLE, FOLDING	37 \$120.	00 \$4,440.00
3106	TABLE, FOLDING	53 \$120.	00 \$6,360.00
3106	TABLE, FOLDING	16 \$120.	
3106	TABLE, FOLDING	25 \$120.	
3106	TABLE, FOLDING	1 \$120.	
3106	TABLE, FOLDING	4 \$120.	
-	,	. 7120.	ψ.cc.co

3106	TABLE, FOLDING	9	\$120.00	\$1,080.00
3107	TABLE, FOLDING	2	\$120.00	\$240.00
494	TABLE, FOLDING, 3 FT.	9	\$85.00	\$765.00
213	TABLE, FOLDING, 5 FT.	35	\$135.00	\$4,725.00
402	TABLE, FOLDING, 5 FT.	4	\$135.00	\$540.00
402	TABLE, FOLDING, 5 FT.	14	\$135.00	\$1,890.00
494	TABLE, FOLDING, 5 FT.	12	\$135.00	\$1,620.00
509	TABLE, FOLDING, 5 FT.	3	\$135.00	\$405.00
540	TABLE, FOLDING, 5 FT.	24	\$135.00	\$3,240.00
540		6	\$135.00	\$810.00
	TABLE, FOLDING, 5 FT.			
540	TABLE, FOLDING, 5 FT.	12	\$135.00	\$1,620.00
560	TABLE, FOLDING, 5 FT.	25	\$135.00	\$3,375.00
560	TABLE, FOLDING, 5 FT.	14	\$135.00	\$1,890.00
560	TABLE, FOLDING, 5 FT.	2	\$135.00	\$270.00
560	TABLE, FOLDING, 5 FT.	12	\$135.00	\$1,620.00
560	TABLE, FOLDING, 5 FT.	36	\$135.00	\$4,860.00
665	TABLE, FOLDING, 5 FT.	14	\$135.00	\$1,890.00
3106	TABLE, FOOD PREPARATION	1	\$537.00	\$537.00
576	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
576			\$840.00	\$840.00
	TABLE, FOOD PREPARATION, HIGH END	1		
576	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
576	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
576	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
3103	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
3103	TABLE, FOOD PREPARATION, HIGH END	1	\$840.00	\$840.00
576	TABLE, FOOSBALL	1	\$585.00	\$585.00
576	TABLE, FOOSBALL	1	\$585.00	\$585.00
576	TABLE, FOOSBALL	1	\$585.00	\$585.00
210	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
494	TABLE, GENERAL PURPOSE	2	\$130.00	\$260.00
495	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
541	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
553	TABLE, GENERAL PURPOSE	2	\$130.00	\$260.00
560	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
570	TABLE, GENERAL PURPOSE	2	\$130.00	\$260.00
576	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
576	TABLE, GENERAL PURPOSE	1	\$130.00	\$130.00
560	TABLE, HEXAGONAL	1	\$164.00	\$164.00
576	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
576	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
576	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
576	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
630	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
630	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
630	TABLE, MEDICAL TREATMENT	1	\$480.00	\$480.00
402	TABLE, OCCASIONAL, WICKER/RATTAN	1	\$100.00	\$100.00
402	TABLE, OCCASIONAL, WICKER/RATTAN	1	\$100.00	\$100.00
453	TABLE, OCCASIONAL, WICKER/RATTAN	1	\$100.00	\$100.00
437	TABLE, OVAL	1	\$250.00	\$250.00
499	TABLE, OVAL	1	\$250.00	\$250.00
541	TABLE, OVAL	1	\$250.00	\$250.00
560	TABLE, OVAL	1	\$250.00	\$250.00
560	TABLE, OVAL	1	\$250.00	\$250.00
630	TABLE, OVAL	1	\$250.00	\$250.00
440	TABLE, OVAL, 7'	1	\$250.00	\$250.00
499	TABLE, OVAL, 7'	1	\$250.00	\$250.00
560	TABLE, OVAL, 7'	1	\$250.00	\$250.00
576	TABLE, OVAL, 7'	1	\$250.00	\$250.00
560	TABLE, PICNIC	2	\$180.00	\$360.00
214	TABLE, PRINTER	1	\$200.00	\$200.00
402	TABLE, PRINTER	1	\$200.00	\$200.00
402	TABLE, PRINTER	1	\$200.00	\$200.00
439	TABLE, PRINTER	1	\$200.00	\$200.00
451	TABLE, PRINTER	1	\$200.00	\$200.00
451	TABLE, PRINTER	1	\$200.00	\$200.00
540	TABLE, PRINTER	1	\$200.00	\$200.00
210	TABLE, RECTANGULAR	1	\$165.00	\$165.00
210	TABLE, RECTANGULAR	1	\$165.00	\$165.00
210	TABLE, RECTANGULAR	1	\$165.00	\$165.00
212	TABLE, RECTANGULAR	1	\$165.00	\$165.00
215	TABLE, RECTANGULAR	1	\$165.00	\$165.00
215	TABLE, RECTANGULAR	1	\$165.00	\$165.00
341	TABLE, RECTANGULAR	1	\$165.00	\$165.00
341	TABLE, RECTANGULAR	1	\$165.00	\$165.00
341	TABLE, RECTANGULAR	1	\$165.00	\$165.00
400	TABLE, RECTANGULAR	1	\$165.00	\$165.00
			•	•

403	TABLE, RECTANGULAR	1	\$165.00	\$165.00
403	TABLE, RECTANGULAR	1	\$165.00	\$165.00
404	TABLE, RECTANGULAR	1	\$165.00	\$165.00
425	TABLE, RECTANGULAR	2	\$165.00	\$330.00
428	TABLE, RECTANGULAR	1	\$165.00	\$165.00
429	TABLE, RECTANGULAR	1	\$165.00	\$165.00
436	TABLE, RECTANGULAR	2	\$165.00	\$330.00
437	TABLE, RECTANGULAR	3	\$165.00	\$495.00
438	TABLE, RECTANGULAR	2	\$165.00	\$330.00
439	TABLE, RECTANGULAR	2	\$165.00	\$330.00
440	TABLE, RECTANGULAR	1	\$165.00	\$165.00
441	TABLE, RECTANGULAR	2	\$165.00	\$330.00
450	TABLE, RECTANGULAR	6	\$165.00	\$990.00
450	TABLE, RECTANGULAR	2	\$165.00	\$330.00
	TABLE, RECTANGULAR			
451	TABLE, RECTANGULAR	1	\$165.00	\$165.00
451	TABLE, RECTANGULAR	1	\$165.00	\$165.00
451	TABLE, RECTANGULAR	2	\$165.00	\$330.00
452	TABLE, RECTANGULAR	2	\$165.00	\$330.00
452	TABLE, RECTANGULAR	6	\$165.00	\$990.00
453	TABLE, RECTANGULAR	1	\$165.00	\$165.00
454	TABLE, RECTANGULAR	2	\$165.00	\$330.00
454	TABLE, RECTANGULAR	2	\$165.00	\$330.00
475	TABLE, RECTANGULAR	1	\$165.00	\$165.00
475	•			
	TABLE, RECTANGULAR	1	\$165.00	\$165.00
475	TABLE, RECTANGULAR	1	\$165.00	\$165.00
475	TABLE, RECTANGULAR	2	\$165.00	\$330.00
475	TABLE, RECTANGULAR	2	\$165.00	\$330.00
475	TABLE, RECTANGULAR	1	\$165.00	\$165.00
475	TABLE, RECTANGULAR	11	\$165.00	\$1,815.00
492	TABLE, RECTANGULAR	1	\$165.00	\$165.00
492	TABLE, RECTANGULAR	2	\$165.00	\$330.00
	TABLE, RECTANGULAR			
492	TABLE, RECTANGULAR	2	\$165.00	\$330.00
494	TABLE, RECTANGULAR	1	\$165.00	\$165.00
495	TABLE, RECTANGULAR	1	\$165.00	\$165.00
495	TABLE, RECTANGULAR	2	\$165.00	\$330.00
495	TABLE, RECTANGULAR	1	\$165.00	\$165.00
497	TABLE, RECTANGULAR	1	\$165.00	\$165.00
497	TABLE, RECTANGULAR	1	\$165.00	\$165.00
499	TABLE, RECTANGULAR	3	\$165.00	\$495.00
499	TABLE, RECTANGULAR	10	\$165.00	\$1,650.00
499	TABLE, RECTANGULAR	1	\$165.00	\$165.00
499	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	4	\$165.00	\$660.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	1	\$165.00	\$165.00
503	TABLE, RECTANGULAR	2	\$165.00	\$330.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
509	TABLE, RECTANGULAR	1	\$165.00	\$165.00
				•
509	TABLE, RECTANGULAR	2	\$165.00	\$330.00
509	TABLE, RECTANGULAR	3	\$165.00	\$495.00
509	TABLE, RECTANGULAR	2	\$165.00	\$330.00
510	TABLE, RECTANGULAR	1	\$165.00	\$165.00
540	TABLE, RECTANGULAR	1	\$165.00	\$165.00
541	TABLE, RECTANGULAR	8	\$165.00	\$1,320.00
541	TABLE, RECTANGULAR	2	\$165.00	\$330.00
541		1		\$165.00
	TABLE, RECTANGULAR		\$165.00	
545	TABLE, RECTANGULAR	2	\$165.00	\$330.00
551	TABLE, RECTANGULAR	26	\$165.00	\$4,290.00
551	TABLE, RECTANGULAR	1	\$165.00	\$165.00
551	TABLE, RECTANGULAR	1	\$165.00	\$165.00
552	TABLE, RECTANGULAR	1	\$165.00	\$165.00
554	TABLE, RECTANGULAR	1	\$165.00	\$165.00
554	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	4	\$165.00	\$660.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
	, :==::::===::	-	,	7-35.00

560	TABLE, RECTANGULAR	24	\$165.00	\$3,960.00
560	TABLE, RECTANGULAR	4	\$165.00	\$660.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	2	\$165.00	\$330.00
560	TABLE, RECTANGULAR	2	\$165.00	\$330.00
560	TABLE, RECTANGULAR	2	\$165.00	\$330.00
560		1		\$165.00
	TABLE, RECTANGULAR		\$165.00	
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	2	\$165.00	\$330.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	2	\$165.00	\$330.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
560	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	5	\$165.00	\$825.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	3	\$165.00	\$495.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
570	TABLE, RECTANGULAR	1	\$165.00	\$165.00
572	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576		1		
	TABLE, RECTANGULAR		\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	3	\$165.00	\$495.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	2	\$165.00	\$330.00
576	TABLE, RECTANGULAR	2	\$165.00	\$330.00
576	TABLE, RECTANGULAR	3	\$165.00	\$495.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	3	\$165.00	\$495.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TARLE RECTANGULAR	16	\$165.00	\$2,640,00
576	TABLE, RECTANGULAR	16		\$2,640.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	2	\$165.00	\$330.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
	,			
576	TABLE, RECTANGULAR	5	\$165.00	\$825.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	1	\$165.00	\$165.00
576	TABLE, RECTANGULAR	3	\$165.00	\$495.00
576	TABLE, RECTANGULAR	2	\$165.00	\$330.00
581		1		\$165.00
	TABLE, RECTANGULAR		\$165.00	
581	TABLE, RECTANGULAR	1	\$165.00	\$165.00
591	TABLE, RECTANGULAR	1	\$165.00	\$165.00
591	TABLE, RECTANGULAR	8	\$165.00	\$1,320.00
630	TABLE, RECTANGULAR	1	\$165.00	\$165.00
630	TABLE, RECTANGULAR	1	\$165.00	\$165.00
630	TABLE, RECTANGULAR	2	\$165.00	\$330.00
661	TABLE, RECTANGULAR	1	\$165.00	\$165.00
882	TABLE, RECTANGULAR	1	\$165.00	\$165.00
882	TABLE, RECTANGULAR	1	\$165.00	\$165.00
3101	TABLE, RECTANGULAR	1	\$180.00	\$180.00
3107		2	\$165.00	\$330.00
210/	TABLE, RECTANGULAR	2	00.001 ب	3350.00

437	TABLE, ROLLING, PORTABLE	2	\$100.00	\$200.00
		1		\$100.00
451	TABLE, ROLLING, PORTABLE		\$100.00	·
454	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
503	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
560		1		\$100.00
	TABLE, ROLLING, PORTABLE		\$100.00	
560	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
560	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
	· · · · · · · · · · · · · · · · · · ·			
576	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
576	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
576	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
576	TABLE, ROLLING, PORTABLE	2	\$100.00	\$200.00
576	TABLE, ROLLING, PORTABLE	20	\$100.00	\$2,000.00
576	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
630	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
630	TABLE, ROLLING, PORTABLE	1	\$100.00	\$100.00
211	TABLE, ROUND	1	\$180.00	\$180.00
211	TABLE, ROUND	1	\$180.00	\$180.00
214	TABLE, ROUND	1	\$180.00	\$180.00
214	TABLE, ROUND	1	\$180.00	\$180.00
215		1	\$180.00	\$180.00
	TABLE, ROUND			
215	TABLE, ROUND	1	\$180.00	\$180.00
400	TABLE, ROUND	1	\$180.00	\$180.00
403	TABLE, ROUND	1	\$180.00	\$180.00
403	TABLE, ROUND	1	\$180.00	\$180.00
404	TARLE ROLIND	1	\$180.00	\$180.00
	TABLE, ROUND			
404	TABLE, ROUND	1	\$180.00	\$180.00
404	TABLE, ROUND	1	\$180.00	\$180.00
404	TABLE, ROUND	2	\$180.00	\$360.00
428	TABLE, ROUND	1	\$180.00	\$180.00
		1		\$180.00
428	TABLE, ROUND		\$180.00	
435	TABLE, ROUND	1	\$180.00	\$180.00
435	TABLE, ROUND	1	\$180.00	\$180.00
436	TABLE, ROUND	1	\$180.00	\$180.00
440	TABLE, ROUND	1	\$180.00	\$180.00
441	TABLE, ROUND	1		\$180.00
			\$180.00	
441	TABLE, ROUND	1	\$180.00	\$180.00
441	TABLE, ROUND	1	\$180.00	\$180.00
452	TABLE, ROUND	1	\$180.00	\$180.00
453	TABLE, ROUND	1	\$180.00	\$180.00
453	TABLE, ROUND	1	\$180.00	\$180.00
453	TABLE, ROUND	1	\$180.00	\$180.00
454	TABLE, ROUND	1	\$180.00	\$180.00
454	TABLE, ROUND	1	\$180.00	\$180.00
475	TABLE, ROUND	1	\$180.00	\$180.00
475	TABLE, ROUND	1	\$180.00	\$180.00
492	TABLE, ROUND	3	\$180.00	\$540.00
494	TABLE, ROUND	1	\$180.00	\$180.00
494	TABLE, ROUND	1	\$180.00	\$180.00
494	TABLE, ROUND	1	\$180.00	\$180.00
494	TABLE, ROUND	2	\$180.00	\$360.00
494	TABLE, ROUND	1	\$180.00	\$180.00
495	TABLE, ROUND	1	\$180.00	\$180.00
495	TABLE, ROUND	1	\$180.00	\$180.00
495	TABLE, ROUND	1	\$180.00	\$180.00
495	TABLE, ROUND	2	\$180.00	\$360.00
495	TABLE, ROUND	3	\$180.00	\$540.00
497	TABLE, ROUND	1	\$180.00	\$180.00
499	TABLE, ROUND	1	\$180.00	\$180.00
499	TABLE, ROUND	1	\$180.00	\$180.00
499	TABLE, ROUND	1	\$180.00	\$180.00
503	TABLE, ROUND	1	\$180.00	\$180.00
503	TABLE, ROUND	1	\$180.00	\$180.00
509	TABLE, ROUND	1	\$180.00	\$180.00
509	TABLE, ROUND	2	\$180.00	\$360.00
509	TABLE, ROUND	2	\$180.00	\$360.00
				\$180.00
510	TABLE, ROUND	1	\$180.00	
510	TABLE, ROUND	1	\$180.00	\$180.00
540	TABLE, ROUND	4	\$180.00	\$720.00
540	TABLE, ROUND	1	\$180.00	\$180.00
540	TABLE, ROUND	1	\$180.00	\$180.00
540	TABLE, ROUND	1	\$180.00	\$180.00
541	TABLE, ROUND	1	\$180.00	\$180.00
541	TABLE, ROUND	1	\$180.00	\$180.00
541	TABLE, ROUND	2	\$180.00	\$360.00
541	TABLE, ROUND	1	\$180.00	\$180.00
542	TABLE, ROUND	1	\$180.00	\$180.00

542	TABLE, ROUND	1	\$180.00	\$180.00
542	TABLE, ROUND	1	\$180.00	\$180.00
551	TABLE, ROUND	1	\$180.00	\$180.00
552	TABLE, ROUND	1	\$180.00	\$180.00
554	TABLE, ROUND	1	\$180.00	\$180.00
554	TABLE, ROUND	1	\$180.00	\$180.00
				•
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
560	TABLE, ROUND	1	\$180.00	\$180.00
570	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	2	\$180.00	\$360.00
		2		\$360.00
576	TABLE, ROUND		\$180.00	
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	2	\$180.00	\$360.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
576	TABLE, ROUND	1	\$180.00	\$180.00
581	TABLE, ROUND	1	\$180.00	\$180.00
581	TABLE, ROUND	1	\$180.00	\$180.00
583	TABLE, ROUND	1	\$180.00	\$180.00
587	TABLE, ROUND	1	\$180.00	\$180.00
		1		
587	TABLE, ROUND		\$180.00	\$180.00
587	TABLE, ROUND	4	\$180.00	\$720.00
591	TABLE, ROUND	1	\$180.00	\$180.00
3103	TABLE, ROUND	1	\$180.00	\$180.00
3103	TABLE, ROUND	1	\$180.00	\$180.00
3106	TABLE, ROUND	1	\$180.00	\$180.00
3106	TABLE, ROUND	11	\$180.00	\$1,980.00
402		1		\$175.00
	TABLE, ROUND, 60"		\$175.00	
402	TABLE, ROUND, 60"	1	\$175.00	\$175.00
540	TABLE, ROUND, 60"	4	\$175.00	\$700.00
509	TABLE, SHOP	2	\$300.00	\$600.00
509	TABLE, SHOP	2	\$300.00	\$600.00
541	TABLE, SHOP	1	\$300.00	\$300.00
560	TABLE, SHOP	2	\$300.00	\$600.00
560	TABLE, SHOP	3	\$300.00	\$900.00
576	TABLE, SHOP	1	\$300.00	\$300.00
882	TABLE, SHOP	1	\$300.00	\$300.00
882	TABLE, SHOP	2	\$300.00	\$600.00
882	TABLE, SHOP	6	\$300.00	\$1,800.00
3106	TABLE, SHOP	1	\$300.00	\$300.00
210	TABLE, SQUARE	1	\$156.00	\$156.00
210	TABLE, SQUARE	1	\$156.00	\$156.00
210		1	\$156.00	\$156.00
	TABLE, SQUARE			
210	TABLE, SQUARE	1	\$156.00	\$156.00
215	TABLE, SQUARE	2	\$156.00	\$312.00
404	TABLE, SQUARE	2	\$156.00	\$312.00
437	TABLE, SQUARE	1	\$156.00	\$156.00
437	TABLE, SQUARE	1	\$156.00	\$156.00
438	TABLE, SQUARE	1	\$156.00	\$156.00
441	TABLE, SQUARE	1	\$156.00	\$156.00
454	TABLE, SQUARE	1	\$156.00	\$156.00
454	TABLE, SQUARE	1	\$156.00	\$156.00
492	TABLE, SQUARE	1	\$156.00	\$156.00
499	TABLE, SQUARE	1	\$156.00	\$156.00
499	TABLE, SQUARE	1	\$156.00	\$156.00
499	TABLE, SQUARE	2	\$156.00	\$312.00
503	TABLE, SQUARE	1	\$156.00	\$156.00
503	TABLE, SQUARE	1	\$156.00	\$156.00
540	TABLE, SQUARE	1	\$156.00	\$156.00
554		1	\$156.00	\$156.00
	TABLE, SQUARE			
560	TABLE, SQUARE	1	\$156.00	\$156.00

560	TABLE, SQUARE	1	\$156.00	\$156.00
560	TABLE, SQUARE	1	\$156.00	\$156.00
560	TABLE, SQUARE	1	\$156.00	\$156.00
560	TABLE, SQUARE	1	\$156.00	\$156.00
560	TABLE, SQUARE	15	\$156.00	\$2,340.00
560	TABLE, SQUARE	2	\$156.00	\$312.00
570	TABLE, SQUARE	1	\$156.00	\$156.00
576	TABLE, SQUARE	2	\$156.00	\$312.00
576	TABLE, SQUARE	2	\$156.00	\$312.00
576	TABLE, SQUARE	3	\$156.00	\$468.00
576	TABLE, SQUARE	2	\$156.00	\$312.00
576		2		\$312.00
	TABLE, SQUARE		\$156.00	
576	TABLE, SQUARE	3	\$156.00	\$468.00
576	TABLE, SQUARE	3	\$156.00	\$468.00
576	TABLE, SQUARE	2	\$156.00	\$312.00
576	TABLE, SQUARE	2	\$156.00	\$312.00
591	TABLE, SQUARE	2	\$156.00	\$312.00
3101	TABLE, SQUARE	1	\$156.00	\$156.00
545	TABLE, SURGICAL, VETERINARY	1	\$2,480.00	\$2,480.00
545	TABLE, SURGICAL, VETERINARY	1	\$3,877.88	\$3,877.88
545	TABLE, SURGICAL, VETERINARY	1	\$2,480.00	\$2,480.00
576	TABLE, TENNIS/PING-PONG	1	\$300.00	\$300.00
402	TABLE, TRAPEZOID	2	\$114.00	\$228.00
402	TABLE, TRAPEZOID	1	\$114.00	\$114.00
402	TABLE, TRAPEZOID	3	\$114.00	\$342.00
503	TABLE, TRAPEZOID	1	\$114.00	\$114.00
503	TABLE, TRAPEZOID	1	\$114.00	\$114.00
560	TABLE, TRAPEZOID	1	\$114.00	\$114.00
576	TABLE, TRAPEZOID	1	\$114.00	\$114.00
630	TABLE, TRAPEZOID	1	\$114.00	\$114.00
441	TABLE, TRIANGLE	1	\$100.00	\$100.00
510	TABLE, TYPEWRITER	1	\$50.00	\$50.00
552	TABLE, WELDING, W/ VISE	1	\$450.00	\$450.00
436	TABLET, NON IPAD	1	\$1,509.07	\$1,509.07
503	TABLET, NON IPAD	1	\$440.00	\$440.00
540	TABLET, NON IPAD	1	\$2,072.70	\$2,072.70
426	TABLET, NON-IPAD, HIGH-END	1	\$1,094.80	\$1,094.80
		1		
429	TABLET, NON-IPAD, HIGH-END		\$1,094.80	\$1,094.80
436	TABLET, NON-IPAD, HIGH-END	1	\$1,094.80	\$1,094.80
440	TABLET, NON-IPAD, HIGH-END	1	\$1,729.98	\$1,729.98
440	TABLET, NON-IPAD, HIGH-END	1	\$1,100.00	\$1,100.00
440	TABLET, NON-IPAD, HIGH-END	1	\$1,100.00	\$1,100.00
492	TABLET, NON-IPAD, HIGH-END	1	\$1,100.00	\$1,100.00
492	TABLET, NON-IPAD, HIGH-END	1	\$1,951.00	\$1,951.00
503	TABLET, NON-IPAD, HIGH-END	1	\$1,100.00	\$1,100.00
509	TACHOMETER/ DWELLMETER	1	\$137.00	\$137.00
560	TACTICAL ASSULT TRAINING SUIT	1	\$2,160.00	\$2,160.00
560	TACTICAL TRAINING, BREACHING & SHOOTING	1	\$1,800.00	\$1,800.00
3103	TANK, FISHING	1	\$3,500.00	\$3,500.00
210	TANK, STORAGE, EMULSION	1	\$56,472.00	\$56,472.00
	TANK, STORAGE, EMULSION	=	\$62,741.86	\$62,741.86
210	•	1		
210	TANK, STORAGE, EMULSION	1	\$62,741.86	\$62,741.86
210	TANK, WATER, 10K GAL.	1	\$25,012.00	\$25,012.00
882	TAP AND DIE SET	1	\$165.00	\$165.00
551	TASER	1	\$1,608.00	\$1,608.00
551	TASER	1	\$1,608.00	\$1,608.00
551	TASER	1	\$1,608.00	\$1,608.00
551	TASER	1	\$1,608.00	\$1,608.00
551	TASER	1	\$1,553.56	\$1,553.56
551	TASER	1	\$1,553.56	\$1,553.56
551	TASER	1	\$1,553.54	\$1,553.54
551	TASER	1	\$1,553.56	\$1,553.56
551	TASER	1	\$1,553.56	\$1,553.56
551	TASER	1	\$1,553.56	\$1,553.56
552	TASER	1		\$1,333.30
			\$1,163.09	
552	TASER	1	\$1,585.17	\$1,585.17
552	TASER	1	\$1,585.17	\$1,585.17
552	TASER	1	\$1,585.17	\$1,585.17
552	TASER	1	\$1,057.57	\$1,057.57
552	TASER	1	\$1,057.57	\$1,057.57
552	TASER	1	\$1,057.57	\$1,057.57
554	TASER	1	\$1,163.09	\$1,163.09
554	TASER	1	\$1,046.78	\$1,046.78
554	TASER	1	\$1,046.78	\$1,046.78
554	TASER	1	\$1,046.78	\$1,046.78
554	TASER	1	\$700.00	\$700.00
		_		7

554	TASER	1	\$1,553.56	\$1,553.56
554	TASER	1	\$1,553.56	\$1,553.56
554	TASER	1	\$1,553.56	\$1,553.56
554	TASER	1	\$1,553.56	\$1,553.56
554	TASER	1	\$1,553.56	\$1,553.56
554	TASER	1	\$1,553.54	\$1,553.54
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1 1	\$1,215.00	\$1,215.00
560	TASER		\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1 1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560 560	TASER TASER	1	\$1,215.00	\$1,215.00 \$1,215.00
560	TASER	1	\$1,215.00 \$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,215.00	\$1,215.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,527.00	\$1,527.00
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.38	\$1,704.38
560	TASER	1	\$1,704.33	\$1,704.33
			. ,	

			4	4
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
		1		
560	TASER		\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,704.33	\$1,704.33
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
		1		
560	TASER		\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.37	\$1,404.37
560	TASER	1	\$1,404.38	\$1,404.38
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$1,148.40	\$1,148.40
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$983.44	\$983.44
560	TASER	1	\$1,157.00	\$1,157.00
560	TASER	1	\$1,463.00	\$1,463.00
560	TASER	1	\$1,310.35	\$1,310.35
560	TASER	1	\$1,310.35	\$1,310.35
560	TASER	1	\$1,310.35	\$1,310.35
560	TASER	1	\$1,310.35	\$1,310.35
560	TASER	1	\$1,189.19	\$1,189.19
560	TASER	1	\$1,189.19	\$1,189.19
560	TASER	1	\$1,310.35	\$1,310.35
560	TASER	1	\$1,739.00	\$1,739.00
560	TASER	1	\$1,746.20	\$1,746.20
560	TASER	1	\$350.00	\$350.00
560	TASER	1	\$799.95	\$799.95
560	TASER	1	\$809.95	\$809.95
560	TASER	1	\$809.95	\$809.95
560	TASER	1	\$1,189.19	\$1,189.19
		1	\$1,189.19	
560	TASER			\$1,189.19
560	TASER	1	\$1,189.19	\$1,189.19
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
		_	, ,	.,

570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,220.00	\$1,220.00
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$1,780.20	\$1,780.20
570	TASER	1	\$3,963.00	\$3,963.00
570	TASER	1	\$3,963.00	\$3,963.00
570	TASER	1	\$1,187.94	\$1,187.94
570	TASER	1	\$1,187.94	\$1,187.94
570	TASER	1	\$1,187.94	\$1,187.94
570	TASER	1	\$1,187.94	\$1,187.94
570		1		
	TASER		\$1,187.94	\$1,187.94
570	TASER	1	\$1,187.94	\$1,187.94
570	TASER SYSTEM, STUNBELT	1	\$1,153.33	\$1,153.33
570	TASER SYSTEM, STUNBELT	1	\$1,153.34	\$1,153.34
570	TASER SYSTEM, STUNBELT	1	\$1,153.33	\$1,153.33
400	TEA MAKER	1	\$50.00	\$50.00
402	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
405	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
437	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
	TELECONFERENCING SYSTEM			
438		1	\$1,995.00	\$1,995.00
441	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
475	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
494	TELECONFERENCING SYSTEM	1	\$1,595.00	\$1,595.00
494	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
509	TELECONFERENCING SYSTEM	1	\$1,595.00	\$1,595.00
540	TELECONFERENCING SYSTEM	1	\$1,595.00	\$1,595.00
583	TELECONFERENCING SYSTEM	1	\$1,595.00	\$1,595.00
591	TELECONFERENCING SYSTEM	1	\$1,995.00	\$1,995.00
492	TELEPHONE, CELLULAR	1	\$50.00	\$50.00
503	TELEPHONE, CELLULAR	1	\$50.00	\$50.00
503	TELEPHONE, CELLULAR	1	\$50.00	\$50.00
503	TELEPHONE, CELLULAR	1	\$50.00	\$50.00
503	TELEPHONE, CELLULAR	1	\$50.00	\$50.00
452	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
452	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
452	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
452	TELEPHONE, CONFERENCE, FULL DUPLEX	1		\$385.00
			\$385.00	
453	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
454	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
454	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
454	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00

454	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
454	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
495	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
495	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
495	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
497	TELEPHONE, CONFERENCE, FULL DUPLEX	4	\$385.00	\$1,540.00
499	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
509	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
541	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
541	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
576	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
576	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
581	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
581	TELEPHONE, CONFERENCE, FULL DUPLEX	1	\$385.00	\$385.00
583		1	\$385.00	\$385.00
	TELEPHONE, CONFERENCE, FULL DUPLEX			
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
		1		
210	TELEPHONE, DESKTOP		\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210		1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
210	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
			•	·
211	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
211	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
211	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
211	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
211	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
212	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
212	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
212	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
213	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
213	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
215	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
215		2	\$75.00	\$150.00 \$150.00
	TELEPHONE, DESKTOP			
341	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
341	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
341	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
341	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
341	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
341	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
341	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
341	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
-	, -	_		, : =:==

400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
400	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402		1		
	TELEPHONE, DESKTOP		\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
403	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
403	•	9		
	TELEPHONE, DESKTOP		\$75.00	\$675.00
403	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
403	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
403	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
403	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
404	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
404	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
404	TELEPHONE, DESKTOP	9	\$75.00	\$675.00
405	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
405	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
405	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
405	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
		1		
405	TELEPHONE, DESKTOP		\$75.00	\$75.00
425	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
425	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
425	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
425	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
426	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
426	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
426	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
426	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
427	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
427	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
428	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
428	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
429	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
429	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
429	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
435	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
435	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
436	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
436	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
436	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
437	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
437	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
437	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
438	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
438	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
438	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
439	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
439	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
439	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
		1		
440	TELEPHONE, DESKTOP		\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00

440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	,			
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
440	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
441	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
441	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
441	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
450	TELEPHONE, DESKTOP	29	\$75.00	\$2,175.00
450	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
450	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
451	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
451	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
451	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
451	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
451	TELEPHONE, DESKTOP	10	\$75.00	\$750.00
451	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
451	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
452	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
452	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
452	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
452	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	10	\$75.00	\$750.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
453	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
454	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
454	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
454	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
454	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
454	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
454	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
454	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
				•
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475		1		
	TELEPHONE, DESKTOP		\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP			
475 475	TELEPHONE, DESKTOP TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP			

475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
				•
475	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
475	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
475	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
492	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
492	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
492	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
492	TELEPHONE, DESKTOP	1		\$75.00
	•		\$75.00	
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
494	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
				•
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
495	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
495	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
497	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
497	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
497	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	28	\$75.00	\$2,100.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	4	\$75.00	\$300.00

499	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
	TELEPHONE, DESKTOP			
499	•	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
499	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
499		1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
499	TELEPHONE, DESKTOP	8	\$75.00	\$600.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
	•			•
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
503	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
	<i>,</i>			
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	12	\$75.00	\$900.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1		\$75.00
			\$75.00	
503	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
503	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
503	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
		1		
503	TELEPHONE, DESKTOP		\$75.00	\$75.00
509	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
540	,			
540	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
540	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
541	TELEPHONE, DESKTOP	7	\$75.00	\$525.00
541	TELEPHONE, DESKTOP	13	\$75.00	\$975.00
541	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
541	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
541	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
541	TELEPHONE, DESKTOP	20	\$75.00	\$1,500.00
541	TELEPHONE, DESKTOP	6	\$75.00	\$450.00

542	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
542	TELEPHONE, DESKTOP	1	\$515.00	\$515.00
542	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
542	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
542	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
545	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
545	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
545	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
545	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
545	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
545	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	8	\$75.00	\$600.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
551	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
552	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
552	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
552	TELEPHONE, DESKTOP	7	\$75.00	\$525.00
552	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
552	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
553	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
553	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
553	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
553	TELEDHONE DECATOR	1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
553	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
553	TELEPHONE, DESKTOP	8	\$75.00	\$600.00
				•
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554		1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
554	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
	•			
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560		2		\$150.00
	TELEPHONE, DESKTOP		\$75.00	
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
				•
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
				•
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•	1		
560	TELEPHONE, DESKTOP		\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	- ,	-		7

560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	,			
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	16	\$75.00	\$1,200.00
560	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
560	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
560	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	4		\$300.00
			\$75.00	
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
	•			
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	6	\$75.00	\$450.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	•	4	\$75.00	\$300.00
	TELEPHONE, DESKTOP			
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
	•			
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
				•

570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570		1		\$75.00
	TELEPHONE, DESKTOP		\$75.00	
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
570	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
570	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
570	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572		1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
572	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
572	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	•			·
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	5	\$75.00	\$375.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	,			
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576		1	\$75.00	\$75.00
	TELEPHONE, DESKTOP			
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00

576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1 1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP		\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576 576	TELEPHONE, DESKTOP	1	\$75.00 \$75.00	\$75.00 \$75.00
576	TELEPHONE, DESKTOP	1 1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$75.00
576 576	TELEPHONE, DESKTOP	2	\$75.00 \$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$75.00
576 576	TELEPHONE, DESKTOP	1	\$75.00	\$150.00 \$75.00
576	TELEPHONE, DESKTOP TELEPHONE, DESKTOP	1	\$75.00 \$75.00	\$75.00 \$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00 \$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00 \$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
576	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
581	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
583	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
583	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
583	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
583	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
583	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
	, , , , , , , , , , , , , , , , , , ,		•	

591	TELEPHONE, DESKTOP	1		\$75.00
591	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
591	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
591	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
591	TELEPHONE, DESKTOP	1		\$75.00
591	TELEPHONE, DESKTOP	2		\$150.00
591	TELEPHONE, DESKTOP	1		\$75.00
	•			
591	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	3	\$75.00	\$225.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
		1	•	\$75.00
630	TELEPHONE, DESKTOP			
630	TELEPHONE, DESKTOP	1	•	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	2	\$75.00	\$150.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
	•			
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	2		\$150.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	4	\$75.00	\$300.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1	•	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
630		3		\$225.00
	TELEPHONE, DESKTOP			
630	TELEPHONE, DESKTOP	1	•	\$75.00
630	TELEPHONE, DESKTOP	2		\$150.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
630	TELEPHONE, DESKTOP	1		\$75.00
				\$450.00
661	TELEPHONE, DESKTOP	6		•
661	TELEPHONE, DESKTOP	1		\$75.00
882	TELEPHONE, DESKTOP	3		\$225.00
882	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
882	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
3101	TELEPHONE, DESKTOP	1		\$75.00
3106	TELEPHONE, DESKTOP	1		\$75.00
3106				
	TELEPHONE, DESKTOP	1		\$75.00
3106	TELEPHONE, DESKTOP	1		\$75.00
3106	TELEPHONE, DESKTOP	1		\$75.00
3106	TELEPHONE, DESKTOP	1		\$75.00
3106	TELEPHONE, DESKTOP	1	\$75.00	\$75.00
402	TELEPROMPTER	1	\$1,000.00	\$1,000.00
540	TELEPROMPTER	1		\$1,000.00
570	TELEVISION 13"-20 W/DVD/VCR"	1		\$175.00
570	TELEVISION 13"-20 W/DVD/VCR"	1		\$175.00
	• • •			
429	TELEVISION 13"-20"	1		\$150.00
440	TELEVISION 13"-20"	2		\$300.00
499	TELEVISION 13"-20"	1		\$150.00
540	TELEVISION 13"-20"	1	\$150.00	\$150.00
540	TELEVISION 13"-20"	1	\$150.00	\$150.00
540	TELEVISION 13"-20"	1		\$150.00
540	TELEVISION 13"-20"	1		\$150.00
541	TELEVISION 13"-20"	1		\$150.00
541	TELEVISION 13"-20"	2		\$300.00
541	TELEVISION 13"-20"	1		\$150.00
541	TELEVISION 13"-20"	1		\$150.00
560	TELEVISION 13"-20"	1		\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
			•	

560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	2	\$150.00	\$300.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
560	TELEVISION 13"-20"	1	\$150.00	\$150.00
570	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	2	\$150.00	\$300.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	2	\$150.00	\$300.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
				·
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	4	\$150.00	\$600.00
576	TELEVISION 13"-20"	4	\$150.00	\$600.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
		1	\$150.00	\$150.00
576	TELEVISION 13"-20"			
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
576	TELEVISION 13"-20"	1	\$150.00	\$150.00
581	TELEVISION 13"-20"	1	\$150.00	\$150.00
581	TELEVISION 13"-20"	1		\$150.00
			\$150.00	
576	TELEVISION STAND, W/ DOORS, WOOD	2	\$300.00	\$600.00
341	TELEVISION, 20"-30"	1	\$250.00	\$250.00
440	TELEVISION, 20"-30"	1	\$250.00	\$250.00
440	TELEVISION, 20"-30"	1	\$250.00	\$250.00
450	TELEVISION, 20"-30"	1	\$250.00	\$250.00
454	TELEVISION, 20"-30"	1	\$250.00	\$250.00
475	TELEVISION, 20"-30"	3	\$250.00	\$750.00
509	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	4	\$250.00	\$1,000.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
540	TELEVISION, 20"-30"	1	\$250.00	\$250.00
			\$250.00	
541	TELEVISION, 20"-30"	2	•	\$500.00
541	TELEVISION, 20"-30"	1	\$250.00	\$250.00
541	TELEVISION, 20"-30"	2	\$250.00	\$500.00
551	TELEVISION, 20"-30"	1	\$250.00	\$250.00
551	TELEVISION, 20"-30"	1	\$250.00	\$250.00
554	TELEVISION, 20"-30"	1	\$250.00	\$250.00
560	TELEVISION, 20"-30"	1	\$250.00	\$250.00
560	TELEVISION, 20"-30"	1	\$250.00	\$250.00
570				\$250.00
	TELEVISION, 20"-30"	1	\$250.00	
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
576	TELEVISION, 20"-30"	1	\$250.00	\$250.00
581	TELEVISION, 20"-30"	1	\$250.00	\$250.00
581	TELEVISION, 20"-30"	1	\$250.00	\$250.00
581	TELEVISION, 20"-30"	2	\$250.00	\$500.00
583	TELEVISION, 20"-30"	2	\$250.00	\$500.00
570	TELEVISION, 20"-30", W/ DVD/VCR	1	\$275.00	\$275.00
214	TELEVISION, 30"-40"	1	\$350.00	\$350.00
426	TELEVISION, 30"-40"	1	\$350.00	\$350.00
426	TELEVISION, 30"-40"	2	\$350.00	\$700.00
427				
427	TELEVISION, 30"-40"	1	\$350.00	\$350.00
427			\$350.00	
	TELEVISION, 30"-40" TELEVISION, 30"-40" TELEVISION, 30"-40"	1 2 1		\$350.00 \$700.00 \$350.00

428	TELEVISION, 30"-40"	2	\$350.00	\$700.00
436	TELEVISION, 30"-40"	2	\$350.00	\$700.00
437	TELEVISION, 30"-40"	2	\$350.00	\$700.00
438	TELEVISION, 30"-40"	1	\$350.00	\$350.00
452	TELEVISION, 30"-40"	1	\$350.00	\$350.00
453	TELEVISION, 30"-40"	1	\$350.00	\$350.00
453	TELEVISION, 30"-40"	1	\$350.00	\$350.00
				\$350.00
453	TELEVISION, 30"-40"	1	\$350.00	•
475	TELEVISION, 30"-40"	4	\$350.00	\$1,400.00
492	TELEVISION, 30"-40"	1	\$350.00	\$350.00
499	TELEVISION, 30"-40"	1	\$350.00	\$350.00
499	TELEVISION, 30"-40"	1	\$350.00	\$350.00
503	TELEVISION, 30"-40"	1	\$350.00	\$350.00
503	TELEVISION, 30"-40"	1	\$350.00	\$350.00
503	TELEVISION, 30"-40"	1	\$350.00	\$350.00
503	TELEVISION, 30"-40"	2	\$350.00	\$700.00
503	TELEVISION, 30"-40"	1	\$350.00	\$350.00
503	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
	,			
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	1	\$350.00	\$350.00
540	TELEVISION, 30"-40"	2	\$350.00	\$700.00
541	TELEVISION, 30"-40"	2	\$350.00	\$700.00
541	TELEVISION, 30"-40"	1	\$350.00	\$350.00
541	TELEVISION, 30"-40"	4	\$350.00	\$1,400.00
541		1	\$350.00	\$350.00
	TELEVISION, 30"-40"			
541	TELEVISION, 30"-40"	2	\$350.00	\$700.00
541	TELEVISION, 30"-40"	2	\$350.00	\$700.00
541	TELEVISION, 30"-40"	1	\$350.00	\$350.00
541	TELEVISION, 30"-40"	1	\$350.00	\$350.00
542	TELEVISION, 30"-40"	1	\$350.00	\$350.00
552	TELEVISION, 30"-40"	1	\$350.00	\$350.00
552	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	2	\$350.00	\$700.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
560	TELEVISION, 30"-40"	1	\$350.00	\$350.00
570	TELEVISION, 30"-40"	7	\$350.00	\$2,450.00
	TELEVISION, 30"-40"			\$350.00
570		1	\$350.00	
570	TELEVISION, 30"-40"	1	\$350.00	\$350.00
570	TELEVISION, 30"-40"	2	\$350.00	\$700.00
570	TELEVISION, 30"-40"	2	\$350.00	\$700.00
570	TELEVISION, 30"-40"	1	\$350.00	\$350.00
572	TELEVISION, 30"-40"	1	\$350.00	\$350.00
576	TELEVISION, 30"-40"	1	\$350.00	\$350.00
576	TELEVISION, 30"-40"	1	\$350.00	\$350.00
	TELEVISION, 30"-40"			
576		1	\$350.00	\$350.00
576	TELEVISION, 30"-40"	1	\$350.00	\$350.00
576	TELEVISION, 30"-40"	7	\$350.00	\$2,450.00
581	TELEVISION, 30"-40"	2	\$350.00	\$700.00
581	TELEVISION, 30"-40"	1	\$350.00	\$350.00
581	TELEVISION, 30"-40"	1	\$350.00	\$350.00
581	TELEVISION, 30"-40"	1	\$350.00	\$350.00
581	TELEVISION, 30"-40"	1	\$350.00	\$350.00
583	TELEVISION, 30"-40"	1	\$350.00	\$350.00
583	TELEVISION, 30"-40"	2	\$350.00	\$700.00
583	TELEVISION, 30"-40"	1	\$350.00	\$350.00
587	TELEVISION, 30"-40"	1	\$350.00	\$350.00
630	TELEVISION, 30"-40"	3	\$350.00	\$1,050.00
630	TELEVISION, 30"-40"	1	\$350.00	\$350.00
630	TELEVISION, 30"-40"	1	\$350.00	\$350.00
475	TELEVISION, 30"-40", W/ DVD/VCR	1	\$375.00	\$375.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00

210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
210	TELEVISION, 40"-50"	1	\$600.00	\$600.00
400	TELEVISION, 40"-50"	1	\$600.00	\$600.00
402	TELEVISION, 40"-50"	1	\$600.00	\$600.00
402	TELEVISION, 40"-50"	1	\$600.00	\$600.00
402	TELEVISION, 40"-50"	1	\$600.00	\$600.00
402	TELEVISION, 40"-50"	1	\$600.00	\$600.00
402	TELEVISION, 40"-50"	1	\$600.00	\$600.00
405	TELEVISION, 40"-50"	1	\$600.00	\$600.00
426	TELEVISION, 40"-50"	1	\$600.00	\$600.00
440	TELEVISION, 40"-50"	1	\$4,769.10	\$4,769.10
440	TELEVISION, 40"-50"	1	\$600.00	\$600.00
440	TELEVISION, 40"-50"	1	\$600.00	\$600.00
451	TELEVISION, 40"-50"	1	\$600.00	\$600.00
453	TELEVISION, 40"-50"	1	\$600.00	\$600.00
475	TELEVISION, 40"-50"	1	\$600.00	\$600.00
475	TELEVISION, 40"-50"	1	\$600.00	\$600.00
475	TELEVISION, 40"-50"	1	\$600.00	\$600.00
475	TELEVISION, 40"-50"	1	\$600.00	\$600.00
475	TELEVISION, 40"-50"	1	\$600.00	\$600.00
499	TELEVISION, 40"-50"	1	\$600.00	\$600.00
499	TELEVISION, 40"-50"	1	\$600.00	\$600.00
503	TELEVISION, 40"-50"	1	\$600.00	\$600.00
509	TELEVISION, 40"-50"	1	\$600.00	\$600.00
509	TELEVISION, 40"-50"	1	\$600.00	\$600.00
509	TELEVISION, 40"-50"	1	\$600.00	\$600.00
509	TELEVISION, 40"-50"	1	\$600.00	\$600.00
540	TELEVISION, 40"-50"	1	\$600.00	\$600.00
540	TELEVISION, 40"-50"	1	\$600.00	\$600.00
540	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
541	TELEVISION, 40"-50"	1	\$600.00	\$600.00
542	TELEVISION, 40"-50"	1	\$699.99	\$699.99
552	TELEVISION, 40"-50"	1	\$600.00	\$600.00
554	TELEVISION, 40"-50"	1	\$777.00	\$777.00
560	TELEVISION, 40"-50"	1	\$600.00	\$600.00
560	TELEVISION, 40"-50"	1	\$600.00	\$600.00
560	TELEVISION, 40"-50"	1	\$600.00	\$600.00
560	TELEVISION, 40"-50"	1	\$600.00	\$600.00
560	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40 "-50"	1	\$600.00	\$600.00
570	TELEVISION, 40 -30" TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40 -30 TELEVISION, 40"-50"	1		\$600.00
	TELEVISION, 40"-50"		\$600.00	
570 570	•	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$799.98	\$799.98
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
570	TELEVISION, 40"-50"	1	\$600.00	\$600.00
572	TELEVISION, 40"-50"	1	\$600.00	\$600.00
581	TELEVISION, 40"-50"	1	\$600.00	\$600.00
581	TELEVISION, 40"-50"	1	\$600.00	\$600.00
583	TELEVISION, 40"-50"	1	\$600.00	\$600.00
591	TELEVISION, 40"-50"	1	\$600.00	\$600.00
661	TELEVISION, 40"-50"	1	\$600.00	\$600.00
661	TELEVISION, 40"-50"	1	\$600.00	\$600.00
661	TELEVISION, 40"-50"	1	\$600.00	\$600.00
661	TELEVISION, 40"-50"	1	\$600.00	\$600.00
665	TELEVISION, 40"-50"	1	\$600.00	\$600.00
212	TELEVISION, 50"-60"	1	\$999.99	\$999.99
436	TELEVISION, 50"-60"	1	\$710.96	\$710.96
440	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
440	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
453	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
475	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00

499	TELEVISION, 50"-60"	1	\$2,243.99	\$2,243.99
503	TELEVISION, 50"-60"	1	\$696.99	\$696.99
503	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
503	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
503	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
540	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
541	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
551	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
551	TELEVISION, 50"-60"	1	\$637.96	\$637.96
				•
551	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
554	TELEVISION, 50"-60"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560		1		
	TELEVISION, 50"-60"		\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
560	TELEVISION, 50"-60"	1	\$4,147.34	\$4,147.34
560	TELEVISION, 50"-60"	1	\$4,147.34	\$4,147.34
560	TELEVISION, 50"-60"	1	\$4,147.34	\$4,147.34
	TELEVISION, 50"-60"	1		
560	•		\$1,200.00	\$1,200.00
570	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
576	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$929.98	\$929.98
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581		1		
	TELEVISION, 50"-60"		\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
581	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
583	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
3106	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
3106	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
3106	TELEVISION, 50"-60"	1	\$1,200.00	\$1,200.00
3106	TELEVISION, 50 "-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50 "-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
3106	TELEVISION, 50"-60"	1	\$940.00	\$940.00
541	TELEVISION, 60", TOUCHSCREEN	1	\$3,200.00	\$3,200.00
210	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
211	TELEVISION, 60"-70"	1	\$896.99	\$896.99
213	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
215	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
215	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
400	TELEVISION, 60"-70"	1	\$896.99	\$896.99
402	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
403	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
405	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
425	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
426	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00

427	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
428	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
428	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
428	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
428	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
429	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
	TELEVISION, 60"-70"			\$2,000.00
429	•	1	\$2,000.00	
429	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
429	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
		1		
435	TELEVISION, 60"-70"		\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
435	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
436	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
436	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
436	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
436	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
437	TELEVISION, 60"-70"	1		\$2,000.00
			\$2,000.00	
438	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
440	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
441	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
450	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
451	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
451	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
451	TELEVISION, 60"-70"	1		
	,		\$2,000.00	\$2,000.00
452	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
452	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
453	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
453	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
453	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
454	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
475	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
475	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
492	TELEVISION, 60"-70"	1		\$2,000.00
			\$2,000.00	
492	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
492	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
492	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
499	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
499	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
499	TELEVISION, 60"-70"	1	\$896.99	\$896.99
499	TELEVISION, 60"-70"	1		
			\$2,000.00	\$2,000.00
503	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
503	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
509	TELEVISION, 60"-70"	1	\$896.99	\$896.99
509	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
509	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
510	TELEVISION, 60"-70"	1	\$799.99	\$799.99
540	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
540	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
540	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
540	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
	,			
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541				
	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
541	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
545	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
545	TELEVISION, 60"-70"	1	\$600.00	\$600.00
551	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
551	TELEVISION, 60"-70"	1	\$3,332.00	\$3,332.00
553	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
554	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
554	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$896.99	\$896.99
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
		<u>-</u>	+=,500.00	₊ =,000.00

560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
560	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
570	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
576	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
587	TELEVISION, 60"-70"	1	\$896.99	\$896.99
591	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
665	TELEVISION, 60"-70"	1	\$2,000.00	\$2,000.00
3106	TELEVISION, 60"-70"	1	\$2,105.00	\$2,105.00
3106	TELEVISION, 60"-70"	1	\$2,105.00	\$2,105.00
453	TELEVISION, 70", TOUCHSCREEN	1	\$4,500.00	\$4,500.00
210	TELEVISION, 70"-80"	1	\$2,991.99	\$2,991.99
210	TELEVISION, 70"-80"	1	\$2,991.99	\$2,991.99
210	TELEVISION, 70"-80"	1	\$2,991.99	\$2,991.99
210	TELEVISION, 70"-80"	1	\$2,991.99	\$2,991.99
213	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
213	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
213	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
213	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
214	TELEVISION, 70"-80"	1	\$799.99	\$799.99
215	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
341	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
402	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
452	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
452	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
453	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
475	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
494	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
503	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
503	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
503	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
509	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
540	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
541	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
541	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
541	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
551	TELEVISION, 70"-80"	1	\$922.88	\$922.88
560	TELEVISION, 70"-80"	1	\$1,990.00	\$1,990.00
560	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
560	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
560	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
560	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
570	TELEVISION, 70"-80"	1	\$1,577.00	\$1,577.00
576	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
576	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
576	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
576	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
583	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
587	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
587	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
587	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
661	TELEVISION, 70"-80"	1	\$3,500.00	\$3,500.00
541	TELEVISION, 70" GO"	1	\$2,000.00	\$2,000.00
541	TENT, POPUP (10' X 10')	1	\$250.00	\$250.00
581	TENT, POPUP (10' X 10')	1	\$250.00	\$250.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$1,750.00	\$1,750.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,700.00	\$2,700.00
542 542	TEST AND CALIBRATION SYSTEM, GAS MONITOR TEST AND CALIBRATION SYSTEM, GAS MONITOR	1 1	\$2,100.00 \$1,317.50	\$2,100.00 \$1,317.50
542		1		
	TEST AND CALIBRATION SYSTEM, GAS MONITOR TEST AND CALIBRATION SYSTEM, GAS MONITOR		\$1,348.50 \$2,100.00	\$1,348.50
542 542	TEST AND CALIBRATION SYSTEM, GAS MONITOR TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00 \$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,700.00	\$2,700.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$1,750.00	\$1,750.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,100.00	\$2,100.00

540	TEST AND CALIBRATION SYSTEM CAS MONITOR		44 047 50	44 047 50
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$1,317.50	\$1,317.50
542	TEST AND CALIBRATION SYSTEM, GAS MONITOR	1	\$2,700.00	\$2,700.00
581	TEST AND CALIBRATION SYSTEM, GAS MONITOR	3	\$1,550.00	\$4,650.00
560	TEST ENCLOSURE, FORENSIC, CELLULAR	1	\$2,400.00	\$2,400.00
509	THERMOMETER, DIGITAL, HANDHELD	3	\$153.00	\$459.00
509	THREADING MACHINE, PIPE/BOLT 1/8" - 2"	1	\$3,020.00	\$3,020.00
560	THROW PHONE SYSTEM	1	\$17,500.00	\$17,500.00
503	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503				
	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
503	TICKET WRITER, HANDHELD	1	\$2,011.50	\$2,011.50
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560		1	\$2,008.23	
	TICKET WRITER, HANDHELD			\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
560	TICKET WRITER, HANDHELD	1	\$2,008.23	\$2,008.23
3106	TILLER, SMALL	1	\$290.00	\$290.00
210	TILLER, TOWED	1	\$1,849.99	\$1,849.99
3101	TILLER, TOWED	1	\$1,500.00	\$1,500.00
3101	TILLER, TOWED	1	\$3,724.00	\$3,724.00
451		1		\$337.00
	TIME CLOCK		\$337.00	
451	TIME CLOCK	1	\$337.00	\$337.00
551	TIME CLOCK	1	\$337.00	\$337.00
570	TIME CLOCK	1	\$337.00	\$337.00
570	TIME CLOCK	1	\$337.00	\$337.00
576	TIME CLOCK	1	\$337.00	\$337.00
583	TIME CLOCK	1	\$337.00	\$337.00
210				
	TIME CLOCK, BIOMETRIC	1	\$1,834.57	\$1,834.57
210	TIME CLOCK, BIOMETRIC	1	\$1,834.57	\$1,834.57
210	TIME CLOCK, BIOMETRIC	1	\$3,065.68	\$3,065.68
475	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
475	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
494	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
503	TIME CLOCK, BIOMETRIC	1	\$2,644.84	\$2,644.84
503	TIME CLOCK, BIOMETRIC	1	\$2,895.65	\$2,895.65
503	TIME CLOCK, BIOMETRIC			
	•	1	\$3,090.50	\$3,090.50
503	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
503	TIME CLOCK, BIOMETRIC	1	\$2,644.84	\$2,644.84
509	TIME CLOCK, BIOMETRIC	1	\$2,895.65	\$2,895.65
560	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
560	TIME CLOCK, BIOMETRIC	1	\$2,895.65	\$2,895.65
560	TIME CLOCK, BIOMETRIC	1	\$3,065.68	\$3,065.68
570	TIME CLOCK, BIOMETRIC	1	\$3,065.68	\$3,065.68
	,			
570	TIME CLOCK, BIOMETRIC	1	\$2,645.00	\$2,645.00
570	TIME CLOCK, BIOMETRIC	1	\$2,644.84	\$2,644.84
570	TIME CLOCK, BIOMETRIC	1	\$2,644.84	\$2,644.84
576	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
882	TIME CLOCK, BIOMETRIC	1	\$2,500.00	\$2,500.00
452	TIME CLOCK, W/ DATE STAMP	1	\$840.00	\$840.00
452	TIME CLOCK, W/ DATE STAMP	1	\$840.00	\$840.00
453	TIME CLOCK, W/ DATE STAMP	1	\$723.00	\$723.00
453	TIME CLOCK, W/ DATE STAMP	1	\$664.50	\$664.50
509	TIME CLOCK, W/ DATE STAMP	1	\$2,644.84	\$2,644.84
553	TIME CLOCK, W/ DATE STAMP	1	\$873.68	\$873.68
583	TIME CLOCK, W/ DATE STAMP	1	\$840.00	\$840.00
882	TIRE CHANGER	1	\$3,145.00	\$3,145.00
882	TIRE CHANGER, RIM CLAMP	1	\$4,660.00	\$4,660.00
882	TIRE CHANGER, TRUCK	1	\$31,684.70	\$31,684.70
210	TOASTER OVEN	1	\$185.00	\$185.00

540	TOASTER OVEN	1	\$185.00	\$185.00
540	TOOL BOX, 3 DRAWER/1 STORAGE, MOBILE	1	\$330.00	\$330.00
882	TOOL BOX, 5 DRAWER, MOBILE	1	\$405.00	\$405.00
541	TOOL BOX, MOBILE	1	\$940.00	\$940.00
560	TOOL BOX, MOBILE	1	\$940.00	\$940.00
882	TOOL BOX, MOBILE	1	\$940.00	\$940.00
882	TOOL BOX, MOBILE	1	\$940.00	\$940.00
882	TOOL BOX, MOBILE	1	\$940.00	\$940.00
882	TOOL BOX, MOBILE	1	\$940.00	\$940.00
3103	TOOL BOX, MOBILE	1	\$940.00	\$940.00
3107	TOOL BOX, MOBILE	1	\$548.00	\$548.00
587	TOOL BOX, ROLLER CABINET	1	\$305.00	\$305.00
882	TOOL BOX, ROLLER CABINET	2	\$305.00	\$610.00
210	TOOL BOX, W/ TOOLS	1	\$420.00	\$420.00
509	TOOL BOX, W/ TOOLS	1	\$420.00	\$420.00
509	TOOL BOX, W/ TOOLS	2	\$420.00	\$840.00
540	TOOL BOX, W/ TOOLS	1	\$420.00	\$420.00
3103	TOOL BOX, W/ TOOLS	1	\$420.00	\$420.00
3106	TOOL BOX, W/ TOOLS	2	\$420.00	\$840.00
3107	TOOL BOX, W/ TOOLS	1	\$420.00	\$420.00
503	TOOL BOX, W/O TOOLS	4	\$115.00	\$460.00
570	TOOL BOX, W/O TOOLS	2	\$115.00	\$230.00
509	TOOL CHEST, 10 DRAWER	2	\$385.00	\$770.00
882	TOOL CHEST, 12 DRAWER, WITH TOOLS	1	\$7,092.00	\$7,092.00
882	TOOL CHEST, 12 DRAWER, WITH TOOLS	1	\$7,092.00	\$7,092.00
581	TOOL SET, NON-SPARKING	1	\$685.00	\$685.00
560	TOOLBOX, LICENSE PLATE READER, COVERT	1	\$6,000.00	\$6,000.00
3103	TOPDRESSER	1	\$17,966.67	\$17,966.67
3106	TOPDRESSER	1	\$17,510.00	\$17,510.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
560	TRACKING DEVICE, GPS	1	\$1,150.00	\$1,150.00
210	TRACTOR, 100+ HP	1	\$54,749.00	\$54,749.00
210	TRACTOR, 100+ HP	1	\$59,791.65	\$59,791.65
210	TRACTOR, 100+ HP	1	\$42,661.22	\$42,661.22
210	TRACTOR, 100+ HP	1	\$56,195.71	\$56,195.71
210	TRACTOR, 100+ HP	1	\$56,195.71	\$56,195.71
210	TRACTOR, 100+ HP	1	\$60,056.74	\$60,056.74
210	TRACTOR, 100+ HP	1	\$60,056.74	\$60,056.74
210	TRACTOR, 100+ HP	1	\$103,655.01	\$103,655.01
210	TRACTOR, 100+ HP	1	\$43,129.97	\$43,129.97
495	TRACTOR, 100+ HP	1	\$60,056.74	\$60,056.74
882	TRACTOR, 100+ HP	1	\$59,791.64	\$59,791.64
882	TRACTOR, 100+ HP	1	\$47,488.54	\$47,488.54
882	TRACTOR, 100+ HP	1	\$47,488.54	\$47,488.54
882	TRACTOR, 100+ HP	1	\$52,192.75	\$52,192.75
3101	TRACTOR, 19-29 HP	1	\$18,005.70	\$18,005.70
3103	TRACTOR, 19-29 HP	1	\$1,614.49	\$1,614.49
3103	TRACTOR, 19-29 HP	1	\$46,042.50	\$46,042.50
560	TRACTOR, 40-54 HP	1	\$23,886.00	\$23,886.00
882	TRACTOR, 40-54 HP	1	\$33,500.00	\$33,500.00
3103	TRACTOR, 40-54 HP	1	\$23,523.00	\$23,523.00
3106	TRACTOR, 40-54 HP	1	\$22,186.57	\$22,186.57
3101	TRACTOR, 55-74 HP	1	\$40,759.30	\$40,759.30
210	TRACTOR, 75-99 HP	1	\$33,294.75	\$33,294.75
210	TRACTOR, 75-99 HP	1	\$33,294.75	\$33,294.75
210	TRACTOR, 75-99 HP	1	\$14,251.00	\$14,251.00
210	TRACTOR, 75-99 HP	1	\$20,713.00	\$20,713.00
210	TRACTOR, 75-99 HP	1	\$33,294.75	\$33,294.75
882	TRACTOR, 75-99 HP	1	\$18,063.73	\$18,063.73
3106	TRACTOR, 75-99 HP	1	\$38,951.37	\$38,951.37
3106	TRACTOR, 75-99 HP	1	\$40,785.03	\$40,785.03
210	TRACTOR, W/ FRONT LOADER	1	\$47,763.10	\$47,763.10
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,195.00	\$1,195.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,195.00	\$1,195.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,395.00	\$1,395.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,195.00	\$1,195.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00

210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
210	TRAFFIC RECORDER, AUTOMATIC	1	\$1,350.00	\$1,350.00
495	TRAILER, 10'	1	\$1,375.00	\$1,375.00
	•			
210	TRAILER, ARROW BOARD	1	\$3,795.00	\$3,795.00
210	TRAILER, ARROW BOARD	1	\$3,995.00	\$3,995.00
210	TRAILER, ARROW BOARD	1	\$4,700.00	\$4,700.00
495	TRAILER, BOAT	1	\$3,166.00	\$3,166.00
495	TRAILER, CANOE/ KAYAK	1	\$1,834.50	\$1,834.50
495	TRAILER, CARGO	1	\$2,950.00	\$2,950.00
495	TRAILER, CARGO	1	\$2,600.00	\$2,600.00
495	TRAILER, CARGO	1	\$2,270.00	\$2,270.00
495	TRAILER, CARGO	1	\$2,385.00	\$2,385.00
495	TRAILER, CARGO	1	\$1,646.00	\$1,646.00
495	TRAILER, CARGO	1	\$6,151.00	\$6,151.00
495	TRAILER, CARGO	1	\$2,609.31	\$2,609.31
495	TRAILER, CARGO	1	\$9,345.00	\$9,345.00
495	TRAILER, CARGO	1	\$23,574.88	\$23,574.88
495	TRAILER, CARGO	1	\$32,452.75	\$32,452.75
			. ,	. ,
495	TRAILER, DUMP	1	\$37,584.00	\$37,584.00
495	TRAILER, DUMP	1	\$9,131.00	\$9,131.00
3103	TRAILER, DUMP	1	\$33,750.00	\$33,750.00
495	TRAILER, DUMP, BELLY	1	\$30,636.00	\$30,636.00
495	TRAILER, DUMP, BELLY	1	\$28,458.00	\$28,458.00
495	TRAILER, DUMP, BELLY	1	\$31,973.00	\$31,973.00
495	TRAILER, DUMP, BELLY	1	\$31,973.00	\$31,973.00
3107	TRAILER, DUMP, BELLY	1	\$34,558.00	\$34,558.00
495	TRAILER, DUMP, LIVE BOTTOM	1	\$81,347.00	\$81,347.00
495	TRAILER, DUMP, LIVE BOTTOM	1	\$81,347.00	\$81,347.00
495	TRAILER, DUMP, SMALL	1	\$7,602.00	\$7,602.00
3103	TRAILER, DUMP, SMALL	1	\$6,300.00	\$6,300.00
495	TRAILER, ENCLOSED	1	\$5,811.00	\$5,811.00
495	TRAILER, ENCLOSED	1	\$43,318.78	\$43,318.78
581	TRAILER, ENCLOSED	1	\$18,500.00	\$18,500.00
495	TRAILER, FLATBED	1	\$15,673.73	
				\$15,673.73
495	TRAILER, FLATBED	1	\$16,334.44	\$16,334.44
495	TRAILER, FLATBED	1	\$5,317.46	\$5,317.46
495	TRAILER, FLATBED	1	\$6,752.90	\$6,752.90
495	TRAILER, FLATBED	1	\$5,857.33	\$5,857.33
495	TRAILER, FLATBED, TILTING	1	\$13,899.00	\$13,899.00
495	TRAILER, FLATBED, TILTING	1	\$23,103.00	\$23,103.00
495	TRAILER, GOOSENECK, LOW BED	1	\$82,553.30	\$82,553.30
495	TRAILER, LICENSE PLATE READER	1	\$48,375.00	\$48,375.00
495	TRAILER, LICENSE PLATE READER	1	\$48,375.00	\$48,375.00
560	TRAILER, LICENSE PLATE READER	1	\$44,982.00	\$44,982.00
495	TRAILER, LIVESTOCK, 15'-20'	1	\$12,955.00	\$12,955.00
210	TRAILER, MESSAGE BOARD	1	\$14,350.00	\$14,350.00
210	TRAILER, MESSAGE BOARD	1	\$14,971.00	\$14,971.00
210	TRAILER, MESSAGE BOARD	1	\$16,875.00	\$16,875.00
210	TRAILER, MESSAGE BOARD	1	\$16,875.00	\$16,875.00
495	TRAILER, MESSAGE BOARD	1	\$15,295.04	\$15,295.04
495	TRAILER, MESSAGE BOARD	1	\$15,295.05	\$15,295.05
882	TRAILER, MESSAGE BOARD	1	\$14,971.00	\$14,971.00
882	TRAILER, MESSAGE BOARD	1	\$14,350.00	\$14,350.00
882	TRAILER, MESSAGE/ ARROW BOARD	1	\$14,989.00	\$14,989.00
882	TRAILER, MESSAGE/ ARROW BOARD	1	\$16,450.00	\$16,450.00
495	TRAILER, RADAR	1	\$8,265.00	\$8,265.00
495	TRAILER, RADAR	1	\$8,265.00	\$8,265.00
210	TRAILER, RADAR SPEED SIGN	1	\$5,999.00	\$5,999.00
210	TRAILER, RADAR SPEED SIGN	1	\$14,500.00	\$14,500.00
210	TRAILER, RADAR SPEED SIGN	1	\$18,550.00	\$18,550.00
210	TRAILER, RADAR SPEED SIGN	1	\$18,550.00	\$18,550.00
210	TRAILER, RADAR SPEED SIGN	1	\$18,550.00	\$18,550.00
210	TRAILER, RADAR SPEED SIGN	1	\$18,550.00	\$18,550.00
495	TRAILER, RADAR SPEED SIGN	1	\$5,999.00	\$5,999.00
495	TRAILER, TAG	1	\$21,922.00	\$21,922.00
495	TRAILER, TAG	1	\$30,349.76	\$30,349.76
495		1		\$5,228.50
	TRAILER, TILT DECK		\$5,228.50	
495	TRAILER, TILT DECK	1	\$4,937.77	\$4,937.77
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$10,975.00	\$10,975.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$10,975.00	\$10,975.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$11,950.00	\$11,950.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$11,950.00	\$11,950.00

210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$16,450.00	\$16,450.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$16,450.00	\$16,450.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$15,900.00	\$15,900.00
210	TRAILER, TRAFFIC LIGHT, W/ FLAGGER, AUTOMATED	1	\$15,900.00	\$15,900.00
210	TRAILER, UTILITY	1	\$1,537.00	\$1,537.00
210	TRAILER, UTILITY	1	\$1,537.00	\$1,537.00
210	TRAILER, UTILITY	1	\$2,197.00	\$2,197.00
495	TRAILER, UTILITY	1	\$4,413.00	\$4,413.00
495	TRAILER, UTILITY	1	\$4,413.00	\$4,413.00
495	TRAILER, UTILITY	1	\$4,503.00	\$4,503.00
495	TRAILER, UTILITY	1	\$1,535.00	\$1,535.00
495	TRAILER, UTILITY	1	\$1,895.00	\$1,895.00
495	TRAILER, UTILITY	1	\$4,692.95	\$4,692.95
495	TRAILER, UTILITY	1	\$4,475.00	\$4,475.00
495	TRAILER, UTILITY	1	\$2,375.00	\$2,375.00
495	TRAILER, UTILITY	1	\$3,495.00	\$3,495.00
495	TRAILER, UTILITY	1	\$2,600.00	\$2,600.00
495	TRAILER, UTILITY	1	\$3,200.00	\$3,200.00
495	TRAILER, UTILITY	1	\$5,270.00	\$5,270.00
495	TRAILER, UTILITY	1	\$2,425.00	\$2,425.00
495	TRAILER, UTILITY	1	\$3,401.00 \$3,048.97	\$3,401.00
495	TRAILER, UTILITY	1		\$3,048.97
495	TRAILER, UTILITY TRAILER, UTILITY	1 1	\$49,941.02	\$49,941.02
495	•		\$23,452.49	\$23,452.49
210	TRAILER, W/ ASPHALT PATCHER	1	\$39,432.56	\$39,432.56
210	TRAILER, W/ ASPHALT PATCHER	1	\$49,841.00	\$49,841.00
210	TRAILER, W/ SEWER JETTER	1	\$36,960.75	\$36,960.75
210	TRAILER, W/ TRAFFIC SIGN	1	\$4,550.00	\$4,550.00
495	TRAILER, WATER	1	\$6,610.00	\$6,610.00
495	TRAILER, WATER	1	\$6,935.00	\$6,935.00
495	TRAILER, WATER	1	\$16,310.00	\$16,310.00
882	TRAILER, WATER	1	\$5,600.00	\$5,600.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, AIRWAY MANAGEMENT, ADULT	1	\$1,120.00	\$1,120.00
540	TRAINER, HUMERUS INTRAOSSEOUS	1	\$350.00	\$350.00
540	TRAINER, HUMERUS INTRAOSSEOUS	1	\$350.00	\$350.00
540	TRAINER, IV, HAND	1	\$270.00	\$270.00
560	TRAINING BAG, MARTIAL ARTS	2	\$200.00	\$400.00
560	TRAINING DUMMY, ARREST CONTROL	1	\$4,200.00	\$4,200.00
560	TRAINING DUMMY, ARREST CONTROL	1	\$4,200.00	\$4,200.00
492	TRAINING KIT, DRUG IDENTIFICATION	1	\$150.00	\$150.00
540	TRAINING SIMULATOR, CHILD CAR SEAT	1	\$1,995.00	\$1,995.00
540	TRAINING SIMULATOR, CHILD CAR SEAT	1	\$1,995.00	\$1,995.00
540	TRAINING SIMULATOR, CHILD CAR SEAT	1	\$1,995.00	\$1,995.00
540	TRAINING SIMULATOR, CHILD CAR SEAT	1	\$2,490.00	\$2,490.00
560	TRAMPOLINE, INDOOR, SMALL	1	\$340.00	\$340.00
499	TRASH CAN, LARGE, W/ WHEELS	2	\$100.00	\$200.00
509	TRASH CAN, LARGE, W/ WHEELS	1	\$100.00	\$100.00
545	TRASH CAN, LARGE, W/ WHEELS	1	\$100.00	\$100.00
570	TRASH CAN, LARGE, W/ WHEELS	1	\$100.00	\$100.00
570	TRASH CAN, LARGE, W/ WHEELS	1	\$100.00	\$100.00
630	TRASH CAN, LARGE, W/ WHEELS	1	\$100.00	\$100.00
540	TRAUMA AIR PANTS	1	\$970.00	\$970.00
540	TRAUMA AIR PANTS	1	\$970.00	\$970.00
576	TRAY, OVERBED, SERVING	1	\$50.00	\$50.00
576	TRAY, OVERBED, SERVING	1	\$50.00	\$50.00
540	TREADMILL	1	\$2,320.00	\$2,320.00
541	TREADMILL	1	\$2,320.00	\$2,320.00
541	TREADMILL	1	\$2,320.00	\$2,320.00
560	TREADMILL	1	\$2,320.00	\$2,320.00
576	TREADMILL	1	\$1,299.99	\$1,299.99
576	TREADMILL	1	\$1,299.99	\$1,299.99
440	TRIPOD, CAMERA	2	\$200.00	\$400.00
503	TRIPOD, CAMERA	1	\$200.00	\$200.00
540	TRIPOD, CAMERA	8	\$200.00	\$1,600.00
560	TRIPOD, CAMERA	2	\$200.00	\$400.00
560	TRIPOD, CAMERA	1	\$200.00	\$200.00
560	TRIPOD, CAMERA	1	\$200.00	\$200.00
570	TRIPOD, CAMERA	1	\$200.00	\$200.00
545	TRIPOD, INSTRUCTIONAL, LARGE	3	\$50.00	\$150.00
509	TRIPOD, LEVELER/ TRANSIT	2	\$149.00	\$298.00

581	TRIPOD, SURVEYOR	1	\$145.00	\$145.00
495	TRUCK, ASPHALT DISTRIBUTER	1	\$182,775.65	\$182,775.65
495	TRUCK, ASPHALT DISTRIBUTER	1	\$158,135.00	\$158,135.00
495	TRUCK, ASPHALT DISTRIBUTER	1	\$141,650.00	\$141,650.00
495	TRUCK, ASPHALT DISTRIBUTER	1	\$161,670.88	\$161,670.88
495	TRUCK, ASPHALT DISTRIBUTER	1	\$185,949.90	\$185,949.90
495	TRUCK, BUCKET LIFT	1	\$64,941.82	\$64,941.82
495	TRUCK, DUMP	1	\$121,875.00	\$121,875.00
495	TRUCK, DUMP	1	\$121,875.00	\$121,875.00
495	TRUCK, DUMP	1	\$86,178.00	\$86,178.00
495	TRUCK, DUMP	1	\$86,578.00	\$86,578.00
495	TRUCK, DUMP	1	\$122,275.00	\$122,275.00
495	TRUCK, DUMP	1	\$121,875.00	\$121,875.00
495	TRUCK, DUMP	1	\$119,814.00	\$119,814.00
495	TRUCK, DUMP	1	\$63,200.00	\$63,200.00
495	TRUCK, DUMP	1	\$120,340.00	\$120,340.00
495	TRUCK, DUMP	1	\$120,340.00	\$120,340.00
495	TRUCK, DUMP	1	\$84,138.00	\$84,138.00
495	TRUCK, DUMP	1	\$61,375.00	\$61,375.00
495	TRUCK, DUMP	1	\$70,978.00	\$70,978.00
495	TRUCK, DUMP	1	\$79,486.00	\$79,486.00
495	TRUCK, DUMP	1	\$87,491.00	\$87,491.00
495	TRUCK, DUMP	1	\$81,150.00	\$81,150.00
495	TRUCK, DUMP	1	\$81,150.00	\$81,150.00
495	TRUCK, DUMP	1	\$87,563.00	\$87,563.00
495	TRUCK, DUMP	1	\$81,975.00	\$81,975.00
495	TRUCK, DUMP	1	\$81,975.00	\$81,975.00
495	TRUCK, DUMP	1	\$82,375.00	\$82,375.00
495	TRUCK, DUMP	1	\$123,745.00	\$123,745.00
495	TRUCK, DUMP	1	\$123,745.00	\$123,745.00
495	TRUCK, DUMP	1	\$128,956.00	\$128,956.00
495	TRUCK, DUMP	1	\$128,956.00	\$128,956.00
495	TRUCK, DUMP	1	\$314,569.00	\$314,569.00
495	TRUCK, DUMP, 3-4 TON	1	\$39,935.00	\$39,935.00
495	TRUCK, DUMP, W/ BRUSH CHIPPER BED	1	\$55,496.00	\$55,496.00
495	TRUCK, DUMP, W/ BRUSH CHIPPER BED	1	\$43,085.00	\$43,085.00
495	TRUCK, DUMP, W/ BRUSH CHIPPER BED	1	\$33,438.20	\$33,438.20
495	TRUCK, ENCLOSED	1	\$37,326.00	\$37,326.00
495	TRUCK, ENCLOSED	1	\$51,863.92	\$51,863.92
495	TRUCK, FLATBED	1	\$35,754.80	\$35,754.80
495	TRUCK, FLATBED	1	\$28,738.00	\$28,738.00
495	TRUCK, FLATBED	1	\$60,476.37	\$60,476.37
495	TRUCK, FLATBED, DUMP	1	\$26,946.00	\$26,946.00
495	TRUCK, FLATBED, DUMP	1	\$26,946.00	\$26,946.00
495	TRUCK, MOBILE COMMAND	1	\$308,280.00	\$308,280.00
495	TRUCK, MOBILE COMMAND	1	\$400,695.85	\$400,695.85
581	TRUCK, MOBILE COMMAND	1	\$492,392.37	\$492,392.37
495	TRUCK, PICK-UP	1	\$25,978.00	\$25,978.00
495	TRUCK, PICK-UP	1	\$32,140.50	\$32,140.50
495	TRUCK, PICK-UP	1	\$34,505.50	\$34,505.50
495	TRUCK, PICK-UP	1	\$37,786.15	\$37,786.15
495	TRUCK, PICK-UP	1	\$47,970.95	\$47,970.95
495	TRUCK, PICK-UP	1	\$30,812.25	\$30,812.25
495	TRUCK, PICK-UP	1	\$29,534.30	\$29,534.30
495	TRUCK, PICK-UP	1	\$30,812.25	\$30,812.25
495	TRUCK, PICK-UP, 1 TON	1	\$32,917.00	\$32,917.00
495	TRUCK, PICK-UP, 1 TON	1	\$32,411.28	\$32,411.28
495	TRUCK, PICK-UP, 1 TON	1	\$43,714.70	\$43,714.70
495	TRUCK, PICK-UP, 1 TON	1	\$45,190.00	\$45,190.00
495	TRUCK, PICK-UP, 1 TON	1	\$26,705.00	\$26,705.00
495	TRUCK, PICK-UP, 1 TON	1	\$33,277.00	\$33,277.00
495	TRUCK, PICK-UP, 1 TON	1	\$30,513.25	\$30,513.25
495	TRUCK, PICK-UP, 1 TON TRUCK, PICK-UP, 1 TON	1	\$24,411.00	\$24,411.00
495		1		
495 495	TRUCK, PICK-UP, 1 TON TRUCK, PICK-UP, 1 TON	1	\$24,411.00 \$24,411.00	\$24,411.00 \$24,411.00
495 495		1	\$39,975.00	\$39,975.00
	TRUCK, PICK-UP, 1 TON			
495 495	TRUCK, PICK-UP, 1 TON	1	\$21,399.60 \$52,538,00	\$21,399.60 \$52.538.00
495 405	TRUCK, PICK-UP, 1 TON	1	\$52,538.00	\$52,538.00
495	TRUCK, PICK-UP, 1 TON	1	\$36,929.10	\$36,929.10
495	TRUCK, PICK-UP, 1 TON	1	\$36,129.10	\$36,129.10
495	TRUCK, PICK-UP, 1 TON	1	\$52,446.29	\$52,446.29
495	TRUCK, PICK-UP, 1 TON	1	\$36,915.30	\$36,915.30
495	TRUCK, PICK-UP, 1 TON	1	\$36,831.30	\$36,831.30
495	TRUCK, PICK-UP, 1 TON	1	\$36,915.30	\$36,915.30
495	TRUCK, PICK-UP, 1 TON	1	\$36,531.30	\$36,531.30
495	TRUCK, PICK-UP, 1 TON	1	\$30,357.00	\$30,357.00

495	TRUCK, PICK-UP, 1 TON	1	\$56,982.57	\$56,982.57
495	TRUCK, PICK-UP, 1/2 TON	1	\$7,836.30	\$7,836.30
495	TRUCK, PICK-UP, 1/2 TON	1	\$14,061.00	\$14,061.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$16,868.26	\$16,868.26
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,449.90	\$27,449.90
495	TRUCK, PICK-UP, 1/2 TON	1	\$24,055.00	\$24,055.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,989.00	\$27,989.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,989.00	\$27,989.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,989.00	\$27,989.00
495		1	\$27,509.00	\$27,509.00
	TRUCK, PICK-UP, 1/2 TON			
495	TRUCK, PICK-UP, 1/2 TON	1	\$28,558.00	\$28,558.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$22,745.00	\$22,745.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$29,851.00	\$29,851.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$20,848.00	\$20,848.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,293.00	\$21,293.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,293.00	\$21,293.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$23,960.50	\$23,960.50
495	TRUCK, PICK-UP, 1/2 TON	1	\$37,785.00	\$37,785.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$28,121.24	\$28,121.24
495	TRUCK, PICK-UP, 1/2 TON	1	\$25,573.00	\$25,573.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$24,973.24	\$24,973.24
495	TRUCK, PICK-UP, 1/2 TON	1	\$26,982.50	\$26,982.50
495	TRUCK, PICK-UP, 1/2 TON	1	\$17,260.00	\$17,260.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$25,573.00	\$25,573.00
495		1	\$21,789.00	\$21,789.00
	TRUCK, PICK-UP, 1/2 TON			
495	TRUCK, PICK-UP, 1/2 TON	1	\$8,900.00	\$8,900.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$22,824.00	\$22,824.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$22,824.00	\$22,824.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$15,919.00	\$15,919.00
			. ,	
495	TRUCK, PICK-UP, 1/2 TON	1	\$20,223.01	\$20,223.01
495	TRUCK, PICK-UP, 1/2 TON	1	\$18,020.00	\$18,020.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$15,813.00	\$15,813.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$16,791.00	\$16,791.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$16,013.00	\$16,013.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$16,876.75	\$16,876.75
495	TRUCK, PICK-UP, 1/2 TON	1	\$20,414.15	\$20,414.15
495	TRUCK, PICK-UP, 1/2 TON	1	\$20,627.75	\$20,627.75
495	TRUCK, PICK-UP, 1/2 TON	1	\$20,669.14	\$20,669.14
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,127.74	\$21,127.74
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,395.77	\$27,395.77
495	TRUCK, PICK-UP, 1/2 TON	1	\$40,934.00	\$40,934.00
495		1	\$38,249.00	\$38,249.00
	TRUCK, PICK-UP, 1/2 TON			
495	TRUCK, PICK-UP, 1/2 TON	1	\$12,145.00	\$12,145.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,770.00	\$21,770.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,616.00	\$21,616.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$22,993.00	\$22,993.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$18,926.79	\$18,926.79
			. ,	
495	TRUCK, PICK-UP, 1/2 TON	1	\$15,994.00	\$15,994.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$21,035.25	\$21,035.25
495	TRUCK, PICK-UP, 1/2 TON	1	\$16,873.00	\$16,873.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$640.00	\$640.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$15,987.00	\$15,987.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,665.00	\$27,665.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,665.00	\$27,665.00
495		1		
	TRUCK, PICK-UP, 1/2 TON		\$27,665.00	\$27,665.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$27,218.00	\$27,218.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$28,461.00	\$28,461.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$24,738.00	\$24,738.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$23,786.75	\$23,786.75
495	TRUCK, PICK-UP, 1/2 TON			
		1	\$29,535.56	\$29,535.56
495	TRUCK, PICK-UP, 1/2 TON	1	\$29,853.24	\$29,853.24
495	TRUCK, PICK-UP, 1/2 TON	1	\$29,535.56	\$29,535.56
495	TRUCK, PICK-UP, 1/2 TON	1	\$29,968.75	\$29,968.75
495	TRUCK, PICK-UP, 1/2 TON	1	\$25,906.00	\$25,906.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$26,007.25	\$26,007.25
495	TRUCK, PICK-UP, 1/2 TON	1	\$26,007.25	\$26,007.25
495	TRUCK, PICK-UP, 1/2 TON	1	\$26,007.25	\$26,007.25
495	TRUCK, PICK-UP, 1/2 TON	1	\$32,043.75	\$32,043.75
495	TRUCK, PICK-UP, 1/2 TON	1	\$28,120.00	\$28,120.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$35,633.80	\$35,633.80
495	TRUCK, PICK-UP, 1/2 TON	1	\$35,333.80	\$35,333.80
495	TRUCK, PICK-UP, 1/2 TON	1	\$91,818.50	\$91,818.50
495	TRUCK, PICK-UP, 1/2 TON	1	\$34,184.00	\$34,184.00
495	TRUCK, PICK-UP, 1/2 TON	1	\$52,347.00	\$52,347.00
495				
	TRUCK, PICK-UP, 1/2 TON	1	\$45,447.00	\$45,447.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$34,120.00	\$34,120.00

495	TRUCK, PICK-UP, 3/4 TON	1	\$34,522.16	\$34,522.16
495	TRUCK, PICK-UP, 3/4 TON	1	\$32,908.80	\$32,908.80
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,403.00	\$24,403.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,403.00	\$24,403.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$29,884.00	\$29,884.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$30,493.90	\$30,493.90
	TRUCK, PICK-UP, 3/4 TON			
495	·	1	\$24,646.00	\$24,646.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$22,531.83	\$22,531.83
495	TRUCK, PICK-UP, 3/4 TON	1	\$22,531.84	\$22,531.84
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,590.80	\$25,590.80
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$24,470.24	\$24,470.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$27,214.44	\$27,214.44
495	TRUCK, PICK-UP, 3/4 TON	1	\$27,027.47	\$27,027.47
495	TRUCK, PICK-UP, 3/4 TON	1	\$27,027.47	\$27,027.47
495	TRUCK, PICK-UP, 3/4 TON	1	\$31,593.75	\$31,593.75
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,593.00	\$25,593.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,660.24	\$23,660.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,993.00	\$25,993.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.89	\$23,326.89
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.91	\$23,326.91
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.91	\$23,326.91
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.91	\$23,326.91
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.91	\$23,326.91
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,326.91	\$23,326.91
495	TRUCK, PICK-UP, 3/4 TON	1	\$22,128.24	\$22,128.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,923.24	\$23,923.24
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,335.25	\$25,335.25
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,335.25	\$25,335.25
495	TRUCK, PICK-UP, 3/4 TON	1	\$20,000.00	\$20,000.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$20,000.00	\$20,000.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$20,000.00	\$20,000.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$20,400.00	\$20,400.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$26,043.00	\$26,043.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$33,354.30	\$33,354.30
495	TRUCK, PICK-UP, 3/4 TON	1	\$28,718.00	\$28,718.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$28,718.00	\$28,718.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$28,718.00	\$28,718.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$20,075.25	\$20,075.25
495	TRUCK, PICK-UP, 3/4 TON	1	\$23,500.00	\$23,500.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$27,126.33	\$27,126.33
495	TRUCK, PICK-UP, 3/4 TON	1	\$19,838.85	\$19,838.85
495	TRUCK, PICK-UP, 3/4 TON	1	\$26,235.42	\$26,235.42
495	TRUCK, PICK-UP, 3/4 TON	1	\$28,186.00	\$28,186.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,024.00	\$25,024.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,024.00	\$25,024.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$25,024.00	\$25,024.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$34,502.00	\$34,502.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$35,315.00	\$35,315.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$33,983.69	\$33,983.69
495	TRUCK, PICK-UP, 3/4 TON	1	\$32,385.00	\$32,385.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$26,825.00	\$26,825.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$26,441.00	\$26,441.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$30,880.00	\$30,880.00
495	TRUCK, PICK-UP, 3/4 TON	1	\$27,961.21	\$27,961.21
495	TRUCK, PICK-UP, 3/4 TON	1	\$38,421.22	\$38,421.22
495	TRUCK, ROLL-OFF	1	\$168,885.00	\$168,885.00
495	TRUCK, SEMI TRACTOR	1	\$259,361.00	\$259,361.00
495	TRUCK, SEMI TRACTOR	1	\$128,646.00	\$128,646.00
495	TRUCK, SEMI TRACTOR	1	\$95,558.00	\$95,558.00
495	TRUCK, SEMI TRACTOR	1	\$95,558.00	\$95,558.00
495		1		
	TRUCK, SEMI TRACTOR		\$88,418.00	\$88,418.00
495	TRUCK, SEMI TRACTOR	1	\$88,418.00	\$88,418.00
495	TRUCK, SEMI TRACTOR	1	\$35,113.00	\$35,113.00
495	TRUCK, SEMI TRACTOR	1	\$102,623.00	\$102,623.00
495	TRUCK, SEMI TRACTOR	1	\$102,623.00	\$102,623.00
495	TRUCK, SEMI TRACTOR	1	\$82,850.00	\$82,850.00
495	TRUCK, SEMI TRACTOR	1	\$87,172.00	\$87,172.00
495	TRUCK, SEMI TRACTOR	1	\$139,068.00	\$139,068.00
495		1		
	TRUCK, SEMI TRACTOR		\$201,474.30	\$201,474.30
495	TRUCK, SEMI TRACTOR	1	\$102,129.00	\$102,129.00

			44. 4.4	4
495	TRUCK, SEMI TRACTOR	1	\$91,640.00	\$91,640.00
495	TRUCK, SEMI TRACTOR	1	\$108,233.00	\$108,233.00
495 495	TRUCK, SEMI TRACTOR	1 1	\$128,903.00	\$128,903.00
495	TRUCK, SPRAYER, HERBICIDE TRUCK, SPRAYER, HERBICIDE	1	\$87,713.45 \$65,397.00	\$87,713.45 \$65,397.00
495	TRUCK, UTILITY	1	\$23,519.75	\$23,519.75
495	TRUCK, UTILITY	1	\$107,702.08	\$107,702.08
495	TRUCK, UTILITY	1	\$110,370.00	\$110,370.00
495	TRUCK, W/ EXCAVATOR	1	\$294,775.00	\$294,775.00
495	TRUCK, W/ WINCH	1	\$45,539.00	\$45,539.00
495	TRUCK, WATER TANKER	1	\$96,598.00	\$96,598.00
495	TRUCK, WATER TANKER	1	\$128,773.00	\$128,773.00
495	TRUCK, WATER TANKER	1	\$48,450.00	\$48,450.00
495	TRUCK, WATER TANKER	1	\$85,963.00	\$85,963.00
495	TRUCK, WATER TANKER	1	\$41,817.00	\$41,817.00
495	TRUCK, WATER TANKER	1	\$38,163.33	\$38,163.33
495	TRUCK, WATER TANKER	1	\$41,817.00	\$41,817.00
503	TUNER, STEREO	1	\$550.00	\$550.00
503	TUNER, STEREO	1	\$550.00	\$550.00
503	TUNER, STEREO	1	\$550.00	\$550.00
503	TUNER, STEREO	1	\$550.00	\$550.00
503	TUNER, STEREO	1	\$550.00	\$550.00
503	TUNER, STEREO	1	\$550.00	\$550.00
581	TURNOUT/BUNKER GEAR, FIRE, FACEPIECE/MASK	16	\$370.00	\$5,920.00
400	TYPEWRITER, ELECTRIC, HIGH END	1	\$600.00	\$600.00
403	TYPEWRITER, ELECTRIC, LOW END	3	\$350.00	\$1,050.00
403	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
437	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
452	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
454	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
509	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
509	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
576	TYPEWRITER, ELECTRIC, LOW END	1	\$350.00	\$350.00
540	ULTRASOUND MACHINE, PORTABLE	1	\$3,200.00	\$3,200.00
540	ULTRASOUND MACHINE, PORTABLE	1	\$3,200.00	\$3,200.00
540	ULTRASOUND MACHINE, PORTABLE	1	\$3,200.00	\$3,200.00
545	ULTRASOUND MACHINE, PORTABLE, VETERINARY	1	\$3,000.00	\$3,000.00
570	ULTRASOUND/ ELECTROTHERAPY COMBO UNIT	1	\$37,539.12	\$37,539.12
581	UPGRADE PROJECT, RMC #3	1	\$330,000.00	\$330,000.00
437	UTILITY CART	2	\$185.00	\$370.00
452	UTILITY CART	2	\$185.00	\$370.00
499	UTILITY CART	1	\$185.00	\$185.00
560	UTILITY CART	1	\$185.00	\$185.00
570	UTILITY CART	1	\$185.00	\$185.00
570	UTILITY CART	17	\$185.00	\$3,145.00
570	UTILITY CART	2	\$185.00	\$370.00
576	UTILITY CART	2	\$185.00	\$370.00
540	VACUUM PACKAGING MACHINE	1	\$3,055.83	\$3,055.83
560	VACUUM PACKAGING MACHINE	1	\$2,000.00	\$2,000.00
570	VACUUM PACKAGING MACHINE	1	\$2,000.00	\$2,000.00
570	VACUUM PACKAGING MACHINE	1	\$2,000.00	\$2,000.00
545	VACUUM, 3.5 GALLON	1	\$80.00	\$80.00
540 499	VACUUM, BACKPACK	1	\$335.00	\$335.00 \$180.00
509	VACUUM, CARPET, INDUSTRIAL	1	\$180.00	
509	VACUUM, CARPET, INDUSTRIAL VACUUM, CARPET, INDUSTRIAL	1 1	\$180.00 \$180.00	\$180.00 \$180.00
404	VACUUM, CARPET, INDUSTRIAL VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
451	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
495	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
503	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
509	VACUUM, CARPET, UPRIGHT	3	\$200.00	\$600.00
509	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
509	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
509	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
509	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
540	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
541	VACUUM, CARPET, UPRIGHT	3	\$200.00	\$600.00
554	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
560	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
560	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
560	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
570	VACUUM, CARPET, UPRIGHT	4	\$200.00	\$800.00
572	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
630	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
630	VACUUM, CARPET, UPRIGHT	1	\$200.00	\$200.00
542	VACUUM, HAZARDOUS MATERIALS	1	\$872.71	\$872.71

581	VACUUM, HAZARDOUS MATERIALS	1	\$1,525.00	\$1,525.00
509	VACUUM, MANUAL, HANDHELD	1	\$50.00	\$50.00
560 542	VACUUM, MANUAL, HANDHELD VACUUM, MERCURY RECOVERY	1 1	\$50.00 \$2,853.69	\$50.00 \$2,853.69
509	VACUUM, WET/ DRY, INDUSTRIAL	1	\$870.00	\$2,833.09
509	VACUUM, WET/ DRY, INDUSTRIAL	1	\$870.00	\$870.00
509	VACUUM, WET/ DRY, INDUSTRIAL	1	\$870.00	\$870.00
210	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
509	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
509	VACUUM, WET/ DRY, LOW END	2	\$250.00	\$500.00
509	VACUUM, WET/ DRY, LOW END	2	\$250.00	\$500.00
540	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
540	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
541	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
553	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
560	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
560	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
560	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
560	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
570	VACUUM, WET/ DRY, LOW END	5	\$250.00	\$1,250.00
570	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
576	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
576	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
576	VACUUM, WET/ DRY, LOW END	2	\$250.00	\$500.00
576	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
581	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
882	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
3101	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
3106	VACUUM, WET/ DRY, LOW END	1	\$250.00	\$250.00
581	VALVE, EMERGENCY OFFLOADING	1	\$1,625.00	\$1,625.00
495	VAN, 15-PASSENGER	1	\$25,963.00	\$25,963.00
495	VAN, CARGO	1	\$16,107.00	\$16,107.00
495	VAN, CARGO	1	\$41,818.00	\$41,818.00
495	VAN, CARGO	1	\$30,610.00	\$30,610.00
495	VAN, CARGO	1	\$31,010.00	\$31,010.00
495	VAN, CARGO	1	\$46,211.66	\$46,211.66
495	VAN, CARGO	1	\$55,643.17	\$55,643.17
495	VAN, CARGO	1	\$30,863.00	\$30,863.00
495	VAN, CARGO	1	\$49,304.12	\$49,304.12
495	VAN, CARGO	1	\$28,430.00	\$28,430.00
495	VAN, CARGO, HYBRID	1	\$25,974.00	\$25,974.00
495	VAN, PASSENGER	1	\$26,837.00	\$26,837.00
495	VAN, PASSENGER	1	\$26,072.00	\$26,072.00
495	VAN, PASSENGER	1	\$26,072.00	\$26,072.00
495	VAN, PASSENGER	1	\$20,816.56	\$20,816.56
495	VAN, PASSENGER	1	\$20,906.00	\$20,906.00
495	VAN, PASSENGER VAN, PASSENGER	1	\$18,018.50	\$18,018.50
495 495	VAN, PASSENGER VAN, PASSENGER	1	\$6,766.95 \$23,355.39	\$6,766.95
495	VAN, PASSENGER	1	\$18,359.00	\$23,355.39 \$18,359.00
495	VAN, PASSENGER	1	\$23,185.55	\$23,185.55
495	VAN, PASSENGER	1	\$21,209.00	\$21,209.00
495	VAN, PASSENGER	1	\$27,368.00	\$27,368.00
495	VAN, PASSENGER	1	\$22,627.00	\$22,627.00
495	VAN, PASSENGER	1	\$48,323.00	\$48,323.00
495	VAN, PASSENGER	1	\$31,866.00	\$31,866.00
495	VAN, PASSENGER	1	\$29,622.52	\$29,622.52
495	VAN, PASSENGER	1	\$37,578.00	\$37,578.00
495	VAN, PASSENGER	1	\$25,826.00	\$25,826.00
440	VCR, TIME LAPSE	1	\$70.00	\$70.00
427	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
438	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
440	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
440	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
570	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
572	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	2	\$50.00	\$100.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	2	\$50.00	\$100.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	1	\$50.00	\$50.00
576	VCR, VIDEO CASSETTE RECORDER/PLAYER	3	\$50.00	\$150.00
210	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$13,668.72	\$13,668.72
210	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$7,038.02	\$7,038.02
210	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$12,500.00	\$12,500.00
560	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$9,324.41	\$9,324.41

560	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$8,655.96	\$8,655.96
882	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$12,830.00	\$12,830.00
882	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$11,171.31	\$11,171.31
3101	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$10,328.80	\$10,328.80
3101	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$15,943.17	\$15,943.17
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$14,713.20	\$14,713.20
	·			
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$15,573.69	\$15,573.69
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$13,926.65	\$13,926.65
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$15,573.69	\$15,573.69
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$15,898.17	\$15,898.17
3103	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$17,154.00	\$17,154.00
3106	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$15,083.62	\$15,083.62
			. ,	
3107	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$13,686.19	\$13,686.19
3107	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$14,237.07	\$14,237.07
3107	VEHICLE, ALL TERRAIN, ATV/ UTV	1	\$14,713.20	\$14,713.20
495	VEHICLE, ARMORED	1	\$269,776.00	\$269,776.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
540	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.36	\$7,136.36
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$6,200.00	\$6,200.00
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,443.20	\$7,443.20
		1		
1000	VENTILATOR, TRANSPORT, W/ CPAP		\$7,443.20	\$7,443.20
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
1000	VENTILATOR, TRANSPORT, W/ CPAP	1	\$7,136.34	\$7,136.34
492	VEST, BULLETPROOF	4	\$350.00	\$1,400.00
507	VHF PAGING EQUIPMENT, THRALL	1	\$84,113.00	\$84,113.00
882	VIBRATORY COMPACTOR, PLATE	1	\$2,450.00	\$2,450.00
3107	VIBRATORY COMPACTOR, PLATE	1	\$1,850.00	\$1,850.00
400	VIDEO CONFERENCING SMART CAMERA, 360 DEGREE	1	\$1,000.00	\$1,000.00
451	VIDEO CONFERENCING SMART CAMERA, 360 DEGREE	1	\$2,604.20	\$2,604.20
451	VIDEO CONFERENCING SMART CAMERA, 360 DEGREE	1	\$2,604.20	\$2,604.20
492	VIDEO CONFERENCING SYSTEM	1	\$5,100.00	\$5,100.00
503	VIDEO CONFERENCING SYSTEM	1	\$9,500.00	\$9,500.00
503	VIDEO CONFERENCING SYSTEM	1	\$5,100.00	\$5,100.00
503	VIDEO CONFERENCING SYSTEM	1		\$9,500.00
			\$9,500.00	
545	VIDEO CONFERENCING SYSTEM	1	\$696.99	\$696.99
541	VIDEO CONTROLLER	1	\$130.00	\$130.00
5.41	VIDEO CONTROLLER	1		\$130.00
541	VIDEO CONTROLLER	1	\$130.00	
576	VOLLEYBALL STANDARDS/UPRIGHTS	2	\$150.00	\$300.00
509	VOLTAGE CONTINUITY TESTER	1	\$95.00	\$95.00
509	VOLTMETER, ANALOG	1	\$325.00	\$325.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492		1		
	VOTING RALLET SCANNED		\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER			4.4
	VOTING BALLET SCANNER VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492				\$4,300.00 \$4,300.00
492 492 492	VOTING BALLET SCANNER VOTING BALLET SCANNER	1 1	\$4,300.00 \$4,300.00	\$4,300.00
492 492 492 492	VOTING BALLET SCANNER VOTING BALLET SCANNER VOTING BALLET SCANNER	1 1 1	\$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00
492 492 492	VOTING BALLET SCANNER VOTING BALLET SCANNER	1 1	\$4,300.00 \$4,300.00	\$4,300.00
492 492 492 492	VOTING BALLET SCANNER VOTING BALLET SCANNER VOTING BALLET SCANNER	1 1 1	\$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00
492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00
492 492 492 492 492 492 492 492 492 492	VOTING BALLET SCANNER	1 1 1 1 1 1 1 1	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00	\$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00 \$4,300.00

492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492		1		
	VOTING BALLET SCANNER		\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
	VOTING BALLET SCANNER			
492		1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
·				
402	VOTING DALLET COANNED			
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00

492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCHNIER	1		\$4,300.00
			\$4,300.00	
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCHNIER	1	\$4,300.00	
				\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER	1	\$4,300.00	\$4,300.00
492	VOTING BALLET SCANNER, OPTICAL, HIGH-SPEED	1	\$95,000.00	\$95,000.00
492	VOTING BALLET SCANNER, OPTICAL, HIGH-SPEED	1	\$95,000.00	\$95,000.00
212	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1		
			\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1		\$3,200.00
	VOTING MACHINE		\$3,200.00	
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
.52				
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492		1	\$3,200.00	\$3,200.00
	VOTING MACHINE VOTING MACHINE	1 1	\$3,200.00 \$3,200.00	\$3,200.00 \$3,200.00

492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492				
	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1		\$3,200.00
			\$3,200.00	
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING MACHINE	1	\$3,200.00	\$3,200.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00

492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492		1		
	VOTING, CURBSIDE CART		\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492		1		\$850.00
	VOTING, CURRSIDE CART		\$850.00	
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, CURBSIDE CART	1	\$850.00	\$850.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	,	-	ų. 23.00	Ç, 23.00

492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	, ,			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492		1		\$725.00
	VOTING, PRINTER, BALLOT MARKER		\$725.00	
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	, ,			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
				· ·
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	•			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	VOTING, PRINTER, BALLOT MARKER	1		
492	, ,		\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00

492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	, ,			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492		1		\$725.00
	VOTING, PRINTER, BALLOT MARKER		\$725.00	
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	, ,			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	•			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	VOTING, PRINTER, BALLOT MARKER	1		
492	, ,		\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00

492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492		1	\$725.00	\$725.00
	VOTING, PRINTER, BALLOT MARKER			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
		1		
492	VOTING, PRINTER, BALLOT MARKER		\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492		1		
	VOTING, PRINTER, BALLOT MARKER		\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492		1		\$725.00
	VOTING, PRINTER, BALLOT MARKER		\$725.00	
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
	• •			
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
492	VOTING, PRINTER, BALLOT MARKER	1	\$725.00	\$725.00
545	WALKER, POSTURE CONTROL, 2-WHEEL	1	\$175.00	\$175.00
570	WALKER, POSTURE CONTROL, 2-WHEEL	5	\$175.00	\$875.00
3106	WALL PANEL, STALL	168	\$330.00	\$55,440.00
540	WARMER, BLOOD/ IV FLUIDS	1	\$5,500.00	\$5,500.00
540	WARMER, BLOOD/ IV FLUIDS	1	\$5,500.00	\$5,500.00

540	WARMER, BLOOD/ IV FLUIDS	1	\$5,500.00	\$5,500.00
540	WARMER, BLOOD/ IV FLUIDS	1	\$5,500.00	\$5,500.00
570	WARMER, FOOD, TABLETOP, 2 LIGHTS	1	\$210.00	\$210.00
545	WARMING UNIT, PATIENT	1	\$852.50	\$852.50
3106	WASHER, HIGH PRESSURE, 3000 PSI	1	\$3,200.00	\$3,200.00
3106	WASHER, HIGH PRESSURE, 3000 PSI	1	\$3,200.00	\$3,200.00
560	WASHER, HIGH PRESSURE, ELECTRIC	1	\$785.00	\$785.00
570	WASHER, HIGH PRESSURE, ELECTRIC, 1000 PSI	3	\$495.00	\$1,485.00
570	WASHER, HIGH PRESSURE, ELECTRIC, 1000 PSI	1	\$495.00	\$495.00
560	WASHER, HIGH PRESSURE, ELECTRIC, 1500 PSI	1	\$1,550.00	\$1,550.00
509		1		
	WASHER, HIGH PRESSURE, GAS ENG, 1000 PSI		\$2,825.00	\$2,825.00
3103	WASHER, HIGH PRESSURE, GAS ENG, 1000 PSI	1	\$2,825.00	\$2,825.00
3107	WASHER, HIGH PRESSURE, GAS ENG, 1000 PSI	1	\$1,847.54	\$1,847.54
3101	WASHER, HIGH PRESSURE, GAS ENG, 3000 PSI	1	\$6,650.00	\$6,650.00
210	WASHER, HIGH PRESSURE, GAS ENG, 3500 PSI	1	\$4,170.00	\$4,170.00
210	WASHER, HIGH PRESSURE, TRAILER MOUNTED	1	\$4,165.00	\$4,165.00
	•			
553	WASHER, PARTS	1	\$300.00	\$300.00
3103	WASHER, PRESSURE, STEAM	1	\$5,773.26	\$5,773.26
210	WASHER, PRESSURE, TRAILER MOUNTED	1	\$11,750.06	\$11,750.06
210	WASHER, PRESSURE, TRAILER MOUNTED	1	\$15,472.38	\$15,472.38
545	WASHER/ EXTRACTOR, COMMERCIAL	1	\$7,292.67	\$7,292.67
545	WASHER/ EXTRACTOR, COMMERCIAL	1	\$7,292.67	\$7,292.67
545	WASHER/ EXTRACTOR, COMMERCIAL	1	\$7,292.67	\$7,292.67
	•	1		
570	WASHER/ EXTRACTOR, COMMERCIAL		\$22,013.14	\$22,013.14
570	WASHER/ EXTRACTOR, COMMERCIAL	1	\$22,013.14	\$22,013.14
570	WASHER/ EXTRACTOR, COMMERCIAL	1	\$22,013.14	\$22,013.14
570	WASHER/ EXTRACTOR, COMMERCIAL	1	\$22,013.14	\$22,013.14
576	WASHING MACHINE, COMMERCIAL, 30-45 LBS.	1	\$3,925.00	\$3,925.00
545	WASHING MACHINE, COMMERCIAL, 50-65 LBS.	1	\$6,500.00	\$6,500.00
576	WASHING MACHINE, COMMERCIAL, 50-65 LBS.	1	\$9,600.45	\$9,600.45
576	WASHING MACHINE, COMMERCIAL, 50-65 LBS.	1	\$6,116.00	\$6,116.00
540	WASHING MACHINE, HOUSEHOLD, HIGH-END	1	\$900.00	\$900.00
576	WASHING MACHINE, HOUSEHOLD, HIGH-END	1	\$990.00	\$990.00
		1	\$651.47	\$651.47
3107	WASHING MACHINE, HOUSEHOLD, HIGH-END			
540	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
540	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
541	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
560	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
		1		
560	WASHING MACHINE, HOUSEHOLD, LOW-END		\$450.00	\$450.00
570	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
570	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
576	WASHING MACHINE, HOUSEHOLD, LOW-END	1	\$450.00	\$450.00
540	WATER COOLER, PORTABLE	1	\$350.00	\$350.00
560	WATER DISPENSER/COOLER	1	\$160.00	\$160.00
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560		1	\$815.13	\$815.13
	WEAPON SIGHT, HOLOGRAPHIC			
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
				•
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$815.13	\$815.13
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$500.40	\$500.40
560	WEAPON SIGHT, HOLOGRAPHIC	1	\$500.40	\$500.40
581	WEATHER STATION	1	\$650.00	\$650.00
542	WEATHER STATION, DIGITAL	1	\$1,100.00	\$1,100.00
581	WEATHER STATION, DIGITAL	2	\$1,100.00	\$2,200.00
	•			
210	WEEDEATER/ TRIMMER	8	\$325.00	\$2,600.00
510	WEEDEATER/TRIMMER	1	\$325.00	\$325.00
560	WEEDEATER/ TRIMMER	5	\$325.00	\$1,625.00
3101	WEEDEATER/TRIMMER	3	\$325.00	\$975.00
3106	WEEDEATER/TRIMMER	1	\$325.00	\$325.00
3103	WEEDEATER/ TRIMMER, HEAVY-DUTY	1	\$660.00	\$660.00
3103	WEEDEATER/ TRIMMER, HEAVY-DUTY	1	\$660.00	\$660.00
3103	WEEDEATER/ TRIMMER, HEAVY-DUTY	1	\$660.00	\$660.00
560	WEIGHT BENCH PRESS, COMPETITION	1	\$300.00	\$300.00
576	WEIGHT BENCH, ADJUSTABLE, FLAT TO INCLINE	2	\$229.00	\$458.00
560	WEIGHT BENCH, STANDARD	1	\$155.00	\$155.00
560	WEIGHT MACHINE, CHEST PRESS	1	\$2,106.00	\$2,106.00
541	WEIGHT MACHINE, MULTI-STATION	1	\$4,595.00	\$4,595.00
541	WEIGHT MACHINE, MULTI-STATION	1	\$4,595.00	\$4,595.00
560	WEIGHT MACHINE, MULTI-STATION, HIGH-END	1	\$7,500.00	\$7,500.00
	•		•	

560	WEIGHT MACHINE, MULTI-STATION, HIGH-END	1	\$13,010.40	\$13,010.40
560	WEIGHT MACHINE, SQUAT, HACK SQUAT	1	\$1,490.00	\$1,490.00
560	WEIGHT MACHINE. T-BAR ROW, SEATED	3	\$415.00	\$1,245.00
560	WEIGHT MACHINE. T-BAR ROW, SEATED	1	\$415.00	\$415.00
560	WEIGHT SET, DUMBBELL	1	\$660.00	\$660.00
560	WEIGHT SET, DUMBBELL	1	\$660.00	\$660.00
	•			
560	WEIGHT SET, DUMBBELL	1	\$660.00	\$660.00
560	WEIGHT SET, PLATES	1	\$450.00	\$450.00
3106	WELDER, ENGINE DRIVEN, GAS	1	\$6,317.91	\$6,317.91
210	WELDER, GAS, TRAILER MOUNTED, PORTABLE	1	\$4,733.00	\$4,733.00
509	WELDER, MIG	1	\$1,330.00	\$1,330.00
509	WELDER, MIG	1	\$1,330.00	\$1,330.00
3107	WELDER, MIG	1	\$857.59	\$857.59
3106	WELDER, MIG, W/ WIRE FEEDER	1	\$2,580.00	\$2,580.00
3106	WELDER, MIG, W/ WIRE FEEDER, 130 AMP	1	\$669.00	\$669.00
3103	WELDER, MIG, W/ WIRE FEEDER, 150 AMP	1	\$930.00	\$930.00
882	WELDER, MIG, W/ WIRE FEEDER, 200/250 AMP	1	\$2,025.08	\$2,025.08
882	WELDER, OXY/ ACETYLENE OUTFIT	1	\$290.00	\$290.00
		1		
882	WELDER, PLASMA CUTTING		\$3,165.00	\$3,165.00
509	WELDER, STICK, IDEALARC, 225 AC	1	\$490.00	\$490.00
560	WELDER, STICK, IDEALARC, 225 AC	1	\$490.00	\$490.00
882	WELDER, STICK, IDEALARC, 225 AC	1	\$490.00	\$490.00
210	WELDER, STICK, IDEALARC, 225/125 AC/DC	1	\$650.00	\$650.00
882	WELDER, TIG/ MIG	1	\$1,880.00	\$1,880.00
3103	WELDER, TIG/ MIG	1	\$629.00	\$629.00
210	WELDER/ GENERATOR, PORTABLE, GAS, TRAILER MOUNTED	1	\$2,500.00	\$2,500.00
503	WELDER/ GENERATOR, PORTABLE, GAS, TRAILER MOUNTED	1	\$7,900.00	\$7,900.00
882	WELDING HOOD/ FACE SHIELD	2		\$160.00
			\$80.00	
882	WHEEL ALIGNMENT RACK, COMPLETE	1	\$2,000.00	\$2,000.00
882	WHEEL ALIGNMENT SYSTEM	1	\$46,180.00	\$46,180.00
882		1	\$7,920.00	\$7,920.00
	WHEEL BALANCER, COMPUTER			. ,
882	WHEEL BALANCER, COMPUTERIZED, HIGH END	1	\$18,612.15	\$18,612.15
560	WHEELBARROW	1	\$60.00	\$60.00
576		2	\$60.00	\$120.00
	WHEELBARROW			
576	WHEELBARROW	1	\$60.00	\$60.00
3101	WHEELBARROW	4	\$60.00	\$240.00
3106	WHEELBARROW	1	\$60.00	\$60.00
545	WHEELCHAIR	1	\$385.00	\$385.00
570	WHEELCHAIR	5	\$385.00	\$1,925.00
570	WHEELCHAIR	1	\$385.00	\$385.00
494	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
494	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
497	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
499	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
499	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$724.63	\$724.63
503	WIRELESS ACCESS POINT	1	\$2,154.66	\$2,154.66
540	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
540	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
540	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
540	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
540	WIRELESS ACCESS POINT	1	\$2,154.66	\$2,154.66
5-10	WINEELDS ACCESS I ONVI	1	72,137.00	42,±J4.00

540	WIRELESS ACCESS POINT	1	\$2,154.66	\$2,154.66
540	WIRELESS ACCESS POINT	1	\$2,154.66	\$2,154.66
553	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
560	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
560	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
560	WIRELESS ACCESS POINT	1	\$400.00	\$400.00
560	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
560	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
560	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
560	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
560	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
570	WIRELESS ACCESS POINT	8	\$400.00	\$3,200.00
576	WIRELESS ACCESS POINT	1	\$650.00	\$650.00
503	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
541	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
560	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
630	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
3106	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
3106	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
3106	WIRELESS ACCESS PORT	1	\$1,500.00	\$1,500.00
3106	WIRELESS, TRANSMITTER RECEIVER	1	\$400.00	\$400.00
509	WRENCH, RATCHET, AIR	1	\$200.00	\$200.00
570	X-RAY DEVICE, HANDHELD, DENTAL	1	\$6,195.00	\$6,195.00
570	X-RAY DEVICE, HANDHELD, DENTAL	1	\$6,195.00	\$6,195.00
545	X-RAY, VETERINARY, PORTABLE	1	\$35,980.00	\$35,980.00
210	ZIPPER, ASPHALT (RECLAIMER)	1	\$248,625.40	\$248,625.40
				\$113,555,997.76